COUNTIES BENTON, CHEATHAM, CLAY, DAVIDSON, DECATUR, DYER, HAMILTON, HARDIN, HENRY, JACKSON, KNOX, LOUDON, MARION, MEIGS, MONTGOMERY, ROANE, SHELBY, STEWART, TROUSDALE, AND WILSON (Contract No. CNT905 Call 001)

99111-4181-04

THE INSTALLATION OF U.S. COAST GUARD ROUTE SPECIFIC SIGNS ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE DECEMBER 31, 2019

TOTAL CONTRACT

Superior Traffic Control, LLC

\$293,174.00

LU, Inc.

\$466,444.00

MAINTENANCE CATEGORY STEEL				CONTRACT CNT905
712-01.02 LANE CLOSURE 54.000 EACH Superior Traffic Control, LLC LU, Inc. \$300.0000 \$16,200.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$40,500.00 \$750.0000 \$30,600			UNIT PRICE	EXTENSION
Superior Traffic Control, LLC \$300,000 \$16,200.00	MAINTENANCE CATEGORY			
Superior Traffic Control, LLC \$300,000 \$16,200.00				
Superior Traffic Control, LLC	712-01.02 LANE CLOSURE			
LU, Inc. \$750.0000 \$40,500.00 712-01.03 LANE CLOSURE(NIGHT WORK)		54.000 EACH		
712-01.03 LANE CLOSURE(NIGHT WORK) 34.000 EACH Superior Traffic Control, LLC LU, Inc. \$900.0000 \$30,600.00 \$1,000.0000 \$34,000.00 712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD 23.000 DAY Superior Traffic Control, LLC LU, Inc. \$1,550.0000 \$35,650.00 \$1,400.0000 \$32,200.00 713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100° THICK) 2,752.000 S.F. Superior Traffic Control, LLC LU, Inc. \$18.2500 \$50,224.00 \$37,152.00 713-17.50 SIGN MOUNTED ON BRIDGE PARAPET 84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 \$281,400.00 \$281,400.00 717-01 MOBILIZATION \$1000 LS Superior Traffic Control, LLC				
Superior Traffic Control, LLC	LU, Inc.		\$750.0000	\$40,500.00
Superior Traffic Control, LLC	712-01 03 I ANE CLOSURE(NIGHT WORK)			
Superior Traffic Control, LLC	712-01.03 EARL GEOGRECIMON WORKS	34 000 FACH		
LU, Inc. \$1,000.0000 \$34,000.00 712-08-20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD 23.000 DAY Superior Traffic Control, LLC LU, Inc. \$1,550.0000 \$35,650.00 \$1,400.0000 \$32,200.00 713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK) Superior Traffic Control, LLC LU, Inc. \$18.2500 \$50,224.00 LU, Inc. \$13.5000 \$37,152.00 713-17.50 SIGN MOUNTED ON BRIDGE PARAPET 84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 LU, Inc. \$3,350.0000 \$281,400.00 717-01 MOBILIZATION 1.000 LS Superior Traffic Control, LLC	Superior Traffic Control 11 C	04.000 EAOH	\$900,0000	\$30,600,00
Superior Traffic Control, LLC			·	
Superior Traffic Control, LLC				
Superior Traffic Control, LLC	712-08.20 TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
LU, Inc. \$1,400.0000 \$32,200.00 713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK) 2,752.000 S.F. Superior Traffic Control, LLC LU, Inc. \$18.2500 \$50,224.00 LU, Inc. \$13,500.000 713-17.50 SIGN MOUNTED ON BRIDGE PARAPET 84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 LU, Inc. \$3,350.0000 \$281,400.00 717-01 MOBILIZATION 1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.000		23.000 DAY		
713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK) 2,752.000 S.F. Superior Traffic Control, LLC LU, Inc. \$18.2500 \$50,224.00 \$37,152.00 \$13.5000 \$37,152.00 713-17.50 SIGN MOUNTED ON BRIDGE PARAPET 84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 \$281,400.00 \$281,400.00 717-01 MOBILIZATION Superior Traffic Control, LLC \$13,500.0000 \$13,500.000				
2,752.000 S.F. Superior Traffic Control, LLC LU, Inc. \$18.2500 \$50,224.00 \$37,152.00 713-17.50 SIGN MOUNTED ON BRIDGE PARAPET 84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 \$147,000.00 \$33,350.0000 \$281,400.00 717-01 MOBILIZATION 1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.000	LU, Inc.		\$1,400.0000	\$32,200.00
2,752.000 S.F. Superior Traffic Control, LLC LU, Inc. \$18.2500 \$50,224.00 \$37,152.00 713-17.50 SIGN MOUNTED ON BRIDGE PARAPET 84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 \$281,400.00 \$281,400.00 717-01 MOBILIZATION 1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.000	713-13.03 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
Superior Traffic Control, LLC		2.752.000 S.F.		
LU, Inc. \$13.5000 \$37,152.00 713-17.50 SIGN MOUNTED ON BRIDGE PARAPET 84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 \$3,350.0000 \$281,400.00 717-01 MOBILIZATION Superior Traffic Control, LLC \$1,500.0000 \$13,500.000 \$13,500.000	Superior Traffic Control, LLC	2,702.000 0.1 1	\$18.2500	\$50.224.00
84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 \$3,350.0000 \$281,400.00 717-01 MOBILIZATION 1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.000	•		•	
84.000 EACH Superior Traffic Control, LLC LU, Inc. \$1,750.0000 \$147,000.00 \$3,350.0000 \$281,400.00 717-01 MOBILIZATION 1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.000				
Superior Traffic Control, LLC \$1,750.0000 \$147,000.00 \$281,400.00 \$3,350.0000 \$281,400.00 \$281,400.00 \$3,350.0000 \$281,400.00 \$3,350.0000 \$3,350.0000 \$3,350.0000 \$3,350.0000 \$3,3500.000 \$3,3500.000 \$3,3500.000 \$3,3500.0000 \$3,0500.0000 \$3,0500.000	713-17.50 SIGN MOUNTED ON BRIDGE PARAPET			
LU, Inc. \$3,350.0000 \$281,400.00 717-01 MOBILIZATION 1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.000		84.000 EACH		
717-01 MOBILIZATION 1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.000	•			
1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.00	LU, Inc.		\$3,350.0000	\$281,400.00
1.000 LS Superior Traffic Control, LLC \$13,500.0000 \$13,500.00	717-01 MOBILIZATION			
Superior Traffic Control, LLC \$13,500.0000 \$13,500.000		1.000 LS		
·	Superior Traffic Control, LLC		\$13,500.0000	\$13,500.00
LU, Inc. \$41,192.0000 \$41,192.00	LU, Inc.		\$41,192.0000	\$41,192.00

SUB-TOTAL MAINTENANCE

Superior Traffic Control, LLC	\$293,174.00
LU, Inc.	\$466,444.00

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$293,174.00

 LU, Inc.
 \$466,444.00

MARION COUNTY (Contract No.	CNT914	Call 003)
-----------------	--------------	--------	----------	---

58024-4217-04

THE REPAIR OF A 76" X 67" ELLIPTICAL CORRUGATED METAL PIPE CULVERT ON S.R. 156 AT L.M. 13.15.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2019

TOTAL CONTRACT

Proshot Concrete, Inc.

\$168,350.00

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNT914 EXTENSION
209-09.01	SANDBAGS			
	Proshot Concrete, Inc.	50.000 BAG	\$7.5000	\$375.00
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)			
	Proshot Concrete, Inc.	100.000 S.Y.	\$50.0000	\$5,000.00
607-25.01	SAPL TYPE 1 GROUT (PIPE/CULVERT REPAIR)			
	Proshot Concrete, Inc.	250.000 C.F.	\$100.0000	\$25,000.00
607-25.02	SPRAY APPLIED PIPE LINER (SAPL)			
	Proshot Concrete, Inc.	450.000 C.F.	\$225.0000	\$101,250.00
712-01	TRAFFIC CONTROL			
	Proshot Concrete, Inc.	1.000 LS	\$10,000.0000	\$10,000.00
712-01.02	LANE CLOSURE			
	Proshot Concrete, Inc.	5.000 EACH	\$2,345.0000	\$11,725.00

1.000 LS

\$15,000.0000

717-01

MOBILIZATION

Proshot Concrete, Inc.

\$15,000.00

SUB-TOTAL ROADWAY

Proshot Concrete, Inc. \$168,350.00

TOTAL CONTRACT

Proshot Concrete, Inc. \$168,350.00

RHEA COUNTY (Contract No. CNT915 Call 004)

72079-4214-04,NH/HSIP-29(113),72079-3214-94,72079-8214-14

THE RESURFACING ON U.S. 27 (S.R. 29) FROM NORTH OF S.R. 60 (L.M. 4.90) TO LANDES WAY (L.M. 6.53), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 1.630 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 9.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,083,956.19

ROADW/	AY CATEGORY		UNIT PRICE	CONTRACT CNT915 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	302.000 TON		
	Rogers Group, Inc.		\$58.4000	\$17,636.80
403-02.01	TRACKLESS TACK COAT	32.000 TON		
	Rogers Group, Inc.	32.000 TON	\$740.0000	\$23,680.00
411-02.10	ACS MIX(PG70-22) GRADING D			
	Rogers Group, Inc.	4,895.000 TON	\$108.0000	\$528,660.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	0.000 14		
	Rogers Group, Inc.	2.600 L.M.	\$1,310.7000	\$3,407.82
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc.	4,902.000 TON	\$22.8900	\$112,206.78
611-01.20	ADJUSTMENT OF EXISTING MANHOLE			
	Rogers Group, Inc.	2.000 EACH	\$1,510.0000	\$3,020.00
701-01.01	CONCRETE SIDEWALK (4 ")			
	Rogers Group, Inc.	600.000 S.F.	\$19.5000	\$11,700.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Rogers Group, Inc.	415.000 S.F.	\$51.4500	\$21,351.75
701-03	CONCRETE MEDIAN PAVEMENT			
	Rogers Group, Inc.	17.000 C.Y.	\$975.0000	\$16,575.00
702-01	CONCRETE CURB			
	Rogers Group, Inc.	10.900 C.Y.	\$1,427.0000	\$15,554.30
702-03	CONCRETE COMBINED CURB & GUTTER	4.900 C.Y.		
	Rogers Group, Inc.		\$1,427.0000	\$6,992.30
712-01	TRAFFIC CONTROL	4 600 1 0		
	Rogers Group, Inc.	1.000 LS	\$48,708.0000	\$48,708.00

			UNIT PRICE	CONTRACT CNT915 EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	777.000 S.F.	\$10.9000	\$8,469.30
712-08.03	ARROW BOARD (TYPE C)			
	Rogers Group, Inc.	2.000 EACH	\$3,062.3500	\$6,124.70
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Rogers Group, Inc.	2.000 EACH	\$4,379.5000	\$8,759.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1			
	Rogers Group, Inc.	74.000 EACH	\$38.9000	\$2,878.60
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 CO			
	Rogers Group, Inc.	216.000 EACH	\$38.9000	\$8,402.40
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)	450 000 O.V		
	Rogers Group, Inc.	150.000 S.Y.	\$25.9500	\$3,892.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	470.000 5		
	Rogers Group, Inc.	470.000 L.F.	\$11.7000	\$5,499.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	20 000 5 4 0 1		
	Rogers Group, Inc.	20.000 EACH	\$194.6500	\$3,893.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)	2 202 54 211		
	Rogers Group, Inc.	3.000 EACH	\$292.0000	\$876.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)	0.000 54.011		
	Rogers Group, Inc.	2.000 EACH	\$162.2500	\$324.50
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Rogers Group, Inc.	128.000 S.F.	\$7.8000	\$998.40
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	40.000 ! **		
	Rogers Group, Inc.	10.600 L.M.	\$746.2000	\$7,909.72

			UNIT PRICE	CONTRACT CNT915 EXTENSION
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	320.000 L.F.	\$6.5000	\$2,080.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	8.600 L.M.	\$5,061.0000	\$43,524.60
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED L	-		
	Rogers Group, Inc.	1,460.000 L.F.	\$2.6000	\$3,796.00
716-12.06	ENHANCED FLAT LINE THERMO (8IN LINE)			
	Rogers Group, Inc.	1,480.000 L.F.	\$3.9000	\$5,772.00
717-01	MOBILIZATION			
	Rogers Group, Inc.	1.000 LS	\$50,995.7200	\$50,995.72
730-14.02	SAW SLOT			
	Rogers Group, Inc.	3,424.000 L.F.	\$4.7500	\$16,264.00

12,880.000 L.F.

\$0.8500

730-14.03 LOOP WIRE

Rogers Group, Inc.

\$10,948.00

CONTRACT CNT915

UNIT PRICE EXTENSION

BRIDGE CATEGORY

604-10.44 EXPANSION JOINT REPAIRS

160.000 L.F.

Rogers Group, Inc. \$519.1000 \$83,056.00

SUB-TOTAL ROADWAY

Rogers Group, Inc. \$1,000,900.19

SUB-TOTAL BRIDGE

Rogers Group, Inc. \$83,056.00

TOTAL CONTRACT

Rogers Group, Inc. \$1,083,956.19

WAYNE COUNTY (Contract No. CNT910 Call 005)

91999-3602-04,91999-3603-04

THE CONSTRUCTION OF A T.D.O.T. MAINTENANCE BUILDING AT THE INTERSECTION OF U.S. 64 (S.R. 15) AND SAVANNAH HIGHWAY IN WAYNESBORO.

PROJECT LENGTH - 0.000 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2020

TOTAL CONTRACT

Hudson Construction Co.

\$574,490.00

MAINTEI	NANCE CATEGORY		UNIT PRICE	CONTRACT CNT910 EXTENSION
607-65.20	SITE PREPARATION			
	Hudson Construction Co.	1.000 EACH	\$53,910.0000	\$53,910.00
680-01.03	S SALT BINS (40' x 80'-8")	1.000 EACH		
	Hudson Construction Co.	1.000 EACH	\$180,000.0000	\$180,000.00
680-02.01	BUILDING (FOUNDATION AND STRUCTURE)	1.000 EACH		
	Hudson Construction Co.	1.000 EACH	\$142,320.0000	\$142,320.00
680-02.02	BUILDING (INTERIOR CONSTRUCTION)	1.000 EACH		
	Hudson Construction Co.	1.000 EACH	\$122,320.0000	\$122,320.00
717-01	MOBILIZATION			

Hudson Construction Co.

1.000 LS

\$75,940.0000

\$75,940.00

SUB-TOTAL MAINTENANCE

Hudson Construction Co. \$574,490.00

TOTAL CONTRACT

Hudson Construction Co. \$574,490.00

ANDERSON COUNTY (Contract No. CNT228 Call 006)

01015-4251-04,STP/HSIP-116(26),01015-3251-94,01015-8251-14

THE RESURFACING ON S.R. 116 FROM NEAR S.R. 330 (L.M. 10.42) TO NEAR U.S. 25W (S.R. 9) (L.M. 19.25), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 8.830 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 9.00%

TOTAL CONTRACT

Potter South East LLC \$1,134,480.40
Rogers Group, Inc. \$1,192,978.14
Duracap Asphalt Paving Co., Inc. \$1,312,107.37

				CONTRACT CNT228
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		980.000 TON		
	Potter South East LLC		\$86.3000	\$84,574.00
	Rogers Group, Inc.		\$98.5500	\$96,579.00
	Duracap Asphalt Paving Co., Inc.		\$100.6100	\$98,597.80
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		110.000 TON		
	Potter South East LLC		\$702.0000	\$77,220.00
	Rogers Group, Inc. Duracap Asphalt Paving Co., Inc.		\$710.0000 \$975.0000	\$78,100.00 \$107,250.00
	Duracap Aspirali Faving Co., inc.		φ9/3.0000	\$107,250.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT			
		6,317.000 TON		
	Potter South East LLC		\$109.8000	\$693,606.60
	Rogers Group, Inc. Duracap Asphalt Paving Co., Inc.		\$102.6000 \$117.5300	\$648,124.20 \$742,437.01
	Duracap Aspirant Faving Go., inc.		ψ117.3300	Ψ1 42,431.01
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN	WIDTH)		
		14.000 L.M.		
	Potter South East LLC		\$572.0000 \$479.8600	\$8,008.00 \$6,718.04
	Rogers Group, Inc. Duracap Asphalt Paving Co., Inc.		\$473.0000 \$473.0000	\$6,622.00
	, , , , , , , , , , , , , , , , , , ,		·	, ,
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN	4 000 54 011		
	Potter South East LLC	1.000 EACH	\$50.0000	ФE0.00
	Rogers Group, Inc.		\$42.2300	\$50.00 \$42.23
	Duracap Asphalt Paving Co., Inc.		\$184.0000	\$184.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	1.000 EACH		
	Potter South East LLC	1.000 EACH	\$1,255.0000	\$1,255.00
	Rogers Group, Inc.		\$1,261.6800	\$1,261.68
	Duracap Asphalt Paving Co., Inc.		\$1,100.0000	\$1,100.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		1.000 EACH		
	Potter South East LLC		\$2,810.0000	\$2,810.00
	Rogers Group, Inc.		\$2,824.2600	\$2,824.26
	Duracap Asphalt Paving Co., Inc.		\$3,300.0000	\$3,300.00
705-20.20	LOW MAINT CRASH CUSHN NARROW (MASH TL-3)			
		2.000 EACH		
	Potter South East LLC		\$5,000.0000	\$10,000.00
	Rogers Group, Inc.		\$29,137.9400	\$58,275.88
	Duracan Asphalt Paving Co. Inc.		\$27 085 0000	\$54 170 00

Duracap Asphalt Paving Co., Inc.

\$54,170.00

\$27,085.0000

			•	CONTRACT CN1220
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Potter South East LLC		\$8,500.0000	\$8,500.00
	Rogers Group, Inc.		\$39,467.0000	\$39,467.00
	Duracap Asphalt Paving Co., Inc.		\$41,139.0000	\$41,139.00
712-02 03	2 INTERCONNECTED PORTABLE BARRIER I	PAII		
7 12-02.02	INTERCONNECTED FOR TABLE BARRIER	294.000 L.F.		
	Potter South East LLC	20 11000 211 1	\$20.0000	\$5,880.00
	Rogers Group, Inc.		\$54.0000	\$15,876.00
	Duracap Asphalt Paving Co., Inc.		\$34.6500	\$10,187.10
712 04 04	FLEXIBLE DRUMS (CHANNELIZING)			
712-04.01	FLEXIBLE DROWS (CHANNELIZING)	183.000 EACH		
	Potter South East LLC		\$10.0000	\$1,830.00
	Rogers Group, Inc.		\$13.2500	\$2,424.75
	Duracap Asphalt Paving Co., Inc.		\$15.7500	\$2,882.25
	Duradap / topriant / aving 30., inc.		ψ.σσσσ	ΨΞ,00Ξ.Ξ0
712-04.50	BARRIER RAIL DELINEATOR			
		15.000 EACH		
	Potter South East LLC		\$15.0000	\$225.00
	Rogers Group, Inc.		\$9.9500	\$149.25
	Duracap Asphalt Paving Co., Inc.		\$12.6000	\$189.00
712-05.01	WARNING LIGHTS (TYPE A)			
		2.000 EACH		
	Potter South East LLC		\$50.0000	\$100.00
	Rogers Group, Inc.		\$5.2500	\$10.50
	Duracap Asphalt Paving Co., Inc.		\$21.0000	\$42.00
712-06	SIGNS (CONSTRUCTION)			
7 12-00	Siche (Generication)	662.000 S.F.		
	Potter South East LLC		\$9.0000	\$5,958.00
	Rogers Group, Inc.		\$6.3500	\$4,203.70
	Duracap Asphalt Paving Co., Inc.		\$7.2000	\$4,766.40
713-02.21	SIGN POST DELINEATION ENHANCEMENT	,		
		10.000 L.F.		
	Potter South East LLC		\$10.0000	\$100.00
	Rogers Group, Inc.		\$8.8500	\$88.50
	Duracap Asphalt Paving Co., Inc.		\$6.8500	\$68.50
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MA	ARKERS (BI-DIR) (1 COLOR)		
		583.000 EACH		
	Potter South East LLC		\$25.2000	\$14,691.60
	Rogers Group, Inc.		\$24.3000	\$14,166.90
	Duracap Asphalt Paving Co., Inc.		\$23.0000	\$13,409.00

CONTRACT	CNT228
----------	--------

	UNIT PRICE	EXTENSION
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
5.000 EACH		
Potter South East LLC	\$25.2000	\$126.00
Rogers Group, Inc.	\$24.3000	\$121.50
Duracap Asphalt Paving Co., Inc.	\$23.0000	\$115.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
588.000 EACH		
Potter South East LLC	\$7.9000	\$4,645.20
Rogers Group, Inc.	\$6.4000	\$3,763.20
Duracap Asphalt Paving Co., Inc.	\$7.8700	\$4,627.56
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
258.000 L.F.		
Potter South East LLC	\$10.5000	\$2,709.00
Rogers Group, Inc.	\$10.6000	\$2,734.80
Duracap Asphalt Paving Co., Inc.	\$10.0000	\$2,580.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
1.000 EACH		
Potter South East LLC	\$185.0000	\$185.00
Rogers Group, Inc.	\$158.4000	\$158.40
Duracap Asphalt Paving Co., Inc.	\$157.5000	\$157.50
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
5,300.000 L.F.		
Potter South East LLC	\$6.3000	\$33,390.00
Rogers Group, Inc.	\$3.2000	\$16,960.00
Duracap Asphalt Paving Co., Inc.	\$5.0900	\$26,977.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
9.000 L.M.		
Potter South East LLC	\$605.0000	\$5,445.00
Rogers Group, Inc.	\$464.5500	\$4,180.95
Duracap Asphalt Paving Co., Inc.	\$472.5000	\$4,252.50
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
9.000 L.M.		
Potter South East LLC	\$4,358.0000	\$39,222.00
Rogers Group, Inc.	\$4,170.6000 \$3,037,5000	\$37,535.40
Duracap Asphalt Paving Co., Inc.	\$3,937.5000	\$35,437.50
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
27.000 L.M.		
Potter South East LLC	\$2,075.0000	\$56,025.00
Rogers Group, Inc.	\$2,270.0000	\$61,290.00
Duracap Asphalt Paving Co., Inc.	\$1,885.0000	\$50,895.00

				CONTRACT CNT228
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Potter South East LLC		\$29,000.0000	\$29,000.00
	Rogers Group, Inc.		\$55,601.0000	\$55,601.00
	Duracap Asphalt Paving Co., Inc.		\$42,000.0000	\$42,000.00
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		2.000 EACH		
	Potter South East LLC		\$5.000.0000	\$10.000.00

\$4,780.0000

\$9,975.0000

\$9,560.00

\$19,950.00

Rogers Group, Inc.

Duracap Asphalt Paving Co., Inc.

			CONTRACT	CNT228
		UNIT PRICE	EXTE	ENSION
BRIDGE CATEGORY				
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)				
	50.000 S.Y.			
Potter South East LLC		\$504.0000	\$25	,200.00
Rogers Group, Inc.		\$349.0000	\$17	,450.00
Duracap Asphalt Paving Co., Inc.		\$231.0000	\$11	,550.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)				
	305.000 S.Y.			
Potter South East LLC		\$45.0000	\$13	,725.00

\$50.2000

\$89.2500

\$15,311.00

\$27,221.25

Rogers Group, Inc.

Duracap Asphalt Paving Co., Inc.

SUB-TOTAL ROADWAY

Potter South East LLC	\$1,095,555.40
Rogers Group, Inc.	\$1,160,217.14
Duracap Asphalt Paving Co., Inc.	\$1,273,336.12
TOTAL BRIDGE	

SUB-TOTAL BRIDGE

Potter South East LLC	\$38,925.00
Rogers Group, Inc.	\$32,761.00
Duracap Asphalt Paving Co., Inc.	\$38,771.25

TOTAL CONTRACT

Potter South East LLC	\$1,134,480.40
Rogers Group, Inc.	\$1,192,978.14
Duracap Asphalt Paving Co., Inc.	\$1,312,107.37

COUNTIES ANDERSON, BLOUNT, CAMPBELL, CARTER, CLAIBORNE, COCKE, GRAINGER, GREENE, HAMBLEN, HANCOCK, HAWKINS, JEFFERSON, JOHNSON, KNOX, LOUDON, MONROE, MORGAN, ROANE, SCOTT, SEVIER, SULLIVAN, UNICOI, UNION, AND WASHINGTON (Contract No. CNT189 Call 007)

98100-4129-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2020

TOTAL CONTRACT

Superior Traffic Control, LLC

\$227,958.75

LU, Inc.

\$262,148.08

			C	CONTRACT CNT189
MAINTEN	IANCE CATEGORY		UNIT PRICE	EXTENSION
712-01.02	LANE CLOSURE			
		2.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$200.0000 \$200.2200	\$400.00 \$400.44
712-01.03	LANE CLOSURE(NIGHT WORK)			
		5.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$1,250.0000 \$846.6800	\$6,250.00 \$4,233.40
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH	# 050,000	Фо ооо оо
	Superior Traffic Control, LLC LU, Inc.		\$650.0000 \$800.8800	\$2,600.00 \$3,203.52
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BO	DARD		
	Our arian Traffic Control III C	20.000 DAY	Φ4 07F 0000	\$04.500.00
	Superior Traffic Control, LLC LU, Inc.		\$1,075.0000 \$1,636.9100	\$21,500.00 \$32,738.20
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN S			
	Superior Traffic Control, LLC	10.000 C.Y.	\$650.0000	\$6,500.00
	LU, Inc.		\$650.7200	\$6,507.20
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FO	•		
	Superior Traffic Control, LLC	4,000.000 LB.	\$3.0000	\$12,000.00
	LU, Inc.		\$2.7500	\$11,000.00
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPO			
	Superior Traffic Control, LLC	2,500.000 LB.	\$4.3500	\$10,875.00
	LU, Inc.		\$5.0800	\$12,700.00
713-05	STEEL HOLLOW SQUARE POST (BREAKAWAY)			
	Superior Traffic Control, LLC	50.000 LB.	\$5.0000	\$250.00
	LU, Inc.		\$5.0100	\$250.50
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIG			
	Superior Traffic Control, LLC	10,000.000 LB.	\$4.3500	\$43,500.00
	LU, Inc.		\$5.0800	\$50,800.00
713-11.01	"U" SECTION STEEL POSTS	45.000 - 5		
	Superior Traffic Control, LLC	45.000 LB.	\$5.0000	\$225.00
	LU. Inc.		\$3.0100 \$3.0100	\$135.45

LU, Inc.

\$3.0100

				CONTRACT CNT189
			UNIT PRICE	EXTENSION
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		45.000 LB.		
	Superior Traffic Control, LLC		\$4.0000	\$180.00
	LU, Inc.		\$4.0000	\$180.00
713-11.05	SQUARE TUBE SIGN SUPPORT			
		45.000 LB.		
	Superior Traffic Control, LLC		\$5.0000	\$225.00
	LU, Inc.		\$5.2500	\$236.25
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	,	23.000 S.F.		
	Superior Traffic Control, LLC		\$16.0000	\$368.00
	LU, Inc.		\$14.2700	\$328.21
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
	,	60.000 S.F.		
	Superior Traffic Control, LLC		\$17.0000	\$1,020.00
	LU, Inc.		\$16.0200	\$961.20
713-13.12	FLAT SHEET ALUM SIGNS OVERLAY (0.080" THICK)			
	·	150.000 S.F.		
	Superior Traffic Control, LLC		\$15.0000	\$2,250.00
	LU, Inc.		\$18.0200	\$2,703.00
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		100.000 S.F.		
	Superior Traffic Control, LLC		\$4.2500	\$425.00
	LU, Inc.		\$2.5000	\$250.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		4,000.000 S.F.		
	Superior Traffic Control, LLC		\$23.6500	\$94,600.00
	LU, Inc.		\$27.0900	\$108,360.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		5.000 EACH		
	Superior Traffic Control, LLC		\$80.0000	\$400.00
	LU, Inc.		\$30.0300	\$150.15
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED SIGNS WITH SA	ADDLE SUPPORTS		
	-	30.000 EACH		
	Superior Traffic Control, LLC		\$60.0000	\$1,800.00
	III loo		የ ደለ ለለለለ	¢4 500 00

30.000 EACH

LU, Inc.

LU, Inc.

Superior Traffic Control, LLC

713-15.10 REMOVAL OF SMALL BARRIER MOUNTED SIGNS W/ FLAT PLAT SUPPORTS

PAGE

3

\$1,500.00

\$1,500.00

\$1,200.00

\$50.0000

\$50.0000

\$40.0000

				CONTRACT CNT189
			UNIT PRICE	EXTENSION
712 15 26	DEMOVE SIGN SUPPORT & FOOTING			
/13-13.30	REMOVE SIGN, SUPPORT & FOOTING	10.000 EACH		
	Superior Traffic Control, LLC		\$250.0000	\$2,500.00
	LU, Inc.		\$225.2500	\$2,252.50
713-15 37	INSTALLATION OF SIGN MESSAGE(LETTER,#,ARROW,SHI	FI D)		
7 10 10.01	MOTALLATION OF GION MESOAGE(LETTER, M, ARROW, STILL	24.000 S.F.		
	Superior Traffic Control, LLC		\$55.0000	\$1,320.00
	LU, Inc.		\$50.0600	\$1,201.44
713-15.38	EXTRUDED ALUMINUM PANELS FOR OVERLAYING BACK	GROUND		
		19.000 S.F.		
	Superior Traffic Control, LLC		\$6.5000	\$123.50
	LU, Inc.		\$19.0300	\$361.57
713-17.02	INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER PANEL			
		6.000 EACH		
	Superior Traffic Control, LLC		\$85.0000	\$510.00
	LU, Inc.		\$60.0700	\$360.42
713-17.04	INSTALL AUXILIARY SUPPORT ON EXISTING SIGN			
		235.000 L.F.		
	Superior Traffic Control, LLC LU, Inc.		\$7.1500 \$6.0100	\$1,680.25 \$1,412.35
	EO, IIIC.		ψ0.0100	ψ1,412.55
713-20.30	SIGN ADJUSTMENTS			
		8.000 EACH	****	4
	Superior Traffic Control, LLC LU, Inc.		\$300.0000 \$250.2800	\$2,400.00 \$2,002.24
	25, 110.		Ψ200.2000	Ψ2,002.21
713-30.02	BRIDGE MOUNTED SIGN SUPPORT			
	Our arises Traffic Occident LLO	225.000 LB.	#F 0000	#4.405.00
	Superior Traffic Control, LLC LU, Inc.		\$5.0000 \$8.0100	\$1,125.00 \$1,802.25
			·	. ,
713-30.05	BARRIER MOUNTED SQUARE TUBE SIGN SUPPORT			
	Superior Traffic Control, LLC	1,440.000 LB.	\$5.0000	\$7,200.00
	LU, Inc.		\$4.0000	\$5,760.00
713-30.08	BARRIER MOUNTED PERFORATED/KNOCKOUT SIGN SUP	PORT 113.000 LB.		
	Superior Traffic Control, LLC	113.000 LB.	\$4.0000	\$452.00
	LU, Inc.		\$7.5100	\$848.63
742 20 00	DARDIED MOUNTED SIGN SUPPORT			
<i>t</i> 13-30.09	BARRIER MOUNTED SIGN SUPPORT	8.000 EACH		
	Superior Traffic Control, LLC	SIOUV ENOTI	\$285.0000	\$2,280.00
	LU, Inc.		\$875.9700	\$7,007.76

			CONTRACT CNT189
		UNIT PRICE	EXTENSION
713-30.10 BARRIER MOUNTED SIGN SUPPORT (FLAT PLATE)			
	10.000 EACH		
Superior Traffic Control, LLC		\$150.0000	\$1,500.00
LU, Inc.		\$130.1400	\$1,301.40

SUB-TOTAL MAINTENANCE

 Superior Traffic Control, LLC
 \$227,958.75

 LU, Inc.
 \$262,148.08

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$227,958.75

 LU, Inc.
 \$262,148.08

COUNTIES BEDFORD, CHEATHAM, DAVIDSON, DICKSON, GILES, HICKMAN, HOUSTON, HUMPHREYS, LAWRENCE, LEWIS, LINCOLN, MACON, MARSHALL, MAURY, MONTGOMERY, MOORE, PERRY, ROBERTSON, RUTHERFORD, SMITH, STEWART, SUMNER, TROUSDALE, WAYNE, WILLIAMSON, AND WILSON (Contract No. CNT191 Call 008)

98303-4137-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2020

Vulcan Construction Materials, LLC\$226,011.50Superior Traffic Control, LLC\$232,941.50LU, Inc.\$245,585.10

			CC	NTRACT CNT191
			UNIT PRICE	EXTENSION
MAINTE	NANCE CATEGORY			
712-01.02	2 LANE CLOSURE			
		3.000 EACH		
	Vulcan Construction Materials, LLC		\$200.0000	\$600.00
	Superior Traffic Control, LLC		\$100.0000	\$300.00
	LU, Inc.		\$252.9400	\$758.82
712-01.03	LANE CLOSURE(NIGHT WORK)			
		5.000 EACH		
	Vulcan Construction Materials, LLC		\$700.0000	\$3,500.00
	Superior Traffic Control, LLC		\$1,000.0000	\$5,000.00
	LU, Inc.		\$399.2900	\$1,996.45
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$500.0000	\$2,000.00
	Superior Traffic Control, LLC		\$550.0000	\$2,200.00
	LU, Inc.		\$785.2600	\$3,141.04
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOAR	D		
		20.000 DAY		
	Vulcan Construction Materials, LLC		\$1,000.0000	\$20,000.00
	Superior Traffic Control, LLC		\$1,050.0000	\$21,000.00
	LU, Inc.		\$1,086.5000	\$21,730.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUP	PORTS)		
		15.000 C.Y.		
	Vulcan Construction Materials, LLC		\$585.0000	\$8,775.00
	Superior Traffic Control, LLC		\$600.0000	\$9,000.00
	LU, Inc.		\$545.8200	\$8,187.30
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR S	IGN SUPPORTS)		
		2,880.000 LB.		
	Vulcan Construction Materials, LLC		\$2.3500	\$6,768.00
	Superior Traffic Control, LLC		\$2.9000	\$8,352.00
	LU, Inc.		\$2.4800	\$7,142.40
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORT	S		
		2,400.000 LB.		
	Vulcan Construction Materials, LLC		\$3.9000	\$9,360.00
	Superior Traffic Control, LLC		\$4.0000	\$9,600.00
	LU, Inc.		\$4.4700	\$10,728.00
713-05	STEEL HOLLOW SQUARE POST (BREAKAWAY) SIG	N SUPPORTS		
		45.000 LB.		
	Vulcan Construction Materials, LLC		\$4.0000	\$180.00
	Superior Traffic Control, LLC		\$4.0000	\$180.00
	LU, Inc.		\$4.0500	\$182.25

				MINACI CHIISI
			UNIT PRICE	EXTENSION
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPO	PRT		
		10,000.000 LB.		
	Vulcan Construction Materials, LLC	•	\$3.8500	\$38,500.00
	Superior Traffic Control, LLC		\$4.0000	\$40,000.00
	LU, Inc.		\$4.3700	\$43,700.00
713-11.01	"U" SECTION STEEL POSTS			
		45.000 LB.		
	Vulcan Construction Materials, LLC		\$3.0000	\$135.00
	Superior Traffic Control, LLC		\$5.0000	\$225.00
	LU, Inc.		\$2.6300	\$118.35
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		45.000 LB.		
	Vulcan Construction Materials, LLC		\$3.6500	\$164.25
	Superior Traffic Control, LLC		\$4.0000	\$180.00
	LU, Inc.		\$4.0500	\$182.25
713-11.05	SQUARE TUBE SIGN SUPPORT			
		45.000 LB.		
	Vulcan Construction Materials, LLC		\$4.0500	\$182.25
	Superior Traffic Control, LLC		\$5.0000	\$225.00
	LU, Inc.		\$4.8000	\$216.00
713-13.02	2 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		38.000 S.F.		
	Vulcan Construction Materials, LLC		\$12.0000	\$456.00
	Superior Traffic Control, LLC		\$13.5000	\$513.00
	LU, Inc.		\$12.1400	\$461.32
713-13.03	3 FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		27.000 S.F.		
	Vulcan Construction Materials, LLC		\$13.0000	\$351.00
	Superior Traffic Control, LLC		\$14.5000	\$391.50
	LU, Inc.		\$13.1500	\$355.05
713-13.12	2 FLAT SHEET ALUM SIGNS OVERLAY (0.080" THICK)			
		180.000 S.F.		
	Vulcan Construction Materials, LLC		\$17.5000	\$3,150.00
	Superior Traffic Control, LLC		\$18.5000	\$3,330.00
	LU, Inc.		\$17.2000	\$3,096.00
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		100.000 S.F.		
	Vulcan Construction Materials, LLC		\$3.2500	\$325.00
	Superior Traffic Control, LLC		\$3.6500	\$365.00
	LU, Inc.		\$3.6000	\$360.00

			00	MINACI CNIISI
			UNIT PRICE	EXTENSION
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		4,500.000 S.F.		
	Vulcan Construction Materials, LLC	,	\$21.5000	\$96,750.00
	Superior Traffic Control, LLC		\$21.2500	\$95,625.00
	LU, Inc.		\$23.4800	\$105,660.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		8.000 EACH		
	Vulcan Construction Materials, LLC		\$25.0000	\$200.00
	Superior Traffic Control, LLC		\$75.0000	\$600.00
	LU, Inc.		\$25.3000	\$202.40
713-15.03	REMOVAL OF LARGER BARRIER MOUNTED SIGNS	WITH SADDLE SUPPORTS		
		30.000 EACH		
	Vulcan Construction Materials, LLC		\$70.0000	\$2,100.00
	Superior Traffic Control, LLC		\$85.0000	\$2,550.00
	LU, Inc.		\$50.0000	\$1,500.00
713-15.10	REMOVAL OF SMALL BARRIER MOUNTED SIGNS V	W FLAT PLAT SUPPORTS		
		30.000 EACH		
	Vulcan Construction Materials, LLC		\$45.0000	\$1,350.00
	Superior Traffic Control, LLC		\$75.0000	\$2,250.00
	LU, Inc.		\$40.0000	\$1,200.00
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		5.000 EACH		
	Vulcan Construction Materials, LLC		\$125.0000	\$625.00
	Superior Traffic Control, LLC		\$85.0000	\$425.00
	LU, Inc.		\$182.1100	\$910.55
713-15.37	7 INSTALLATION OF SIGN MESSAGE(LETTER,#,ARRO	DW,SHIELD)		
		45.000 S.F.		
	Vulcan Construction Materials, LLC		\$40.0000	\$1,800.00
	Superior Traffic Control, LLC		\$52.0000	\$2,340.00
	LU, Inc.		\$40.4700	\$1,821.15
713-15.38	B EXTRUDED ALUMINUM PANELS FOR OVERLAYING	BACKGROUND		
		45.000 S.F.		
	Vulcan Construction Materials, LLC		\$3.7500	\$168.75
	Superior Traffic Control, LLC		\$4.0000	\$180.00
	LU, Inc.		\$3.0400	\$136.80
713-17.02	2 INSTALL AUXILIARY SUPPORT FOR EXIT NUMBER	PANEL		
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$45.0000	\$180.00
	Superior Traffic Control, LLC		\$85.0000	\$340.00
	LU, Inc.		\$55.6400	\$222.56

		co	NTRACT CNT191
		UNIT PRICE	EXTENSION
713-17.04 INSTALL AUXILIARY SUPPORT ON EXISTING SIGN			
	235.000 L.F.		
Vulcan Construction Materials, LLC		\$5.5000	\$1,292.50
Superior Traffic Control, LLC		\$7.0000	\$1,645.00
LU, Inc.		\$5.5600	\$1,306.60
713-20.30 SIGN ADJUSTMENTS			
	8.000 EACH		
Vulcan Construction Materials, LLC		\$125.0000	\$1,000.00
Superior Traffic Control, LLC		\$350.0000	\$2,800.00
LU, Inc.		\$171.1300	\$1,369.04
713-30.02 BRIDGE MOUNTED SIGN SUPPORT			
	300.000 LB.		
Vulcan Construction Materials, LLC		\$6.0000	\$1,800.00
Superior Traffic Control, LLC		\$3.5000	\$1,050.00
LU, Inc.		\$6.5800	\$1,974.00
713-30.05 BARRIER MOUNTED SQUARE TUBE SIGN SUPPORT			
	4,320.000 LB.		
Vulcan Construction Materials, LLC	.,	\$4.0000	\$17,280.00
Superior Traffic Control, LLC		\$3.5000	\$15,120.00
LU, Inc.		\$4.9400	\$21,340.80
713-30.08 BARRIER MOUNTED PERFORATED/KNOCKOUT SIGN SUPPO	ORT		
	135.000 LB.		
Vulcan Construction Materials, LLC		\$4.2500	\$573.75
Superior Traffic Control, LLC		\$4.0000	\$540.00
LU, Inc.		\$6.0700	\$819.45
713-30.09 BARRIER MOUNTED SIGN SUPPORT			
	11.000 EACH		
Vulcan Construction Materials, LLC		\$275.0000	\$3,025.00
Superior Traffic Control, LLC		\$225.0000	\$2,475.00
LU, Inc.		\$141.0000	\$1,551.00
•		•	. ,

36.000 EACH

713-30.10 BARRIER MOUNTED SIGN SUPPORT (PERF/KNOCKOUT)

Vulcan Construction Materials, LLC

Superior Traffic Control, LLC

LU, Inc.

\$3,420.00

\$4,140.00

\$3,215.52

\$95.0000

\$115.0000

\$89.3200

SUB-TOTAL MAINTENANCE

Vulcan Construction Materials, LLC	\$226,011.50
Superior Traffic Control, LLC	\$232,941.50
LU, Inc.	\$245,585.10

TOTAL CONTRACT			
Vulcan Construction Materials, LLC	\$226,011.50		
Superior Traffic Control, LLC	\$232,941.50		
LU, Inc.	\$245,585.10		

COUNTIES BENTON, CARROLL, CHESTER, CROCKETT, DECATUR, DYER, FAYETTE, GIBSON, HARDEMAN, HARDIN, HAYWOOD, HENDERSON, HENRY, LAKE, LAUDERDALE, MADISON, MCNAIRY, OBION, SHELBY, TIPTON, AND WEAKLEY (Contract No. CNT192 Call 009)

98400-4117-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2020

TOTAL CONTRACT

Superior Traffic Control, LLC

\$236,931.75

LU, Inc.

\$245,330.60

MAINTEN	ANCE CATEGORY		UNIT PRICE	CONTRACT CNT192 EXTENSION
712-01.02	LANE CLOSURE			
	Superior Traffic Control, LLC LU, Inc.	2.000 EACH	\$200.0000 \$358.8500	\$400.00 \$717.70
712-01.03	LANE CLOSURE(NIGHT WORK)			
	Superior Traffic Control, LLC LU, Inc.	5.000 EACH	\$1,100.0000 \$520.3100	\$5,500.00 \$2,601.55
712-08.03	ARROW BOARD (TYPE C)			
	Superior Traffic Control, LLC LU, Inc.	4.000 EACH	\$650.0000 \$773.7600	\$2,600.00 \$3,095.04
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE BOARD			
	Superior Traffic Control, LLC LU, Inc.	20.000 DAY	\$1,000.0000 \$1,060.0000	\$20,000.00 \$21,200.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPORTS)			
		12.000 C.Y.		
	Superior Traffic Control, LLC LU, Inc.		\$650.0000 \$587.5000	\$7,800.00 \$7,050.00
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIGN SUPPO	ORTS)		
	·	4,000.000 LB.		
	Superior Traffic Control, LLC LU, Inc.		\$3.1500 \$2.3500	\$12,600.00 \$9,400.00
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPPORTS			
	Our prior Traffin Oceanal III O	1,500.000 LB.	#4.0500	#0.075.00
	Superior Traffic Control, LLC LU, Inc.		\$4.2500 \$4.6600	\$6,375.00 \$6,990.00
713-05	STEEL HOLLOW SQUARE POST (BREAKAWAY) SIGN SUPPOR	тѕ		
	Superior Traffic Control, LLC LU, Inc.	75.000 LB.	\$5.0000 \$4.8900	\$375.00 \$366.75
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SIGN SUPPORT			
	Our arise Traffic Ocates LLIO	12,000.000 LB.	*	#F4 000 00
	Superior Traffic Control, LLC LU, Inc.		\$4.2500 \$4.7700	\$51,000.00 \$57,240.00
713-11.01	"U" SECTION STEEL POSTS			

60.000 LB.

Superior Traffic Control, LLC

LU, Inc.

\$300.00

\$5.0000

\$2.7300

CONTRACT	CNT192
----------	--------

				CONTRACT CNT192
			UNIT PRICE	EXTENSION
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE	POST		
		60.000 LB.		
	Superior Traffic Control, LLC		\$4.0000	\$240.00
	LU, Inc.		\$3.7600	\$225.60
	LO, IIIC.		φ3.7600	φ225.60
713-11.05	SQUARE TUBE SIGN SUPPORT			
		45.000 LB.		
	Superior Traffic Control, LLC		\$5.0000	\$225.00
	LU, Inc.		\$5.0800	\$228.60
	20, 110.		ψο.σσσσ	Ψ220.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" TH	IICK)		
		38.000 S.F.		
	Superior Traffic Control, LLC		\$14.0000	\$532.00
	LU, Inc.		\$13.0700	\$496.66
	26, 116.		Ψ10.0100	ψ100.00
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" TH	IICK)		
		50.000 S.F.		
	Superior Traffic Control, LLC		\$15.0000	\$750.00
	LU, Inc.		\$14.0100	\$700.50
	20, 110.		Ψ11.0100	ψ1 00.00
713-13.12	FLAT SHEET ALUM SIGNS OVERLAY (0.08	0" THICK)		
		225.000 S.F.		
	Superior Traffic Control, LLC		\$18.5000	\$4,162.50
	LU, Inc.		\$17.7700	\$3,998.25
	20, 110.		ψσσ	ψο,οσο.2σ
713-13.14	FLORESCENT YELLOW SIGN SHEETING			
		75.000 S.F.		
	Superior Traffic Control, LLC		\$4.3500	\$326.25
	LU, Inc.		\$3.6500	\$273.75
	20, 110.		ψο.0000	Ψ210.10
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		4,000.000 S.F.		
	Superior Traffic Control, LLC	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$23.0000	\$92,000.00
	LU, Inc.		\$25.2800	\$101,120.00
	20, 110.		Ψ20.2000	Ψ101,120.00
713-15.01	REMOVAL OF EXISTING SIGN POST			
		5.000 EACH		
	Superior Traffic Control, LLC	5.550 <u>-</u> 5	\$65.0000	\$325.00
	LU, Inc.		\$51.2700	\$256.35
	20, 1110.		φοτ.27 σσ	Ψ200.00
713-15.03	REMOVAL OF LARGER BARRIER MOUNTE	ED SIGNS WITH SADDLE SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC		\$75.0000	\$2,250.00
	LU, Inc.		\$50.0000	\$1,500.00
				. ,
713-15.10	REMOVAL OF SMALL BARRIER MOUNTED	SIGNS W/ FLAT PLAT SUPPORTS		
		30.000 EACH		
	Superior Traffic Control, LLC		\$65.0000	\$1,950.00
	LU, Inc.		\$40.0000	\$1,200.00
				• •

			CONTRACT CNT192
		UNIT PRICE	EXTENSION
713-15.36	REMOVE SIGN, SUPPORT & FOOTIN	IG	
	TEMOTE GIGIN, GOLL GIVE GILL	6.000 EACH	
	Superior Traffic Control, LLC	\$250.0000	\$1,500.00
	LU, Inc.	\$206.8000	\$1,240.80
713-15.37	INSTALLATION OF SIGN MESSAGE	(LETTER,#,ARROW,SHIELD)	
		30.000 S.F.	
	Superior Traffic Control, LLC	\$55.0000	\$1,650.00
	LU, Inc.	\$45.1200	\$1,353.60
713-15.38	EXTRUDED ALUMINUM PANELS FO	R OVERLAYING BACKGROUND	
		19.000 S.F.	
	Superior Traffic Control, LLC	\$7.0000	\$133.00
	LU, Inc.	\$4.1000	\$77.90
713-17.02	INSTALL AUXILIARY SUPPORT FOR	EXIT NUMBER PANEL	
		5.000 EACH	
	Superior Traffic Control, LLC LU, Inc.	\$90.0000 \$54.5200	\$450.00 \$272.60
	LO, IIIG.	φ34.3200	φ212.00
713-17.04	INSTALL AUXILIARY SUPPORT ON	EXISTING SIGN	
		235.000 L.F.	
	Superior Traffic Control, LLC LU, Inc.	\$7.0000 \$5.5900	\$1,645.00 \$1,313.65
	20, 110.	ψ0.5300	ψ1,515.05
713-20.30	SIGN ADJUSTMENTS		
		6.000 EACH	
	Superior Traffic Control, LLC LU, Inc.	\$275.0000 \$230.3000	\$1,650.00 \$1,381.80
	LO, IIIO.	\$250.5000	ψ1,501.00
713-30.02	BRIDGE MOUNTED SIGN SUPPORT		
		300.000 LB.	
	Superior Traffic Control, LLC LU, Inc.	\$5.0000 \$8.2300	\$1,500.00 \$2,469.00
	20, 110.	ψ0.2000	ψ2,400.00
713-30.05	BARRIER MOUNTED SQUARE TUBE		
	0	2,880.000 LB.	# 40.000.00
	Superior Traffic Control, LLC LU, Inc.	\$4.8500 \$4.9400	\$13,968.00 \$14,227.20
	20, 1110.	\$ 1.0 100	Ψ11,221.20
713-30.08	BARRIER MOUNTED PERFORATED	KNOCKOUT SIGN SUPPORT	
	Comparing Traffic Courts 1110	150.000 LB.	# 000 00
	Superior Traffic Control, LLC LU, Inc.	\$4.0000 \$6.9600	\$600.00 \$1,044.00
	,	\$0.0000	ψ1,0 · 1.00
713-30.09	BARRIER MOUNTED SIGN SUPPOR		
	Cuparior Troffic Control 110	8.000 EACH	# 2.000.00
	Superior Traffic Control, LLC LU, Inc.	\$250.0000 \$141.0000	\$2,000.00 \$1,128.00
	,	Ψ111.0000	ψ.,.20.00

		(CONTRACT CNT192
		UNIT PRICE	EXTENSION
713-30.10 BARRIER MOUNTED SIGN SUPPORT (FLAT PLATE)			
	17.000 EACH		
Superior Traffic Control, LLC		\$125.0000	\$2,125.00
LU, Inc.		\$117.5000	\$1,997.50

SUB-TOTAL MAINTENANCE

Superior Traffic Control, LLC	\$236,931.75
LU, Inc.	\$245,330.60

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$236,931.75

 LU, Inc.
 \$245,330.60

COUNTIES BLEDSOE, BRADLEY, CANNON, CLAY, COFFEE, CUMBERLAND, DEKALB, FENTRESS, FRANKLIN, GRUNDY, HAMILTON, JACKSON, MARION, MCMINN, MEIGS, OVERTON, PICKETT, POLK, PUTNAM, RHEA, SEQUATCHIE, VAN BUREN, WARREN, AND WHITE (Contract No. CNT190 Call 012)

98200-4115-04

THE RANDOM ON-CALL SIGNING ON VARIOUS INTERSTATE AND STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2020

TOTAL CONTRACT

Superior Traffic Control, LLC

\$228,539.00

LU, Inc.

\$271,848.75

			co	NTRACT CNT190
MAINTEN	NANCE CATEGORY		UNIT PRICE	EXTENSION
712-01.02	LANE CLOSURE			
	Superior Traffic Control, LLC LU, Inc.	2.000 EACH	\$200.0000 \$206.8000	\$400.00 \$413.60
712-01.03	LANE CLOSURE(NIGHT WORK)			
	Superior Traffic Control, LLC LU, Inc.	4.000 EACH	\$1,100.0000 \$932.8000	\$4,400.00 \$3,731.20
712-08.03	ARROW BOARD (TYPE C)			
	Superior Traffic Control, LLC LU, Inc.	4.000 EACH	\$650.0000 \$827.2000	\$2,600.00 \$3,308.80
712-08.20	TRUCK MOUNTED ATTENUATOR W/MSSAGE B	OARD		
	Superior Traffic Control, LLC LU, Inc.	20.000 DAY	\$1,000.0000 \$1,574.1000	\$20,000.00 \$31,482.00
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN	SUPPORTS)		
	Superior Traffic Control, LLC LU, Inc.	15.000 C.Y.	\$650.0000 \$672.1000	\$9,750.00 \$10,081.50
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FO	DR SIGN SUPPORTS)		
	Superior Traffic Control, LLC LU, Inc.	4,000.000 LB.	\$3.1500 \$2.5900	\$12,600.00 \$10,360.00
713-04.02	STEEL I-BEAMS & W-F BEAMS FOR SIGN SUPP			
	Superior Traffic Control, LLC LU, Inc.	3,000.000 LB.	\$4.2500 \$4.9000	\$12,750.00 \$14,700.00
713-05	STEEL HOLLOW SQUARE POST (BREAKAWAY)	SIGN SUPPORTS		
	Superior Traffic Control, LLC LU, Inc.	75.000 LB.	\$5.0000 \$5.1700	\$375.00 \$387.75
713-06	STEEL I-BEAMS & WF-BEAMS(BREAKAWAY) SI	GN SUPPORT		
	Superior Traffic Control, LLC LU, Inc.	12,000.000 LB.	\$4.2500 \$4.9000	\$51,000.00 \$58,800.00
713-11.01	"U" SECTION STEEL POSTS	_		
	Our arise Traffic Control III O	45.000 LB.	# F 0000	# 005.00

Superior Traffic Control, LLC

LU, Inc.

\$225.00

\$5.0000

\$3.1000

				CONTRACT CNT190
			UNIT PRICE	EXTENSION
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST			
		45.000 LB.		
	Superior Traffic Control, LLC LU, Inc.		\$4.0000 \$4.1400	\$180.00 \$186.30
	Lo, mo.		ψ1.1100	Ψ100.00
713-11.05	SQUARE TUBE SIGN SUPPORT			
	Superior Traffic Control, LLC	45.000 LB.	\$5.0000	\$225.00
	LU, Inc.		\$5.4300	\$244.35
712 12 02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
713-13.02	FLAT SHEET ALUMINUM SIGNS (U.UOU THICK)	30.000 S.F.		
	Superior Traffic Control, LLC		\$14.0000	\$420.00
	LU, Inc.		\$14.4800	\$434.40
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		38.000 S.F.		
	Superior Traffic Control, LLC LU, Inc.		\$15.0000 \$15.3400	\$570.00 \$582.92
	LO, IIIC.		ψ10.0400	ψ302.92
713-13.12	FLAT SHEET ALUM SIGNS OVERLAY (0.080" THICK)			
	Superior Traffic Control, LLC	150.000 S.F.	\$18.5000	\$2,775.00
	LU, Inc.		\$19.2900	\$2,893.50
742 42 44	FLORESCENT YELLOW SIGN SHEETING			
713-13.14	FLORESCENT TELLOW SIGN SHEETING	200.000 S.F.		
	Superior Traffic Control, LLC		\$4.3500	\$870.00
	LU, Inc.		\$2.5900	\$518.00
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		4,000.000 S.F.		
	Superior Traffic Control, LLC LU, Inc.		\$22.0000 \$27.4000	\$88,000.00 \$109,600.00
	_5,v		Ψ=σσσ	ψ. σσ,σσσ.σσ
713-15.01	REMOVAL OF EXISTING SIGN POST			
	Superior Traffic Control, LLC	3.000 EACH	\$65.0000	\$195.00
	LU, Inc.		\$31.0200	\$93.06
712-15 02	REMOVAL OF LARGER BARRIER MOUNTED SIGNS WITH SA	DDI E SUPPOPTS		
1 13-13.03	NEWOVAL OF LANGER BARRIER MICUNIED SIGNS WITH SA	30.000 EACH		
	Superior Traffic Control, LLC		\$75.0000	\$2,250.00
	LU, Inc.		\$50.0000	\$1,500.00

30.000 EACH

713-15.10 REMOVAL OF SMALL BARRIER MOUNTED SIGNS W/ FLAT PLAT SUPPORTS

Superior Traffic Control, LLC

LU, Inc.

\$1,950.00

\$1,200.00

\$65.0000

\$40.0000

				CONTRACT CNT190
			UNIT PRICE	EXTENSION
742.45.20	DEMOVE CION CURRORT & FOOTING			
/13-15.36	REMOVE SIGN, SUPPORT & FOOTING	8.000 EACH		
	Superior Traffic Control, LLC	0.000 EAGIT	\$250.0000	\$2,000.00
	LU, Inc.		\$191.2900	\$1,530.32
713-15.37	INSTALLATION OF SIGN MESSAGE(L	ETTER.# ARROW.SHIELD)		
	(-	15.000 S.F.		
	Superior Traffic Control, LLC		\$55.0000	\$825.00
	LU, Inc.		\$51.7000	\$775.50
713-15.38	EXTRUDED ALUMINUM PANELS FOR	OVERLAYING BACKGROUND		
		30.000 S.F.		
	Superior Traffic Control, LLC		\$7.0000	\$210.00
	LU, Inc.		\$4.1400	\$124.20
713-17.02	INSTALL AUXILIARY SUPPORT FOR	EXIT NUMBER PANEL		
		5.000 EACH		
	Superior Traffic Control, LLC		\$90.0000	\$450.00
	LU, Inc.		\$62.0400	\$310.20
713-17.04	INSTALL AUXILIARY SUPPORT ON E	KISTING SIGN		
		100.000 L.F.		
	Superior Traffic Control, LLC		\$7.0000	\$700.00
	LU, Inc.		\$6.2000	\$620.00
713-20.30	SIGN ADJUSTMENTS			
		4.000 EACH		
	Superior Traffic Control, LLC		\$275.0000	\$1,100.00
	LU, Inc.		\$258.5000	\$1,034.00
713-30.02	BRIDGE MOUNTED SIGN SUPPORT			
		225.000 LB.		
	Superior Traffic Control, LLC		\$5.0000	\$1,125.00
	LU, Inc.		\$8.2700	\$1,860.75
713-30.05	BARRIER MOUNTED SQUARE TUBE	SIGN SUPPORT		
		1,440.000 LB.		
	Superior Traffic Control, LLC		\$4.8500	\$6,984.00
	LU, Inc.		\$4.1400	\$5,961.60
713-30.08	BARRIER MOUNTED PERFORATED/M	NOCKOUT SIGN SUPPORT		
		90.000 LB.		
	Superior Traffic Control, LLC		\$4.0000	\$360.00
	LU, Inc.		\$7.2400	\$651.60
713-30.09	BARRIER MOUNTED SIGN SUPPORT			
		8.000 EACH		
	Superior Traffic Control, LLC		\$250.0000	\$2,000.00 \$7,031.30
	LU, Inc.		\$878.9000	\$7,031.20

			CONTRACT CNT190
		UNIT PRICE	EXTENSION
713-30.10 BARRIER MOUNTED SIGN SUPPORT (FLAT PLATE)			
	10.000 EACH		
Superior Traffic Control, LLC		\$125.0000	\$1,250.00
LU, Inc.		\$129.2500	\$1,292.50

SUB-TOTAL MAINTENANCE

 Superior Traffic Control, LLC
 \$228,539.00

 LU, Inc.
 \$271,848.75

TOTAL CONTRACT

 Superior Traffic Control, LLC
 \$228,539.00

 LU, Inc.
 \$271,848.75

COUNTIES BLEDSOE, BRADLEY, CANNON, COFFEE, FRANKLIN, GRUNDY, HAMILTON, MARION, POLK, RHEA, SEQUATCHIE, VAN BUREN, AND WARREN (Contract No. CNT150 Call 013)

STP-REG2(198),98200-8208-14

THE LONGITUDINAL JOINT STABILIZATION ON VARIOUS STATE ROUTES.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2019

DBE GOAL 9.00%

TOTAL CONTRACT

Pavement Restorations, Inc.

\$275,233.60

Pavement Technology, Inc.

\$688,738.20

	ACT	Γ150

ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
411-01.12	2 LONGITUDINAL JOINT STABILIZATION			
		2,565,420. S.F. 000		
	Pavement Restorations, Inc.		\$0.0800	\$205,233.60
	Pavement Technology, Inc.		\$0.2100	\$538,738.20
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Pavement Restorations, Inc.		\$45,000.0000	\$45,000.00
	Pavement Technology, Inc.		\$95,000.0000	\$95,000.00
	3,,		, ,	+ /
717-01	MOBILIZATION			
		1.000 LS		
	Pavement Restorations, Inc.		\$25,000.0000	\$25,000.00
	Pavement Technology, Inc.		\$55,000.0000	\$55,000.00
			+ , - 0 0 1 0 0 0 0	,

Pavement Restorations, Inc.	\$275,233.60
Pavement Technology, Inc.	\$688,738.20

TOTAL CONTRACT

Pavement Restorations, Inc.	\$275,233.60
Pavement Technology, Inc.	\$688,738.20

BLOUNT COUNTY (Contract No. CNT134 Call 015)

05022-4236-04,NH/HSIP-73(70),05006-3264-94,05006-8264-14,NH/HSIP-73(71),05006-3265-94,05006-8265-14,STP/HSIP-335(7),05022-3236-94,05022-8236-14

THE RESURFACING ON U.S. 321 (S.R. 73) FROM S.R. 335 (L.M. 7.70) TO NEAR TUCKALECHEE PIKE (L.M. 17.00) AND ON S.R. 335 FROM NEAR U.S. 411 (S.R. 33) (L.M. 0.00) TO NEAR U.S. 321 (S.R. 73) (L.M. 3.48).

PROJECT LENGTH - 12.420 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 9.50%

TOTAL CONTRACT

APAC-Atlantic, Inc.

\$5,453,828.10

			C	ONTRACT CNT134
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
307-01.15	S ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	APAC-Atlantic, Inc.	336.000 TON	\$120.0000	\$40,320.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	APAC-Atlantic, Inc.	235.000 TON	\$500.0000	\$117,500.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER	2,751.000 TON		
	APAC-Atlantic, Inc.	2,731.000 1014	\$89.5000	\$246,214.50
411-02.10	ACS MIX(PG70-22) GRADING D	24,436.000 TON		
	APAC-Atlantic, Inc.		\$106.7000	\$2,607,321.20
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT	3,414.000 TON		
444 42 04	APAC-Atlantic, Inc.		\$115.0000	\$392,610.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH) APAC-Atlantic, Inc.	4.500 L.M.	\$1,300.0000	\$5,850.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN W	IDTH)	ψ1,500.5000	ψο,οσο.οσ
	APAC-Atlantic, Inc.	5.400 L.M.	\$1,175.0000	\$6,345.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH) 5.400 L.M.		
	APAC-Atlantic, Inc.	3.400 L.IM.	\$1,175.0000	\$6,345.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	27,025.000 TON		
	APAC-Atlantic, Inc.	,	\$23.0000	\$621,575.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)	4,925.000 S.F.		
	APAC-Atlantic, Inc.		\$38.0000	\$187,150.00
701-02.03	ADAC Allertie les	200.000 S.F.	#00 5000	#0.500.00
705-02.10	APAC-Atlantic, Inc. GUARDRAIL TRANSITION 27IN TO 31IN		\$32.5000	\$6,500.00
. 55 52.70	APAC-Atlantic, Inc.	41.000 EACH	\$160.0000	\$6,560.00

			UNIT PRICE	CONTRACT CNT134 EXTENSION
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	APAC-Atlantic, Inc.	41.000 EACH	\$1,200.0000	\$49,200.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	APAC-Atlantic, Inc.	41.000 EACH	\$2,600.0000	\$106,600.00
712-01	TRAFFIC CONTROL			
	APAC-Atlantic, Inc.	1.000 LS	\$202,500.0000	\$202,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	APAC-Atlantic, Inc.	602.000 EACH	\$10.0000	\$6,020.00
712-05.01	WARNING LIGHTS (TYPE A)	204 200 54 211		
	APAC-Atlantic, Inc.	301.000 EACH	\$5.5000	\$1,655.50
712-06	SIGNS (CONSTRUCTION)	0.705.000.0.5		
	APAC-Atlantic, Inc.	2,725.000 S.F.	\$6.9000	\$18,802.50
712-08.03	ARROW BOARD (TYPE C)			
	APAC-Atlantic, Inc.	4.000 EACH	\$1,000.0000	\$4,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIF			
	APAC-Atlantic, Inc.	1,014.000 EACH	\$25.0000	\$25,350.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-			
	APAC-Atlantic, Inc.	759.000 EACH	\$25.0000	\$18,975.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIF			
	APAC-Atlantic, Inc.	1,020.000 EACH	\$25.0000	\$25,500.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	APAC-Atlantic, Inc.	1,494.000 EACH	\$6.5000	\$9,711.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
	APAC-Atlantic, Inc.	3,572.000 L.F.	\$8.5000	\$30,362.00

			UNIT PRICE	CONTRACT CNT134 EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING APAC-Atlantic, Inc.) 533.000 S.Y.	\$19.5000	\$10,393.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		Ψ10.0000	ψ10,000.00
	APAC-Atlantic, Inc.	1,981.000 L.F.	\$9.7500	\$19,314.75
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	143.000 EACH	£400,0000	#22.000.00
716-02.08	APAC-Atlantic, Inc. PLASTIC PAVEMENT MARKING (8" DOTTED LINE)		\$160.0000	\$22,880.00
	APAC-Atlantic, Inc.	4,089.000 L.F.	\$1.0000	\$4,089.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WAI	LK) 1,387.000 L.F.		
	APAC-Atlantic, Inc.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$19.5000	\$27,046.50
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)	224.000 L.F.		
	APAC-Atlantic, Inc.		\$2.1000	\$470.40
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)	1.000 L.M.		
	APAC-Atlantic, Inc.		\$11,500.0000	\$11,500.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)	8.000 EACH		
	APAC-Atlantic, Inc.		\$135.0000	\$1,080.00
716-03.04	PLASTIC WORD PAVEMENT MARKING (SCHOOL)	2.000 EACH		
	APAC-Atlantic, Inc.		\$210.0000	\$420.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)	7.000 EACH		
	APAC-Atlantic, Inc.		\$210.0000	\$1,470.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)	LDER) 181.000 L.F.		
	APAC-Atlantic, Inc.		\$3.2500	\$588.25
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)	5.000 EACH		
	APAC-Atlantic, Inc.		\$135.0000	\$675.00

62,000.000 L.F.

APAC-Atlantic, Inc.

APAC-Atlantic, Inc.

730-14.03 LOOP WIRE

\$116,250.00

\$31,000.00

\$3.7500

\$0.5000

CONTRACT CNT134

UNIT PRICE EXTENSION

BRIDGE CATEGORY

617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)

950.000 S.Y.

APAC-Atlantic, Inc. \$37.5000 \$35,625.00

APAC-Atlantic, Inc. \$5,418,203.10

SUB-TOTAL BRIDGE

APAC-Atlantic, Inc. \$35,625.00

TOTAL CONTRACT

APAC-Atlantic, Inc. \$5,453,828.10

CAMPBELL COUNTY (Contract No. CNT235 Call 016)

NH-I-75-3(186),07100-4158-04

THE EMERGENCY SLOPE STABILIZATION ON I-75 NEAR L.M. 21.60 (M.M. 151.90).

PROJECT LENGTH - 0.624 MILES

COMPLETION TIME - ON OR BEFORE MAY 31, 2020

TOTAL	CONTRACT
	00.11.0

J & M Grading Division, LLC	\$5,652,692.80
Twin K Construction, Inc.	\$6,049,355.78
Kay & Kay Contracting, LLC	\$7,010,021.05
Charles Blalock & Sons, Inc.	\$7,438,769.93

UNIT PRICE	EXTENSION
CIVILLIVIOL	L/(LINOIOIN

NOADIIA	NI GATEGORI			
		_		
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	J & M Grading Division, LLC		\$27,500.0000	\$27,500.00
	Twin K Construction, Inc.		\$23,156.7900	\$23,156.79
	Kay & Kay Contracting, LLC		\$25,000.0000	\$25,000.00
	Charles Blalock & Sons, Inc.		\$18,913.1300	\$18,913.13
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	J & M Grading Division, LLC		\$95,000.0000	\$95,000.00
	Twin K Construction, Inc.		\$127,464.5300	\$127,464.53
	Kay & Kay Contracting, LLC		\$25,000.0000	\$25,000.00
	Charles Blalock & Sons, Inc.		\$1,000,000.0000	\$1,000,000.00
202-01.13	REMOVAL OF PIPE (SIZE ,STA.)			
		50.000 L.F.		
	J & M Grading Division, LLC		\$85.0000	\$4,250.00
	Twin K Construction, Inc.		\$21.4400	\$1,072.00
	Kay & Kay Contracting, LLC		\$50.0000	\$2,500.00
	Charles Blalock & Sons, Inc.		\$51.0000	\$2,550.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIF	FIED)		
		16,817.000 C.Y.		
	J & M Grading Division, LLC	10,0111000 0111	\$14.1000	\$237,119.70
	Twin K Construction, Inc.		\$20.0400	\$337,012.68
	Kay & Kay Contracting, LLC		\$20.0000	\$336,340.00
	Charles Blalock & Sons, Inc.		\$11.3700	\$191,209.29
203-02 01	BORROW EXCAVATION (GRADED SOLID ROCK	O.		
203-02.01	BORROW EXCAVATION (GRADED SOCID ROOF			
		124,657.000 TON	***	
	J & M Grading Division, LLC		\$29.2000	\$3,639,984.40
	Twin K Construction, Inc.		\$31.0000	\$3,864,367.00
	Kay & Kay Contracting, LLC		\$36.0000	\$4,487,652.00
	Charles Blalock & Sons, Inc.		\$35.0000	\$4,362,995.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		10,093.000 C.Y.		
	J & M Grading Division, LLC		\$12.0000	\$121,116.00
	Twin K Construction, Inc.		\$23.6200	\$238,396.66
	Kay & Kay Contracting, LLC		\$50.0000	\$504,650.00
	Charles Blalock & Sons, Inc.		\$15.3300	\$154,725.69
209-05	SEDIMENT REMOVAL			
		20.000 C.Y.		
	J & M Grading Division, LLC		\$25.0000	\$500.00
	Twin K Construction, Inc.		\$23.3600	\$467.20
	Kay & Kay Contracting, LLC		\$100.0000	\$2,000.00
	Charles Blalock & Sons, Inc.		\$129.4400	\$2,588.80
	2		ψ.23.1100	ψ2,500.00

			0.0	
			UNIT PRICE	EXTENSION
200 00 00	ENHANCED DOOK CHECK DAM			
209-08.08	ENHANCED ROCK CHECK DAM	2.000 EACH		
		2.000 LAGI1		
	J & M Grading Division, LLC		\$1,200.0000	\$2,400.00
	Twin K Construction, Inc.		\$757.3900	\$1,514.78
	Kay & Kay Contracting, LLC		\$500.0000	\$1,000.00
	Charles Blalock & Sons, Inc.		\$735.0000	\$1,470.00
209-40.33	CATCH BASIN PROTECTION (TYPE D)			
		4.000 EACH		
	J & M Grading Division, LLC		\$500.0000	\$2,000.00
	Twin K Construction, Inc.		\$2,350.5300	\$9,402.12
	Kay & Kay Contracting, LLC		\$500.0000	\$2,000.00
	Charles Blalock & Sons, Inc.		\$525.0000	\$2,100.00
303-01	MINERAL AGGREGATE, TYPE A BASE,	GRADING D		
		3,369.000 TON		
	J & M Grading Division, LLC		\$27.5000	\$92,647.50
	Twin K Construction, Inc.		\$29.4000	\$99,048.60
	•		\$30.0000	
	Kay & Kay Contracting, LLC			\$101,070.00
	Charles Blalock & Sons, Inc.		\$40.4300	\$136,208.67
303-10.01	MINERAL AGGREGATE (SIZE 57)			
		1,270.000 TON		
	J & M Grading Division, LLC		\$28.0000	\$35,560.00
	Twin K Construction, Inc.		\$38.4800	\$48,869.60
	Kay & Kay Contracting, LLC		\$30.0000	\$38,100.00
	-		\$43.3300	
	Charles Blalock & Sons, Inc.		φ43.3300	\$55,029.10
307-03.01	ASPHALT CONCRETE MIX (PG76-22) (B	BPMB-HM) GRADING A		
		703.000 TON		
	J & M Grading Division, LLC		\$80.7500	\$56,767.25
	Twin K Construction, Inc.		\$111.2500	\$78,208.75
	Kay & Kay Contracting, LLC		\$105.2000	\$73,955.60
	Charles Blalock & Sons, Inc.		\$110.4600	\$77,653.38
	Onanes Dialock & Sons, Inc.		ψ110.4000	ψ77,000.00
307-03.08	ASPHALT CONCRETE MIX (PG76-22) (B	BPMB-HM) GRADING B-M2		
		471.000 TON		
	J & M Grading Division, LLC		\$91.3000	\$43,002.30
	Twin K Construction, Inc.		\$116.6400	\$54,937.44
	Kay & Kay Contracting, LLC		\$110.3000	\$51,951.30
	Charles Blalock & Sons, Inc.		\$115.8200	\$54,551.22
	Charles Blaiock & Sons, Inc.		φ113.0200	φ34,331.22
402-01	BITUMINOUS MATERIAL FOR PRIME CO	OAT (PC)		
		6.000 TON		
	J & M Grading Division, LLC		\$746.7500	\$4,480.50
	Twin K Construction, Inc.		\$685.2500	\$4,111.50
	Kay & Kay Contracting, LLC		\$648.0000	\$3,888.00
	-			
	Charles Blalock & Sons, Inc.		\$680.4000	\$4,082.40

				CONTRACT CNT235
			UNIT PRICE	EXTENSION
			ONTTRIOL	ZXI ZXIOIOIV
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		10.000 TON		
	J & M Grading Division, LLC	10.000 1014	\$712.8000	\$7,128.00
	Twin K Construction, Inc.		\$712.8000 \$750.8200	\$7,128.00 \$7,508.20
	Kay & Kay Contracting, LLC		\$730.0200	\$7,300.20 \$7,100.00
	Charles Blalock & Sons, Inc.		\$745.5000	\$7,455.00
	Onanes Blaton & Sons, mo.		Ψ7-40.0000	Ψ1,400.00
411-03.10	ACS MIX(PG76-22) GRADING D			
		1,223.000 TON		
	J & M Grading Division, LLC	1,220.000 10.1	\$122.8000	\$150,184.40
	Twin K Construction, Inc.		\$125.8400	\$153,902.32
	Kay & Kay Contracting, LLC		\$119.0000	\$145,537.00
	Charles Blalock & Sons, Inc.		\$124.9500	\$152,813.85
			ψ.Ξσσσσ	Ψ.σΞ,σ.σ.σσ
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	, , ,	2.000 L.M.		
	J & M Grading Division, LLC	2.000 2	\$2,600.0000	\$5,200.00
	Twin K Construction, Inc.		\$2,114.9700	\$4,229.94
	Kay & Kay Contracting, LLC		\$5,000.0000	\$10,000.00
	Charles Blalock & Sons, Inc.		\$1,312.5000	\$2,625.00
			ψ.,σ.=.σσσσ	ψ=,σ=σ.σσ
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		14,279.000 S.Y.		
	J & M Grading Division, LLC	,	\$2.7500	\$39,267.25
	Twin K Construction, Inc.		\$2.2200	\$31,699.38
	Kay & Kay Contracting, LLC		\$2.1000	\$29,985.90
	Charles Blalock & Sons, Inc.		\$2.2100	\$31,556.59
	,		,	, - ,
607-03.03	18" CONCRETE PIPE CULVERT (CLASS IV)			
		34.000 L.F.		
	J & M Grading Division, LLC	5 <u> </u>	\$150.0000	\$5,100.00
	Twin K Construction, Inc.		\$101.1400	\$3,438.76
	Kay & Kay Contracting, LLC		\$270.0000	\$9,180.00
	Charles Blalock & Sons, Inc.		\$92.5400	\$3,146.36
			¥0=10.000	¥ -,······
607-06.02	30" CONCRETE PIPE CULVERT (CLASS III)			
	,	29.000 L.F.		
	J & M Grading Division, LLC	LOIVOU EII I	\$150.0000	\$4,350.00
	Twin K Construction, Inc.		\$183.3800	\$5,318.02
	Kay & Kay Contracting, LLC		\$240.0000	\$6,960.00
	Charles Blalock & Sons, Inc.		\$131.5300	\$3,814.37
	Charles States & Corte, Inc.		ψ101.0000	ψυ,υ ι τ.υ ι
607-07.04	36" CONCRETE PIPE CULVERT (CLASS V)			
	, ,	370.000 L.F.		
	J & M Grading Division, LLC	0. 0.000 En 1	\$235.0000	\$86,950.00
	Twin K Construction Inc.		\$255.0000 \$156.9000	\$59,016,00

Twin K Construction, Inc.

Kay & Kay Contracting, LLC

Charles Blalock & Sons, Inc.

\$58,016.00

\$77,700.00

\$64,568.70

\$156.8000

\$210.0000

\$174.5100

		CC	MIRACI CN1233
		UNIT PRICE	EXTENSION
610-12.02 HORIZONTAL DRAINS			
	500.000 L.F.		
J & M Grading Division, LLC		\$200.0000	\$100,000.00
Twin K Construction, Inc.		\$211.5000	\$105,750.00
Kay & Kay Contracting, LLC		\$185.0000	\$92,500.00
Charles Blalock & Sons, Inc.		\$210.0000	\$105,000.00
Ghanes Blatock & Sons, Inc.		Ψ210.0000	Ψ103,000.00
611-01.04 MANHOLES, > 12' - 16' DEPTH			
	1.000 EACH		
J & M Grading Division, LLC		\$10,000.0000	\$10,000.00
Twin K Construction, Inc.		\$11,931.0300	\$11,931.03
Kay & Kay Contracting, LLC		\$12,000.0000	\$12,000.00
Charles Blalock & Sons, Inc.		\$11,540.1200	\$11,540.12
611-01.07 MANHOLES, > 24' - 28' DEPTH			
20 22 11	5.000 EACH		
L. M. Cradina Division LLC	3.000 EACH	¢26 E00 0000	¢422 E00 00
J & M Grading Division, LLC		\$26,500.0000	\$132,500.00
Twin K Construction, Inc.		\$21,977.2300	\$109,886.15
Kay & Kay Contracting, LLC		\$23,000.0000	\$115,000.00
Charles Blalock & Sons, Inc.		\$9,761.8900	\$48,809.45
611-07.61 30IN ENDWALL (CROSS DRAIN) 4:1			
	1.000 EACH		
J & M Grading Division, LLC		\$5,000.0000	\$5,000.00
Twin K Construction, Inc.		\$5,478.6500	\$5,478.65
Kay & Kay Contracting, LLC		\$7,000.0000	\$7,000.00
Charles Blalock & Sons, Inc.		\$6,102.9400	\$6,102.94
611-07.63 36IN ENDWALL (CROSS DRAIN) 3:1			
OTT-07.00 SOIN ENDWALE (ONOSO BINAIN) 3.1	1.000 EACH		
L. M. Cradina Divinion, L.L.C.	1.000 LAGII	\$5,500,0000	¢5 500 00
J & M Grading Division, LLC		\$5,500.0000 \$5,885,7600	\$5,500.00 \$5,895.76
Twin K Construction, Inc.		\$5,885.7600 \$7,400,0000	\$5,885.76 \$7,400.00
Kay & Kay Contracting, LLC		\$7,100.0000	\$7,100.00 \$6,169.67
Charles Blalock & Sons, Inc.		\$6,168.6700	\$6,168.67
611-07.73 18IN ENDWALL (MEDIAN DRAIN)			
	1.000 EACH		
J & M Grading Division, LLC		\$7,000.0000	\$7,000.00
Twin K Construction, Inc.		\$6,073.3000	\$6,073.30
Kay & Kay Contracting, LLC		\$9,000.0000	\$9,000.00
Charles Blalock & Sons, Inc.		\$8,835.1100	\$8,835.11
611-09.01 ADJUSTMENT OF EXISTING CATCHBASIN			
OTT-03.01 AD300TMENT OF EXISTING OATOTIBAGIN	2.000 EACH		
J & M Grading Division, LLC		\$2,000.0000	\$4,000.00
Twin K Construction, Inc.		\$1,075.3700	\$2,150.74
Kay & Kay Contracting, LLC		\$2,500.0000	\$5,000.00
Charles Blalock & Sons, Inc.		\$1,745.6000	\$3,491.20
Change Blacon & Cone, mo.		ψ.,. io.ooo	ψ3, 101.20

			MIRACI CN1233
		UNIT PRICE	EXTENSION
611-25.06 CATCH BASINS, TYPE 25, > 20' - 24' DEPTH			
,	1.000 EACH		
J & M Grading Division, LLC		\$11,000.0000	\$11,000.00
Twin K Construction, Inc.		\$9,960.1100	\$9,960.11
Kay & Kay Contracting, LLC		\$12,000.0000	\$12,000.00
Charles Blalock & Sons, Inc.		\$11,352.2200	\$12,000.00
Grianes Dialock & Sons, Inc.		ψ11,332.2200	ψ11,332.22
621-03.02 18" TEMPORARY DRAINAGE PIPE			
	2,500.000 L.F.		
J & M Grading Division, LLC		\$30.0000	\$75,000.00
Twin K Construction, Inc.		\$20.6000	\$51,500.00
Kay & Kay Contracting, LLC		\$50.0000	\$125,000.00
Charles Blalock & Sons, Inc.		\$30.9000	\$77,250.00
702-01.01 EXTRUDED SLOPING CURB			
	531.000 L.F.		
L. M. Cradina Division LLC	331.000 L.F.	<u> </u>	¢4E 020 00
J & M Grading Division, LLC		\$30.0000	\$15,930.00
Twin K Construction, Inc.		\$17.9000	\$9,504.90
Kay & Kay Contracting, LLC		\$25.0000	\$13,275.00
Charles Blalock & Sons, Inc.		\$26.5300	\$14,087.43
705-04.50 PORTABLE BARRIER RAIL DELINEATOR			
	15.000 EACH		
J & M Grading Division, LLC		\$20.0000	\$300.00
Twin K Construction, Inc.		\$17.1300	\$256.95
Kay & Kay Contracting, LLC		\$15.0000	\$225.00
Charles Blalock & Sons, Inc.		\$16.2200	\$243.30
705-06.02 W BEAM GR (TYPE 2) MASH TL3 (LONG POST)			
700 00.02 17 524.11 61 (111 22) 111/2011 120 (2010 1 001)	531.000 L.F.		
J & M Grading Division, LLC		\$22.0000	\$11,682.00
Twin K Construction, Inc.		\$27.4900	\$14,597.19
Kay & Kay Contracting, LLC		\$21.2500	\$11,283.75
Charles Blalock & Sons, Inc.		\$22.3100	\$11,846.61
705-06.10 GR TERMINALTRAILING END (TYPE 13) MASH TL3			
705-00.10 GR TERMINALTRAILING END (TTTE 15) MAGIT TES	1.000 EACH		
L. M. Cradina Division LLC	1.000 LACI1	£4 200 0000	¢4 200 00
J & M Grading Division, LLC		\$1,200.0000	\$1,200.00
Twin K Construction, Inc.		\$1,083.8700	\$1,083.87
Kay & Kay Contracting, LLC		\$1,136.0000	\$1,136.00
Charles Blalock & Sons, Inc.		\$1,192.8000	\$1,192.80
705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3)			
	1.000 EACH		
J & M Grading Division, LLC		\$7,000.0000	\$7,000.00
Twin K Construction, Inc.		\$4,758.4600	\$4,758.46
Kay & Kay Contracting, LLC		\$5,000.0000	\$5,000.00
Charles Blalock & Sons, Inc.		\$7,027.9800	\$7,027.98
		÷:,: = :::3333	ţ:,o=::00

CONTRACT CNT235

			•	J. 1111/101 O.111200
			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
		531.000 L.F.		
	J & M Grading Division, LLC		\$3.0000	\$1,593.00
	Twin K Construction, Inc.		\$1.8500	\$982.35
	Kay & Kay Contracting, LLC		\$0.7500	\$398.25
	Charles Blalock & Sons, Inc.		\$1.0500	\$557.55
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		100.000 TON		
	J & M Grading Division, LLC		\$40.0000	\$4,000.00
	Twin K Construction, Inc.		\$43.6900	\$4,369.00
	Kay & Kay Contracting, LLC		\$45.0000	\$4,500.00
	Charles Blalock & Sons, Inc.		\$44.1100	\$4,411.00
700 OF 00	MACHINED DID DAD (CLASS D)			
709-05.08	MACHINED RIP-RAP (CLASS B)	1,388.000 TON		
	Le M. Cradina Division LLC	1,386.000 1011	Ф 25 0000	\$40,500,00
	J & M Grading Division, LLC		\$35.0000	\$48,580.00
	Twin K Construction, Inc.		\$35.9400	\$49,884.72
	Kay & Kay Contracting, LLC		\$37.0000	\$51,356.00
	Charles Blalock & Sons, Inc.		\$45.4900	\$63,140.12
712-01	TRAFFIC CONTROL			
		1.000 LS		
	J & M Grading Division, LLC		\$101,000.0000	\$101,000.00
	Twin K Construction, Inc.		\$73,335.5900	\$73,335.59
	Kay & Kay Contracting, LLC		\$100,000.0000	\$100,000.00
	Charles Blalock & Sons, Inc.		\$100,000.0000	\$100,000.00
712-02 02	INTERCONNECTED PORTABLE BARRIER RAIL			
712-02.02	MILICONNECTED FORTABLE BARRIER RAIL	1,050.000 L.F.		
	L.S. M. Crading Division, LLC	1,030.000 E.I .	0000 cc#	¢22 100 00
	J & M Grading Division, LLC		\$22.0000 \$43.5000	\$23,100.00 \$45,760.50
	Twin K Construction, Inc. Kay & Kay Contracting, LLC		\$43.5900 \$50.0000	\$45,769.50 \$53,500.00
			\$50.0000 \$46.8400	\$52,500.00 \$40,450.50
	Charles Blalock & Sons, Inc.		\$46.8100	\$49,150.50
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		200.000 EACH		
	J & M Grading Division, LLC		\$50.0000	\$10,000.00
	Twin K Construction, Inc.		\$30.6700	\$6,134.00
	Kay & Kay Contracting, LLC		\$35.0000	\$7,000.00
	Charles Blalock & Sons, Inc.		\$30.8700	\$6,174.00
712-05 01	WARNING LIGHTS (TYPE A)			
00.01		100.000 EACH		
	J & M Grading Division, LLC		\$30.0000	\$3,000.00
	Twin K Construction, Inc.		\$5.2900	\$529.00
	Kay & Kay Contracting, LLC		\$30.0000	\$3,000.00
	Charles Blalock & Sons, Inc.		\$5.3200	\$532.00
	C		ψο.0200	ΨΟΟΣ.ΟΟ

		UNI	IT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
712-00	Cione (Continue Tion)			
		452.000 S.F.		
	J & M Grading Division, LLC		\$7.5000	\$3,390.00
	Twin K Construction, Inc.		\$7.0300	\$3,177.56
	Kay & Kay Contracting, LLC		\$7.0000	\$3,164.00
	Charles Blalock & Sons, Inc.		\$7.0800	\$3,200.16
712-08.03	ARROW BOARD (TYPE C)			
	, ,	1.000 EACH		
	LO M Ora dia a Divisia a LLO		200 0000	#0.000.00
	J & M Grading Division, LLC		000.000	\$2,000.00
	Twin K Construction, Inc.		268.9800	\$1,268.98
	Kay & Kay Contracting, LLC		300.0000	\$1,800.00
	Charles Blalock & Sons, Inc.	\$1,2	277.4000	\$1,277.40
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
		73.000 EACH		
	J & M Grading Division, LLC		\$40.0000	\$2,920.00
	Twin K Construction, Inc.	•	\$35.9500	\$2,624.35
	Kay & Kay Contracting, LLC	•	\$35.9300 \$35.0000	\$2,555.00
	Charles Blalock & Sons, Inc.	Φ	\$36.1900	\$2,641.87
716-01.13	RAISED PVMT MARKERS (BI-DIR	ECTIONAL) (2 COLOR LENS)		
		165.000 EACH		
	J & M Grading Division, LLC	\$	\$15.5000	\$2,557.50
	Twin K Construction, Inc.	\$	15.8600	\$2,616.90
	Kay & Kay Contracting, LLC	\$	\$15.0000	\$2,475.00
	Charles Blalock & Sons, Inc.	·	\$15.7500	\$2,598.75
716-01-23	SNOWPLOWABLE RAISED PAVE	MENT MARKERS (BI-DIR)(2 COLOR)		
		42.000 EACH		
	J & M Grading Division, LLC	\$	\$55.0000	\$2,310.00
	Twin K Construction, Inc.	\$	\$52.8700	\$2,220.54
	Kay & Kay Contracting, LLC	\$	\$50.0000	\$2,100.00
	Charles Blalock & Sons, Inc.	\$	\$52.5000	\$2,205.00
716-01.30	REMOVAL OF SNOWPLOWABLE	REFLECTIVE MARKER		
		42.000 EACH		
	J & M Grading Division, LLC		0000 009	¢1 260 00
	_		\$30.0000	\$1,260.00 \$1,110.48
	Twin K Construction, Inc.		\$26.4400	\$1,110.48
	Kay & Kay Contracting, LLC		\$25.0000	\$1,050.00 \$4,403.50
	Charles Blalock & Sons, Inc.	\$	\$26.2500	\$1,102.50
716-05.02	PAINTED PAVEMENT MARKING	8" BARRIER LINE)		
		9,885.000 L.F.		
	J & M Grading Division, LLC		\$0.3000	\$2,965.50
	Twin K Construction, Inc.		\$0.2600	\$2,570.10
	Kay & Kay Contracting, LLC		\$0.2500	\$2,471.25
	Charles Blalock & Sons, Inc.		\$0.2600	\$2,570.10
				, ,

			0011111101 0111200
		UNIT PRICE	EXTENSION
716-08.01	REMOVAL OF PAVEMENT MARKING	(LINE)	
		7,414.000 L.F.	
	J & M Grading Division, LLC	\$1.0000	\$7,414.00
	Twin K Construction, Inc.	\$0.7900 \$0.7500	\$5,857.06 \$5,600.50
	Kay & Kay Contracting, LLC	\$0.7500 \$0.7000	\$5,560.50
	Charles Blalock & Sons, Inc.	\$0.7900	\$5,857.06
716-12.02	ENHANCED FLATLINE THERMO PV	MT MRKNG (6IN LINE)	
		2.000 L.M.	
	J & M Grading Division, LLC	\$5,200.0000	\$10,400.00
	Twin K Construction, Inc.	\$5,260.9900	\$10,521.98
	Kay & Kay Contracting, LLC	\$4,975.0000	\$9,950.00
	Charles Blalock & Sons, Inc.	\$5,223.7500	\$10,447.50
	,	¥,	****
717-01	MOBILIZATION		
		1.000 LS	
	J & M Grading Division, LLC	\$117,000.0000	\$117,000.00
	Twin K Construction, Inc.	\$175,472.5100	\$175,472.51
	Kay & Kay Contracting, LLC	\$200,000.0000	\$200,000.00
	Charles Blalock & Sons, Inc.	\$350,000.0000	\$350,000.00
740-10 03	GEOTEXTILE (TYPE III)(EROSION CO	NTROL)	
740-10.03	SECTEXTILE (THE III)(ENCOION OC		
		2,950.000 S.Y.	
	J & M Grading Division, LLC	\$3.0000	\$8,850.00
	Twin K Construction, Inc.	\$3.5400	\$10,443.00
	Kay & Kay Contracting, LLC	\$3.5000	\$10,325.00
	Charles Blalock & Sons, Inc.	\$3.8200	\$11,269.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATI	ION)	
	· /	52,952.000 S.Y.	
	L. M. Cradina Division LLC		¢244 000 00
	J & M Grading Division, LLC	\$4.000	\$211,808.00
	Twin K Construction, Inc.	\$2.2300	\$118,082.96
	Kay & Kay Contracting, LLC	\$3.0000	\$158,856.00
	Charles Blalock & Sons, Inc.	\$2.7100	\$143,499.92
740-11.03	TEMPORARY SEDIMENT TUBE 18IN		
		205.000 L.F.	
	J & M Grading Division, LLC	\$15.0000	\$3,075.00
	Twin K Construction, Inc.	\$9.7300	\$1,994.65
	Kay & Kay Contracting, LLC	\$12.5000	\$2,562.50
	Charles Blalock & Sons, Inc.	\$12.5000	\$2,583.00
	Chanes blatock & Sons, Inc.	\$12.0000	φ2,363.00
801-01	SEEDING (WITH MULCH)		
		1.000 UNIT	
	J & M Grading Division, LLC	\$250.0000	\$250.00
	Twin K Construction, Inc.	\$117.0400	\$117.04
	Kay & Kay Contracting, LLC	\$200.0000	\$200.00
	Charles Blalock & Sons, Inc.	\$105.0000	\$105.00
		ψ100.0000	ψ.00.00

CON	JTR A C	T C	NT235
COL	11177	, .	11 1 2 3 3

			UNIT PRICE	EXTENSION
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		1.000 UNIT		
	J & M Grading Division, LLC		\$250.0000	\$250.00
	Twin K Construction, Inc.		\$121.0700	\$121.07
	Kay & Kay Contracting, LLC		\$200.0000	\$200.00
	Charles Blalock & Sons, Inc.		\$210.0000	\$210.00
801-02.01	CROWN VETCH MIXTURE (WITHOUT MULCH)			
		1.000 UNIT		
	J & M Grading Division, LLC		\$50.0000	\$50.00
	Twin K Construction, Inc.		\$47.6600	\$47.66
	Kay & Kay Contracting, LLC		\$250.0000	\$250.00
	Charles Blalock & Sons, Inc.		\$42.2200	\$42.22
801-03	WATER (SEEDING & SODDING)			
		1.000 M.G.		
	J & M Grading Division, LLC		\$103.0000	\$103.00
	Twin K Construction, Inc.		\$183.9500	\$183.95
	Kay & Kay Contracting, LLC		\$100.0000	\$100.00
	Charles Blalock & Sons, Inc.		\$105.0000	\$105.00
805-12.04	EROSION CONTROL BLANKET (TYPE IV)			
		15,279.000 S.Y.		
	J & M Grading Division, LLC		\$2.5000	\$38,197.50
	Twin K Construction, Inc.		\$2.5500	\$38,961.45
	Kay & Kay Contracting, LLC		\$2.0000	\$30,558.00
	Charles Blalock & Sons, Inc.		\$2.1000	\$32,085.90

J & M Grading Division, LLC	\$5,652,692.80
Twin K Construction, Inc.	\$6,049,355.78
Kay & Kay Contracting, LLC	\$7,010,021.05
Charles Blalock & Sons, Inc.	\$7,438,769.93

TOTAL CONTRACT

J & M Grading Division, LLC	\$5,652,692.80
Twin K Construction, Inc.	\$6,049,355.78
Kay & Kay Contracting, LLC	\$7,010,021.05
Charles Blalock & Sons, Inc.	\$7,438,769.93

COUNTIES CANNON, MARION, AND WARREN (Contract No. CNT030 Call 017)

58016-4243-04,89011-4209-04,HSIP-156(13),58016-3243-94,HSIP-287(13),89011-3209-94,STP-150(9),58015-8217-14,STP-96(57),08004-8212-14

THE RESURFACING (MICROSURFACING) ON S.R. 96 IN CANNON COUNTY, U.S. 41 (S.R. 150) AND S.R. 156 IN MARION COUNTY AND ON S.R. 287 IN WARREN COUNTY.

PROJECT LENGTH - 25.220 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2019

DBE GOAL 5.50%

TOTAL CONTRACT

Whitaker Contracting Corp.

\$1,869,219.03

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNT030 EXTENSION
403-01.01	BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SU	RFACING) 29.000 TON		
	Whitaker Contracting Corp.	20000 1011	\$778.3700	\$22,572.73
403-01.10	High Performance Fog Seals			
	Whitaker Contracting Corp.	102,639.000 S.Y.	\$0.4700	\$48,240.33
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS)	(4IN WIDTH)		
	Whitaker Contracting Corp.	7.700 L.M.	\$998.7900	\$7,690.68
414-03.01	EMULSIFIED ASPHALT FOR MICRO-SURFACING			
	Whitaker Contracting Corp.	546.000 TON	\$803.0800	\$438,481.68
414-03.02	AGGREGATE FOR MICRO SURFACING	4 50 4 000 TON		
	Whitaker Contracting Corp.	4,534.000 TON	\$97.7200	\$443,062.48
414-04.03	ASPHALT EMULSION (SCRUB SEAL)			
	Whitaker Contracting Corp.	89.000 TON	\$1,335.0000	\$118,815.00
414-04.04	MINERAL AGGREGATE (SCRUB SEAL)			
	Whitaker Contracting Corp.	735.000 TON	\$70.0000	\$51,450.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Whitaker Contracting Corp.	7.000 EACH	\$71.6900	\$501.83
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Whitaker Contracting Corp.	7.000 EACH	\$1,636.9900	\$11,458.93
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Whitaker Contracting Corp.	7.000 EACH	\$3,235.7400	\$22,650.18
706-01	GUARDRAIL REMOVED			
	Whitaker Contracting Corp.	329.000 L.F.	\$1.7900	\$588.91
712-01	TRAFFIC CONTROL			
	Whitaker Contracting Corp.	1.000 LS	\$32,532.4100	\$32,532.41

			UNIT PRICE	CONTRACT CNT030 EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	Whitaker Contracting Corp.	1,594.000 S.F.	\$7.6500	\$12,194.10
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO			
	Whitaker Contracting Corp.	935.000 EACH	\$27.4800	\$25,693.80
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1			
	Whitaker Contracting Corp.	865.000 EACH	\$27.4800	\$23,770.20
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COI			
	Whitaker Contracting Corp.	20.000 EACH	\$27.4800	\$549.60
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Whitaker Contracting Corp.	1,820.000 EACH	\$11.9500	\$21,749.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Whitaker Contracting Corp.	100.000 S.Y.	\$23.9000	\$2,390.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	005 000 1 5		
	Whitaker Contracting Corp.	965.000 L.F.	\$11.9500	\$11,531.75
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	0.000 54011		
	Whitaker Contracting Corp.	8.000 EACH	\$179.2300	\$1,433.84
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)	4 000 54011		
	Whitaker Contracting Corp.	1.000 EACH	\$358.4700	\$358.47
716-04.17	PLASTIC PAVEMENT MARKING (YIELD SYMBOL)			
	Whitaker Contracting Corp.	2.000 EACH	\$298.7300	\$597.46
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	0.700 : 14		
	Whitaker Contracting Corp.	9.700 L.M.	\$627.3100	\$6,084.91

100.000 S.Y.

716-08.04 REMOVAL OF PAVEMENT MARKING (CHANNELIZATION STRIPING)

Whitaker Contracting Corp.

\$1,434.00

\$14.3400

			UNIT PRICE	CONTRACT CNT030 EXTENSION
716-08.06	REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)			
	Whitaker Contracting Corp.	8.000 EACH	\$89.6200	\$716.96
716-08.08	REMOVAL OF PAVEMENT MARKING (DOUBLE TURNING ARROW)			
	Whitaker Contracting Corp.	1.000 EACH	\$179.2300	\$179.23
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)			
	Whitaker Contracting Corp.	53.000 L.M.	\$2,748.2300	\$145,656.19
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Whitaker Contracting Corp.	20.400 L.M.	\$5,376.9700	\$109,690.19
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	Whitaker Contracting Corp.	19.300 L.M.	\$2,569.0000	\$49,581.70
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Whitaker Contracting Corp.	54.500 L.M.	\$3,166.4400	\$172,570.98
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
	Whitaker Contracting Corp.	21.000 L.F.	\$2.3900	\$50.19

1.000 LS

\$84,941.3000

717-01

MOBILIZATION

Whitaker Contracting Corp.

\$84,941.30

Whitaker Contracting Corp. \$1,869,219.03

TOTAL CONTRACT

Whitaker Contracting Corp. \$1,869,219.03

CHEATHAM COUNTY (Contract No. CNT173 Call 018)

STP-12(59),11005-8232-14

THE RESURFACING ON S.R. 12 IN CHEATHAM COUNTY FROM THE DAVIDSON COUNTY LINE (L.M. 0.00) TO S.R. 455 (L.M. 5.85).

PROJECT LENGTH - 5.850 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.00%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing\$2,679,721.50Vulcan Construction Materials, LLC\$2,719,547.00Jones Bros. Contractors, LLC\$2,803,870.00

	CONTRACT	CNT173
T PRICE	EXT	ENSION

	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
208-01.05 BROOMING & DEGRASSING SHOULDERS		
	00 L.M.	
Eubank Asphalt Paving & Sealing	\$900.0000	\$17,370.00
Vulcan Construction Materials, LLC	\$1,500.0000	\$28,950.00
Jones Bros. Contractors, LLC	\$1,200.0000	\$23,160.00
,	• ,	, , , , , , , , , , , , , , , , , , ,
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D		
2,551.00	00 TON	
Eubank Asphalt Paving & Sealing	\$20.0000	\$51,020.00
Vulcan Construction Materials, LLC	\$25.0000	\$63,775.00
Jones Bros. Contractors, LLC	\$20.3500	\$51,912.85
307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
	00 TON	
Eubank Asphalt Paving & Sealing	\$80.0000	\$55,120.00
Vulcan Construction Materials, LLC	\$83.0000	\$57,187.00
Jones Bros. Contractors, LLC	\$76.0000	\$52,364.00
402 04 DITUMINOUS MATERIAL FOR TACK COAT (TC)		
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)	00 TON	
	00 TON	# 40, 400, 00
Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC	\$400.0000	\$48,400.00
Jones Bros. Contractors, LLC	\$800.0000 \$580.0000	\$96,800.00 \$70,180.00
dones bros. Contractors, LEC	Ψ300.0000	Ψ7 0, 100.00
407-07.01 INTELLIGENT COMPACTION EQUIPMENT		
1.00	00 LS	
Eubank Asphalt Paving & Sealing	\$35,000.0000	\$35,000.00
Vulcan Construction Materials, LLC	\$10,000.0000	\$10,000.00
Jones Bros. Contractors, LLC	\$50,000.0000	\$50,000.00
411-02.10 ACS MIX(PG70-22) GRADING D		
19,220.00	00 TON	
Eubank Asphalt Paving & Sealing	\$93.0000	\$1,787,460.00
Vulcan Construction Materials, LLC	\$92.0000	\$1,768,240.00
Jones Bros. Contractors, LLC	\$97.5000	\$1,873,950.00
411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)		
	00 L M	
	00 L.M.	¢4.950.00
Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC	\$500.0000 \$350.0000	\$4,850.00 \$3,395.00
Jones Bros. Contractors, LLC	\$350.0000	\$3,395.00
Solido Bros. Cominaciolo, EES	Ψ000.0000	ψο,σσσ.σσ
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
7.80	00 L.M.	
Eubank Asphalt Paving & Sealing	\$500.0000	\$3,900.00
Vulcan Construction Materials, LLC	\$350.0000	\$2,730.00
Jones Bros. Contractors, LLC	\$350.0000	\$2,730.00

			UNIT PRICE	EXTENSION
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		18,595.000 TON		
	Eubank Asphalt Paving & Sealing Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$17.0000 \$18.0000 \$19.8500	\$316,115.00 \$334,710.00 \$369,110.75
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$26,000.0000	\$26,000.00
	Vulcan Construction Materials, LLC		\$69,150.0000	\$69,150.00
	Jones Bros. Contractors, LLC		\$95,000.0000	\$95,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	Eubank Asphalt Paving & Sealing		\$20.0000	\$2,000.00
	Vulcan Construction Materials, LLC		\$5.0000	\$500.00
	Jones Bros. Contractors, LLC		\$10.0000	\$1,000.00
712-06	SIGNS (CONSTRUCTION)			
		2,234.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$8.0000	\$17,872.00
	Vulcan Construction Materials, LLC		\$9.2500	\$20,664.50
	Jones Bros. Contractors, LLC		\$6.8500	\$15,302.90
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$1,000.0000	\$2,000.00
	Vulcan Construction Materials, LLC		\$900.0000	\$1,800.00
	Jones Bros. Contractors, LLC		\$925.0000	\$1,850.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D	IR) (1 COLOR)		
		88.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$2,640.00
	Vulcan Construction Materials, LLC		\$30.0000	\$2,640.00
	Jones Bros. Contractors, LLC		\$30.0000	\$2,640.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO	O-DIR)(1 COLOR)		
		818.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$24,540.00
	Vulcan Construction Materials, LLC		\$30.0000	\$24,540.00
	Jones Bros. Contractors, LLC		\$30.0000	\$24,540.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D	IR)(2 COLOR)		
		97.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$2,910.00
	Vulcan Construction Materials, LLC		\$30.0000	\$2,910.00
	Jones Bros. Contractors, LLC		\$30.0000	\$2,910.00

	UNIT PRICE	EXTENSION
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
1,001.000 EACH		
Eubank Asphalt Paving & Sealing	\$10.0000	\$10,010.00
Vulcan Construction Materials, LLC	\$10.0000	\$10,010.00
Jones Bros. Contractors, LLC	\$15.0000	\$15,015.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
223.000 S.Y.		
Eubank Asphalt Paving & Sealing	\$20.0000	\$4,460.00
Vulcan Construction Materials, LLC	\$20.0000	\$4,460.00
Jones Bros. Contractors, LLC	\$63.0000	\$14,049.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
330.000 L.F.		
Eubank Asphalt Paving & Sealing	\$15.0000	\$4,950.00
Vulcan Construction Materials, LLC	\$15.0000	\$4,950.00
Jones Bros. Contractors, LLC	\$14.0000	\$4,620.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
40.000 EACH		
Eubank Asphalt Paving & Sealing	\$150.0000	\$6,000.00
Vulcan Construction Materials, LLC	\$150.0000	\$6,000.00
Jones Bros. Contractors, LLC	\$150.0000	\$6,000.00
716-02.11 PLASTIC PAVEMENT MARKING (6" DOTTED LINE)		
4,450.000 L.F.		
Eubank Asphalt Paving & Sealing	\$3.0000	\$13,350.00
Vulcan Construction Materials, LLC	\$3.0000	\$13,350.00
Jones Bros. Contractors, LLC	\$0.5000	\$2,225.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)		
4.000 EACH		
Eubank Asphalt Paving & Sealing	\$150.0000	\$600.00
Vulcan Construction Materials, LLC	\$150.0000	\$600.00
Jones Bros. Contractors, LLC	\$150.0000	\$600.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
27.000 L.M.		
Eubank Asphalt Paving & Sealing	\$850.0000	\$22,950.00
Vulcan Construction Materials, LLC	\$850.0000	\$22,950.00
Jones Bros. Contractors, LLC	\$400.0000	\$10,800.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
27.000 L.M.		
Eubank Asphalt Paving & Sealing	\$5,000.0000	\$135,000.00
Vulcan Construction Materials, LLC	\$5,000.0000	\$135,000.00
Jones Bros. Contractors, LLC	\$2,640.0000	\$71,280.00

				CONTRACT CNT173
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
717-01	MODILIZATION	1.000 LS		
	Eubank Asphalt Paving & Sealing		\$80,000.0000	\$80,000.00
	Vulcan Construction Materials, LLC		\$30,000.0000	\$30,000.00
	Jones Bros. Contractors, LLC		\$35,000.0000	\$35,000.00
730-14.02	SAW SLOT			
		919.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$4.0000	\$3,676.00
	Vulcan Construction Materials, LLC		\$3.5000	\$3,216.50
	Jones Bros. Contractors, LLC		\$3.5000	\$3,216.50
730-14.03	LOOP WIRE			
		2,038.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$0.7500	\$1,528.50

Vulcan Construction Materials, LLC

Jones Bros. Contractors, LLC

\$0.5000

\$0.5000

\$1,019.00

\$1,019.00

Eubank Asphalt Paving & Sealing	\$2,679,721.50
Vulcan Construction Materials, LLC	\$2,719,547.00
Jones Bros. Contractors, LLC	\$2,803,870.00

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing	\$2,679,721.50
Vulcan Construction Materials, LLC	\$2,719,547.00
Jones Bros. Contractors, LLC	\$2,803,870.00

CLAY COUNTY (Contract No. CNT171 Call 019)

14005-4215-04, HSIP-53(55), 14005-3215-94

THE RESURFACING ON S.R. 53 FROM NORTH OF COPELAND LANE (L.M. 3.37) TO OLD LIVINGSTON HIGHWAY (L.M. 6.79).

PROJECT LENGTH - 3.420 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$629,681.04

			co	NTRACT CNT171
ROADW.	AY CATEGORY		UNIT PRICE	EXTENSION
NOADW	AT OATEOORT			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	881.000 TON		
	Rogers Group, Inc.	551,655 1.510	\$31.5300	\$27,777.93
307-01.08	S ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GR.			
	Rogers Group, Inc.	93.000 TON	\$191.2000	\$17,781.60
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	30.000 TON	\$737.0100	\$22,110.30
411-03.07	ACS MIX(PG64-22) THIN LIFT ASPHALT			
	Rogers Group, Inc.	2,308.000 TON	\$123.2600	\$284,484.08
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN W			
	Rogers Group, Inc.	5.500 L.M.	\$711.6800	\$3,914.24
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Rogers Group, Inc.	3,563.000 TON	\$21.8800	\$77,958.44
710-04	FILTER CLOTH UNDERDRAIN (WITH PIPE)			
	Rogers Group, Inc.	2,350.000 L.F.	\$11.0000	\$25,850.00
710-05	LATERAL UNDERDRAIN			
	Rogers Group, Inc.	220.000 L.F.	\$11.0000	\$2,420.00
710-06.13	LATERAL UNDERDRAIN ENDWALL (4:1)			
	Rogers Group, Inc.	11.000 EACH	\$1,045.2700	\$11,497.97
712-01	TRAFFIC CONTROL			
	Rogers Group, Inc.	1.000 LS	\$28,683.0300	\$28,683.03
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	729.000 S.F.	\$7.7000	\$5,613.30
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MC			
	Rogers Group, Inc.	91.000 EACH	\$28.0500	\$2,552.55

13.400 L.M.

1.000 LS

\$5,123.8600

\$29,494.9500

Rogers Group, Inc.

Rogers Group, Inc.

MOBILIZATION

717-01

\$68,659.72

\$29,494.95

Rogers Group, Inc. \$629,681.04

TOTAL CONTRACT

Rogers Group, Inc. \$629,681.04

COCKE COUNTY (Contract No. CNT004 Call 020)

15003-4241-04, STP-9(101), 15003-8243-14

THE RESURFACING ON U.S. 25 (U.S. 70, S.R. 9) FROM NEAR S.R. 73 (L.M. 6.97) TO NEAR S.R. 107 (L.M. 17.25) INCLUDING REPAIR OF THE BRIDGE OVER THE PIGEON RIVER (L.M. 6.82).

PROJECT LENGTH - 9.830 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.50%

TOTAL CONTRACT

Newport Paving Company, Inc.

\$1,722,669.71

				CONTRACT CNT004
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	Newport Paving Company, Inc.	790.000 TON	\$125.5000	\$99,145.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	117.000 TON		
	Newport Paving Company, Inc.	117.000 TON	\$80.0000	\$9,360.00
403-05	BITUMINOUS MATERIAL(TC/FOG SEAL)(UNDILUTED)	3.000 TON		
	Newport Paving Company, Inc.	3.000 TON	\$2,500.0000	\$7,500.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT	7,336.000 TON		
	Newport Paving Company, Inc.	7,330.000 TON	\$125.5000	\$920,668.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	3.800 L.M.		
	Newport Paving Company, Inc.	3.000 E.M.	\$600.0000	\$2,280.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDT	H) 2.200 L.M.		
	Newport Paving Company, Inc.	2.200 L.III.	\$600.0000	\$1,320.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDT	H) 10.000 L.M.		
	Newport Paving Company, Inc.	TOTOGO E.IIII	\$600.0000	\$6,000.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Newport Paving Company, Inc.	1.000 ES	\$47,000.0000	\$47,000.00
712-06	SIGNS (CONSTRUCTION)	599.000 S.F.		
	Newport Paving Company, Inc.	0001000 011 1	\$10.0000	\$5,990.00
712-08.03	ARROW BOARD (TYPE C)	2.000 EACH		
	Newport Paving Company, Inc.	2.000 EACH	\$2,000.0000	\$4,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CC	OLOR) 636.000 EACH		
	Newport Paving Company, Inc.	030.000 EAGI1	\$30.0000	\$19,080.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	COLOR) 24.000 EACH		
	Newport Paving Company, Inc.	ZHOU LAUH	\$30.0000	\$720.00

1.000 LS

Newport Paving Company, Inc.

Newport Paving Company, Inc.

MOBILIZATION

717-01

\$8,640.00

\$35,000.00

\$3,200.0000

\$35,000.0000

BRIDGE CATEGORY		UNIT PRICE	CONTRACT CNT004 EXTENSION
201-07.01 REMOVAL AND DISPOSAL OF BRUSH & TREES			
Newport Paving Company, Inc.	1.000 LS	\$15,000.0000	\$15,000.00
202-01.02 REMOVAL OF ASBESTOS			
Newport Paving Company, Inc.	1.000 LS	\$15,000.0000	\$15,000.00
209-05 SEDIMENT REMOVAL	005 000 O V		
Newport Paving Company, Inc.	325.000 C.Y.	\$4.0000	\$1,300.00
209-08.02 TEMPORARY SILT FENCE (WITH BACKING)			
Newport Paving Company, Inc.	280.000 L.F.	\$21.6000	\$6,048.00
603-02.15 REPAINT EXISTING BEARINGS			
Newport Paving Company, Inc.	1.000 LS	\$40,596.4100	\$40,596.41
603-05.20 CONTAINMENT & DISPOSAL OF WASTE(BRIDGE NO. 15-SRO			
Newport Paving Company, Inc.	1.000 LS	\$20,000.0000	\$20,000.00
604-10.05 CONCRETE			
Newport Paving Company, Inc.	316.000 S.F.	\$170.0000	\$53,720.00
604-10.54 CONCRETE REPAIRS			
Newport Paving Company, Inc.	259.000 S.F.	\$170.0000	\$44,030.00
604-10.58 EPOXY INJECTION (INJECTION)			
Newport Paving Company, Inc.	7.000 GAL.	\$135.0000	\$945.00
604-10.62 EPOXY INJECTION REPAIR (COMPLETE AND IN PLACE)	405 000 1 5		
Newport Paving Company, Inc.	125.000 L.F.	\$170.0000	\$21,250.00
604-10.63 CONCRETE REPAIRS (CRACKS)	40.000 : -		
Newport Paving Company, Inc.	48.000 L.F.	\$125.0000	\$6,000.00
712-01 TRAFFIC CONTROL			

1.000 LS

Newport Paving Company, Inc.

\$42,500.00

\$42,500.0000

				CONTRACT CN	IT004
			UNIT PRICE	EXTENS	ION
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)				
	Newport Paving Company, Inc.	182.000 EACH	\$32.4000	\$5,896	3.80
712-06	SIGNS (CONSTRUCTION)				
	Newport Paving Company, Inc.	135.000 S.F.	\$8.0000	\$1,080).00
717-01	MOBILIZATION				
	Newport Paving Company, Inc.	1.000 LS	\$49,000.0000	\$49,000).00

Newport Paving Company, Inc. \$1,400,303.50

SUB-TOTAL BRIDGE

Newport Paving Company, Inc. \$322,366.21

TOTAL CONTRACT

Newport Paving Company, Inc. \$1,722,669.71

COFFEE COUNTY (Contract No. CNT140 Call 021)

STP/HSIP-2(266),16004-3217-94,16004-8217-14

THE RESURFACING ON U.S. 41 (S.R. 2) FROM THE RUTHERFORD COUNTY LINE (L.M. 0.00) TO EAST OF COUNTRY CLUB DRIVE (L.M. 12.55).

PROJECT LENGTH - 12.550 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,584,161.00

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNT140 EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Rogers Group, Inc.	96.000 TON	\$625.0000	\$60,000.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Rogers Group, Inc.	13,152.000 TON	\$95.8000	\$1,259,961.60
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN			
	Rogers Group, Inc.	19.900 L.M.	\$595.0000	\$11,840.50
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	4 000 54011		
	Rogers Group, Inc.	1.000 EACH	\$2,025.0000	\$2,025.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3	13.000 L.F.		
	Rogers Group, Inc.	13.000 E.I .	\$22.3000	\$289.90
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	1.000 EACH		
	Rogers Group, Inc.	1.000 EAGIT	\$3,325.0000	\$3,325.00
706-01	GUARDRAIL REMOVED	50.000 L.F.		
	Rogers Group, Inc.	50.000 L.F.	\$1.2000	\$60.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Rogers Group, Inc.	1.000 LS	\$42,555.0000	\$42,555.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	05 000 FA OU		
	Rogers Group, Inc.	25.000 EACH	\$50.0000	\$1,250.00
712-06	SIGNS (CONSTRUCTION)			
	Rogers Group, Inc.	925.000 S.F.	\$7.6000	\$7,030.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR			
	Rogers Group, Inc.	912.000 EACH	\$29.5000	\$26,904.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR			
	Rogers Group, Inc.	66.000 EACH	\$29.5000	\$1,947.00

		UNIT PRICE	CONTRACT CNT140 EXTENSION
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER Rogers Group, Inc.	75.000 EACH	\$11.0000	\$825.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING) Rogers Group, Inc.	131.000 S.Y.	\$21.0000	\$2,751.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)	5.000 L.F.		
Rogers Group, Inc. 716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		\$26.4000	\$132.00
Rogers Group, Inc.	1.000 EACH	\$210.0000	\$210.00
716-04.17 PLASTIC PAVEMENT MARKING (YIELD SYMBOL) Rogers Group, Inc.	2.000 EACH	\$315.0000	\$630.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE) Rogers Group, Inc.	25.100 L.M.	\$555.0000	\$13,930.50
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)	37.700 L.M.		
Rogers Group, Inc. 716-13.03 SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)	575.000 L.F.	\$2,835.0000	\$106,879.50
Rogers Group, Inc. 716-13.05 SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)	373.000 E.F.	\$2.1000	\$1,207.50
Rogers Group, Inc.	175.000 L.F.	\$2.1000	\$367.50

1.000 LS

\$40,040.0000

717-01

MOBILIZATION

Rogers Group, Inc.

\$40,040.00

Rogers Group, Inc. \$1,584,161.00

TOTAL CONTRACT

Rogers Group, Inc. \$1,584,161.00

DAVIDSON COUNTY (Contract No. CNT163 Call 023)

19036-4222-04, HSIP-12(60), 19036-3222-94

THE RESURFACING ON S.R. 12 FROM NEAR S.R. 112 (L.M. 4.62) TO SOUTH OF INDUSTRIAL PARKWAY (L.M. 6.22).

PROJECT LENGTH - 1.600 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.50%

TOTAL CONTRACT

Rogers Group, Inc. \$386,487.00
Vulcan Construction Materials, LLC \$389,014.30
Charles Deweese Construction, Inc \$435,345.18

			CC	ONTRACT CNT163
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
208-01.0	5 BROOMING & DEGRASSING SHOULDERS			
		3.200 L.M.		
	Rogers Group, Inc.		\$3,500.0000	\$11,200.00
	Vulcan Construction Materials, LLC		\$1,569.0000	\$5,020.80
	Charles Deweese Construction, Inc		\$1,633.4400	\$5,227.01
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		413.000 TON		
	Rogers Group, Inc.		\$25.0000	\$10,325.00
	Vulcan Construction Materials, LLC		\$35.0000	\$14,455.00
	Charles Deweese Construction, Inc		\$29.6900	\$12,261.97
307-01.1	5 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		500.000 TON		
	Rogers Group, Inc.		\$105.0000	\$52,500.00
	Vulcan Construction Materials, LLC		\$100.0000	\$50,000.00
	Charles Deweese Construction, Inc		\$86.9200	\$43,460.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		10.000 TON		
	Rogers Group, Inc.		\$850.0000	\$8,500.00
	Vulcan Construction Materials, LLC		\$867.0000	\$8,670.00
	Charles Deweese Construction, Inc		\$875.0000	\$8,750.00
411-01.10	D ACS MIX(PG64-22) GRADING D			
		2,004.000 TON		
	Rogers Group, Inc.		\$105.0000	\$210,420.00
	Vulcan Construction Materials, LLC		\$100.0000	\$200,400.00
	Charles Deweese Construction, Inc		\$99.1800	\$198,756.72
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		2.000 EACH		
	Rogers Group, Inc.		\$105.0000	\$210.00
	Vulcan Construction Materials, LLC		\$100.0000	\$200.00
	Charles Deweese Construction, Inc		\$190.0800	\$380.16
705-04.10	D EARTH PAD FOR GUARD RAIL END TREATMENT			
		2.000 EACH		
	Rogers Group, Inc.		\$1,060.0000	\$2,120.00
	Vulcan Construction Materials, LLC		\$1,000.0000	\$2,000.00
	Charles Deweese Construction, Inc		\$1,269.0000	\$2,538.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL2			
		2.000 EACH		
	Rogers Group, Inc.		\$2,925.0000	\$5,850.00
	Vulcan Construction Materials, LLC		\$2,750.0000	\$5,500.00
			A	*

Charles Deweese Construction, Inc

\$5,350.32

\$2,675.1600

CONTRACT	CNT163
----------	--------

		UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED		
700-01	GOARDRAIL REMOVED	50.000 L.F.	
	Rogers Group, Inc.	\$4.3000	\$215.00
	Vulcan Construction Materials, LLC	\$4.0000	\$200.00
	Charles Deweese Construction, Inc	\$4.3200	\$216.00
712-01	TRAFFIC CONTROL		
		1.000 LS	
	Rogers Group, Inc.	\$13,555.0000	\$13,555.00
	Vulcan Construction Materials, LLC	\$24,725.0000	\$24,725.00
	Charles Deweese Construction, Inc	\$61,530.0000	\$61,530.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)		
		25.000 EACH	
	Rogers Group, Inc.	\$20.0000	\$500.00
	Vulcan Construction Materials, LLC	\$5.0000	\$125.00
	Charles Deweese Construction, Inc	\$16.7500	\$418.75
712-05.01	WARNING LIGHTS (TYPE A)		
		4.000 EACH	
	Rogers Group, Inc.	\$20.0000	\$80.00
	Vulcan Construction Materials, LLC	\$5.0000	\$20.00
	Charles Deweese Construction, Inc	\$16.7500	\$67.00
712-06	SIGNS (CONSTRUCTION)		
		818.000 S.F.	
	Rogers Group, Inc.	\$7.5000	\$6,135.00
	Vulcan Construction Materials, LLC	\$9.0000	\$7,362.00
	Charles Deweese Construction, Inc	\$7.5100	\$6,143.18
713-11.01	"U" SECTION STEEL POSTS		
		490.000 LB.	
	Rogers Group, Inc.	\$5.0000	\$2,450.00
	Vulcan Construction Materials, LLC	\$3.3500	\$1,641.50
	Charles Deweese Construction, Inc	\$4.7000	\$2,303.00
713-16.20	SIGNS (R3-17)		
		12.000 EACH	
	Rogers Group, Inc.	\$41.0000	\$492.00
	Vulcan Construction Materials, LLC	\$60.5000	\$726.00
	Charles Deweese Construction, Inc	\$41.5800	\$498.96
713-16.21	SIGNS (R3-17bP)		
		2.000 EACH	
	Rogers Group, Inc.	\$20.0000	\$40.00
	Vulcan Construction Materials, LLC	\$44.5000	\$89.00
	Charles Deweese Construction, Inc	\$18.2000	\$36.40

			UNIT PRICE	EXTENSION
713-16.22	SIGNS (W16-18P "FYG")			
	,	2.000 EACH		
	Pagara Croup, Inc	2.000 LAOI1	\$23.0000	\$46.00
	Rogers Group, Inc.		·	\$46.00 \$118.00
	Vulcan Construction Materials, LLC Charles Deweese Construction, Inc		\$59.0000 \$21.4400	\$116.00 \$42.88
	Charles Deweese Construction, inc		φ21. 44 00	Ψ42.00
740 40 00	010110 (04.44)			
/13-16.23	SIGNS (R4-11)			
		2.000 EACH		
	Rogers Group, Inc.		\$50.0000	\$100.00
	Vulcan Construction Materials, LLC		\$92.0000	\$184.00
	Charles Deweese Construction, Inc		\$49.6300	\$99.26
713-16.24	SIGNS (R4-4)			
		1.000 EACH		
	Rogers Group, Inc.		\$54.0000	\$54.00
	Vulcan Construction Materials, LLC		\$104.0000	\$104.00
	Charles Deweese Construction, Inc		\$53.6500	\$53.65
	Change 20 house concuration, and		ψοσ.σσσσ	Ψ00.00
716-01 21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
710 01.21	ONOTH LOWABLE MAIOLD FAVEINERY MARKENO (B) DIRY (1)	-		
		106.000 EACH	#00.000	ФО ООО ОО
	Rogers Group, Inc.		\$32.0000	\$3,392.00
	Vulcan Construction Materials, LLC		\$30.0000	\$3,180.00
	Charles Deweese Construction, Inc		\$32.4000	\$3,434.40
716-02.04	PLASTIC PAVEMENT MARKING (CHANNELIZATION STRIPING)			
		340.000 S.Y.		
	Rogers Group, Inc.		\$21.0000	\$7,140.00
	Vulcan Construction Materials, LLC		\$20.0000	\$6,800.00
	Charles Deweese Construction, Inc		\$21.6000	\$7,344.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		226.000 L.F.		
	Rogers Group, Inc.		\$16.0000	\$3,616.00
	Vulcan Construction Materials, LLC		\$15.0000	\$3,390.00
	Charles Deweese Construction, Inc		\$16.2000	\$3,661.20
	,		**********	¥5,551.
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		2 000 54 011		
		2.000 EACH	#450.0000	#040.00
	Rogers Group, Inc.		\$158.0000	\$316.00
	Vulcan Construction Materials, LLC		\$150.0000	\$300.00
	Charles Deweese Construction, Inc		\$162.0000	\$324.00
7 40 0 4 4 =	DI ACTIO DAVENENT MADIZNIC DIVE OVIDER MEDICINE			
716-04.15	PLASTIC PAVEMENT MARKING-BIKE SYMBOL/ARROW SHAR			
		29.000 EACH		
	Rogers Group, Inc.		\$474.0000	\$13,746.00
	Vulcan Construction Materials, LLC		\$450.0000	\$13,050.00
	Charles Deweese Construction, Inc		\$486.0000	\$14,094.00

				CONTRACT CNT163
			UNIT PRICE	EXTENSION
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	, ,, ,	5.980 L.M.		
	Rogers Group, Inc.		\$2,300.0000	\$13,754.00
	Vulcan Construction Materials, LLC		\$2,200.0000	\$13,156.00
	Charles Deweese Construction, Inc		\$2,376.0000	\$14,208.48
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		2.780 L.M.		
	Rogers Group, Inc.		\$3,300.0000	\$9,174.00
	Vulcan Construction Materials, LLC		\$3,200.0000	\$8,896.00
	Charles Deweese Construction, Inc		\$3,456.0000	\$9,607.68
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		1,702.000 L.F.		
	Rogers Group, Inc.	•	\$1.0000	\$1,702.00
	Vulcan Construction Materials, LLC		\$1.0000	\$1,702.00
	Charles Deweese Construction, Inc		\$1.0800	\$1,838.16
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$8,855.0000	\$8,855.00
	Vulcan Construction Materials, LLC		\$17,000.0000	\$17,000.00

Charles Deweese Construction, Inc

\$32,700.00

\$32,700.0000

Rogers Group, Inc.	\$386,487.00
Vulcan Construction Materials, LLC	\$389,014.30
Charles Deweese Construction, Inc	\$435,345.18

TOTAL CONTRACT

Rogers Group, Inc.	\$386,487.00
Vulcan Construction Materials, LLC	\$389,014.30
Charles Deweese Construction, Inc	\$435,345.18

DAVIDSON COUNTY (Contract No. CNT215 Call 024)

NH/HSIP-100(88),19044-3222-94,19044-8222-14,NH-100(87),19044-8221-14

THE RESURFACING ON S.R. 100 FROM TEMPLE ROAD (L.M. 6.00) TO HEADY DRIVE (L.M. 12.08).

PROJECT LENGTH - 5.810 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.00%

TOTAL CONTRACT

Vulcan Construction Materials, LLC\$1,682,757.15Jones Bros. Contractors, LLC\$1,771,255.45Charles Deweese Construction, Inc\$1,991,389.96

		UNIT PRICE	EXTENSION
ROADWA	Y CATEGORY		
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.		
		2.000 S.Y.	
	Vulcan Construction Materials, LLC	\$550.0000	\$1,100.00
	Jones Bros. Contractors, LLC	\$875.0000	\$1,750.00
	Charles Deweese Construction, Inc	\$75.0000	\$150.00
208-01 05	BROOMING & DEGRASSING SHOULDERS		
200-01.03	ENCOMING & PEGNACOING GNOCEPENG	11.800 L.M.	
	Vulcan Construction Materials, LLC	\$1,500.0000	\$17,700.00
	Jones Bros. Contractors, LLC	\$1,500.0000	\$17,700.00
	Charles Deweese Construction, Inc	\$1,633.4400	\$19,274.59
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
303-01	MINERAL AGGREGATE, TIPE A BASE, GRADING D	219.000 TON	
	Vulcan Construction Materials, LLC	\$76.0000	\$16,644.00
	Jones Bros. Contractors, LLC	\$20.0000	\$4,380.00
	Charles Deweese Construction, Inc	\$41.3600	\$9,057.84
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
		2,000.000 TON	
	Vulcan Construction Materials, LLC	\$78.0000	\$156,000.00
	Jones Bros. Contractors, LLC	\$75.0000	\$150,000.00
	Charles Deweese Construction, Inc	\$86.9200	\$173,840.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
		71.000 TON	
	Vulcan Construction Materials, LLC	\$843.0000	\$59,853.00
	Jones Bros. Contractors, LLC	\$550.0000	\$39,050.00
	Charles Deweese Construction, Inc	\$875.0000	\$62,125.00
411-02.10	ACS MIX(PG70-22) GRADING D		
020),395.000 TON	
	Vulcan Construction Materials, LLC	\$90.0000	\$935,550.00
	Jones Bros. Contractors, LLC	\$96.7500	\$1,005,716.25
	Charles Deweese Construction, Inc	\$99.1800	\$1,030,976.10
411-12 03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
411 12.00	Cooking For Nomble of the Land Continuous (City Mishing	9.400 L.M.	
	Vulcan Construction Materials, LLC	\$480.0000	\$4,512.00
	Jones Bros. Contractors, LLC	\$480.0000	\$4,512.00
	Charles Deweese Construction, Inc	\$517.3200	\$4,862.81
445.04.04	COLD DI ANINO DITUMINOLIS DAVEMENT		
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	302 000 TON	
	Vulcan Construction Materials, LLC),292.000 TON \$17.0000	¢174 064 00
	Jones Bros. Contractors, LLC	\$17.0000 \$22.2000	\$174,964.00 \$228,482.40
	Charles Deweese Construction, Inc	\$21.8600	\$224,983.12
	and the contract of the contra	+=110000	Ţ_ _ .,000.12

			•	0
			UNIT PRICE	EXTENSION
701-02 01	CONCRETE CURB RAMP (RETROFIT)			
701-02.01	CONCRETE CORB RAIMF (RETROFTI)	590.000 S.F.		
	Vulcan Construction Materials, LLC		\$25.0000	\$14,750.00
	Jones Bros. Contractors, LLC		\$39.5000	\$23,305.00
	Charles Deweese Construction, Inc		\$39.5000	\$17,700.00
	Charles Deweese Construction, Inc		φ30.0000	\$17,700.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$43,794.5500	\$43,794.55
	Jones Bros. Contractors, LLC		\$43,700.0000	\$43,700.00
	Charles Deweese Construction, Inc		\$125,125.0000	\$125,125.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		200.000 EACH		
	Vulcan Construction Materials, LLC		\$15.0000	\$3,000.00
	Jones Bros. Contractors, LLC		\$12.5000	\$2,500.00
	Charles Deweese Construction, Inc		•	
	Charles Deweese Construction, Inc		\$16.7500	\$3,350.00
712-05.01	WARNING LIGHTS (TYPE A)			
		8.000 EACH		
	Vulcan Construction Materials, LLC		\$5.0000	\$40.00
	Jones Bros. Contractors, LLC		\$5.0000	\$40.00
	Charles Deweese Construction, Inc		\$16.7500	\$134.00
712-06	SIGNS (CONSTRUCTION)			
712-00	SIGNS (CONSTRUCTION)	1,974.000 S.F.		
	Vulcan Construction Materials, LLC	1,574.000 0.1 .	\$9.1500	\$18,062.10
	Jones Bros. Contractors, LLC		\$6.4500	\$12,732.30
				· · ·
	Charles Deweese Construction, Inc		\$7.5000	\$14,805.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Vulcan Construction Materials, LLC		\$900.0000	\$1,800.00
	Jones Bros. Contractors, LLC		\$900.0000	\$1,800.00
	Charles Deweese Construction, Inc		\$810.0000	\$1,620.00
716-01 21	SNOWPLOWABLE RAISED PAVEMENT N	MARKERS (BLDIR) (1 COLOR)		
710-01.21	SHOW LOWABLE RAISED FAVEMENT IN	574.000 EACH		
	Vulcan Construction Materials, LLC	374.000 EACH	\$28.0000	¢16 070 00
				\$16,072.00
	Jones Bros. Contractors, LLC		\$28.0000	\$16,072.00
	Charles Deweese Construction, Inc		\$30.2400	\$17,357.76
716-01.22	SNOWPLOWABLE RAISED PAVMENT MA	ARKERS (MONO-DIR)(1 COLOR)		
		606.000 EACH		
	Vulcan Construction Materials, LLC		\$28.0000	\$16,968.00
	Jones Bros. Contractors, LLC		\$28.0000	\$16,968.00
	Charles Deweese Construction, Inc		\$30.2400	\$18,325.44
	,		•	

	UNIT PRICE	EXTENSION
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
435.000) EACH	
Vulcan Construction Materials, LLC	\$10.0000	\$4,350.00
Jones Bros. Contractors, LLC	\$10.0000	\$4,350.00
Charles Deweese Construction, Inc	\$10.8000	\$4,698.00
716-02.03 PLASTIC PAVEMENT MARKING (CROSS-WALK)		
280.000	L.F.	
Vulcan Construction Materials, LLC	\$6.0000	\$1,680.00
Jones Bros. Contractors, LLC	\$6.0000	\$1,680.00
Charles Deweese Construction, Inc	\$6.4800	\$1,814.40
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
1,910.000	OS.Y.	
Vulcan Construction Materials, LLC	\$10.0000	\$19,100.00
Jones Bros. Contractors, LLC	\$10.0000	\$19,100.00
Charles Deweese Construction, Inc	\$10.8000	\$20,628.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
500.000) L.F.	
Vulcan Construction Materials, LLC	\$15.0000	\$7,500.00
Jones Bros. Contractors, LLC	\$15.0000	\$7,500.00
Charles Deweese Construction, Inc	\$16.2000	\$8,100.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
20.000) EACH	
Vulcan Construction Materials, LLC	\$150.0000	\$3,000.00
Jones Bros. Contractors, LLC	\$150.0000	\$3,000.00
Charles Deweese Construction, Inc	\$162.0000	\$3,240.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
310.000) L.F.	
Vulcan Construction Materials, LLC	\$30.0000	\$9,300.00
Jones Bros. Contractors, LLC	\$30.0000	\$9,300.00
Charles Deweese Construction, Inc	\$32.4000	\$10,044.00
716-02.11 PLASTIC PAVEMENT MARKING (6" DOTTED LINE)		
800.000) L.F.	
Vulcan Construction Materials, LLC	\$2.0000	\$1,600.00
Jones Bros. Contractors, LLC	\$2.0000	\$1,600.00
Charles Deweese Construction, Inc	\$2.1600	\$1,728.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)		
3.000	EACH	
Vulcan Construction Materials, LLC	\$400.0000	\$1,200.00
Jones Bros. Contractors, LLC	\$400.0000	\$1,200.00
Charles Deweese Construction, Inc	\$432.0000	\$1,296.00

			UNIT PRICE	EXTENSION
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW))		
	,	4.000 EACH		
	Vulcan Construction Materials, LLC		\$300.0000	\$1,200.00
	Jones Bros. Contractors, LLC		\$300.0000	\$1,200.00
	Charles Deweese Construction, Inc		\$324.0000	\$1,296.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER	2)		
	·	200.000 L.F.		
	Vulcan Construction Materials, LLC		\$7.5000	\$1,500.00
	Jones Bros. Contractors, LLC		\$7.5000	\$1,500.00
	Charles Deweese Construction, Inc		\$8.1000	\$1,620.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
		8.000 EACH		
	Vulcan Construction Materials, LLC		\$150.0000	\$1,200.00
	Jones Bros. Contractors, LLC		\$150.0000	\$1,200.00
	Charles Deweese Construction, Inc		\$162.0000	\$1,296.00
716-04.13	PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARE	ROW)		
		2.000 EACH		
	Vulcan Construction Materials, LLC		\$400.0000	\$800.00
	Jones Bros. Contractors, LLC		\$400.0000	\$800.00
	Charles Deweese Construction, Inc		\$432.0000	\$864.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		27.100 L.M.		
	Vulcan Construction Materials, LLC		\$750.0000	\$20,325.00
	Jones Bros. Contractors, LLC		\$750.0000	\$20,325.00
	Charles Deweese Construction, Inc		\$810.0000	\$21,951.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		14.300 L.M.		
	Vulcan Construction Materials, LLC		\$4,800.0000	\$68,640.00
	Jones Bros. Contractors, LLC		\$4,800.0000	\$68,640.00
	Charles Deweese Construction, Inc		\$5,184.0000	\$74,131.20
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTE	ED LINE)		
		1,250.000 L.F.		
	Vulcan Construction Materials, LLC		\$2.0000	\$2,500.00
	Jones Bros. Contractors, LLC		\$2.0000	\$2,500.00
	Charles Deweese Construction, Inc		\$2.1600	\$2,700.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		11.700 L.M.		
	Vulcan Construction Materials, LLC		\$2,600.0000	\$30,420.00
	Jones Bros. Contractors, LLC		\$2,600.0000	\$30,420.00
	Charles Deweese Construction, Inc		\$2,808.0000	\$32,853.60

				CONTRACT CNT215
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
	Jones Bros. Contractors, LLC		\$25,600.0000	\$25,600.00
	Charles Deweese Construction, Inc		\$76,600.0000	\$76,600.00
730-14.02	SAW SLOT			
		585.000 L.F.		
	Vulcan Construction Materials, LLC		\$3.5000	\$2,047.50
	Jones Bros. Contractors, LLC		\$3.5000	\$2,047.50
	Charles Deweese Construction, Inc		\$3.7800	\$2,211.30
730-14.03	LOOP WIRE			
		1,170.000 L.F.		
	Vulcan Construction Materials, LLC	•	\$0.5000	\$585.00

Jones Bros. Contractors, LLC

Charles Deweese Construction, Inc

\$0.5000

\$0.5400

\$585.00

\$631.80

Vulcan Construction Materials, LLC	\$1,682,757.15
Jones Bros. Contractors, LLC	\$1,771,255.45
Charles Deweese Construction, Inc	\$1,991,389.96

TOTAL CONTRACT		
Vulcan Construction Materials, LLC	\$1,682,757.15	
Jones Bros. Contractors, LLC	\$1,771,255.45	
Charles Deweese Construction, Inc	\$1,991,389.96	

DAVIDSON COUNTY (Contract No. CNT160 Call 025)

STP/HSIP-1(403),19016-3208-94,19016-8208-14

THE RESURFACING ON U.S. 70 (S.R. 1) FROM THE CHEATHAM COUNTY LINE (L.M. 0.00) TO SOUTH OF HARPETH VALLEY ROAD (L.M. 5.19).

PROJECT LENGTH - 4.980 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 9.50%

TOTAL	CONTRACT
	0011110101

Jones Bros. Contractors, LLC	\$877,705.50
Eubank Asphalt Paving & Sealing	\$897,724.00
Vulcan Construction Materials, LLC	\$969,567.50
Charles Deweese Construction, Inc	\$1,074,808.60

			CC	NTRACT CNT160
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
208-01.05	5 BROOMING & DEGRASSING SHOULDERS			
		10.200 L.M.		
	Jones Bros. Contractors, LLC		\$1,400.0000	\$14,280.00
	Eubank Asphalt Paving & Sealing		\$1,000.0000	\$10,200.00
	Vulcan Construction Materials, LLC		\$1,500.0000	\$15,300.00
	Charles Deweese Construction, Inc		\$1,633.4400	\$16,661.09
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		188.000 TON		
	Jones Bros. Contractors, LLC		\$27.0000	\$5,076.00
	Eubank Asphalt Paving & Sealing		\$30.0000	\$5,640.00
	Vulcan Construction Materials, LLC		\$50.0000	\$9,400.00
	Charles Deweese Construction, Inc		\$32.7400	\$6,155.12
307-01.08	3 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING E	B-M2		
		1,000.000 TON		
	Jones Bros. Contractors, LLC		\$69.0000	\$69,000.00
	Eubank Asphalt Paving & Sealing		\$85.0000	\$85,000.00
	Vulcan Construction Materials, LLC		\$82.6000	\$82,600.00
	Charles Deweese Construction, Inc		\$86.9200	\$86,920.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		27.000 TON		
	Jones Bros. Contractors, LLC		\$585.0000	\$15,795.00
	Eubank Asphalt Paving & Sealing		\$750.0000	\$20,250.00
	Vulcan Construction Materials, LLC		\$850.0000	\$22,950.00
	Charles Deweese Construction, Inc		\$875.0000	\$23,625.00
411-02.10	ACS MIX(PG70-22) GRADING D			
		6,023.000 TON		
	Jones Bros. Contractors, LLC		\$100.0000	\$602,300.00
	Eubank Asphalt Paving & Sealing		\$95.0000	\$572,185.00
	Vulcan Construction Materials, LLC		\$105.0000	\$632,415.00
	Charles Deweese Construction, Inc		\$99.1800	\$597,361.14
411-12.03	S SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN W	/IDTH)		
		8.300 L.M.		
	Jones Bros. Contractors, LLC		\$475.0000	\$3,942.50
	Eubank Asphalt Paving & Sealing		\$600.0000	\$4,980.00
	Vulcan Construction Materials, LLC		\$475.0000	\$3,942.50
	Charles Deweese Construction, Inc		\$601.0000	\$4,988.30
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		13.000 EACH		
	Jones Bros. Contractors, LLC		\$90.0000	\$1,170.00
	Eubank Asphalt Paving & Sealing		\$200.0000	\$2,600.00
	Vulcan Construction Materials, LLC		\$100.0000	\$1,300.00
	Charles Doweese Construction, Inc.		¢601 0000	\$7 Q12 AA

Charles Deweese Construction, Inc

\$7,813.00

\$601.0000

		UNIT PRICE	EXTENSION
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT			
	10.000 EACH		
Jones Bros. Contractors, LLC		\$1,275.0000	\$12,750.00
Eubank Asphalt Paving & Sealing		\$500.0000	\$5,000.00
Vulcan Construction Materials, LLC		\$850.0000	\$8,500.00
Charles Deweese Construction, Inc		\$108.0000	\$1,080.00
705-04.10 EARTH PAD FOR GUARD RAIL END TREATMENT			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$1,050.0000	\$3,150.00
Eubank Asphalt Paving & Sealing		\$500.0000	\$1,500.00
Vulcan Construction Materials, LLC		\$1,000.0000	\$3,000.00
Charles Deweese Construction, Inc		\$918.0000	\$2,754.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
	10.000 EACH		
Jones Bros. Contractors, LLC		\$2,790.0000	\$27,900.00
Eubank Asphalt Paving & Sealing		\$2,500.0000	\$25,000.00
Vulcan Construction Materials, LLC		\$2,650.0000	\$26,500.00
Charles Deweese Construction, Inc		\$1,080.0000	\$10,800.00
705-06.30 GR TERMINAL (ENERGY ABSORBING) MASH TL2			
	3.000 EACH		
Jones Bros. Contractors, LLC		\$2,392.0000	\$7,176.00
Eubank Asphalt Paving & Sealing		\$2,500.0000	\$7,500.00
Vulcan Construction Materials, LLC		\$2,250.0000	\$6,750.00
Charles Deweese Construction, Inc		\$2,862.0000	\$8,586.00
706-01 GUARDRAIL REMOVED			
	575.000 L.F.		
Jones Bros. Contractors, LLC		\$1.5000	\$862.50
Eubank Asphalt Paving & Sealing		\$1.0000	\$575.00
Vulcan Construction Materials, LLC		\$1.0000	\$575.00
Charles Deweese Construction, Inc		\$1.0800	\$621.00
712-01 TRAFFIC CONTROL			
	1.000 LS		
Jones Bros. Contractors, LLC		\$17,000.0000	\$17,000.00
Eubank Asphalt Paving & Sealing		\$7,500.0000	\$7,500.00
Vulcan Construction Materials, LLC		\$33,200.0000	\$33,200.00
Charles Deweese Construction, Inc		\$98,700.0000	\$98,700.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
	25.000 EACH		
Jones Bros. Contractors, LLC		\$5.0000	\$125.00
Eubank Asphalt Paving & Sealing		\$5.0000	\$125.00
Vulcan Construction Materials, LLC		\$5.0000	\$125.00
Charles Deweese Construction, Inc		\$16.2000	\$405.00

			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Jones Bros. Contractors, LLC		\$2.0000	\$8.00
	Eubank Asphalt Paving & Sealing		\$5.0000	\$20.00
	Vulcan Construction Materials, LLC		\$5.0000	\$20.00
	Charles Deweese Construction, Inc		\$16.7400	\$66.96
712-06	SIGNS (CONSTRUCTION)			
	,	1,001.000 S.F.		
	Jones Bros. Contractors, LLC	.,	\$6.5000	\$6,506.50
	Eubank Asphalt Paving & Sealing		\$8.0000	\$8,008.00
	Vulcan Construction Materials, LLC		\$9.0000	\$9,009.00
	Charles Deweese Construction, Inc		\$7.5100	\$7,517.51
	Charles Deweese Construction, inc		Ψ1.5100	Ψ7,517.51
716-01 21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	COLOR)		
710-01.21	ONOWI EOWADEE KAIGED I AVEINER! MARKERO (DI DIK) (1			
	Laws a Dura Contractors III C	406.000 EACH	#00.000	# 40.400.00
	Jones Bros. Contractors, LLC		\$30.0000	\$12,180.00
	Eubank Asphalt Paving & Sealing		\$28.0000	\$11,368.00
	Vulcan Construction Materials, LLC		\$28.0000	\$11,368.00
	Charles Deweese Construction, Inc		\$30.2400	\$12,277.44
/16-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(-		
		6.000 EACH		
	Jones Bros. Contractors, LLC		\$30.0000	\$180.00
	Eubank Asphalt Paving & Sealing		\$28.0000	\$168.00
	Vulcan Construction Materials, LLC		\$28.0000	\$168.00
	Charles Deweese Construction, Inc		\$30.2400	\$181.44
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		30.000 L.F.		
	Jones Bros. Contractors, LLC		\$14.0000	\$420.00
	Eubank Asphalt Paving & Sealing		\$15.0000	\$450.00
	Vulcan Construction Materials, LLC		\$15.0000	\$450.00
	Charles Deweese Construction, Inc		\$16.2000	\$486.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		5.000 EACH		
	Jones Bros. Contractors, LLC		\$150.0000	\$750.00
	Eubank Asphalt Paving & Sealing		\$150.0000	\$750.00
	Vulcan Construction Materials, LLC		\$150.0000	\$750.00
	Charles Deweese Construction, Inc		\$162.0000	\$810.00
	Charles Deweese Construction, the		Ψ102.0000	ψο το.σσ
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
	(0.00.00.00)	1.000 EACH		
	longs Bros. Contractors III C	I.UUU EAUN	¢ ፍለስ ስዕሳሳ	የ ድስሳ ሰሳ
	Jones Bros. Contractors, LLC		\$600.0000	\$600.00
	Eubank Asphalt Paving & Sealing		\$700.0000	\$700.00
	Vulcan Construction Materials, LLC		\$700.0000	\$700.00
	Charles Deweese Construction, Inc		\$756.0000	\$756.00

		CONTRACT CNT160
	UNIT PR	ICE EXTENSION
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)		
	3.000 EACH	
Jones Bros. Contractors, LLC	\$150.00	000 \$450.00
Eubank Asphalt Paving & Sealing	\$150.00	000 \$450.00
Vulcan Construction Materials, LLC	\$150.00	000 \$450.00
Charles Deweese Construction, Inc	\$162.00	000 \$486.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)		
	100.000 S.F.	
Jones Bros. Contractors, LLC	\$7.00	\$700.00
Eubank Asphalt Paving & Sealing	\$20.00	
Vulcan Construction Materials, LLC	\$20.00	000 \$2,000.00
Charles Deweese Construction, Inc	\$21.60	\$2,160.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
	2.500 L.M.	
Jones Bros. Contractors, LLC	\$400.00	\$1,000.00
Eubank Asphalt Paving & Sealing	\$750.00	000 \$1,875.00
Vulcan Construction Materials, LLC	\$750.00	000 \$1,875.00
Charles Deweese Construction, Inc	\$810.00	\$2,025.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
	10.300 L.M.	
Jones Bros. Contractors, LLC	\$2,640.00	000 \$27,192.00
Eubank Asphalt Paving & Sealing	\$4,800.00	
Vulcan Construction Materials, LLC	\$4,800.00	000 \$49,440.00
Charles Deweese Construction, Inc	\$5,184.00	\$53,395.20
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)		
	10.300 L.M.	
Jones Bros. Contractors, LLC	\$2,640.00	000 \$27,192.00
Eubank Asphalt Paving & Sealing	\$4,800.00	
Vulcan Construction Materials, LLC	\$2,600.00	\$26,780.00
	.	

1.000 LS

Charles Deweese Construction, Inc

Jones Bros. Contractors, LLC

Eubank Asphalt Paving & Sealing

Vulcan Construction Materials, LLC

Charles Deweese Construction, Inc

MOBILIZATION

717-01

PΑ	GE
----	----

\$28,922.40

\$20,000.00

\$25,000.00

\$20,000.00

\$99,255.00

\$2,808.0000

\$20,000.0000

\$25,000.0000

\$20,000.0000

\$99,255.0000

Jones Bros. Contractors, LLC	\$877,705.50
Eubank Asphalt Paving & Sealing	\$897,724.00
Vulcan Construction Materials, LLC	\$969,567.50
Charles Deweese Construction, Inc	\$1,074,808.60

TOTAL CONTRACT

Jones Bros. Contractors, LLC	\$877,705.50
Eubank Asphalt Paving & Sealing	\$897,724.00
Vulcan Construction Materials, LLC	\$969,567.50
Charles Deweese Construction, Inc	\$1,074,808.60

DAVIDSON COUNTY (Contract No. CNT188 Call 026)

19047-4241-04

THE TUNNEL CLEANING OF THE THOMPSON LANE UNDERPASS ON S.R. 155.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2020

TOTAL CONTRACT

Diamond Specialized, Inc.

\$67,300.00

				CONTRACT	CNT188
MAINTEN	IANCE CATEGORY		UNIT PRICE	EXT	ENSION
712-01.56	MAINTENANCE OF TRAFFIC (THOMPSON LANE UNDERPASS)				
	Diamond Considired Inc	12.000 EACH	¢4.750.0000	ФО4	000 00
	Diamond Specialized, Inc.		\$1,750.0000	Φ 2 I	,000.00
713-20.40	GRAFFITI REMOVAL				
	Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	9	\$700.00
717-01	MOBILIZATION				
	Diamond Specialized, Inc.	1.000 LS	\$4,800.0000	\$4	,800.00
760-01.05	TUNNEL CLEANING (THOMPSON LANE TUNNELS)				
		12.000 EACH			

Diamond Specialized, Inc.

\$3,400.0000

\$40,800.00

SUB-TOTAL MAINTENANCE

Diamond Specialized, Inc. \$67,300.00

TOTAL CONTRACT

Diamond Specialized, Inc. \$67,300.00

DEKALB COUNTY (Contract No. CNT145 Call 027)

STP/HSIP-146(8),21007-3227-94,21007-8227-14

THE RESURFACING ON S.R. 146 FROM THE CANNON COUNTY LINE (L.M. 0.00) TO NORTH OF GAME RIDGE ROAD (L.M. 5.47).

PROJECT LENGTH - 5.470 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 9.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$430,886.20

Tinsley Asphalt, LLC \$478,379.00

			CONTRACT CNT145
ROADWAY	CATEGORY	UNIT PRICE	EXTENSION
ROADWAT	CATEGORI		
403-01 BI	TUMINOUS MATERIAL FOR TACK COAT (TC)		
	29.000 T	ON	
Ro	ogers Group, Inc.	\$350.0000	\$10,150.00
Tir	nsley Asphalt, LLC	\$575.0000	\$16,675.00
411-03.07 AC	CS MIX(PG64-22) THIN LIFT ASPHALT		
	2,812.000 T	ON	
Ro	ogers Group, Inc.	\$81.6600	\$229,627.92
	nsley Asphalt, LLC	\$90.0200	\$253,136.24
411-12.04 SC	CORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDTH)		
	8.800 L	.M.	
Ro	ogers Group, Inc.	\$501.3500	\$4,411.88
	nsley Asphalt, LLC	\$400.0000	\$3,520.00
415-01 01 CC	OLD PLANING BITUMINOUS PAVEMENT		
413-01.01 00	4,342.000 T	ON	
D.	ogers Group, Inc.	\$11.6700	\$50,671.14
	nsley Asphalt, LLC	\$15.5300	\$67,431.26
	noisy rispinally 220	\$10.0000	φον, το τ.20
705-01.04 ME	ETAL BEAM GUARD FENCE	_	
_	50.000 L		*
	ogers Group, Inc.	\$80.7400	\$4,037.00
ıır	nsley Asphalt, LLC	\$56.0000	\$2,800.00
705-02.10 GU	UARDRAIL TRANSITION 27IN TO 31IN		
	4.000 E	ACH	
	ogers Group, Inc.	\$107.6600	\$430.64
Tir	nsley Asphalt, LLC	\$66.0000	\$264.00
705-04.09 EA	ARTH PAD FOR TYPE 38 GR END TREATMENT		
	4.000 E	ACH	
Ro	ogers Group, Inc.	\$1,076.5700	\$4,306.28
Tir	nsley Asphalt, LLC	\$1,080.0000	\$4,320.00
705-06.01 W	BEAM GR (TYPE 2) MASH TL3		
	50.000 L	F	
Ro	ogers Group, Inc.	\$24.7600	\$1,238.00
	nsley Asphalt, LLC	\$19.5000	\$975.00
705 00 00 W	DEAM OR (TYPE 8) MARLETIA (LONG POST)		
705-06.02 W	BEAM GR (TYPE 2) MASH TL3 (LONG POST)	-	
_	50.000 L		Φ4 400 F0
	ogers Group, Inc. nsley Asphalt, LLC	\$28.5300 \$21.3500	\$1,426.50 \$1,067.50
705-06.20 TA	ANGENT ENERGY ABSORBING TERM MASH TL-3	ACH.	
Г-	4.000 E		644 444 00
	ogers Group, Inc.	\$2,852.9200 \$2,925,0000	\$11,411.68 \$11,700.00

Tinsley Asphalt, LLC

\$2,925.0000

				CONTRACT CNT145
			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED	450,000 1.5		
	D 0 1	150.000 L.F.	#0.4500	# 000 F 0
	Rogers Group, Inc. Tinsley Asphalt, LLC		\$2.1500 \$1.0000	\$322.50 \$150.00
	Tirisley Aspirait, LLC		φ1.0000	φ150.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$11,110.8000	\$11,110.80
	Tinsley Asphalt, LLC		\$13,125.0000	\$13,125.00
712-06	SIGNS (CONSTRUCTION)			
		1,105.000 S.F.	•	
	Rogers Group, Inc.		\$5.9200 \$6.5000	\$6,541.60 \$7,182.50
	Tinsley Asphalt, LLC		φ0.5000	Ψ1,102.50
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
	,	16.000 EACH		
	Rogers Group, Inc.	10.000 27.011	\$43.0600	\$688.96
	Tinsley Asphalt, LLC		\$35.0000	\$560.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKE	ERS (BI-DIR) (1 COLOR)		
		365.000 EACH		
	Rogers Group, Inc.		\$26.3900	\$9,632.35
	Tinsley Asphalt, LLC		\$25.0000	\$9,125.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE	MARKER		
		365.000 EACH		
	Rogers Group, Inc.		\$6.3300	\$2,310.45
	Tinsley Asphalt, LLC		\$5.0000	\$1,825.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZAT			
		15.000 S.Y.	.	
	Rogers Group, Inc. Tinsley Asphalt, LLC		\$21.1100 \$20.0000	\$316.65 \$300.00
	Tinsley Asphait, LLC		\$20.0000	\$300.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		222.000 L.F.		
	Rogers Group, Inc.		\$10.5500	\$2,342.10
	Tinsley Asphalt, LLC		\$10.0000	\$2,220.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		40.900 L.M.		
	Rogers Group, Inc.		\$554.1200	\$22,663.51
	Tinsley Asphalt, LLC		\$525.0000	\$21,472.50
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LI	NE)		
		20.400 L.M.		
	Rogers Group, Inc.	ZOITOO EIIII	\$2,269.2500	\$46,292.70
	Tinslev Asphalt. LLC		\$2,150,0000	\$43.860.00

Tinsley Asphalt, LLC

\$43,860.00

\$2,150.0000

			CONTRACT CNT145
		UNIT PRICE	EXTENSION
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
	175.000 L.F.		
Rogers Group, Inc.		\$1.0600	\$185.50
Tinsley Asphalt, LLC		\$1.0000	\$175.00
717-01 MOBILIZATION			
	1.000 LS		
Rogers Group, Inc.		\$10,768.0400	\$10,768.04
Tinsley Asphalt, LLC		\$16,495.0000	\$16,495.00

 Rogers Group, Inc.
 \$430,886.20

 Tinsley Asphalt, LLC
 \$478,379.00

TOTAL CONTRACT

 Rogers Group, Inc.
 \$430,886.20

 Tinsley Asphalt, LLC
 \$478,379.00

DICKSON COUNTY (Contract No. CNT193 Call 029)

22015-4215-04,HSIP-46(35),22015-3215-94

THE RESURFACING ON S.R. 46 FROM U.S. 70 (S.R. 1) (L.M. 8.66) TO UNION HILL ROAD (L.M. 17.76).

PROJECT LENGTH - 9.100 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.50%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC

\$827,402.40

\$951,960.50

CONTRACT	CNT193
----------	---------------

			CC	NTRACT CNT193
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		40.000 S.Y.		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$40.0000 \$37.0000	\$1,600.00 \$1,480.00
202-08.10	REMOVAL OF CURB (DESCRIPTION)			
		40.000 L.F.		
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$20.0000 \$37.0000	\$800.00 \$1,480.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		18.200 L.M.	****	
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$300.0000 \$1,225.0000	\$5,460.00 \$22,295.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	5 L LA L ND : 00 F	1,754.000 TON	047.5000	# 00.005.00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$17.5000 \$18.5000	\$30,695.00 \$32,449.00
307-01.07	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-N			
	Eubank Asphalt Paving & Sealing	300.000 TON	\$65.0000	\$19,500.00
	Jones Bros. Contractors, LLC		\$77.0000	\$23,100.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Eubank Asphalt Paving & Sealing	50.000 TON	\$450.0000	\$22,500.00
	Jones Bros. Contractors, LLC		\$585.0000	\$29,250.00
407-07.01	INTELLIGENT COMPACTION EQUIPMENT	4 000 1 8		
	Eubank Asphalt Paving & Sealing	1.000 LS	\$15,000.0000	\$15,000.00
	Jones Bros. Contractors, LLC		\$39,000.0000	\$39,000.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT	6,436.000 TON		
	Eubank Asphalt Paving & Sealing	0,430.000 1014	\$80.0000	\$514,880.00
	Jones Bros. Contractors, LLC		\$85.0000	\$547,060.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WID	TH) 14.600 L.M.		
	Eubank Asphalt Paving & Sealing	I T.OUU E.IVI.	\$400.0000	\$5,840.00
	Jones Bros. Contractors, LLC		\$450.0000	\$6,570.00
701-01.01	CONCRETE SIDEWALK (4 ")	200.000 S.F.		
	Eubank Asphalt Paving & Sealing	200.000 0.1 .	\$8.0000	\$1,600.00
	Jones Bros. Contractors, LLC		\$7.7500	\$1,550.00
				PAGE

CONTRACT (CNT193	
------------	--------	--

			C	ONIRACI CNI193
			UNIT PRICE	EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		290.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$40.0000	\$11,600.00
	Jones Bros. Contractors, LLC		\$39.5000	\$11,455.00
701-03	CONCRETE MEDIAN PAVEMENT			
		2.000 C.Y.		
	Eubank Asphalt Paving & Sealing		\$725.0000	\$1,450.00
	Jones Bros. Contractors, LLC		\$725.0000	\$1,450.00
702-01.02	CONCRETE CURB			
		40.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$40.0000	\$1,600.00
	Jones Bros. Contractors, LLC		\$35.5000	\$1,420.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		4.000 EACH		
	Eubank Asphalt Paving & Sealing	4.000 LAGIT	\$100.0000	\$400.00
	Jones Bros. Contractors, LLC		\$45.0000	\$180.00
705 04 00	FARTURAD FOR TYPE 20 OR FND TREATMENT			
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	4 000 = 4 011		
		4.000 EACH		
	Eubank Asphalt Paving & Sealing		\$500.0000	\$2,000.00
	Jones Bros. Contractors, LLC		\$1,340.0000	\$5,360.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		4.000 EACH		
	Eubank Asphalt Paving & Sealing		\$2,750.0000	\$11,000.00
	Jones Bros. Contractors, LLC		\$2,998.2500	\$11,993.00
706-01	GUARDRAIL REMOVED			
		200.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$1.0000	\$200.00
	Jones Bros. Contractors, LLC		\$1.2700	\$254.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$2,500.0000	\$2,500.00
	Jones Bros. Contractors, LLC		\$45,000.0000	\$45,000.00
712-04 01	FLEXIBLE DRUMS (CHANNELIZING)			
2 04.01	·	25.000 EACH		
	Eubank Asphalt Paving & Sealing	=3.000 =. 1011	\$5.0000	\$125.00
	Jones Bros. Contractors, LLC		\$35.0000	\$875.00
712-05 04	WARNING LIGHTS (TYPE A)			
1 12-03.01	MANAGED TO (TIFE A)	4.000 EACH		
	Fuhank Apphalt Daving 9 Capling	4.000 EACH	¢ E 0000	ድጋር ርር
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$5.0000 \$2.0000	\$20.00 \$8.00
	ones Dios. Contractors, LLC		φ∠.∪∪∪	φο.υυ

CON	ITRACT	CNT193

			CO	MIRACI CNI193
			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
		1,610.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$6.0000	\$9,660.00
	Jones Bros. Contractors, LLC		\$6.6000	\$10,626.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	(1 COLOR)		
		601.000 EACH		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$18,030.00
	Jones Bros. Contractors, LLC		\$30.0000	\$18,030.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		396.000 EACH		
	Eubank Asphalt Paving & Sealing		\$8.0000	\$3,168.00
	Jones Bros. Contractors, LLC		\$15.0000	\$5,940.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		12.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$15.0000	\$180.00
	Jones Bros. Contractors, LLC		\$14.0000	\$168.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-W	ALK)		
		30.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$30.0000	\$900.00
	Jones Bros. Contractors, LLC		\$14.0000	\$420.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
		1.000 EACH		
	Eubank Asphalt Paving & Sealing		\$300.0000	\$300.00
	Jones Bros. Contractors, LLC		\$250.0000	\$250.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROV	V)		
		2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$200.0000	\$400.00
	Jones Bros. Contractors, LLC		\$150.0000	\$300.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		11.900 L.M.		
	Eubank Asphalt Paving & Sealing		\$4,800.0000	\$57,120.00
	Jones Bros. Contractors, LLC		\$2,640.0000	\$31,416.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		18.200 L.M.		
	Eubank Asphalt Paving & Sealing		\$3,000.0000	\$54,600.00
	Jones Bros. Contractors, LLC		\$2,640.0000	\$48,048.00
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE	E)		
		130.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$1.0000	\$130.00
	Jones Bros. Contractors, LLC		\$0.5000	\$65.00

			CONTRACT CNT193
		UNIT PRICE	EXTENSION
716-13.04 SI	PRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)		
		500.000 L.F.	
E	ubank Asphalt Paving & Sealing	\$1.0000	\$500.00
Jo	ones Bros. Contractors, LLC	\$0.3600	\$180.00
717-01 M	IOBILIZATION		
		1.000 LS	
E	ubank Asphalt Paving & Sealing	\$28,000.0000	\$28,000.00
Jo	ones Bros. Contractors, LLC	\$49,000.0000	\$49,000.00
730-14.02 S	AW SLOT		
		1,153.000 L.F.	
E	ubank Asphalt Paving & Sealing	\$3.7000	\$4,266.10
	ones Bros. Contractors, LLC	\$3.5000	\$4,035.50
730-14.03 LG	OOP WIRE		
		2,506.000 L.F.	

Eubank Asphalt Paving & Sealing

Jones Bros. Contractors, LLC

\$1,378.30 \$1,253.00

\$0.5500

\$0.5000

Eubank Asphalt Paving & Sealing	\$827,402.40
Jones Bros. Contractors, LLC	\$951,960.50

TOTAL CONTRACT

JIAL CONTRACT		
Eubank Asphalt Paving & Sealing	\$827,402.40	
Jones Bros. Contractors, LLC	\$951,960.50	

DICKSON COUNTY (Contract No. CNT214 Call 030)

NH-1(407),22002-4256-04

THE EMERGENCY REPLACEMENT OF A COLLAPSED CORRUGATED METAL PIPE ON U.S. 70 (S.R. 1) (L.M. 7.70) IN DICKSON, INCLUDING GRADING, DRAINAGE AND PAVING.

PROJECT LENGTH - 0.020 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 30, 2019

DBE GOAL 15.00%

	TOTAL CONTRACT
Eubank Asphalt Paving & Sealing	\$259,942.00
Kiewit Infrastructure South Co.	\$404,073.40
Sessions Paving Company	\$406,133.00
Underground Pipe and Construction, LLC	\$409,537.00

		CONTRACT CNT214
	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
202-02.01 REMOVAL OF PIPE (30" CMP, STA. 105+18)		
	52.000 L.F.	
Eubank Asphalt Paving & Sealing	\$60.0000	\$3,120.00
Kiewit Infrastructure South Co.	\$45.0000	\$2,340.00
Sessions Paving Company	\$30.0000	\$1,560.00
Underground Pipe and Construction, LLC	\$100.0000	\$5,200.00
203-01 ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)		
	1,853.000 C.Y.	
Eubank Asphalt Paving & Sealing	\$15.0000	\$27,795.00
Kiewit Infrastructure South Co.	\$17.0000	\$31,501.00
Sessions Paving Company	\$32.0000	\$59,296.00
Underground Pipe and Construction, LLC	\$22.0000	\$40,766.00
203-02.01 BORROW EXCAVATION (GRADED SOLID ROCK)		
	2,323.000 TON	
Eubank Asphalt Paving & Sealing	\$22.0000	\$51,106.00
Kiewit Infrastructure South Co.	\$30.0000	\$69,690.00
Sessions Paving Company	\$42.5000	\$98,727.50
Underground Pipe and Construction, LLC	\$30.0000	\$69,690.00
203-10.15 WASTE MATERIAL		
	1,845.000 C.Y.	
Eubank Asphalt Paving & Sealing	\$15.0000	\$27,675.00
Kiewit Infrastructure South Co.	\$40.0000	\$73,800.00
Sessions Paving Company	\$20.0000	\$36,900.00
Underground Pipe and Construction, LLC	\$12.0000	\$22,140.00
209-05 SEDIMENT REMOVAL		
	3.000 C.Y.	
Eubank Asphalt Paving & Sealing	\$100.0000	\$300.00
Kiewit Infrastructure South Co.	\$350.0000	\$1,050.00
Sessions Paving Company	\$20.0000	\$60.00
Underground Pipe and Construction, LLC	\$50.0000	\$150.00

130.000 L.F.

700.000 BAG

209-08.02 TEMPORARY SILT FENCE (WITH BACKING)

Eubank Asphalt Paving & Sealing

Eubank Asphalt Paving & Sealing

Kiewit Infrastructure South Co.

Sessions Paving Company

Underground Pipe and Construction, LLC

Underground Pipe and Construction, LLC

Kiewit Infrastructure South Co.

Sessions Paving Company

209-09.01 SANDBAGS

\$2,600.00

\$780.00

\$585.00

\$650.00

\$3,500.00

\$5,250.00

\$3,500.00

\$6,300.00

\$20.0000

\$6.0000

\$4.5000

\$5.0000

\$5.0000

\$7.5000

\$5.0000

\$9.0000

		UNIT PRICE	EXTENSION
209-20.03	POLYETHYLENE SHEETING (6 MIL. MINIMUM)		
	23	.000 S.Y.	
	Eubank Asphalt Paving & Sealing	\$10.0000	\$230.00
	Kiewit Infrastructure South Co.	\$40.0000	\$920.00
	Sessions Paving Company	\$20.0000	\$460.00
	Underground Pipe and Construction, LLC	\$20.0000	\$460.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	267	.000 TON	
	Eubank Asphalt Paving & Sealing	\$25.0000	\$6,675.00
	Kiewit Infrastructure South Co.	\$70.0000	\$18,690.00
	Sessions Paving Company	\$56.0000	\$14,952.00
	Underground Pipe and Construction, LLC	\$35.0000	\$9,345.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A		
	102	.000 TON	
	Eubank Asphalt Paving & Sealing	\$100.0000	\$10,200.00
	Kiewit Infrastructure South Co.	\$300.0000	\$30,600.00
	Sessions Paving Company	\$196.0000	\$19,992.00
	Underground Pipe and Construction, LLC	\$175.0000	\$17,850.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
	35	.000 TON	
	Eubank Asphalt Paving & Sealing	\$300.0000	\$10,500.00
	Kiewit Infrastructure South Co.	\$300.0000	\$10,500.00
	Sessions Paving Company	\$203.0000	\$7,105.00
	Underground Pipe and Construction, LLC	\$180.0000	\$6,300.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)		
	0	.500 TON	
	Eubank Asphalt Paving & Sealing	\$100.0000	\$50.00
	Kiewit Infrastructure South Co.	\$1,800.0000	\$900.00
	Sessions Paving Company	\$1,200.0000	\$600.00
	Underground Pipe and Construction, LLC	\$3,000.0000	\$1,500.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)		
		.800 TON	
	Eubank Asphalt Paving & Sealing	\$50.0000	\$90.00
	Kiewit Infrastructure South Co.	\$90.0000	\$162.00
	Sessions Paving Company	\$60.0000	\$108.00
	Underground Pipe and Construction, LLC	\$100.0000	\$180.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
		.200 TON	
	Eubank Asphalt Paving & Sealing	\$2,000.0000	\$400.00
	Kiewit Infrastructure South Co.	\$2,100.0000	\$420.00
	Sessions Paving Company	\$1,500.0000	\$300.00
	Underground Pipe and Construction, LLC	\$5,000.0000	\$1,000.00

	UNIT PRICE	EXTENSION
407-02.13 REMOVAL & DISPOSAL OF EXISTING ASPHALT PAVEMENT		
	323.000 S.Y.	
Eubank Asphalt Paving & Sealing	\$10.0000	\$3,230.00
Kiewit Infrastructure South Co.	\$22.0000	\$7,106.00
Sessions Paving Company	\$10.0000	\$3,230.00
Underground Pipe and Construction, LLC	\$10.0000	\$3,230.00
411-02.10 ACS MIX(PG70-22) GRADING D		
	24.000 TON	
Eubank Asphalt Paving & Sealing	\$300.0000	\$7,200.00
Kiewit Infrastructure South Co.	\$400.0000	\$9,600.00
Sessions Paving Company	\$228.0000	\$5,472.00
Underground Pipe and Construction, LLC	\$225.0000	\$5,400.00
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDT	гн)	
	0.100 L.M.	
Eubank Asphalt Paving & Sealing	\$5,000.0000	\$500.00
Kiewit Infrastructure South Co.	\$55,000.0000	\$5,500.00
Sessions Paving Company	\$40,000.0000	\$4,000.00
Underground Pipe and Construction, LLC	\$25,000.0000	\$2,500.00
607-08.04 42" CONCRETE PIPE CULVERT (CLASS V)		
	44.000 L.F.	
Eubank Asphalt Paving & Sealing	\$250.0000	\$11,000.00
Kiewit Infrastructure South Co.	\$300.0000	\$13,200.00
Sessions Paving Company	\$302.0000	\$13,288.00
Underground Pipe and Construction, LLC	\$1,800.0000	\$79,200.00
611-02.12 JUNCTION BOX, TYPE 3		
	1.000 EACH	
Eubank Asphalt Paving & Sealing	\$1,000,0000	\$1,000.00
Kiewit Infrastructure South Co.	\$21,400.0000	\$21,400.00
Sessions Paving Company	\$6,000.0000	\$6,000.00
Underground Pipe and Construction, LLC	\$20,000.0000	\$20,000.00
611-07.66 42IN ENDWALL (CROSS DRAIN) 3:1		
	1.000 EACH	
Eubank Asphalt Paving & Sealing	\$8,000.0000	\$8,000.00
Kiewit Infrastructure South Co.	\$7,000.0000	\$7,000.00
Sessions Paving Company	\$6,000.0000	\$6,000.00
Underground Pipe and Construction, LLC	\$10,000.0000	\$10,000.00
621-03.03 24" TEMPORARY DRAINAGE PIPE		
	70.000 L.F.	
Eubank Asphalt Paving & Sealing	\$10.0000	\$700.00
Kiewit Infrastructure South Co.	\$60.0000	\$4,200.00
Sessions Paving Company	\$40.0000	\$2,800.00
Underground Pipe and Construction, LLC	\$100.0000	\$7,000.00
3		* ***

		UNIT PRICE	EXTENSION
		9.11.1.1102	
707-08.11 HIGH-VISIBILITY CONSTRUCTION	FENCE		
	1:	30.000 L.F.	
Eubank Asphalt Paving & Sealing		\$16.0000	\$2,080.00
Kiewit Infrastructure South Co.		\$2.5000	\$325.00
Sessions Paving Company	· 110	\$10.0000	\$1,300.00
Underground Pipe and Construction	on, LLC	\$10.0000	\$1,300.00
709-05.05 MACHINED RIP-RAP (CLASS A-3)			
	5	89.000 TON	
Eubank Asphalt Paving & Sealing		\$50.0000	\$29,450.00
Kiewit Infrastructure South Co.		\$36.0000	\$21,204.00
Sessions Paving Company		\$50.0000	\$29,450.00
Underground Pipe and Construction	on, LLC	\$35.0000	\$20,615.00
712-01 TRAFFIC CONTROL			
		1.000 LS	
Eubank Asphalt Paving & Sealing		\$5,000.0000	\$5,000.00
Kiewit Infrastructure South Co.		\$10,000.0000	\$10,000.00
Sessions Paving Company		\$46,000.0000	\$46,000.00
Underground Pipe and Construction	on, LLC	\$25,000.0000	\$25,000.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING	3)		
•		60.000 EACH	
Eubank Asphalt Paving & Sealing		\$30.0000	\$1,800.00
Kiewit Infrastructure South Co.		\$40.0000	\$2,400.00
Sessions Paving Company		\$15.0000	\$900.00
Underground Pipe and Construction	on, LLC	\$20.0000	\$1,200.00
712-05.01 WARNING LIGHTS (TYPE A)			
, ,		66.000 EACH	
Eubank Asphalt Paving & Sealing		\$5.0000	\$330.00
Kiewit Infrastructure South Co.		\$33.0000	\$2,178.00
Sessions Paving Company		\$6.0000	\$396.00
Underground Pipe and Construction	on, LLC	\$10.0000	\$660.00
712-06 SIGNS (CONSTRUCTION)			
	5	32.000 S.F.	
Eubank Asphalt Paving & Sealing		\$10.0000	\$5,320.00
Kiewit Infrastructure South Co.		\$10.0000	\$5,320.00
Sessions Paving Company		\$8.0000	\$4,256.00
Underground Pipe and Construction	on, LLC	\$10.0000	\$5,320.00
712-07.03 TEMPORARY BARRICADES (TYPE	III)		
	•	48.000 L.F.	
Eubank Asphalt Paving & Sealing		\$50.0000	\$2,400.00
Kiewit Infrastructure South Co.		\$18.0000	\$864.00
Sessions Paving Company		\$17.0000	\$816.00
Underground Pipe and Construction	on, LLC	\$20.0000	\$960.00

			UNIT PRICE	EXTENSION
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$3,000.0000	\$6,000.00
	Kiewit Infrastructure South Co.		\$7,800.0000	\$15,600.00
	Sessions Paving Company		\$6,600.0000	\$13,200.00
	Underground Pipe and Construction, LLC		\$7,000.0000	\$14,000.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	(2 COLOR)		
		2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$200.0000	\$400.00
	Kiewit Infrastructure South Co.		\$110.0000	\$220.00
	Sessions Paving Company		\$110.0000	\$220.00
	Underground Pipe and Construction, LLC		\$500.0000	\$1,000.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		0.300 L.M.		
	Eubank Asphalt Paving & Sealing		\$10,000.0000	\$3,000.00
	Kiewit Infrastructure South Co.		\$11,000.0000	\$3,300.00
	Sessions Paving Company		\$11,000.0000	\$3,300.00
	Underground Pipe and Construction, LLC		\$5,000.0000	\$1,500.00
747.04	MODIL IZATION			
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$15,000.0000	\$15,000.00
	Kiewit Infrastructure South Co.		\$20,000.0000	\$20,000.00
	Sessions Paving Company		\$6,500.0000	\$6,500.00
	Underground Pipe and Construction, LLC		\$20,000.0000	\$20,000.00
740-10 03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
740-10.03	SECTEATIES (THE III)(ENGOIGN CONTROL)	86.000 S.Y.		
	Fuhank Asphalt Daving & Casling	80.000 3.1.	¢25,0000	¢2.450.00
	Eubank Asphalt Paving & Sealing		\$25.0000	\$2,150.00
	Kiewit Infrastructure South Co.		\$2.6500 \$6.5000	\$227.90
	Sessions Paving Company Underground Pipe and Construction, LLC		\$6.5000 \$10.0000	\$559.00 \$860.00
	Orderground Pipe and Constitution, LLC		φ10.0000	φου.υυ
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
	,	1,747.000 S.Y.		
	Eubank Asphalt Paving & Sealing	1,1 111000 0111	\$3.0000	\$5,241.00
	Kiewit Infrastructure South Co.		\$2.5000	\$4,367.50
	Sessions Paving Company		\$6.5000	\$11,355.50
	Underground Pipe and Construction, LLC		\$3.0000	\$5,241.00
	Orderground ripe and Constitution, LLC		ψ3.0000	ψ5,241.00
740-11.01	TEMPORARY SEDIMENT TUBE 8IN			
		100.000 L.F.		
	Eubank Asphalt Paving & Sealing	- 3-000 <u></u> 3 •	\$25.0000	\$2,500.00
	Kiewit Infrastructure South Co.		\$5.5000	\$550.00
	Sessions Paving Company		\$12.0000	\$1,200.00
	Underground Pipe and Construction, LLC		\$5.0000	\$500.00
	character and constitution, and		ψ0.0000	ψοσο.σσ

		UNIT PRICE	EXTENSION
TEMPORARY SEEDING (WITH MULCH)			
	5.000 UNIT		
Eubank Asphalt Paving & Sealing		\$120.0000	\$600.00
Kiewit Infrastructure South Co.		\$150.0000	\$750.00
Sessions Paving Company		\$75.0000	\$375.00
Underground Pipe and Construction, LLC		\$200.0000	\$1,000.00
WATER (SEEDING & SODDING)			
	3.000 M.G.		
Eubank Asphalt Paving & Sealing		\$120.0000	\$360.00
Kiewit Infrastructure South Co.		\$150.0000	\$450.00
Sessions Paving Company		\$50.0000	\$150.00
Underground Pipe and Construction, LLC		\$100.0000	\$300.00
SODDING (NEW SOD)			
	122.000 S.Y.		
Eubank Asphalt Paving & Sealing		\$20.0000	\$2,440.00
Kiewit Infrastructure South Co.		\$14.0000	\$1,708.00
Sessions Paving Company		\$10.0000	\$1,220.00
Underground Pipe and Construction, LLC		\$10.0000	\$1,220.00
	Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company Underground Pipe and Construction, LLC WATER (SEEDING & SODDING) Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company Underground Pipe and Construction, LLC SODDING (NEW SOD) Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company	Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company Underground Pipe and Construction, LLC WATER (SEEDING & SODDING) 3.000 M.G. Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company Underground Pipe and Construction, LLC SODDING (NEW SOD) 122.000 S.Y. Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company	TEMPORARY SEEDING (WITH MULCH) 5.000 UNIT Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company Underground Pipe and Construction, LLC WATER (SEEDING & SODDING) Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company John M.G. Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. Sessions Paving Company Sodding Pipe and Construction, LLC SODDING (NEW SOD) 122.000 S.Y. Eubank Asphalt Paving & Sealing Kiewit Infrastructure South Co. S150.0000 Underground Pipe and Construction, LLC \$100.0000 SODDING (NEW SOD) \$20.0000 Kiewit Infrastructure South Co. \$14.0000 Sessions Paving Company \$20.0000 Kiewit Infrastructure South Co. \$14.0000 Sessions Paving Company \$10.0000

Eubank Asphalt Paving & Sealing	\$259,942.00
Kiewit Infrastructure South Co.	\$404,073.40
Sessions Paving Company	\$406,133.00
Underground Pipe and Construction, LLC	\$409,537.00

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing	\$259,942.00
Kiewit Infrastructure South Co.	\$404,073.40
Sessions Paving Company	\$406,133.00
Underground Pipe and Construction, LLC	\$409,537.00

DICKSON COUNTY (Contract No. CNT159 Call 031)

STP/HSIP-1(404),22002-3253-94,22002-8253-14

THE RESURFACING ON U.S. 70 (S.R. 1) FROM CORLEW DRIVE (L.M. 14.00) TO THE CHEATHAM COUNTY LINE (L.M. 21.85).

PROJECT LENGTH - 7.850 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 8.50%

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC

\$1,045,430.00

\$1,217,985.00

			CC	NTRACT CNT159
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		15.700 L.M.		
	Eubank Asphalt Paving & Sealing		\$325.0000	\$5,102.50
	Jones Bros. Contractors, LLC		\$1,000.0000	\$15,700.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,504.000 TON		
	Eubank Asphalt Paving & Sealing		\$15.0000	\$22,560.00
	Jones Bros. Contractors, LLC		\$26.0000	\$39,104.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING	B-M2		
		300.000 TON		
	Eubank Asphalt Paving & Sealing		\$65.0000	\$19,500.00
	Jones Bros. Contractors, LLC		\$72.5000	\$21,750.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		52.000 TON		
	Eubank Asphalt Paving & Sealing		\$425.0000	\$22,100.00
	Jones Bros. Contractors, LLC		\$585.0000	\$30,420.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		6,729.000 TON		
	Eubank Asphalt Paving & Sealing		\$81.0000	\$545,049.00
	Jones Bros. Contractors, LLC		\$88.0000	\$592,152.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN	WIDTH)		
		5.000 L.M.		
	Eubank Asphalt Paving & Sealing		\$500.0000	\$2,500.00
	Jones Bros. Contractors, LLC		\$900.0000	\$4,500.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		6,235.000 TON		
	Eubank Asphalt Paving & Sealing		\$15.0000	\$93,525.00
	Jones Bros. Contractors, LLC		\$20.8500	\$129,999.75
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		4,731.000 S.F.		
	Eubank Asphalt Paving & Sealing		\$32.0000	\$151,392.00
	Jones Bros. Contractors, LLC		\$28.2500	\$133,650.75
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$5,000.0000	\$5,000.00
	Jones Bros. Contractors, LLC		\$50,000.0000	\$50,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Eubank Asphalt Paving & Sealing		\$10.0000	\$250.00
	Jones Bros. Contractors, LLC		\$35.0000	\$875.00
				PAGE

CONTRACT CNT159

			CO	MIRACI CHIISS
			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
		1,490.000 S.F.		
	Eubank Asphalt Paving & Sealing	,	\$6.0000	\$8,940.00
	Jones Bros. Contractors, LLC		\$6.5000	\$9,685.00
713-16.09	RAILROAD ADVANCE WARNING SIGN AND SUPPORT			
		4.000 EACH		
	Eubank Asphalt Paving & Sealing		\$300.0000	\$1,200.00
	Jones Bros. Contractors, LLC		\$285.0000	\$1,140.00
713-16.20	SIGNS (W11-2, PEDESTRIAN CROSSING)			
	,	2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$200.0000	\$400.00
	Jones Bros. Contractors, LLC		\$250.0000	\$500.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
		520.000 EACH		
	Eubank Asphalt Paving & Sealing	320.000 LAOI1	\$30.0000	\$15,600.00
	Jones Bros. Contractors, LLC		\$30.0000	\$15,600.00
716 01 22	SNOWDLOWADLE DAISED DAVMENT MARKEDS (MONO DID	V4 COLOB)		
110-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR			
	Fuhank Asahak Daving 9 Casling	79.000 EACH	#20.000	#0.070.00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$30.0000 \$30.0000	\$2,370.00 \$2,370.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		599.000 EACH		
	Eubank Asphalt Paving & Sealing	333333 =71311	\$8.0000	\$4,792.00
	Jones Bros. Contractors, LLC		\$15.0000	\$8,985.00
716-02 03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
7 10 02.00	LACTOTA VEHICLE MARKETO (CROSS WALK)	846.000 L.F.		
	Eubank Asphalt Paving & Sealing	040.000 L.F.	\$6.0000	\$5,076.00
	Jones Bros. Contractors, LLC		\$14.0000	\$11,844.00
716 02 04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING	A		
7 10-02.04	PLASTIC PAVEMENT MARKING (CHANNELIZATION STRIPING			
	Fish and Applied Device of Continue	270.000 S.Y.	#00.000	#F 400 00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$20.0000 \$63.0000	\$5,400.00 \$17,010.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		124.000 L.F.		
	Eubank Asphalt Paving & Sealing		\$15.0000	\$1,860.00
	Jones Bros. Contractors, LLC		\$14.0000	\$1,736.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		3.000 EACH		
	Eubank Asphalt Paving & Sealing		\$150.0000	\$450.00
	Jones Bros. Contractors, LLC		\$150.0000	\$450.00

				CONTRACT CNT159
			UNIT PRICE	EXTENSION
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
		2.000 EACH	Φ500.0000	# 4 000 00
	Eubank Asphalt Paving & Sealing Jones Bros. Contractors, LLC		\$500.0000 \$300.0000	\$1,000.00 \$600.00
	Jones Blos. Contractors, LLC		ψ300.0000	φουο.ου
716-04.02	PLASTIC PAVEMENT MARKING(DOUBLE TURNING ARROW)			
		3.000 EACH		
	Eubank Asphalt Paving & Sealing		\$300.0000	\$900.00
	Jones Bros. Contractors, LLC		\$250.0000	\$750.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
		2.000 EACH		
	Eubank Asphalt Paving & Sealing		\$200.0000	\$400.00
	Jones Bros. Contractors, LLC		\$150.0000	\$300.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		11.300 L.M.		
	Eubank Asphalt Paving & Sealing	11.000 L.M.	\$5,000.0000	\$56,500.00
	Jones Bros. Contractors, LLC		\$2,640.0000	\$29,832.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		15.700 L.M.		
	Eubank Asphalt Paving & Sealing		\$3,000.0000	\$47,100.00
	Jones Bros. Contractors, LLC		\$2,640.0000	\$41,448.00
716 12 05	CODAY THERMO DVMT MOVING (CO will (CIN DOTTED LINE)			
710-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)	4 760 000 L E		
	Eubank Asphalt Paving & Sealing	1,760.000 L.F.	\$1.0000	\$1.760.00
	Jones Bros. Contractors, LLC		\$0.5000	\$1,760.00 \$880.00
			*******	*******
717-01	MOBILIZATION			
		1.000 LS		
	Eubank Asphalt Paving & Sealing		\$18,500.0000	\$18,500.00
	Jones Bros. Contractors, LLC		\$50,500.0000	\$50,500.00
730-14.02	SAW SLOT			
	Fish calls Asah alt Pasia v. 9. Occ."	1,303.000 L.F.	#0.5000	Ø4 500 50
	Eubank Asphalt Paving & Sealing		\$3.5000	\$4,560.50

3,286.000 L.F.

Jones Bros. Contractors, LLC

Eubank Asphalt Paving & Sealing

Jones Bros. Contractors, LLC

730-14.03 LOOP WIRE

\$4,560.50

\$1,643.00

\$1,643.00

\$3.5000

\$0.5000

\$0.5000

Eubank Asphalt Paving & Sealing	\$1,045,430.00
Jones Bros. Contractors, LLC	\$1,217,985.00

TOTAL CONTRACT

Eubank Asphalt Paving & Sealing	\$1,045,430.00
Jones Bros. Contractors, LLC	\$1,217,985.00

DYER COUNTY (Contract No. CNT195 Call 032)

HSIP-826(5),23945-3480-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON HAMER ROAD FROM NORTH OF HILLSIDE COVE (L.M. 3.75) TO NORTH OF HENDRIX DRIVE (L.M. 4.75).

PROJECT LENGTH - 1.000 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2019

DBE GOAL 9.00%

TOTAL CONTRACT

Superior Traffic Control, LLC

\$59,855.90

LU, Inc.

\$64,888.88

CONTRACT	CNT195

			CO	NTRACT CNT195
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		6.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$1,050.0000 \$1,250.0000	\$6,300.00 \$7,500.00
705-04.21	GUARDRAIL DELINEATION ENHANCEMENT			
		455.000 L.F.		
	Superior Traffic Control, LLC LU, Inc.		\$4.5000 \$2.8500	\$2,047.50 \$1,296.75
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
	Consider Traffic Control 11.0	25.000 L.F.	#20,000	\$000.00
	Superior Traffic Control, LLC LU, Inc.		\$36.0000 \$21.9500	\$900.00 \$548.75
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Consider Traffic Control 11.0	6.000 EACH	#2.250.0000	¢40.500.00
	Superior Traffic Control, LLC LU, Inc.		\$3,250.0000 \$2,700.0000	\$19,500.00 \$16,200.00
706-01	GUARDRAIL REMOVED			
	Superior Troffic Control II C	325.000 L.F.	¢4.0000	£4 200 00
	Superior Traffic Control, LLC LU, Inc.		\$4.0000 \$1.2500	\$1,300.00 \$406.25
712-01	TRAFFIC CONTROL			
	Superior Traffic Control, LLC	1.000 LS	\$5,250.0000	\$5,250.00
	LU, Inc.		\$5,090.0000	\$5,250.00
712-06	SIGNS (CONSTRUCTION)			
	Superior Traffic Control, LLC	162.000 S.F.	\$8.0000	\$1,296.00
	LU, Inc.		\$8.0000	\$1,296.00
713-02.21	SIGN POST DELINEATION ENHANCEMENT			
	Superior Traffic Control, LLC	84.000 L.F.	\$6.8500	\$575.40
	LU, Inc.		\$15.4500	\$1,297.80
	"U" SECTION STEEL POSTS			
	Superior Traffic Control, LLC	182.000 LB.	\$5.5000	\$1,001.00
	LU, Inc.		\$7.3600	\$1,339.52
	PERFORATED/KNOCKOUT SQUARE TUBE POST	240 222 5		
	Superior Traffic Control, LLC	318.000 LB.	\$4.5000	\$1,431.00
	LU, Inc.		\$9.0100	\$2,865.18
				PAGE

				CONTRACT CNT195
			UNIT PRICE	EXTENSION
713-11.21	P POST SLIP BASE			
		2.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$435.0000 \$386.2500	\$870.00 \$772.50
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		51.000 S.F.		
	Superior Traffic Control, LLC LU, Inc.		\$14.5000 \$27.8100	\$739.50 \$1,418.31
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		77.000 S.F.		_
	Superior Traffic Control, LLC LU, Inc.		\$15.5000 \$28.5800	\$1,193.50 \$2,200.66
713-15.36	REMOVE SIGN, SUPPORT & FOOTING			
		2.000 EACH		
	Superior Traffic Control, LLC LU, Inc.		\$75.0000 \$77.2500	\$150.00 \$154.50
	LO, IIIC.		φ11.2300	ψ134.30
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	0	41.000 L.F.	# 40 =000	*** *********************************
	Superior Traffic Control, LLC LU, Inc.		\$18.5000 \$17.5100	\$758.50 \$717.91
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
	Superior Traffic Control, LLC	1.000 EACH	\$575.0000	\$575.00
	LU, Inc.		\$566.5000	\$566.50
740 00 07	PLACTIC WORD DAVEMENT MARKING (CTOR)			
716-03.07	PLASTIC WORD PAVEMENT MARKING (STOP)	1.000 EACH		
	Superior Traffic Control, LLC	1.000 EAGI1	\$325.0000	\$325.00
	LU, Inc.		\$309.0000	\$309.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		3.140 L.M.		
	Superior Traffic Control, LLC		\$3,925.0000	\$12,324.50
	LU, Inc.		\$3,914.0000	\$12,289.96
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		260.000 L.F.		
	Superior Traffic Control, LLC LU, Inc.		\$3.1500 \$3.0900	\$819.00 \$803.40
	20, 110.		ψ3.0900	ψΟ Ο Ο. 1 Ο
717-01	MOBILIZATION			
	Currentee Treffic Control III C	1.000 LS	#0.500.0000	#0.500.00
	Superior Traffic Control, LLC LU, Inc.		\$2,500.0000 \$7,815.8900	\$2,500.00 \$7,815.89

 Superior Traffic Control, LLC
 \$59,855.90

 LU, Inc.
 \$64,888.88

TOTAL CONTRACT

Superior Traffic Control, LLC \$59,855.90 LU, Inc. \$64,888.88

FRANKLIN COUNTY (Contract No. CNT141 Call 033)

STP/HSIP-50(63),26005-3228-94,26005-8228-14

THE RESURFACING ON S.R. 50 FROM EAST OF S.R. 121 (L.M. 6.06) TO NEAR DRY CREEK ROAD (L.M. 10.26).

PROJECT LENGTH - 4.200 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.50%

TOTAL CONTRACT

Tinsley Asphalt, LLC

\$866,406.38

ROADWAY CATEGORY			UNIT PRICE	CONTRACT CNT141 EXTENSION		
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D						
	Tinsley Asphalt, LLC	278.000 TON	\$35.2600	\$9,802.28		
307-01.10	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING C-W					
	Tinsley Asphalt, LLC	5,150.000 TON		\$537,402.50		
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)					
	Tinsley Asphalt, LLC	31.000 TON	\$750.0000	\$23,250.00		
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)					
	Tinsley Asphalt, LLC	6.700 L.M.	\$550.0000	\$3,685.00		
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	74 045 000 O V				
	Tinsley Asphalt, LLC	71,345.000 S.Y.	\$1.7500	\$124,853.75		
705-04.09	705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT					
	Tinsley Asphalt, LLC	4.000 EACH	\$1,300.0000	\$5,200.00		
705-06.01	W BEAM GR (TYPE 2) MASH TL3					
	Tinsley Asphalt, LLC	250.000 L.F.	\$27.0000	\$6,750.00		
705-06.20	0 TANGENT ENERGY ABSORBING TERM MASH TL-3					
	Tinsley Asphalt, LLC	4.000 EACH	\$2,688.0000	\$10,752.00		
706-01	GUARDRAIL REMOVED					
	Tinsley Asphalt, LLC	632.000 L.F.	\$1.0500	\$663.60		
712-01	TRAFFIC CONTROL					
	Tinsley Asphalt, LLC	1.000 LS	\$28,050.0000	\$28,050.00		
712-06	SIGNS (CONSTRUCTION)					
	Tinsley Asphalt, LLC	793.000 S.F.	\$8.7500	\$6,938.75		
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)						
	Tinsley Asphalt, LLC	277.000 EACH	\$30.0000	\$8,310.00		

		UNIT PRICE	CONTRACT CNT141 EXTENSION
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR			
Tinsley Asphalt, LLC	23.000 EACH	\$30.0000	\$690.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Tinsley Asphalt, LLC	223.000 L.F.	\$12.0000	\$2,676.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Tinsley Asphalt, LLC	2.000 EACH	\$150.0000	\$300.00
716-04.14 PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
Tinsley Asphalt, LLC	1.000 EACH	\$250.0000	\$250.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
Tinsley Asphalt, LLC	28.900 L.M.	\$575.0000	\$16,617.50
716-05.05 PAINTED PAVEMENT MARKING (STOP LINE)			
Tinsley Asphalt, LLC	223.000 L.F.	\$5.0000	\$1,115.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
Tinsley Asphalt, LLC	14.500 L.M.	\$2,850.0000	\$41,325.00
716-13.05 SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)	225 000 1 5		
	235.000 L.F.		

1.000 LS

Tinsley Asphalt, LLC

Tinsley Asphalt, LLC

MOBILIZATION

717-01

\$470.00

\$37,305.00

\$2.0000

\$37,305.0000

Tinsley Asphalt, LLC \$866,406.38

TOTAL CONTRACT

Tinsley Asphalt, LLC \$866,406.38

GIBSON COUNTY (Contract No. CNT223 Call 034)

NH/HSIP-43(44),27004-3282-94,27004-8282-14

THE RESURFACING WITH HOT IN-PLACE RECYCLING ON U.S. 45E (S.R. 43) FROM THE MADISON COUNTY LINE (L.M. 0.00) TO S.R. 187 (L.M. 6.88).

PROJECT LENGTH - 6.720 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 3.00%

TOTAL CONTRACT

Delta Contracting Company, LLC

\$3,899,748.43

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNT223 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Delta Contracting Company, LLC	400.000 S.Y.	\$46.0000	\$18,400.00
203-06	WATER			
	Delta Contracting Company, LLC	30.000 M.G.	\$1.0000	\$30.00
208-01.05	BROOMING & DEGRASSING SHOULDERS	29 000 L M		
	Delta Contracting Company, LLC	28.000 L.M.	\$845.0000	\$23,660.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)			
	Delta Contracting Company, LLC	3,913.000 TON	\$32.0000	\$125,216.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Delta Contracting Company, LLC	138.000 TON	\$137.0000	\$18,906.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Delta Contracting Company, LLC	46.000 TON	\$147.0000	\$6,762.00
311-03.04	HOT IN PLACE RECYCLING OF ASPHALT PAVEMENT (2.00	-		
	Delta Contracting Company, LLC	191,488.000 S.Y.	\$4.2300	\$809,994.24
311-03.10	Asphalt Rejuvenating Agent	105,319.000 GAL.		
	Delta Contracting Company, LLC	103,319.000 GAL.	\$3.8000	\$400,212.20
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Delta Contracting Company, LLC	111.000 TON	\$880.0000	\$97,680.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Delta Contracting Company, LLC	600.000 TON	\$102.8400	\$61,704.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT	12 104 000 TON		
	Delta Contracting Company, LLC	12,101.000 TON	\$104.8400	\$1,268,668.84

3,140.000 TON

411-03.24 ACS MIX(PG64-22) THIN LIFT E ASPHALT

Delta Contracting Company, LLC

\$335,069.40

\$106.7100

			UNIT PRICE	CONTRACT CNT223 EXTENSION
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Delta Contracting Company, LLC	14.000 L.M.	\$595.0000	\$8,330.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	Delta Contracting Company, LLC	10.000 L.M.	\$595.0000	\$5,950.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Delta Contracting Company, LLC	3,125.000 S.Y.	\$9.1500	\$28,593.75
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Delta Contracting Company, LLC	182.000 S.F.	\$50.0000	\$9,100.00
701-02.03	CONCRETE CURB RAMP			
	Delta Contracting Company, LLC	91.000 S.F.	\$40.0000	\$3,640.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Delta Contracting Company, LLC	10.000 EACH	\$2,675.0000	\$26,750.00
712-01	TRAFFIC CONTROL			
	Delta Contracting Company, LLC	1.000 LS	\$79,000.0000	\$79,000.00
712-06	SIGNS (CONSTRUCTION)			
	Delta Contracting Company, LLC	2,768.000 S.F.	\$9.0000	\$24,912.00
712-08.03	ARROW BOARD (TYPE C)			
	Delta Contracting Company, LLC	4.000 EACH	\$3,600.0000	\$14,400.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	•		
	Delta Contracting Company, LLC	274.000 EACH	\$38.0000	\$10,412.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2	COLOR)		
	Delta Contracting Company, LLC	890.000 EACH	\$38.0000	\$33,820.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Delta Contracting Company, LLC	812.000 EACH	\$9.0000	\$7,308.00

		UNIT PRICE	CONTRACT CNT223 EXTENSION
716-02.03 PLASTIC PAVEMENT MARKING (CROSS-WALK)			
Delta Contracting Company, LLC	250.000 L.F.	\$13.0000	\$3,250.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
Delta Contracting Company, LLC	1,550.000 S.Y.	\$25.0000	\$38,750.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Delta Contracting Company, LLC	1,000.000 L.F.	\$15.0000	\$15,000.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
Delta Contracting Company, LLC	63.000 EACH	\$200.0000	\$12,600.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)			
Delta Contracting Company, LLC	4.000 EACH	\$300.0000	\$1,200.00
716-03.06 PLASTIC WORD PAVEMENT MARKING (SIGNAL AHEAD)			
Delta Contracting Company, LLC	12.000 EACH	\$550.0000	\$6,600.00
716-04.01 PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
Delta Contracting Company, LLC	6.000 EACH	\$270.0000	\$1,620.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
Delta Contracting Company, LLC	3.000 EACH	\$200.0000	\$600.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
Delta Contracting Company, LLC	160.000 S.F.	\$23.0000	\$3,680.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
Delta Contracting Company, LLC	31.000 L.M.	\$1,500.0000	\$46,500.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Delta Contracting Company, LLC	31.000 L.M.	\$5,500.0000	\$170,500.00
716-12.09 ENHANCED FLAT LINE THERMO (12IN LINE)			
Delta Contracting Company, LLC	1,277.000 L.F.	\$6.0000	\$7,662.00

~~	ITD A OT	CNT223
(() r	4 I R A C I	[KI 773 K

			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
	Delta Contracting Company, LLC	1.000 LS	\$146,000.0000	\$146,000.00
730-12.01	CONDUIT 1" DIAMETER (PVC)			
	Delta Contracting Company, LLC	50.000 L.F.	\$28.0000	\$1,400.00
730-14.01	SHIELDED DETECTOR CABLE			
	Delta Contracting Company, LLC	50.000 L.F.	\$4.0000	\$200.00
730-14.02	SAW SLOT			
	Delta Contracting Company, LLC	3,066.000 L.F.	\$6.0000	\$18,396.00
730-14.03	LOOP WIRE			
	Delta Contracting Company, LLC	7,272.000 L.F.	\$1.0000	\$7,272.00

Delta Contracting Company, LLC

\$3,899,748.43

TOTAL CONTRACT

Delta Contracting Company, LLC

\$3,899,748.43

GIBSON COUNTY (Contract No. CNT220 Call 035)

27001-4244-04,NH/HSIP-5(113),27002-3231-94,27002-8231-14,NH/HSIP-5(115),27001-3244-94,27001-8244-14

THE RESURFACING ON U.S. 45W (S.R. 5) FROM S.R. 366 (L.M. 4.23) TO S.R. 457 (L.M. 11.58) AND ON S.R. 5 FROM THE MADISON COUNTY LINE (L.M. 0.00) TO S.R. 366 (L.M. 1.16), INCLUDING BRIDGE REPAIR.

PROJECT LENGTH - 8.510 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.00%

TOTAL CONTRACT

Delta Contracting Company, LLC

\$4,849,834.62

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNT220 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Delta Contracting Company, LLC	272.000 S.Y.	\$49.0000	\$13,328.00
203-06	WATER			
	Delta Contracting Company, LLC	24.500 M.G.	\$1.0000	\$24.50
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Delta Contracting Company, LLC	4.550 L.M.	\$936.0000	\$4,258.80
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (D)			
	Delta Contracting Company, LLC	2,611.000 TON	\$32.0000	\$83,552.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (DESCR	•		
	Delta Contracting Company, LLC	614.000 TON	\$32.0000	\$19,648.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Delta Contracting Company, LLC	125.000 TON	\$130.0000	\$16,250.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Delta Contracting Company, LLC	183.000 TON	\$960.0000	\$175,680.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	Delta Contracting Company, LLC	5,822.000 TON	\$101.5800	\$591,398.76
411-02.10	ACS MIX(PG70-22) GRADING D			
	Delta Contracting Company, LLC	22,773.000 TON	\$100.8100	\$2,295,746.13
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Delta Contracting Company, LLC	8.142 L.M.	\$690.0000	\$5,617.98
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	Delta Contracting Company, LLC	14.297 L.M.	\$690.0000	\$9,864.93
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			

379,723.000 S.Y.

Delta Contracting Company, LLC

\$736,662.62

\$1.9400

			UNIT PRICE	CONTRACT CNT220 EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)	570.000 S.F.		
	Delta Contracting Company, LLC	370.000 S.F.	\$35.0000	\$19,950.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Delta Contracting Company, LLC	3.000 EACH	\$110.0000	\$330.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Delta Contracting Company, LLC	3.000 EACH	\$845.0000	\$2,535.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Delta Contracting Company, LLC	14.000 EACH	\$2,645.0000	\$37,030.00
712-01	TRAFFIC CONTROL			
	Delta Contracting Company, LLC	1.000 LS	\$88,000.0000	\$88,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Delta Contracting Company, LLC	310.000 EACH	\$45.0000	\$13,950.00
712-06	SIGNS (CONSTRUCTION)			
	Delta Contracting Company, LLC	3,382.000 S.F.	\$12.0000	\$40,584.00
712-08.03	ARROW BOARD (TYPE C)			
	Delta Contracting Company, LLC	6.000 EACH	\$2,490.0000	\$14,940.00
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER LINE)			
	Delta Contracting Company, LLC	880.000 L.F.	\$6.0000	\$5,280.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
	Delta Contracting Company, LLC	4.000 EACH	\$6,400.0000	\$25,600.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DI	R) (1 COLOR)		
	Delta Contracting Company, LLC	479.000 EACH	\$42.0000	\$20,118.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO	-DIR)(1 COLOR)		

154.000 EACH

Delta Contracting Company, LLC

\$6,468.00

\$42.0000

				CONTRACT CNT220
			UNIT PRICE	EXTENSION
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 CC	DLOR)		
	Polta Contracting Company, LLC	987.000 EACH	\$42.0000	\$41,454.00
	Delta Contracting Company, LLC		\$42.0000	\$41, 454. 00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)	285.000 L.F.		
	Delta Contracting Company, LLC		\$16.0000	\$4,560.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Delta Contracting Company, LLC	2,124.000 S.Y.	\$28.0000	\$59,472.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Delta Contracting Company, LLC	545.000 L.F.	\$18.0000	\$9,810.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Delta Contracting Company, LLC	117.000 EACH	\$225.0000	\$26,325.00
716-03.06	PLASTIC WORD PAVEMENT MARKING (SIGNAL AHEAD)			
	Delta Contracting Company, LLC	10.000 EACH	\$575.0000	\$5,750.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Delta Contracting Company, LLC	38.063 L.M.	\$1,600.0000	\$60,900.80
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Delta Contracting Company, LLC	38.063 L.M.	\$5,700.0000	\$216,959.10
716-13.03	SPRAY THERMO PVMT MRKNG (60 mil) (8IN BARRIER LINE)			
	Delta Contracting Company, LLC	2,392.000 L.F.	\$3.0000	\$7,176.00
717-01	MOBILIZATION			
	Delta Contracting Company, LLC	1.000 LS	\$138,000.0000	\$138,000.00
730-12.01	CONDUIT 1" DIAMETER (PVC)			
	Delta Contracting Company, LLC	50.000 L.F.	\$18.0000	\$900.00
730-14.01	SHIELDED DETECTOR CABLE	F0 000 L F		
		50.000 L.F.	40.000	4400.00

Delta Contracting Company, LLC

\$100.00

\$2.0000

		C	CONTRACT CNT220
		UNIT PRICE	EXTENSION
730-14.02 SAW SLOT Delta Contracting Company, LLC	3,564.000 L.F.	\$4.5000	\$16,038.00
730-14.03 LOOP WIRE	9,046.000 L.F.		

\$0.5000

\$4,523.00

Delta Contracting Company, LLC

CONTRACT CNT220

UNIT PRICE EXTENSION

BRIDGE CATEGORY

604-10.53 CONCRETE REPAIRS

45.000 S.Y.

Delta Contracting Company, LLC \$690.0000 \$31,050.00

Delta Contracting Company, LLC \$4,818,784.62

SUB-TOTAL BRIDGE

Delta Contracting Company, LLC \$31,050.00

TOTAL CONTRACT

Delta Contracting Company, LLC \$4,849,834.62

GREENE COUNTY (Contract No. CNT199 Call 037)

30006-4231-04,HSIP-70(27),30006-3231-94,STP/HSIP-34(119),30002-3253-94,30002-8253-14

THE RESURFACING ON S.R. 70 FROM U.S. 11E (S.R. 34) (L.M. 16.47) TO NEAR I-81 NB RAMP (L.M. 26.54) AND ON U.S. 11E (S.R. 34) FROM NEAR THE I-81 SB RAMP (L.M. 2.31) TO NEAR MAIN STREET (L.M. 6.80).

PROJECT LENGTH - 14.560 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

TOTAL CONTRACT

Summers-Taylor, Inc.

\$3,348,201.05

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNT199 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Summers-Taylor, Inc.	102.000 TON	\$43.0000	\$4,386.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS	1,681.000 TON		
	Summers-Taylor, Inc.	1,001.000 1010	\$120.0000	\$201,720.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	4== ======		
	Summers-Taylor, Inc.	176.000 TON	\$938.0000	\$165,088.00
407-07.01	INTELLIGENT COMPACTION EQUIPMENT			
	Summers-Taylor, Inc.	1.000 LS	\$74,882.0000	\$74,882.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	Summers-Taylor, Inc.	3,133.000 TON	\$96.5000	\$302,334.50
411-02.10	ACS MIX(PG70-22) GRADING D			
	Summers-Taylor, Inc.	11,103.000 TON	\$107.4500	\$1,193,017.35
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT			
	Summers-Taylor, Inc.	6,848.000 TON	\$107.8500	\$738,556.80
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Summers-Taylor, Inc.	9.000 L.M.	\$533.0000	\$4,797.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTI			
	Summers-Taylor, Inc.	7.200 L.M.	\$510.0000	\$3,672.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (41	N WIDTH)		
	Summers-Taylor, Inc.	20.100 L.M.	\$518.0000	\$10,411.80
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Summers-Taylor, Inc.	4,655.000 S.Y.	\$9.3000	\$43,291.50
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Summers-Taylor, Inc.	13.000 EACH	\$214.0000	\$2,782.00

			UNIT PRICE	CONTRACT CNT199 EXTENSION
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Summers-Taylor, Inc.	13.000 EACH	\$1,340.0000	\$17,420.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Summers-Taylor, Inc.	13.000 EACH	\$3,170.0000	\$41,210.00
712-01	TRAFFIC CONTROL			
	Summers-Taylor, Inc.	1.000 LS	\$84,700.0000	\$84,700.00
712-06	SIGNS (CONSTRUCTION)			
	Summers-Taylor, Inc.	1,564.000 S.F.	\$9.3000	\$14,545.20
712-08.03	ARROW BOARD (TYPE C)			
	Summers-Taylor, Inc.	2.000 EACH	\$485.0000	\$970.00
713-02.11	REMOVAL OF EXISTING DELINEATORS			
	Summers-Taylor, Inc.	233.000 EACH	\$5.8000	\$1,351.40
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
	Summers-Taylor, Inc.	233.000 EACH	\$40.5000	\$9,436.50
713-16.20	SIGNS (DESCRIPTION)			
	Summers-Taylor, Inc.	1.000 EACH	\$288.0000	\$288.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO			
	Summers-Taylor, Inc.	692.000 EACH	\$25.5000	\$17,646.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 CO			
	Summers-Taylor, Inc.	768.000 EACH	\$25.5000	\$19,584.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	Summers-Taylor, Inc.	1,460.000 EACH	\$6.9000	\$10,074.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Summers-Taylor, Inc.	2,452.000 S.Y.	\$17.0000	\$41,684.00

			UNIT PRICE	CONTRACT CNT199 EXTENSION
			GNITTRIGE	EXTENSION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	990.000 L.F.		
	Summers-Taylor, Inc.	330.000 L.I .	\$10.0000	\$9,900.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Summers-Taylor, Inc.	25.000 EACH	\$144.0000	\$3,600.00
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
	Summers-Taylor, Inc.	1,175.000 L.F.	\$1.4500	\$1,703.75
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
	Summers-Taylor, Inc.	2.000 EACH	\$195.0000	\$390.00
716-03.09	PLASTIC WORD PAVEMENT MARKING ()			
	Summers-Taylor, Inc.	2.000 EACH	\$195.0000	\$390.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	Summers-Taylor, Inc.	1,420.000 L.F.	\$5.9000	\$8,378.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	Summers-Taylor, Inc.	36.000 S.F.	\$17.5000	\$630.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
	Summers-Taylor, Inc.	2.000 EACH	\$202.0000	\$404.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Summers-Taylor, Inc.	30.200 L.M.	\$590.0000	\$17,818.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Summers-Taylor, Inc.	60.200 L.M.	\$3,950.0000	\$237,790.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER I			
	Summers-Taylor, Inc.	555.000 L.F.	\$1.7500	\$971.25

1.000 LS

717-01

MOBILIZATION

Summers-Taylor, Inc.

\$62,378.00

\$62,378.0000

Summers-Taylor, Inc. \$3,348,201.05

TOTAL CONTRACT

Summers-Taylor, Inc. \$3,348,201.05

GRUNDY COUNTY (Contract No. CNT149 Call 038)

31007-4238-04

THE RESURFACING ON S.R. 108 FROM EAST OF HUGH WOOTEN ROAD (L.M. 26.00) TO THE WARREN COUNTY LINE (L.M. 31.18).

PROJECT LENGTH - 5.180 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2019

TOTAL CONTRACT

Tinsley Asphalt, LLC

\$833,806.75

Rogers Group, Inc.

\$947,819.00

				CONTRACT CNT149
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		346.000 TON		
	Tinsley Asphalt, LLC		\$20.0000	\$6,920.00
	Rogers Group, Inc.		\$30.0000	\$10,380.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		36.000 TON		
	Tinsley Asphalt, LLC		\$750.0000	\$27,000.00
	Rogers Group, Inc.		\$750.0000	\$27,000.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		5,745.000 TON		
	Tinsley Asphalt, LLC		\$93.8500	\$539,168.25
	Rogers Group, Inc.		\$105.0000	\$603,225.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WII	отн)		
		8.200 L.M.		
	Tinsley Asphalt, LLC		\$450.0000	\$3,690.00
	Rogers Group, Inc.		\$550.0000	\$4,510.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		81,240.000 S.Y.		
	Tinsley Asphalt, LLC		\$1.4000	\$113,736.00
	Rogers Group, Inc.		\$1.2500	\$101,550.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Tinsley Asphalt, LLC		\$23,750.0000	\$23,750.00
	Rogers Group, Inc.		\$46,850.0000	\$46,850.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Tinsley Asphalt, LLC		\$5.0000	\$125.00
	Rogers Group, Inc.		\$50.0000	\$1,250.00
712-06	SIGNS (CONSTRUCTION)			
		991.000 S.F.		
	Tinsley Asphalt, LLC		\$6.5000	\$6,441.50
	Rogers Group, Inc.		\$8.0000	\$7,928.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
		345.000 EACH		
	Tinsley Asphalt, LLC		\$25.0000	\$8,625.00
	Rogers Group, Inc.		\$26.0000	\$8,970.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			

345.000 EACH

Tinsley Asphalt, LLC

Rogers Group, Inc.

\$3,450.00

\$10.0000

\$6.2000

			CONTRACT CNT149
		UNIT PRICE	EXTENSION
716-02.05 PI	LASTIC PAVEMENT MARKING (STOP LINE)		
		180.000 L.F.	
Ti	insley Asphalt, LLC	\$12.0000	\$2,160.00
	ogers Group, Inc.	\$12.2500	\$2,205.00
716-05.01 P	AINTED PAVEMENT MARKING (4" LINE)		
	,	28.800 L.M.	
Ti	insley Asphalt, LLC	\$495.0000	\$14,256.00
	ogers Group, Inc.	\$520.0000	\$14,976.00
716-05.05 P	AINTED PAVEMENT MARKING (STOP LINE)		
		180.000 L.F.	
Ti	insley Asphalt, LLC	\$5.0000	\$900.00
	ogers Group, Inc.	\$5.2000	\$936.00
716-12.02 EI	NHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
		8.000 L.M.	
Ti	insley Asphalt, LLC	\$4,400.0000	\$35,200.00
	ogers Group, Inc.	\$4,600.0000	\$36,800.00
716-13.01 SI	PRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
		10.400 L.M.	
Ti	insley Asphalt, LLC	\$2,150.0000	\$22,360.00
	ogers Group, Inc.	\$2,200.0000	\$22,880.00
717-01 M	OBILIZATION		
		1.000 LS	

Tinsley Asphalt, LLC Rogers Group, Inc.

\$26,025.00 \$56,220.00

\$26,025.0000 \$56,220.0000

Tinsley Asphalt, LLC \$833,806.75 Rogers Group, Inc. \$947,819.00

TOTAL CONTRACT

Tinsley Asphalt, LLC \$833,806.75 Rogers Group, Inc. \$947,819.00

HAMILTON COUNTY (Contract No. CNT146 Call 039)

HSIP-58(52),33039-3213-94,33039-4213-04

THE RESURFACING ON S.R. 58 FROM THE GEORGIA STATE LINE (L.M. 0.00) TO S.R. 17 (L.M. 2.17).

PROJECT LENGTH - 2.170 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 10.00%

TOTAL CONTRACT

Talley Construction Company, Inc.

\$590,526.76

Wright Brothers Construction Company, Inc.

\$682,954.55

				CONTRACT CNT146
			UNIT PRICE	EXTENSION
ROAD	WAY CATEGORY			
402.04	DITUMBNOUS MATERIAL FOR TACK COAT (TC)			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)	16.000 TON		
	Talley Construction Company, Inc.	10.000 TON	\$703.0200	\$11,248.32
	Wright Brothers Construction Company, Inc.		\$650.0000	\$10,400.00
411-01	.10 ACS MIX(PG64-22) GRADING D	0 005 000 TON		
	T. II. O	2,235.000 TON	# 400 4000	# 000 004 05
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$126.1900 \$152.0000	\$282,034.65 \$339,720.00
	wight Brothers constitution company, inc.		Ψ102.0000	φοσο,720.00
411-12	05 SCORING FOR CENTERLINE RUMBLE (4IN WIDTH-2	4IN SPACING)		
		2.200 L.M.		
	Talley Construction Company, Inc.		\$2,715.4400	\$5,973.97
	Wright Brothers Construction Company, Inc.		\$2,300.0000	\$5,060.00
415-01	.01 COLD PLANING BITUMINOUS PAVEMENT			
		2,371.000 TON		
	Talley Construction Company, Inc.	,	\$29.0000	\$68,759.00
	Wright Brothers Construction Company, Inc.		\$37.2500	\$88,319.75
C44 00	OA AD HICTMENT OF EVICTING CATCUIDACIN			
611-09	01 ADJUSTMENT OF EXISTING CATCHBASIN	4.000 EACH		
	Talley Construction Company, Inc.	4.000 EACH	\$1,053.0000	\$4,212.00
	Wright Brothers Construction Company, Inc.		\$1,490.0000	\$5,960.00
701-02	01 CONCRETE CURB RAMP (RETROFIT)			
		300.000 S.F.		
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$46.8000 \$45.0000	\$14,040.00 \$13,500.00
	wright brothers constitution company, inc.		φ40.0000	Ψ13,300.00
702-03	CONCRETE COMBINED CURB & GUTTER			
		2.000 C.Y.		
	Talley Construction Company, Inc.		\$643.5000	\$1,287.00
	Wright Brothers Construction Company, Inc.		\$1,140.0000	\$2,280.00
705-04	.09 EARTH PAD FOR TYPE 38 GR END TREATMENT			
		1.000 EACH		
	Talley Construction Company, Inc.		\$1,989.0000	\$1,989.00
	Wright Brothers Construction Company, Inc.		\$1,310.0000	\$1,310.00
705-04	23 GUARDRAIL DELINEATION ENHANCEMENT (BI-DIR	•		
	Talley Construction Company, Inc.	9,332.000 L.F.	\$3.5100	\$22.755.22
	Wright Brothers Construction Company, Inc.		\$3.5100 \$4.3500	\$32,755.32 \$40,594.20
	. 37		·	·
705-06	20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
		1.000 EACH		_
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$3,744.0000 \$3,540,0000	\$3,744.00 \$3,540.00
	WHOTH BIOLINE'S CONSTITICTION COMPANY INC		35.5.540 (000)	35.5 540 00

Wright Brothers Construction Company, Inc.

\$3,540.0000

				CONTRACT CNT146
			UNIT PRICE	EXTENSION
			OMITIMOL	2 / (2 / (3 / (
706-01	GUARDRAIL REMOVED			
		50.000 L.F.		
	Talley Construction Company, Inc.		\$1.1700	\$58.50
	Wright Brothers Construction Company, Inc.		\$8.7000	\$435.00
712-01	TRAFFIC CONTROL	4 000 1 0		
	Tallay Construction Comments Inc	1.000 LS	¢44,000,0000	£44,000,00
	Talley Construction Company, Inc. Wright Brothers Construction Company, Inc.		\$41,800.0000 \$44,100.0000	\$41,800.00 \$44,100.00
	Wight Brother Constitution Company, inc.		Ψ11,100.0000	ψ11,100.00
712-06	SIGNS (CONSTRUCTION)			
		673.000 S.F.		
	Talley Construction Company, Inc.		\$8.7800	\$5,908.94
	Wright Brothers Construction Company, Inc.		\$8.1500	\$5,484.95
712 02 14	ELEVIDLE DELINEATOR (WHITE)			
713-02.14	FLEXIBLE DELINEATOR (WHITE)	830.000 EACH		
	Talley Construction Company, Inc.	630.000 EACH	\$45.0500	\$37,391.50
	Wright Brothers Construction Company, Inc.		\$42.0000	\$34,860.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Talley Construction Company, Inc.		\$3,831.7500	\$7,663.50
	Wright Brothers Construction Company, Inc.		\$3,570.0000	\$7,140.00
716-01 21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	OLOR)		
710-01.21	CHOW LOWABLE KAIDED I AVEIMENT MARKERO (BI-DIK) (1 0	290.000 EACH		
	Talley Construction Company, Inc.	230.000 EAOH	\$32.7600	\$9,500.40
	Wright Brothers Construction Company, Inc.		\$30.5000	\$8,845.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		145.000 EACH	_	
	Talley Construction Company, Inc.		\$8.7800	\$1,273.10
	Wright Brothers Construction Company, Inc.		\$8.1500	\$1,181.75
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
111 02.30	(- · · · · - · · · · · · · · · · · · ·	56.000 L.F.		
	Talley Construction Company, Inc.		\$11.7000	\$655.20
	Wright Brothers Construction Company, Inc.		\$11.0000	\$616.00

52.000 L.F.

13.100 L.M.

Wright Brothers Construction Company, Inc.

Wright Brothers Construction Company, Inc.

Talley Construction Company, Inc.

716-05.01 PAINTED PAVEMENT MARKING (4" LINE)

Talley Construction Company, Inc.

716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)

\$20.7700

\$19.2500

\$679.9000

\$953.0000

\$1,080.04

\$1,001.00

\$8,906.69

\$12,484.30

PAGE

				CONTRACT CNT146
			UNIT PRICE	EXTENSION
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
		56.000 L.F.		
	Talley Construction Company, Inc.		\$7.9000	\$442.40
	Wright Brothers Construction Company, Inc.		\$7.3500	\$411.60
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		8.700 L.M.		
	Talley Construction Company, Inc.		\$2,661.7500	\$23,157.23
	Wright Brothers Construction Company, Inc.		\$2,480.0000	\$21,576.00
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		100.000 L.F.		
	Talley Construction Company, Inc.		\$1.4600	\$146.00
	Wright Brothers Construction Company, Inc.		\$1.3500	\$135.00
717-01	MOBILIZATION			
		1.000 LS		
	Talley Construction Company, Inc.		\$26,500.0000	\$26,500.00
	William III on the state of the		AA 4 AAA AAAA	\$0.4.000.00

Wright Brothers Construction Company, Inc.

\$34,000.00

\$34,000.0000

Talley Construction Company, Inc.	\$590,526.76
Wright Brothers Construction Company, Inc.	\$682,954.55

TOTAL CONTRACT

Talley Construction Company, Inc.	\$590,526.76
Wright Brothers Construction Company, Inc.	\$682,954.55

HAMILTON COUNTY (Contract No. CNT087 Call 040)

33052-4254-04,NH-153(14),33052-8254-14

THE RESURFACING ON S.R. 153 FROM NORTH OF SHALLOWFORD ROAD (L.M. 2.60) TO NORTH OF S.R. 58 (L.M. 4.76), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 1.980 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.00%

TOTAL CONTRACT

Wright Brothers Construction Company, Inc.

\$2,630,547.10

Talley Construction Company, Inc.

\$2,738,164.41

ROADWA	AY CATEGORY		UNIT PRICE	CONTRACT CNT087 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		408.000 TON		
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$40.2500 \$53.6800	\$16,422.00 \$21,901.44
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		3,463.000 TON		
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	,	\$122.0000 \$127.2200	\$422,486.00 \$440,562.86
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	, ,	92.000 TON		
	Wright Brothers Construction Company, Inc.		\$650.0000	\$59,800.00
	Talley Construction Company, Inc.		\$721.0500	\$66,336.60
402 04 40	High Dayformones Fog Code			
403-01.10	High Performance Fog Seals	20 474 000 C V		
	Wright Brothers Construction Company, Inc.	28,174.000 S.Y.	\$0.9000	\$25,356.60
	Talley Construction Company, Inc.		\$0.7800	\$21,975.72
407-07.01	INTELLIGENT COMPACTION EQUIPMENT			
	Weight Booth and Operationalism Operations In a	1.000 LS	#0.070.0000	#0.070.00
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$6,370.0000 \$36,000.0000	\$6,370.00 \$36,000.00
	Tailey Conditional Company, inc.		ψου,σου.σουσ	ψου,σου.σο
411-03.10	ACS MIX(PG76-22) GRADING D			
		7,977.000 TON		
	Wright Brothers Construction Company, Inc.		\$123.0000	\$981,171.00
	Talley Construction Company, Inc.		\$126.9500	\$1,012,680.15
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		7.600 L.M.		
	Wright Brothers Construction Company, Inc.		\$605.0000	\$4,598.00
	Talley Construction Company, Inc.		\$696.0000	\$5,289.60
415 01 01	COLD PLANING BITUMINOUS PAVEMENT			
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	11,062.000 TON		
	Wright Brothers Construction Company, Inc.	11,002.000 TON	\$24.0000	\$265,488.00
	Talley Construction Company, Inc.		\$26.5500	\$293,696.10
712-01	TRAFFIC CONTROL			
		1.000 LS	.	.
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$106,575.0000 \$95,000.0000	\$106,575.00 \$95,000.00
	raney Construction Company, Inc.		ტ ყნ,000.0000	 ფა,იიი.იი
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	·			

100.000 EACH

Wright Brothers Construction Company, Inc.

Talley Construction Company, Inc.

\$2,150.00

\$2,400.00

\$21.5000

\$24.0000

			CONTRACT CNT087
		UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)		
		50.000 EACH	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$5.3500 \$6.0000	\$267.50 \$300.00
712-06	SIGNS (CONSTRUCTION)		
	1,4	498.000 S.F.	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$6.4500 \$7.2000	\$9,662.10 \$10,785.60
712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED WARNING)		
		2.000 EACH	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$589.0000 \$660.0000	\$1,178.00 \$1,320.00
712-08.03	ARROW BOARD (TYPE C)		
		2.000 EACH	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$911.0000 \$1,020.0000	\$1,822.00 \$2,040.00
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR		
		300.000 HOUR	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$104.0000 \$116.4000	\$31,200.00 \$34,920.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT		
		2.000 EACH	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$6,060.0000 \$6,780.0000	\$12,120.00 \$13,560.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOI	R)	
		400.000 EACH	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$30.0000 \$33.6000	\$42,000.00 \$47,040.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
	·	400.000 EACH	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$8.0500 \$9.0000	\$11,270.00 \$12,600.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
		130.000 S.Y.	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$18.5000 \$20.7000	\$2,405.00 \$2,691.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		
		320.000 L.F.	
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.	\$10.7500 \$11.9400	\$3,440.00 \$3,820.80

				CONTRACT CNT087
			UNIT PRICE	EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
02.00		21.000 EACH		
	Wright Brothers Construction Company, Inc.		\$150.0000	\$3,150.00
	Talley Construction Company, Inc.		\$168.0000	\$3,528.00
716-03.07	PLASTIC WORD PAVEMENT MARKING (STOP)			
		1.000 EACH		
	Wright Brothers Construction Company, Inc.		\$188.0000	\$188.00
	Talley Construction Company, Inc.		\$210.0000	\$210.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
		3.000 EACH		
	Wright Brothers Construction Company, Inc.		\$188.0000	\$564.00
	Talley Construction Company, Inc.		\$210.0000	\$630.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		225.000 L.F.		
	Wright Brothers Construction Company, Inc.		\$7.7500	\$1,743.75
	Talley Construction Company, Inc.		\$8.7000	\$1,957.50
716-04.07	PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)			
		13.000 EACH		
	Wright Brothers Construction Company, Inc.		\$241.0000	\$3,133.00
	Talley Construction Company, Inc.		\$270.0000	\$3,510.00
716-04.08	PLASTIC PAVEMENT MARKING (OPTION LANE ARROW)			
		2.000 EACH		
	Wright Brothers Construction Company, Inc.		\$241.0000	\$482.00
	Talley Construction Company, Inc.		\$270.0000	\$540.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		110.000 S.F.		
	Wright Brothers Construction Company, Inc.		\$17.0000	\$1,870.00
	Talley Construction Company, Inc.		\$18.9000	\$2,079.00
716-04.17	PLASTIC PAVEMENT MARKING (YIELD SYMBOL)			
	Will But On the O	6.000 EACH	# 400,000	#4.400.00
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$188.0000 \$210.0000	\$1,128.00 \$1,260.00
	railey Construction Company, inc.		φ210.0000	\$1,200.00
716-04.21	GREEN TEXTURED BIKE LANE			
		25.000 S.Y.		*
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$96.5000 \$108.0000	\$2,412.50 \$2,700.00
	railey Construction Company, inc.		\$108.0000	φ2,700.00
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	Wright Prothogo Construction Comments Inc.	34.400 L.M.	# 000 0000	#20.007.00
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$938.0000 \$1,050.0000	\$32,267.20 \$36,120.00
	rancy construction company, inc.		ψ1,050.0000	ψου, τΖυ.υυ

			UNIT PRICE	CONTRACT CNT087 EXTENSION
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
		17,539.000 L.F.		
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$0.5500 \$0.6000	\$9,646.45 \$10,523.40
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	26.200 L.M.		
	Wright Brothers Construction Company, Inc.	20.200 L.W.	\$4,230.0000	\$110,826.00
	Talley Construction Company, Inc.		\$4,740.0000	\$124,188.00
716-12.09	ENHANCED FLAT LINE THERMO (12IN LINE)			
		15,750.000 L.F.		
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$1.4000 \$1.5600	\$22,050.00 \$24,570.00
716-12.10	ENHANCED FLAT LINE THERMO (12IN DOTTED)			
		22,675.000 L.F.		
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$1.4000 \$1.5600	\$31,745.00 \$35,373.00
	Talley Collection Company, Inc.		ψ1.0000	ψου,στοιου
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Which Doth and Construction Company, Inc.	3.300 L.M.	#2.570.0000	ФО 404 OO
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$2,570.0000 \$2,880.0000	\$8,481.00 \$9,504.00
717-01	MOBILIZATION			
		1.000 LS		
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$100,000.0000 \$68,000.0000	\$100,000.00 \$68,000.00
730-03.20	INSTALL PULL BOX (TYPE A)			
		6.000 EACH		
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$429.0000	\$2,574.00
	Tailey Construction Company, Inc.		\$480.0000	\$2,880.00
730-12.02	CONDUIT 2" DIAMETER (PVC)			
	Wright Brothers Construction Company, Inc.	120.000 L.F.	\$13.5000	\$1,620.00
	Talley Construction Company, Inc.		\$15.0000	\$1,800.00
730-14.02	SAW SLOT			
		2,250.000 L.F.		
	Wright Brothers Construction Company, Inc.		\$4.3000	\$9,675.00
	Talley Construction Company, Inc.		\$4.8000	\$10,800.00
730-14.03	LOOP WIRE			
	With Bull Control	7,300.000 L.F.	*	A
	Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.		\$0.7000 \$0.7800	\$5,110.00 \$5,694.00
			ψ0.7 000	ψο,οο 1.οο

		CONTRACT CNT087
	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
604-10.44 EXPANSION JOINT REPAIRS		
496.000 L.F.		
Wright Brothers Construction Company, Inc.	\$350.0000	\$173,600.00
Talley Construction Company, Inc.	\$296.8400	\$147,232.64
604-10.53 CONCRETE REPAIRS		
30.000 S.Y.		
Wright Brothers Construction Company, Inc.	\$500.0000	\$15,000.00
Talley Construction Company, Inc.	\$504.0000	\$15,120.00
617-04.01 TYPE 1 THIN EPOXY OVERLAY (EPOXY-URETHANE)		
2,500.000 S.Y.		

Wright Brothers Construction Company, Inc. Talley Construction Company, Inc.

\$87,500.00 \$105,025.00

\$35.0000 \$42.0100

\$2,354,447.10 \$2,470,786.77
\$276,100.00
\$267,377.64

TOTAL CONTRACT

Wright Brothers Construction Company, Inc.	\$2,630,547.10
Talley Construction Company, Inc.	\$2,738,164.41

HAMILTON COUNTY (Contract No. CNT231 Call 041)

NH-153(15),33052-4256-04

THE EMERGENCY SLOPE STABILIZATION ON S.R. 153 NEAR L.M. 7.10.

PROJECT LENGTH - 0.047 MILES

COMPLETION TIME - ON OR BEFORE JULY 31, 2019

DBE GOAL 10.00%

TOTAL CONTRACT

Thomas Brothers Construction Company, Inc.

\$616,743.00

ROADWA	AY CATEGORY		UNITTRICE	EXTENDION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Thomas Brothers Construction Company, Inc.	1.000 LS	\$19,000.0000	\$19,000.00
202-08.15	REMOVAL OF CURB AND GUTTER (RT SIDE STA.10+50.00 TO			
	Thomas Brothers Construction Company, Inc.	165.000 L.F.	\$10.0000	\$1,650.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	2 000 000 C V		
	Thomas Brothers Construction Company, Inc.	2,989.000 C.Y.	\$42.0000	\$125,538.00
203-02.01	BORROW EXCAVATION (GRADED SOLID ROCK)	3,728.000 TON		
	Thomas Brothers Construction Company, Inc.	3,720.000 TON	\$49.0000	\$182,672.00
203-06	WATER	12.000 M.G.		
	Thomas Brothers Construction Company, Inc.	121000 111101	\$300.0000	\$3,600.00
209-05	SEDIMENT REMOVAL	14.000 C.Y.		
	Thomas Brothers Construction Company, Inc.		\$50.0000	\$700.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)	436.000 L.F.		
	Thomas Brothers Construction Company, Inc.		\$7.0000	\$3,052.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	240.000 TON		
	Thomas Brothers Construction Company, Inc.		\$50.0000	\$12,000.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A	69.000 TON		
	Thomas Brothers Construction Company, Inc.		\$300.0000	\$20,700.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B	-M2 44.000 TON		
	Thomas Brothers Construction Company, Inc.		\$400.0000	\$17,600.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)	1.000 TON		
	Thomas Brothers Construction Company, Inc.		\$1,000.0000	\$1,000.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)	3.000 TON		
	Thomas Brothers Construction Company, Inc.		\$1,000.0000	\$3,000.00

			UNIT PRICE	CONTRACT CNT231 EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Thomas Brothers Construction Company, Inc.	1.000 TON	\$1,000.0000	\$1,000.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT			
	Thomas Brothers Construction Company, Inc.	200.000 L.F.	\$10.0000	\$2,000.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Thomas Brothers Construction Company, Inc.	36.000 TON	\$675.0000	\$24,300.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Thomas Brothers Construction Company, Inc.	78.000 S.Y.	\$120.0000	\$9,360.00
702-03	CONCRETE COMBINED CURB & GUTTER			
	Thomas Brothers Construction Company, Inc.	16.000 C.Y.	\$500.0000	\$8,000.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
	Thomas Brothers Construction Company, Inc.	263.000 L.F.	\$20.0000	\$5,260.00
705-08.11	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
	Thomas Brothers Construction Company, Inc.	1.000 EACH	\$6,000.0000	\$6,000.00
706-01	GUARDRAIL REMOVED			
	Thomas Brothers Construction Company, Inc.	263.000 L.F.	\$2.0000	\$526.00
712-01	TRAFFIC CONTROL			
	Thomas Brothers Construction Company, Inc.	1.000 LS	\$45,000.0000	\$45,000.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
	Thomas Brothers Construction Company, Inc.	373.000 L.F.	\$60.0000	\$22,380.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Thomas Brothers Construction Company, Inc.	8.000 EACH	\$40.0000	\$320.00
712-06	SIGNS (CONSTRUCTION)	4/2 000 0 5		
	Thomas Brothers Construction Company, Inc.	145.000 S.F.	\$7.0000	\$1,015.00

			UNIT PRICE	CONTRACT CNT231 EXTENSION
712-07.03	TEMPORARY BARRICADES (TYPE III)			
	Thomas Brothers Construction Company, Inc.	16.000 L.F.	\$25.0000	\$400.00
713-02.26	CONCRETE BARRIER/PARAPET DELINEATOR	=		
	Thomas Brothers Construction Company, Inc.	19.000 EACH	\$15.0000	\$285.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT	0.000 5401		
	Thomas Brothers Construction Company, Inc.	2.000 EACH	\$6,000.0000	\$12,000.00
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)	207 000 L F		
	Thomas Brothers Construction Company, Inc.	267.000 L.F.	\$22.0000	\$5,874.00
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
	Thomas Brothers Construction Company, Inc.	267.000 L.F.	\$28.0000	\$7,476.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	Thomas Brothers Construction Company, Inc.	0.200 L.M.	\$60,000.0000	\$12,000.00
717-01	MOBILIZATION			
	Thomas Brothers Construction Company, Inc.	1.000 LS	\$48,000.0000	\$48,000.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)	4 400 000 O V		
	Thomas Brothers Construction Company, Inc.	1,100.000 S.Y.	\$8.0000	\$8,800.00
740-11.03	TEMPORARY SEDIMENT TUBE 18IN			
	Thomas Brothers Construction Company, Inc.	263.000 L.F.	\$10.0000	\$2,630.00
801-02.08	TEMPORARY SEEDING (WITHOUT MULCH)			
	Thomas Brothers Construction Company, Inc.	1.000 UNIT	\$700.0000	\$700.00
801-03	WATER (SEEDING & SODDING)			
	Thomas Brothers Construction Company, Inc.	2.000 M.G.	\$500.0000	\$1,000.00

381.000 S.Y.

805-12.02 EROSION CONTROL BLANKET (TYPE II)

Thomas Brothers Construction Company, Inc.

\$1,905.00

\$5.0000

Thomas Brothers Construction Company, Inc.

\$616,743.00

TOTAL CONTRACT

Thomas Brothers Construction Company, Inc.

\$616,743.00

HAMILTON COUNTY (Contract No. CNT196 Call 042)

33948-4262-04

THE TUNNEL CLEANING OF THE MCCALLIE TUNNEL ON U.S. 11 (U.S. 64, S.R. 2), THE STRINGERS RIDGE TUNNEL ON U.S. 127 (S.R. 8), AND THE BACHMAN TUBES ON U.S. 41 (U.S. 76, S.R. 8).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2020

TOTAL CONTRACT

Diamond Specialized, Inc.

\$223,775.00

MAINTENANCE CATEGORY		UNIT PRICE	CONTRACT CNT196 EXTENSION
104-03.71 ADDITIONAL WORK (CLEANING OF PORTAL FACADES @ M	CCALLIE TUNNELS) 7,850.000 S.F.		
Diamond Specialized, Inc.		\$1.5000	\$11,775.00
712-01.52 MAINTENANCE OF TRAFFIC (MCCALLIE TUNNELS)	12.000 EACH		
Diamond Specialized, Inc.	121000 271011	\$2,500.0000	\$30,000.00
712-01.53 MAINTENANCE OF TRAFFIC (BACHMAN TUNNELS)			
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
712-01.54 MAINTENANCE OF TRAFFIC (STRINGERS RIDGE TUNNEL)			
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
713-20.40 GRAFFITI REMOVAL	250 000 C 5		
Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	\$700.00
717-01 MOBILIZATION	4 000 1 0		
Diamond Specialized, Inc.	1.000 LS	\$12,700.0000	\$12,700.00
760-01.01 TUNNEL CLEANING (MCCALLIE TUNNELS)	40.000 54.00		
Diamond Specialized, Inc.	12.000 EACH	\$4,300.0000	\$51,600.00
760-01.02 TUNNEL CLEANING (BACHMAN TUNNELS)	40,000 54 011		
	12.000 EACH		

12.000 EACH

Diamond Specialized, Inc.

Diamond Specialized, Inc.

760-01.03 TUNNEL CLEANING (STRINGER RIDGE TUNNEL)

\$39,600.00

\$39,600.00

\$3,300.0000

\$3,300.0000

SUB-TOTAL MAINTENANCE

Diamond Specialized, Inc. \$223,775.00

TOTAL CONTRACT

Diamond Specialized, Inc. \$223,775.00

HARDEMAN COUNTY (Contract No. CNT226 Call 043)

35005-4251-04, HSIP-57(74), 35005-3251-94

THE RESURFACING WITH HOT IN-PLACE RECYCLING ON S.R. 57 FROM SAULSBURY ROAD (L.M. 6.85) TO NEAR OLD RODGERS SPRINGS ROAD (L.M. 12.47).

PROJECT LENGTH - 5.480 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

TOTAL CONTRACT

Standard Construction Company, Inc.

\$1,461,838.35

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNT226 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Standard Construction Company, Inc.	153.000 S.Y.	\$39.2500	\$6,005.25
203-06	WATER			
	Standard Construction Company, Inc.	6.000 M.G.	\$20.0000	\$120.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Standard Construction Company, Inc.	12.000 L.M.	\$1,350.0000	\$16,200.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)			
	Standard Construction Company, Inc.	809.000 TON	\$50.0000	\$40,450.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Standard Construction Company, Inc.	53.000 TON	\$175.0000	\$9,275.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Standard Construction Company, Inc.	18.000 TON	\$170.0000	\$3,060.00
311-03.04	HOT IN PLACE RECYCLING OF ASPHALT PAVEMENT (2.00)	-		
	Standard Construction Company, Inc.	79,035.000 S.Y.	\$4.8500	\$383,319.75
311-03.10	Asphalt Rejuvenating Agent			
	Standard Construction Company, Inc.	43,470.000 GAL.	\$3.7000	\$160,839.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Standard Construction Company, Inc.	29.000 TON	\$1,050.0000	\$30,450.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
	Standard Construction Company, Inc.	4,112.000 TON	\$112.1000	\$460,955.20
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN W			
	Standard Construction Company, Inc.	9.000 L.M.	\$960.0000	\$8,640.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			

4,756.000 S.Y.

Standard Construction Company, Inc.

\$31,627.40

\$6.6500

			UNIT PRICE	CONTRACT CNT226 EXTENSION
607-39.02	18" PIPE CULVERT (SIDE DRAIN)			
	Standard Construction Company, Inc.	110.000 L.F.	\$42.0000	\$4,620.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Standard Construction Company, Inc.	5.000 EACH	\$105.0000	\$525.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	5 000 54 011		
	Standard Construction Company, Inc.	5.000 EACH	\$1,050.0000	\$5,250.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	5 000 54 011		
	Standard Construction Company, Inc.	5.000 EACH	\$2,205.0000	\$11,025.00
712-01	TRAFFIC CONTROL	4 1 -		
	Standard Construction Company, Inc.	1.000 LS	\$39,500.0000	\$39,500.00
712-06	SIGNS (CONSTRUCTION)			
	Standard Construction Company, Inc.	895.000 S.F.	\$5.5000	\$4,922.50
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (
	Standard Construction Company, Inc.	362.000 EACH	\$39.9000	\$14,443.80
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Standard Construction Company, Inc.	268.000 L.F.	\$16.8000	\$4,502.40
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Standard Construction Company, Inc.	26.000 L.M.	\$1,407.0000	\$36,582.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Standard Construction Company, Inc.	7.000 L.M.	\$5,880.0000	\$41,160.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)	40.000		
	Standard Construction Company, Inc.	12.000 L.M.	\$3,570.0000	\$42,840.00

167.000 L.F.

716-13.05 SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)

Standard Construction Company, Inc.

\$526.05

\$3.1500

CONTRACT CNT226

UNIT PRICE EXTENSION

717-01 MOBILIZATION

1.000 LS

Standard Construction Company, Inc. \$105,000.0000 \$105,000.000

Standard Construction Company, Inc.

\$1,461,838.35

TOTAL CONTRACT

Standard Construction Company, Inc.

\$1,461,838.35

HAWKINS COUNTY (Contract No. CNT182 Call 044)

37005-4213-04,37005-4214-04,HSIP-66(53),37005-3213-94

THE RESURFACING ON S.R. 66 FROM NEAR BERRY ROAD (L.M. 5.30) TO NEAR NORTH BRUMMITT STREET (L.M. 12.66).

PROJECT LENGTH - 7.360 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.00%

TOTAL CONTRACT

 APAC-Atlantic, Inc.
 \$1,369,945.00

 Summers-Taylor, Inc.
 \$1,387,640.20

 Duracap Asphalt Paving Co., Inc.
 \$1,442,566.76

			co	ONTRACT CNT182
			UNIT PRICE	EXTENSION
ROADW	/AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		102.000 TON		
	APAC-Atlantic, Inc.		\$70.0000	\$7,140.00
	Summers-Taylor, Inc.		\$42.5500	\$4,340.10
	Duracap Asphalt Paving Co., Inc.		\$60.7800	\$6,199.56
307-01.1	5 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		736.000 TON		
	APAC-Atlantic, Inc.		\$118.5000	\$87,216.00
	Summers-Taylor, Inc.		\$126.0000	\$92,736.00
	Duracap Asphalt Paving Co., Inc.		\$100.0000	\$73,600.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		128.000 TON		
	APAC-Atlantic, Inc.		\$500.0000	\$64,000.00
	Summers-Taylor, Inc.		\$939.0000	\$120,192.00
	Duracap Asphalt Paving Co., Inc.		\$990.0000	\$126,720.00
411-03.1	3 ACS MIX(PG70-22) THIN LIFT D ASPHALT			
		7,690.000 TON		
	APAC-Atlantic, Inc.		\$114.0000	\$876,660.00
	Summers-Taylor, Inc.		\$109.8500	\$844,746.50
	Duracap Asphalt Paving Co., Inc.		\$119.6600	\$920,185.40
411-12.0	2 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WID	TH)		
		10.000 L.M.		
	APAC-Atlantic, Inc.		\$750.0000	\$7,500.00
	Summers-Taylor, Inc.		\$769.0000	\$7,690.00
	Duracap Asphalt Paving Co., Inc.		\$450.0000	\$4,500.00
411-12.0	3 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
		2.000 L.M.		
	APAC-Atlantic, Inc.		\$600.0000	\$1,200.00
	Summers-Taylor, Inc.		\$803.0000	\$1,606.00
	Duracap Asphalt Paving Co., Inc.		\$450.0000	\$900.00
705-02.1	0 GUARDRAIL TRANSITION 27IN TO 31IN			
		5.000 EACH		
	APAC-Atlantic, Inc.		\$160.0000	\$800.00
	Summers-Taylor, Inc.		\$46.0000	\$230.00
	Duracap Asphalt Paving Co., Inc.		\$44.0000	\$220.00
705-04.1	0 EARTH PAD FOR GUARD RAIL END TREATMENT			
		10.000 EACH		
			.	

APAC-Atlantic, Inc.

Summers-Taylor, Inc.

Duracap Asphalt Paving Co., Inc.

\$10,000.00

\$16,150.00

\$15,000.00

\$1,000.0000

\$1,615.0000

\$1,500.0000

			UNIT PRICE	EXTENSION
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL2			
		5.000 EACH		
	ABAO Atla di L	5.000 EACH	#0.500.0000	# 40 F 00 00
	APAC-Atlantic, Inc.		\$2,500.0000	\$12,500.00
	Summers-Taylor, Inc.		\$2,690.0000	\$13,450.00
	Duracap Asphalt Paving Co., Inc.		\$2,450.0000	\$12,250.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	APAC-Atlantic, Inc.		\$45,000.0000	\$45,000.00
	Summers-Taylor, Inc.		\$43,885.0000	\$43,885.00
	Duracap Asphalt Paving Co., Inc.		\$45,400.0000	\$45,400.00
712-06	SIGNS (CONSTRUCTION)			
		1,396.000 S.F.		
	APAC-Atlantic, Inc.	ŕ	\$7.0000	\$9,772.00
	Summers-Taylor, Inc.		\$9.3000	\$12,982.80
	Duracap Asphalt Paving Co., Inc.		\$7.0000	\$9,772.00
	- massap - represent arm g = 0.,		********	+ - ,
712-08 03	ARROW BOARD (TYPE C)			
7 12 00.00	ARROW BOARD (THE 0)	2 000 54 611		
	ADAO Atlantia Ina	2.000 EACH	#045 0000	#4 000 00
	APAC-Atlantic, Inc.		\$815.0000	\$1,630.00
	Summers-Taylor, Inc.		\$486.0000	\$972.00
	Duracap Asphalt Paving Co., Inc.		\$790.0000	\$1,580.00
		(5, 5,5) (4, 55, 55)		
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS	(BI-DIR) (1 COLOR)		
		558.000 EACH		
	APAC-Atlantic, Inc.		\$24.0000	\$13,392.00
	Summers-Taylor, Inc.		\$25.5000	\$14,229.00
	Duracap Asphalt Paving Co., Inc.		\$23.0000	\$12,834.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (M	MONO-DIR)(1 COLOR)		
		205.000 EACH		
	APAC-Atlantic, Inc.		\$24.0000	\$4,920.00
	Summers-Taylor, Inc.		\$25.5000	\$5,227.50
	Duracap Asphalt Paving Co., Inc.		\$23.0000	\$4,715.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MAR	RKER		
		763.000 EACH		
	APAC-Atlantic, Inc.	7 00.000 = 7.011	\$6.5000	\$4,959.50
	Summers-Taylor, Inc.		\$6.9000	\$5,264.70
	Duracap Asphalt Paving Co., Inc.		\$6.6000	\$5,035.80
	Daracap Aspiral Taving Go., Inc.		ψ0.0000	ψο,000.00
716-02 04	PLASTIC PAVEMENT MARKING(CHANNELIZATION	STRIPING)		
110-02.04	- ESCHOLATEMENT MANNING CHANNELIZATION			
		4,106.000 S.Y.	.	^
	APAC-Atlantic, Inc.		\$15.5000	\$63,643.00
	Summers-Taylor, Inc.		\$16.5000	\$67,749.00
	Duracap Asphalt Paving Co., Inc.		\$15.2500	\$62,616.50

			C	ONIRACI CNI182
			UNIT PRICE	EXTENSION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		780.000 L.F.		
	APAC-Atlantic, Inc.		\$10.0000	\$7,800.00
	Summers-Taylor, Inc.		\$11.5000	\$8,970.00
	Duracap Asphalt Paving Co., Inc.		\$10.2500	\$7,995.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		34.000 EACH		
	APAC-Atlantic, Inc.		\$135.0000	\$4,590.00
	Summers-Taylor, Inc.		\$144.0000	\$4,896.00
	Duracap Asphalt Paving Co., Inc.		\$131.2500	\$4,462.50
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER))		
		3,066.000 L.F.		
	APAC-Atlantic, Inc.		\$6.2500	\$19,162.50
	Summers-Taylor, Inc.		\$6.6000	\$20,235.60
	Duracap Asphalt Paving Co., Inc.		\$6.0000	\$18,396.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW	/)		
		4.000 EACH		
	APAC-Atlantic, Inc.		\$190.0000	\$760.00
	Summers-Taylor, Inc.		\$202.0000	\$808.00
	Duracap Asphalt Paving Co., Inc.		\$184.0000	\$736.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		8.000 L.M.		
	APAC-Atlantic, Inc.		\$600.0000	\$4,800.00
	Summers-Taylor, Inc.		\$635.0000	\$5,080.00
	Duracap Asphalt Paving Co., Inc.		\$578.0000	\$4,624.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		30.000 L.M.		
	APAC-Atlantic, Inc.		\$2,300.0000	\$69,000.00
	Summers-Taylor, Inc.		\$2,420.0000	\$72,600.00
	Duracap Asphalt Paving Co., Inc.		\$2,205.0000	\$66,150.00
717-01	MOBILIZATION			
		1.000 LS		
	APAC-Atlantic, Inc.		\$46,000.0000	\$46,000.00
	Summers-Taylor, Inc.		\$18,500.0000	\$18,500.00
	Duracap Asphalt Paving Co., Inc.		\$28,775.0000	\$28,775.00

			CONTRACT CNT182
		UNIT PRICE	EXTENSION
BRIDGE CATEGORY			
604-10.50 BRIDGE DECK REPAIRS (PARTIAL DEPTH OF SLAB)			
004-10.30 BRIDGE BESKREI AIRO (LARITAE BELLITTO GEAS)	5.000 S.Y.		
APAC-Atlantic, Inc.		\$750.0000	\$3,750.00
Summers-Taylor, Inc.		\$450.0000	\$2,250.00
Duracap Asphalt Paving Co., Inc.		\$880.0000	\$4,400.00
604-10.53 CONCRETE REPAIRS			
	5.000 S.Y.		
APAC-Atlantic, Inc.		\$750.0000	\$3,750.00

\$570.0000

\$1,100.0000

\$2,850.00

\$5,500.00

Summers-Taylor, Inc.

Duracap Asphalt Paving Co., Inc.

APAC-Atlantic, Inc.	\$1,362,445.00
Summers-Taylor, Inc.	\$1,382,540.20
Duracap Asphalt Paving Co., Inc.	\$1,432,666.76

SUB-TOTAL BRIDGE

APAC-Atlantic, Inc.	\$7,500.00
Summers-Taylor, Inc.	\$5,100.00
Duracap Asphalt Paving Co., Inc.	\$9,900.00

TOTAL CONTRACT

APAC-Atlantic, Inc.	\$1,369,945.00
Summers-Taylor, Inc.	\$1,387,640.20
Duracap Asphalt Paving Co., Inc.	\$1.442.566.76

HAWKINS COUNTY (Contract No. CNT038 Call 045)

STP/HSIP-346(11),37018-3229-94,37018-8229-14

THE RESURFACING ON S.R. 346 FROM NEAR U.S. 11W (S.R. 1) (L.M. 7.60) TO THE SULLIVAN COUNTY LINE (L.M. 17.87).

PROJECT LENGTH - 9.830 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.00%

TOTAL CONTRACT

W-L Construction & Paving, Inc.

\$1,220,671.57

ROADWA	Y CATEGORY		UNIT PRICE	CONTRACT CNT038 EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	W-L Construction & Paving, Inc.	103.000 TON	\$552.9800	\$56,956.94
407-07.01	INTELLIGENT COMPACTION EQUIPMENT	4 000 1 0		
	W-L Construction & Paving, Inc.	1.000 LS	\$65,000.0000	\$65,000.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT	6 774 000 TON		
	W-L Construction & Paving, Inc.	6,774.000 TON	\$104.2700	\$706,324.98
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	3,660.000 TON		
	W-L Construction & Paving, Inc.	3,000.000 1014	\$18.0200	\$65,953.20
701-02.01	CONCRETE CURB RAMP (RETROFIT)	1,400.000 S.F.		
	W-L Construction & Paving, Inc.	1,400.000 3.1 .	\$37.8700	\$53,018.00
712-01	TRAFFIC CONTROL	1.000 LS		
	W-L Construction & Paving, Inc.	1.900 E5	\$40,448.1400	\$40,448.14
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	264.000 EACH		
	W-L Construction & Paving, Inc.	204.900 EAGIT	\$43.2700	\$11,423.28
712-05.01	WARNING LIGHTS (TYPE A)	132.000 EACH		
	W-L Construction & Paving, Inc.	102.000 EAOI1	\$27.0600	\$3,571.92
712-06	SIGNS (CONSTRUCTION)	086 000 S E		
	W-L Construction & Paving, Inc.	986.000 S.F.	\$12.0000	\$11,832.00
712-08.03	ARROW BOARD (TYPE C)	2.000 EACH		
	W-L Construction & Paving, Inc.		\$1,624.0000	\$3,248.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1			
	W-L Construction & Paving, Inc.	694.000 EACH	\$24.0000	\$16,656.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)((1 COLOR)		

45.000 EACH

W-L Construction & Paving, Inc.

\$1,080.00

\$24.0000

				CONTRACT CNT038
			UNIT PRICE	EXTENSION
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
	W-L Construction & Paving, Inc.	550.000 EACH	\$6.5000	\$3,575.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	W-L Construction & Paving, Inc.	10.000 S.Y.	\$18.6800	\$186.80
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	W-L Construction & Paving, Inc.	500.000 L.F.	\$9.5000	\$4,750.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	W-L Construction & Paving, Inc.	20.000 EACH	\$135.2600	\$2,705.20
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	W-L Construction & Paving, Inc.	400.000 L.F.	\$17.1000	\$6,840.00
716-03.04	PLASTIC WORD PAVEMENT MARKING (SCHOOL)			
	W-L Construction & Paving, Inc.	2.000 EACH	\$250.0000	\$500.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	W-L Construction & Paving, Inc.	2,567.000 L.F.	\$5.7500	\$14,760.25
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	W-L Construction & Paving, Inc.	54.000 S.F.	\$16.2400	\$876.96
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	W-L Construction & Paving, Inc.	42.000 L.M.	\$570.0000	\$23,940.00
716-10.30	TRUNCATED DOME DETECTABLE WARNING MAT			
	W-L Construction & Paving, Inc.	16.000 S.F.	\$64.9300	\$1,038.88
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	W-L Construction & Paving, Inc.	42.000 L.M.	\$1,920.5600	\$80,663.52
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
	W-L Construction & Paving, Inc.	640.000 L.F.	\$1.3600	\$870.40

CONTRACT CNT038

UNIT PRICE EXTENSION

717-01 MOBILIZATION

1.000 LS

W-L Construction & Paving, Inc. \$44,452.100 \$44,452.10

W-L Construction & Paving, Inc.

\$1,220,671.57

TOTAL CONTRACT

W-L Construction & Paving, Inc.

\$1,220,671.57

HAYWOOD COUNTY (Contract No. CNT165 Call 046)

38002-4218-04, HSIP-1(398), 38002-3218-94

THE RESURFACING ON U.S. 70 (S.R. 1) FROM THE TIPTON COUNTY LINE (L.M. 0.00) TO THE BRIDGE OVER BIG MUDDY CREEK (L.M. 6.28).

PROJECT LENGTH - 6.280 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 5.00%

TOTAL CONTRACT

Ford Construction Company

\$1,577,348.74

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNT165 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Ford Construction Company	460.000 S.Y.	\$21.0000	\$9,660.00
203-06	WATER			
	Ford Construction Company	20.000 M.G.	\$1.0000	\$20.00
208-01.02	SHOULDER PREPARATION			
	Ford Construction Company	0.700 L.M.	\$6,200.0000	\$4,340.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Ford Construction Company	13.000 L.M.	\$1,090.0000	\$14,170.00
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C or D)			
	Ford Construction Company	2,644.000 TON	\$32.0000	\$84,608.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Ford Construction Company	212.000 TON	\$140.0000	\$29,680.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Ford Construction Company	139.000 TON	\$165.0000	\$22,935.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Ford Construction Company	51.000 TON	\$510.0000	\$26,010.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Ford Construction Company	8,031.000 TON	\$103.0000	\$827,193.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN V			
	Ford Construction Company	9.000 L.M.	\$610.0000	\$5,490.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Ford Construction Company	131,974.000 S.Y.	\$2.0100	\$265,267.74
	40# BIBE OUR VERT (OIDE BRAIN)			

60.000 L.F.

607-39.02 18" PIPE CULVERT (SIDE DRAIN)

Ford Construction Company

\$3,300.00

\$55.0000

		UNIT PRICE	CONTRACT CNT165 EXTENSION
705-02.10 GUARDRAIL TRANSITION 27IN TO 3			
Ford Construction Company	8.000 EACH	\$120.0000	\$960.00
705-04.09 EARTH PAD FOR TYPE 38 GR END 1			
Ford Construction Company	8.000 EACH	\$150.0000	\$1,200.00
705-06.20 TANGENT ENERGY ABSORBING TE			
Ford Construction Company	8.000 EACH	\$2,990.0000	\$23,920.00
712-01 TRAFFIC CONTROL	4 4		
Ford Construction Company	1.000 LS	\$37,000.0000	\$37,000.00
712-06 SIGNS (CONSTRUCTION)			
Ford Construction Company	1,023.000 S.F.	\$8.0000	\$8,184.00
716-01.21 SNOWPLOWABLE RAISED PAVEME			
Ford Construction Company	416.000 EACH	\$39.0000	\$16,224.00
716-02.05 PLASTIC PAVEMENT MARKING (STO			
Ford Construction Company	181.000 L.F.	\$17.0000	\$3,077.00
716-05.01 PAINTED PAVEMENT MARKING (4"			
Ford Construction Company	21.000 L.M.	\$1,470.0000	\$30,870.00
716-12.02 ENHANCED FLATLINE THERMO PV			
Ford Construction Company	9.000 L.M.	\$5,900.0000	\$53,100.00
716-13.02 SPRAY THERMO PVMT MRKNG (60			
Ford Construction Company	13.000 L.M.	\$3,780.0000	\$49,140.00
717-01 MOBILIZATION			

1.000 LS

Ford Construction Company

\$61,000.00

\$61,000.0000

Ford Construction Company \$1,577,348.74

TOTAL CONTRACT

Ford Construction Company \$1,577,348.74

JEFFERSON COUNTY (Contract No. CNT225 Call 047)

45006-4245-04, HSIP-34(120), 45006-3245-94

THE RESURFACING ON U.S. 11E (S.R. 34) FROM THE KNOX COUNTY LINE (L.M. 0.00) TO NEAR THE LOST CREEK BRIDGE (L.M. 7.72).

PROJECT LENGTH - 7.530 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 5.00%

TOTAL CONTRACT

APAC-Atlantic, Inc.

\$2,857,845.80

Duracap Asphalt Paving Co., Inc.

\$3,022,869.01

				CONTRACT CNT225
			UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY		ONTTRIOL	EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		3,893.000 TON		
	APAC-Atlantic, Inc.		\$31.0000	\$120,683.00
	Duracap Asphalt Paving Co., Inc.		\$31.3900	\$122,201.27
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		1,506.000 TON		
	APAC-Atlantic, Inc.		\$103.0000	\$155,118.00
	Duracap Asphalt Paving Co., Inc.		\$97.4500	\$146,759.70
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		100.000 TON		
	APAC-Atlantic, Inc.		\$500.0000	\$50,000.00
	Duracap Asphalt Paving Co., Inc.		\$975.0000	\$97,500.00
407-07.01	INTELLIGENT COMPACTION EQUIPMENT			
		1.000 LS		
	APAC-Atlantic, Inc.		\$30,000.0000	\$30,000.00
	Duracap Asphalt Paving Co., Inc.		\$86,000.0000	\$86,000.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
		4,848.000 TON		
	APAC-Atlantic, Inc.		\$91.3500	\$442,864.80
	Duracap Asphalt Paving Co., Inc.		\$95.2200	\$461,626.56
411-02.10	ACS MIX(PG70-22) GRADING D			
		16,008.000 TON		
	APAC-Atlantic, Inc.		\$103.0000	\$1,648,824.00
	Duracap Asphalt Paving Co., Inc.		\$105.6800	\$1,691,725.44
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		14.400 L.M.		
	APAC-Atlantic, Inc.		\$450.0000	\$6,480.00
	Duracap Asphalt Paving Co., Inc.		\$331.0000	\$4,766.40
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		12.100 L.M.		
	APAC-Atlantic, Inc.		\$450.0000	\$5,445.00
	Duracap Asphalt Paving Co., Inc.		\$331.0000	\$4,005.10
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		2.000 EACH		
	APAC-Atlantic, Inc.		\$130.0000 \$133.0000	\$260.00
	Duracap Asphalt Paving Co., Inc.		\$132.0000	\$264.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		2.000 EACH		
	APAC-Atlantic, Inc.		\$1,150.0000 \$1,155,0000	\$2,300.00

Duracap Asphalt Paving Co., Inc.

\$1,155.0000

				CONTRACT CNT225
			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
	APAC-Atlantic, Inc.		\$2,600.0000	\$5,200.00
	Duracap Asphalt Paving Co., Inc.		\$2,575.0000	\$5,150.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	APAC-Atlantic, Inc.		\$76,000.0000	\$76,000.00
	Duracap Asphalt Paving Co., Inc.		\$77,185.0000	\$77,185.00
712-06	SIGNS (CONSTRUCTION)			
		1,764.000 S.F.		
	APAC-Atlantic, Inc.		\$6.5000	\$11,466.00
	Duracap Asphalt Paving Co., Inc.		\$6.5600	\$11,571.84
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	APAC-Atlantic, Inc.		\$870.0000	\$1,740.00
	Duracap Asphalt Paving Co., Inc.		\$866.0000	\$1,732.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
		46.000 EACH		
	APAC-Atlantic, Inc.		\$24.0000	\$1,104.00
	Duracap Asphalt Paving Co., Inc.		\$24.1500	\$1,110.90
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)	(1 COLOR)		
		46.000 EACH		
	APAC-Atlantic, Inc.		\$24.0000	\$1,104.00
	Duracap Asphalt Paving Co., Inc.		\$24.1500	\$1,110.90
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 0	COLOR)		
		1,168.000 EACH		
	APAC-Atlantic, Inc.		\$24.0000	\$28,032.00
	Duracap Asphalt Paving Co., Inc.		\$24.1500	\$28,207.20
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		1,240.000 EACH		
	APAC-Atlantic, Inc.		\$8.5000	\$10,540.00
	Duracap Asphalt Paving Co., Inc.		\$8.5000	\$10,540.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		154.000 L.F.		
	APAC-Atlantic, Inc.		\$12.0000	\$1,848.00 \$1,040.40
	Duracap Asphalt Paving Co., Inc.		\$12.6000	\$1,940.40
746 02 00	DI ACTIC DAVEMENT MADIZING (TUDNI LANG ADDOM)			

9.000 EACH

716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)

Duracap Asphalt Paving Co., Inc.

APAC-Atlantic, Inc.

\$1,350.00

\$1,417.50

\$150.0000

\$157.5000

				CONTRACT CNT225
			UNIT PRICE	EXTENSION
740 00 04	DI ACTIO WORD DAVEMENT MARKING (COLLOCIA)			
716-03.04	PLASTIC WORD PAVEMENT MARKING (SCHOOL)	4 000 5 4 011		
	ADAC Atlantia Inc	4.000 EACH	#040.0000	#4.040.00
	APAC-Atlantic, Inc. Duracap Asphalt Paving Co., Inc.		\$310.0000 \$325.0000	\$1,240.00 \$1,300.00
	Duracap Aspirait i aving Co., inc.		ψ323.0000	ψ1,300.00
716-03.06	PLASTIC WORD PAVEMENT MARKING (SIGNAL AHEAD)			
		4.000 EACH		
	APAC-Atlantic, Inc.		\$475.0000	\$1,900.00
	Duracap Asphalt Paving Co., Inc.		\$475.0000	\$1,900.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		5,426.000 L.F.		
	APAC-Atlantic, Inc.		\$3.0000	\$16,278.00
	Duracap Asphalt Paving Co., Inc.		\$3.1500	\$17,091.90
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	,	1,200.000 S.F.		
	APAC-Atlantic, Inc.	-,	\$12.5000	\$15,000.00
	Duracap Asphalt Paving Co., Inc.		\$12.6000	\$15,120.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		34.000 L.M.		
	APAC-Atlantic, Inc.		\$520.0000	\$17,680.00
	Duracap Asphalt Paving Co., Inc.		\$520.0000	\$17,680.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		34.000 L.M.		
	APAC-Atlantic, Inc.	•	\$4,400,0000	\$149,600.00
	Duracap Asphalt Paving Co., Inc.		\$4,410.0000	\$149,940.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LI	NE)		
		789.000 L.F.		
	APAC-Atlantic, Inc.		\$1.0000	\$789.00
	Duracap Asphalt Paving Co., Inc.		\$1.1000	\$867.90
717-01	MOBILIZATION			
717-01	MODILIZATION	1.000 LS		
	APAC-Atlantic, Inc.	1.000 L3	\$55,000.0000	\$55,000.00
	The state of the s		\$55,555.5550	\$50,000.00

Duracap Asphalt Paving Co., Inc.

\$61,845.00

\$61,845.0000

 APAC-Atlantic, Inc.
 \$2,857,845.80

 Duracap Asphalt Paving Co., Inc.
 \$3,022,869.01

TOTAL CONTRACT

 APAC-Atlantic, Inc.
 \$2,857,845.80

 Duracap Asphalt Paving Co., Inc.
 \$3,022,869.01

JEFFERSON COUNTY (Contract No. CNT205 Call 048)

STP-363(2),45028-4207-04

THE EMERGENCY SLOPE STABILIZATION ON S.R. 363 (INDIAN CREEK ROAD) NEAR L.M. 2.70.

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2019

DBE GOAL 10.00%

TOTAL CONTRACT

Southern Constructors, Inc. Charles Blalock & Sons, Inc.

\$560,373.00

\$596,669.71

	ΙT		

EXTENSION

ROADW	AY CATEGORY		0	
201-01	CLEARING AND GRUBBING			
		1.000 LS		
	Southern Constructors, Inc.		\$10,000.0000	\$10,000.00
	Charles Blalock & Sons, Inc.		\$15,000.0000	\$15,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		556.000 C.Y.		
	Southern Constructors, Inc.		\$55.0000	\$30,580.00
	Charles Blalock & Sons, Inc.		\$16.0000	\$8,896.00
209-05	SEDIMENT REMOVAL			
		1.000 C.Y.		
	Southern Constructors, Inc.		\$55.0000	\$55.00
	Charles Blalock & Sons, Inc.		\$150.0000	\$150.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		2.000 TON		
	Southern Constructors, Inc.		\$1,600.0000	\$3,200.00
	Charles Blalock & Sons, Inc.		\$100.0000	\$200.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		200.000 TON		
	Southern Constructors, Inc.	200,000 1011	\$215.0000	\$43,000.00
	Charles Blalock & Sons, Inc.		\$195.0000	\$39,000.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		195.000 S.Y.		
	Southern Constructors, Inc.		\$18.0000	\$3,510.00
	Charles Blalock & Sons, Inc.		\$15.0000	\$2,925.00
610-12.02	2 HORIZONTAL DRAINS			
		125.000 L.F.		
	Southern Constructors, Inc.		\$65.0000	\$8,125.00
	Charles Blalock & Sons, Inc.		\$61.7300	\$7,716.25
705-01.01	GUARDRAIL AT BRIDGE ENDS			
		27.000 L.F.		
	Southern Constructors, Inc.		\$150.0000	\$4,050.00
	Charles Blalock & Sons, Inc.		\$110.0000	\$2,970.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		1.000 EACH		
	Southern Constructors, Inc.		\$250.0000	\$250.00
	Charles Blalock & Sons, Inc.		\$220.0000	\$220.00
705-06.02	W BEAM GR (TYPE 2) MASH TL3 (LONG POST)			
	- , ,	50.000 L.F.		
	Southern Constructors, Inc.		\$50.0000	\$2,500.00
	Charles Blalock & Sons, Inc.		\$44.0000	\$2,200.00
				DAGE

CONTRACT	CNT205
----------	---------------

				CONTRACT CNT205
			UNIT PRICE	EXTENSION
705-08.51	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		2.000 EACH		
	Southern Constructors, Inc.		\$6,500.0000	\$13,000.00
	Charles Blalock & Sons, Inc.		\$5,000.0000	\$10,000.00
706-01	GUARDRAIL REMOVED			
		77.000 L.F.		
	Southern Constructors, Inc.		\$6.0000	\$462.00
	Charles Blalock & Sons, Inc.		\$1.1000	\$84.70
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Southern Constructors, Inc.		\$20,000.0000	\$20,000.00
	Charles Blalock & Sons, Inc.		\$56,835.6600	\$56,835.66
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		450.000 L.F.		
	Southern Constructors, Inc.		\$25.0000	\$11,250.00
	Charles Blalock & Sons, Inc.		\$44.0200	\$19,809.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		125.000 EACH		
	Southern Constructors, Inc.		\$50.0000	\$6,250.00
	Charles Blalock & Sons, Inc.		\$45.0000	\$5,625.00
712-04.50	BARRIER RAIL DELINEATOR			
		23.000 EACH		
	Southern Constructors, Inc.		\$20.0000	\$460.00
	Charles Blalock & Sons, Inc.		\$16.5000	\$379.50
712-05.01	WARNING LIGHTS (TYPE A)			
		63.000 EACH		
	Southern Constructors, Inc.		\$35.0000	\$2,205.00
	Charles Blalock & Sons, Inc.		\$27.5000	\$1,732.50
712-06	SIGNS (CONSTRUCTION)			
		698.000 S.F.		
	Southern Constructors, Inc.		\$12.0000	\$8,376.00
	Charles Blalock & Sons, Inc.		\$7.7000	\$5,374.60
712-09.01	REMOVABLE PAVEMENT MARKING LINE			
		3,250.000 L.F.		
	Southern Constructors, Inc.	3,233,333 2. 1	\$4.0000	\$13,000.00
	Charles Blalock & Sons, Inc.		\$2.2000	\$7,150.00
712-09.04	REMOVABLE PAVEMENT MARKING (STOP LINE)			
,,,,,	- (22.000 L.F.		
	Southern Constructors, Inc.		\$25.0000	\$550.00
	Charles Blalock & Sons, Inc.		\$22.0000	\$484.00

Contract					
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR) Southern Constructors, Inc. Charles Blalock & Sons, Inc. \$100.0000 \$3,500.00 Charles Blalock & Sons, Inc. \$104.5000 \$3,657.50 716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER Southern Constructors, Inc. Charles Blalock & Sons, Inc. \$35.000 EACH Southern Constructors, Inc. Charles Blalock & Sons, Inc. \$22.0000 \$770.00 716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) Southern Constructors, Inc. Charles Blalock & Sons, Inc. \$6,500.0000 \$3,675.00 Charles Blalock & Sons, Inc. \$6,500.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc.					CONTRACT CNT205
Southern Constructors, Inc. \$100.0000 \$3,500.00 \$3,500.00 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,70.				UNIT PRICE	EXTENSION
Southern Constructors, Inc. \$100.0000 \$3,500.00 \$3,500.00 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$104.5000 \$3,657.50 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,225.00 \$1,70.	716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1.0	COLOR)		
Charles Blalock & Sons, Inc. \$1,04.5000 \$3,657.50 716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER 35.000 EACH Southern Constructors, Inc. \$35.000 EACH Charles Blalock & Sons, Inc. \$35.000 EACH 716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) Southern Constructors, Inc. \$6,500.0000 \$3,575.00 Charles Blalock & Sons, Inc. \$6,500.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00			•		
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER 35.000 EACH Southern Constructors, Inc. Charles Blalock & Sons, Inc. \$35.000 EACH \$35.000 EACH \$35.000 \$1,225.00 \$1,225.00 \$770.00 \$716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) Southern Constructors, Inc. Charles Blalock & Sons, Inc. \$6,500.0000 \$3,575.00 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00		Southern Constructors, Inc.		\$100.0000	\$3,500.00
35.000 EACH Southern Constructors, Inc. Charles Blalock & Sons, Inc. 716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) Southern Constructors, Inc. Charles Blalock & Sons, Inc. \$6,500.0000 \$3,575.00 Charles Blalock & Sons, Inc. \$6,600.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00		Charles Blalock & Sons, Inc.		\$104.5000	\$3,657.50
Southern Constructors, Inc.	716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
Charles Blalock & Sons, Inc. \$22.0000 \$770.00 716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) Southern Constructors, Inc. \$6,500.0000 \$3,575.00 Charles Blalock & Sons, Inc. \$6,600.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00			35.000 EACH		
Charles Blalock & Sons, Inc. \$22.0000 \$770.00 716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) Southern Constructors, Inc. \$6,500.0000 \$3,575.00 Charles Blalock & Sons, Inc. \$6,600.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00		Southern Constructors, Inc.		\$35.0000	\$1,225.00
0.550 L.M. Southern Constructors, Inc. \$6,500.0000 \$3,575.00 Charles Blalock & Sons, Inc. \$6,600.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00				\$22.0000	
Southern Constructors, Inc. \$6,500.0000 \$3,575.00 Charles Blalock & Sons, Inc. \$6,600.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00	716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Charles Blalock & Sons, Inc. \$6,600.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00			0.550 L.M.		
Charles Blalock & Sons, Inc. \$6,600.0000 \$3,630.00 716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE) 1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00		Southern Constructors, Inc.		\$6,500.0000	\$3,575.00
1.100 L.M. Southern Constructors, Inc. \$5,500.0000 \$6,050.00		Charles Blalock & Sons, Inc.		\$6,600.0000	\$3,630.00
Southern Constructors, Inc. \$5,500.0000 \$6,050.00	716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
			1.100 L.M.		
Charles Blalock & Sons, Inc. \$3,300.0000 \$3,630.00		Southern Constructors, Inc.		\$5,500.0000	\$6,050.00
		Charles Blalock & Sons, Inc.		\$3,300.0000	\$3,630.00
717-01 MOBILIZATION	717-01	MOBILIZATION			
1.000 LS			1.000 LS		
Southern Constructors, Inc. \$27,500.0000 \$27,500.000		Southern Constructors, Inc.		\$27,500.0000	\$27,500.00
Charles Blalock & Sons, Inc. \$29,500.0000 \$29,500.000		Charles Blalock & Sons, Inc.		\$29,500.0000	\$29,500.00
730-40 TEMPORARY TRAFFIC SIGNAL SYSTEM	730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
1.000 EACH			1.000 EACH		
Southern Constructors, Inc. \$20,000.0000 \$20,000.000		Southern Constructors, Inc.		\$20,000.0000	\$20,000.00
Charles Blalock & Sons, Inc. \$28,000.0000 \$28,000.000		Charles Blalock & Sons, Inc.		\$28,000.0000	\$28,000.00
740-11.03 TEMPORARY SEDIMENT TUBE 18IN	740-11.03	TEMPORARY SEDIMENT TUBE 18IN			
300.000 L.F.			300.000 L.F.		
Southern Constructors, Inc. \$7.0000 \$2,100.00		Southern Constructors, Inc.		\$7.0000	\$2,100.00
Charles Blalock & Sons, Inc. \$12.1000 \$3,630.00		Charles Blalock & Sons, Inc.		\$12.1000	\$3,630.00
801-01.02 CROWN VETCH MIXTURE (WITH MULCH)	801-01.02	CROWN VETCH MIXTURE (WITH MULCH)			
1.000 UNIT			1.000 UNIT		
Southern Constructors, Inc. \$800.0000 \$800.000		Southern Constructors, Inc.		\$800.0000	\$800.00
Charles Blalock & Sons, Inc. \$1,100.0000 \$1,100.000		Charles Blalock & Sons, Inc.		\$1,100.0000	\$1,100.00
805-05.02 SOIL NAIL STABILIZATION	805-05.02	SOIL NAIL STABILIZATION			
5,000.000 L.F.			5,000.000 L.F.		
Southern Constructors, Inc. \$53.0000 \$265,000.00		Southern Constructors, Inc.		\$53.0000	\$265,000.00
Charles Blalock & Sons, Inc. \$57.0000 \$285,000.00					
805-05.03 REINFORCED SHOTCRETE FACING	805-05.03	REINFORCED SHOTCRETE FACING			

600.000 S.F.

Southern Constructors, Inc.

Charles Blalock & Sons, Inc.

\$49,800.00

\$51,000.00

\$83.0000

\$85.0000

SUB-TOTAL ROADWAY

Southern Constructors, Inc.	\$560,373.00
Charles Blalock & Sons, Inc.	\$596,669.71

TOTAL CONTRACT

Southern Constructors, Inc. \$560,373.00 Charles Blalock & Sons, Inc. \$596,669.71

STATE OF TENNESSEE DEPARTMENT OF TRANSPORTATION SUMMARY OF BIDS LETTING OF MAY 10, 2019

KNOX COUNTY (Contract No. CNT014 Call 049)

BR-NH-1(311),47010-3232-94

THE GRADING, DRAINAGE, CONSTRUCTION OF TWO (2) BRIDGES AND PAVING ON U.S. 11 (S.R. 1) OVER THE NORFOLK SOUTHERN RAILROAD IN KNOXVILLE (L.M. 19.47), INCLUDING RETAINING WALLS AND LIGHTING.

PROJECT LENGTH - 0.234 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2022

DBE GOAL 10.00%

	TOTAL CONTRACT
Bell & Associates Construction, LP	\$17,356,589.84
Charles Blalock & Sons, Inc.	\$17,787,214.17
Jones Bros. Contractors, LLC	\$17,787,357.85
Summers-Taylor, Inc.	\$19,759,552.75

UNIT PRICE EXTENSION

I	P	<u></u>	Δ	ח	W	Δ١	/ C	Δ.	TE	GO	P١	1
	К	u	м	u	vv	Αı		. А		GU	יחי	•

ROADWA	AY CATEGORY			
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Bell & Associates Construction, LP		\$89,000.0000	\$89,000.00
	Charles Blalock & Sons, Inc.		\$66,898.5000	\$66,898.50
	Jones Bros. Contractors, LLC		\$85,000.0000	\$85,000.00
	Summers-Taylor, Inc.		\$86,000.0000	\$86,000.00
100-10 01	TRAINEE			
109-10.01	TRAINEL	3,180.000 HOUR		
	Bell & Associates Construction, LP	3,100.000 110 OK	\$0.8000	\$2,544.00
	Charles Blalock & Sons, Inc.		\$0.8000	\$2,544.00
	Jones Bros. Contractors, LLC		\$0.8000	\$2,544.00
	Summers-Taylor, Inc.		\$0.8000	\$2,544.00
			******	4 =,0 10
202-03	REMOVAL OF RIGID PAVEMENT, SIDEWALK, ETC.			
		2,979.000 S.Y.		
	Bell & Associates Construction, LP		\$1.8500	\$5,511.15
	Charles Blalock & Sons, Inc.		\$11.4600	\$34,139.34
	Jones Bros. Contractors, LLC		\$11.0000	\$32,769.00
	Summers-Taylor, Inc.		\$4.5500	\$13,554.45
202-04 01	REMOVAL OF STRUCTURES (11 CB's, STA. 60+20 - 64+0	NS DEPOT)		
202 0 110 1		1.000 LS		
	Bell & Associates Construction, LP	1.000 LS	\$34,500.0000	\$34 500 00
	Charles Blalock & Sons, Inc.		\$34,500.0000 \$14,181.8400	\$34,500.00 \$14,181.84
	Jones Bros. Contractors, LLC		\$15,000.0000	\$15,000.00
	Summers-Taylor, Inc.		\$9,640.0000	\$9,640.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		2,034.000 C.Y.		
	Bell & Associates Construction, LP		\$18.7500	\$38,137.50
	Charles Blalock & Sons, Inc.		\$20.0000	\$40,680.00
	Jones Bros. Contractors, LLC		\$42.0000	\$85,428.00
	Summers-Taylor, Inc.		\$52.0000	\$105,768.00
203-03	BORROW EXCAVATION (UNCLASSIFIED)			
		2,979.000 C.Y.		
	Bell & Associates Construction, LP		\$52.0000	\$154,908.00
	Charles Blalock & Sons, Inc.		\$15.0000	\$44,685.00
	Jones Bros. Contractors, LLC		\$30.0000	\$89,370.00
	Summers-Taylor, Inc.		\$38.0000	\$113,202.00
203-06	WATER			
203-00	WATER	12.000 M.G.		
	Bell & Associates Construction, LP	12.000 W.G.	\$110.0000	\$4 220 00
	Charles Blalock & Sons, Inc.		\$110.0000	\$1,320.00 \$2,390.28
	Jones Bros. Contractors, LLC		\$10.0000	\$2,390.28 \$120.00
	Summers-Taylor, Inc.		\$56.0000	\$672.00
			*	* - · - · · ·

CONSTRUCTION OF HAUL ROAD				
1.000 LS \$60,000 .000 \$60,000 .000 \$60,000 .000 \$60,000 .000 \$60,000 .000 \$60,000 .000 \$60,000 .000 \$290,000			UNIT PRICE	EXTENSION
1.000 LS \$60,000 .000 \$60,000 .000 \$60,000 .000 \$60,000 .000 \$60,000 .000 \$60,000 .000 \$60,000 .000 \$290,000				
Bell & Associates Construction, LP	203-50	CONSTRUCTION OF HAUL ROAD		
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 2,000.000 C.Y. 203-10.15 WASTE MATERIAL 2,000.000 C.Y. Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-02.05 12" TEMPORARY SLOPE DRAIN 209-02.05 12" TEMPORARY SLOPE DRAIN 209-02.06 12" TEMPORARY SLOPE DRAIN 209-03.21 FILTER SOCK (12 INCH) Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-03.21 FILTER SOCK (12 INCH) 209-03.22 FILTER SOCK (12 INCH) 209-03.23 FILTER SOCK (12 INCH) 209-03.24 FILTER SOCK (12 INCH) Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-03.23 FILTER SOCK (12 INCH) 209-03.24 FILTER SOCK (12 INCH) 209-03.25 SEDIMENT REMOVAL 209-04.05 SEDIMENT REMOVAL 216.000 C.Y. Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-04.03 SEDIMENT FILTER BAG (15' X 15') 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-04.03 SEDIMENT FILTER BAG (15' X 15') 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-04.03 SEDIMENT FILTER BAG (15' X 15') 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. Sum			1.000 LS	
Jones Bros. Contractors, LLC \$29,000,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$218,500,000 \$238,000,000 \$238		Bell & Associates Construction, LP	\$60,000.0000	\$60,000.00
Summers-Taylor, Inc. \$218,500,000 \$218,500,000		Charles Blalock & Sons, Inc.	\$47,171.2700	\$47,171.27
203-10.15 WASTE MATERIAL 203-10.15 WASTE MATERIAL 2,000.000 C.Y. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 200.000 LF. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 200.000 LF. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 15,683.000 LF. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-03.21 FILTER SOCK (12 INCH) 15,683.000 LF. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 216,000 C.Y. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 216,000 C.Y. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 216,000 C.Y. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 216,000 C.Y. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 216,000 C.Y. Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 229-09.03 SEDIMENT FILTE BAG (15' X 15') 1.000 EACH Bell & Associates Construction, LP Charles Bialock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. S20,000 S55,00 S20,000 S2		Jones Bros. Contractors, LLC	\$290,000.0000	\$290,000.00
Bell & Associates Construction, LP		Summers-Taylor, Inc.	\$218,500.0000	\$218,500.00
Bell & Associates Construction, LP				
Bell & Associates Construction, LP Charles Blalock & Sons, Inc. \$15,000 \$270,000.00 \$270,000	203-10.15	WASTE MATERIAL	0 000 000 O V	
Charles Blalock & Sons, Inc. \$15,2300 \$30,460.00 \$270,000.00 \$				
Jones Bros. Contractors, LLC \$135,0000 \$270,000.00 \$250,000.00				
Summers-Taylor, Inc. \$12* TEMPORARY SLOPE DRAIN		Charles Blalock & Sons, Inc.	\$15.2300	\$30,460.00
209-02.05 12* TEMPORARY SLOPE DRAIN 200.000 L.F.		Jones Bros. Contractors, LLC	\$135.0000	\$270,000.00
Bell & Associates Construction, LP		Summers-Taylor, Inc.	\$125.0000	\$250,000.00
Bell & Associates Construction, LP	200-02 05	12" TEMPORARY SLOPE DRAIN		
Bell & Associates Construction, LP	209-02.03	12 TEMPORARY SEOFE BRAIN	200 000 L F	
Charles Blalock & Sons, Inc.		Pall 9 Associates Construction I D		¢2 500 00
Jones Bros. Contractors, LLC \$12,000 \$2,400.00 Summers-Taylor, Inc. \$17,0000 \$3,400.00 Summers-Taylor, Inc. \$1,0000 \$3,400.00 Summers-Taylor, Inc. \$1,683.000 L.F. Bell & Associates Construction, LP \$3,9500 \$61,947.85 Charles Blalock & Sons, Inc. \$3,7900 \$59,438.57 Jones Bros. Contractors, LLC \$4,6500 \$72,925.95 Summers-Taylor, Inc. \$33,9000 \$61,163.70 SEDIMENT REMOVAL \$39,0000 \$8,424.00 Charles Blalock & Sons, Inc. \$39,0000 \$8,424.00 Charles Blalock & Sons, Inc. \$14,9800 \$3,235.68 Jones Bros. Contractors, LLC \$24,0000 \$5,184.00 Summers-Taylor, Inc. \$250,0000 \$4,752.00 SEDIMENT FILTER BAG (15' X 15') \$555.000 \$555.00 Charles Blalock & Sons, Inc. \$22,040.0000 \$2,040.000 Jones Bros. Contractors, LLC \$2,040.0000 \$2,040.000 Summers-Taylor, Inc. \$555.000 \$555.000 Charles Blalock & Sons, Inc. \$20,000.000 \$2,040.000 Summers-Taylor, Inc. \$250.0000 \$2,040.000 Summers-Taylor, Inc. \$345.0000 \$4,750.00 Summers-Taylor, Inc. \$250.0000 \$4,750.00 Sell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$250.0000 \$4,750.00 Sell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$220.0000 \$4,750.00 Sell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$220.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$220.0000 \$4,750.00 Sell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$220.0000 \$4,750.00 Sell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$220.0000 \$4,750.00 Sell & Associates Construction, LP \$250.0000 \$4,750.00 Sell & Associates Construction, LP \$250.0000 \$4,750.00 Sell & Associates Construction, LP			·	
Summers-Taylor, Inc. \$17,000 \$3,400.00		•	·	
209-03.21 FILTER SOCK (12 INCH)			·	
Sell & Associates Construction, LP		Summers-Taylor, Inc.	\$17.0000	\$3,400.00
Sell & Associates Construction, LP	209-03.21	FILTER SOCK (12 INCH)		
Bell & Associates Construction, LP		,	15 683 000 L F	
Charles Blalock & Sons, Inc. \$3.7900 \$59,438.57 Jones Bros. Contractors, LLC \$4.6500 \$72,925.95 Summers-Taylor, Inc. \$3.9000 \$61,163.70 209-05 SEDIMENT REMOVAL		Dall 9 Associates Construction LD	·	¢64.047.05
Jones Bros. Contractors, LLC \$4.6500 \$72,925.95 \$2000 \$61,163.70 \$3.9000 \$61,163.70 \$209-05 \$2010MENT REMOVAL \$216.000 C.Y. \$39.0000 \$8,424.000 \$8,424.000 \$3,235.68 \$3.9000 \$8,424.000 \$3,235.68 \$3.9000 \$3.90000 \$3				
Summers-Taylor, Inc. \$3.9000 \$61,163.70				
209-05 SEDIMENT REMOVAL 216.000 C.Y. Bell & Associates Construction, LP Charles Blalock & Sons, Inc. 314.9800 \$3,235.68 Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-09.03 SEDIMENT FILTER BAG (15' X 15') Bell & Associates Construction, LP Charles Blalock & Sons, Inc. 3529.670 Jones Bros. Contractors, LLC Summers-Taylor, Inc. 1.000 EACH Bell & Associates Construction, LP S555.000 S529.670 Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-40.33 CATCH BASIN PROTECTION (TYPE D) Bell & Associates Construction, LP S250.0000 S4,750.00 Charles Blalock & Sons, Inc. S238.3500 S4,750.00 Charles Blalock & Sons, Inc. S238.3500 S4,750.00 Charles Blalock & Sons, Inc. S238.3500 S4,528.65 Jones Bros. Contractors, LLC				
### State		Summers-Taylor, Inc.	\$3.9000	\$61,163.70
Bell & Associates Construction, LP	209-05	SEDIMENT REMOVAL		
Charles Blalock & Sons, Inc. \$14.9800 \$3,235.68 Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$24.0000 \$5,184.00 Summers-Taylor, Inc. \$22.0000 \$4,752.00 209-09.03 SEDIMENT FILTER BAG (15' X 15') Bell & Associates Construction, LP Charles Blalock & Sons, Inc. \$555.000 \$559.670 Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$529.6700 \$2,040.000 Summers-Taylor, Inc. \$545.000 \$2,040.000 Summers-Taylor, Inc. \$545.000 \$545.00 209-40.33 CATCH BASIN PROTECTION (TYPE D) Bell & Associates Construction, LP Charles Blalock & Sons, Inc. \$238.3500 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC			216.000 C.Y.	
Charles Blalock & Sons, Inc. \$14.9800 \$3,235.68 Jones Bros. Contractors, LLC \$24.0000 \$5,184.00 Summers-Taylor, Inc. \$22.0000 \$4,752.00 209-09.03 SEDIMENT FILTER BAG (15' X 15') Bell & Associates Construction, LP \$555.000 \$559.670 \$529.670 Jones Bros. Contractors, LLC \$2,040.0000 \$2,040.00 Summers-Taylor, Inc. \$545.000 \$545.00 209-40.33 CATCH BASIN PROTECTION (TYPE D) Bell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00		Bell & Associates Construction, LP	\$39,0000	\$8,424.00
Jones Bros. Contractors, LLC \$24.0000 \$5,184.00 \$22.0000 \$4,752.00 \$209-09.03 \$EDIMENT FILTER BAG (15' X 15')		,		
Summers-Taylor, Inc. \$22,0000 \$4,752.00 209-09.03 SEDIMENT FILTER BAG (15' X 15') 1.000 EACH Bell & Associates Construction, LP \$555.000 \$555.000 \$559.6700 \$529.6700 \$529.6700 \$2,040.0000 \$2,040.0000 \$2,040.000				
209-09.03 SEDIMENT FILTER BAG (15' X 15') 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 209-40.33 CATCH BASIN PROTECTION (TYPE D) Bell & Associates Construction, LP Charles Blalock & Sons, Inc. 19.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC S228.3500 \$4,750.00 Charles Bros. Contractors, LLC \$276.0000 \$5,244.00		•		
1.000 EACH S555.0000 S555.000 S555.000 S555.000 S555.000 S555.000 S529.670 S529.6700 S529.6700 S529.6700 S529.6700 S2,040.000 S2,040.		Suffillers-Taylor, Inc.	φ22.0000	φ4,732.00
Bell & Associates Construction, LP	209-09.03	SEDIMENT FILTER BAG (15' X 15')		
Charles Blalock & Sons, Inc. \$529.6700 \$529.67 Jones Bros. Contractors, LLC \$2,040.0000 \$2,040.00 Summers-Taylor, Inc. \$545.000 \$545.00 209-40.33 CATCH BASIN PROTECTION (TYPE D) Bell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00			1.000 EACH	
Charles Blalock & Sons, Inc. \$529.6700 \$529.67 Jones Bros. Contractors, LLC \$2,040.0000 \$2,040.00 Summers-Taylor, Inc. \$545.000 \$545.00 209-40.33 CATCH BASIN PROTECTION (TYPE D) Bell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00		Bell & Associates Construction. LP	\$555.0000	\$555.00
Jones Bros. Contractors, LLC \$2,040.0000 \$2,040.000 Summers-Taylor, Inc. \$545.000 \$545.00 209-40.33 CATCH BASIN PROTECTION (TYPE D) 19.000 EACH Bell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00				
Summers-Taylor, Inc. \$545.000 \$545.00 209-40.33 CATCH BASIN PROTECTION (TYPE D) 19.000 EACH Bell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00				
209-40.33 CATCH BASIN PROTECTION (TYPE D) 19.000 EACH Bell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00				
19.000 EACH Bell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00		Summers-Taylor, mc.	φ5+5.0000	ψ040.00
Bell & Associates Construction, LP \$250.0000 \$4,750.00 Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00	209-40.33	CATCH BASIN PROTECTION (TYPE D)		
Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00			19.000 EACH	
Charles Blalock & Sons, Inc. \$238.3500 \$4,528.65 Jones Bros. Contractors, LLC \$276.0000 \$5,244.00		Bell & Associates Construction, LP	\$250,0000	\$4,750.00
Jones Bros. Contractors, LLC \$276.0000 \$5,244.00			·	
Guinners-Taylor, inc. \$4,000.00				
		outilitiers rayior, inc.	φ243.0000	ψ + ,055.00

			<u> </u>	ONTRACT CHIUTA
			UNIT PRICE	EXTENSION
209-40-41	CATCH BASIN FILTER ASSEMBLY(TYPE 1)			
209-40.41	CATCH BASIN FILTER ASSEMBLT(TTPE T)	2.000 EACH		
	D 110 A O I D	2.000 EAGI1	Фоод оооо	#770.00
	Bell & Associates Construction, LP		\$385.0000	\$770.00
	Charles Blalock & Sons, Inc.		\$370.7700	\$741.54
	Jones Bros. Contractors, LLC		\$1,000.0000	\$2,000.00
	Summers-Taylor, Inc.		\$381.0000	\$762.00
209-40.42	CATCH BASIN FILTER ASSEMBLY(TYPE 2)			
		2.000 EACH		
	Bell & Associates Construction, LP		\$410.0000	\$820.00
	Charles Blalock & Sons, Inc.		\$397.2600	\$794.52
	Jones Bros. Contractors, LLC		\$1,000.0000	\$2,000.00
	Summers-Taylor, Inc.		\$409.0000	\$818.00
209-40.43	CATCH BASIN FILTER ASSEMBLY(TYPE 3)	0.000 54.011		
		3.000 EACH		
	Bell & Associates Construction, LP		\$450.0000	\$1,350.00
	Charles Blalock & Sons, Inc.		\$450.2200	\$1,350.66
	Jones Bros. Contractors, LLC		\$1,000.0000	\$3,000.00
	Summers-Taylor, Inc.		\$463.0000	\$1,389.00
209-40.44	CATCH BASIN FILTER ASSEMBLY(TYPE 4)			
	,	4.000 EACH		
	Bell & Associates Construction, LP	4.000 EAGI1	¢460,0000	\$1,840.00
			\$460.0000	
	Charles Blalock & Sons, Inc.		\$476.7100	\$1,906.84
	Jones Bros. Contractors, LLC		\$1,500.0000	\$6,000.00
	Summers-Taylor, Inc.		\$490.0000	\$1,960.00
209-40.45	CATCH BASIN FILTER ASSEMBLY(TYPE 5)			
		3.000 EACH		
	Bell & Associates Construction, LP		\$550.0000	\$1,650.00
	Charles Blalock & Sons, Inc.		\$529.6700	\$1,589.01
	Jones Bros. Contractors, LLC		\$2,400.0000	\$7,200.00
	Summers-Taylor, Inc.		\$544.0000	\$1,632.00
209-40.47	CATCH BASIN FILTER ASSEMBLY(TYPE 7)	2 202 54 211		
		3.000 EACH		
	Bell & Associates Construction, LP		\$600.0000	\$1,800.00
	Charles Blalock & Sons, Inc.		\$582.6400	\$1,747.92
	Jones Bros. Contractors, LLC		\$1,300.0000	\$3,900.00
	Summers-Taylor, Inc.		\$598.0000	\$1,794.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		4,186.000 TON		
	Bell & Associates Construction, LP	-,	\$32.0000	\$133,952.00
	Charles Blalock & Sons, Inc.		\$36.2900	\$151,909.94
	Jones Bros. Contractors, LLC		\$30.0000	\$125,580.00
	Summers-Taylor, Inc.		\$28.5000	\$119,301.00

			UNIT PRICE	EXTENSION
303-10.01	MINERAL AGGREGATE (SIZE 57)			
	, ,	15.000 TON		
	Bell & Associates Construction, LP		\$65.0000	\$975.00
	Charles Blalock & Sons, Inc.		\$43.7800	\$656.70
	Jones Bros. Contractors, LLC		\$75.0000	\$1,125.00
	Summers-Taylor, Inc.		\$40.0000	\$600.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M	Л2		
		348.000 TON		
	Bell & Associates Construction, LP		\$115.0000	\$40,020.00
	Charles Blalock & Sons, Inc.		\$98.1100	\$34,142.28
	Jones Bros. Contractors, LLC		\$105.8000	\$36,818.40
	Summers-Taylor, Inc.		\$113.0000	\$39,324.00
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A			
		560.000 TON		
	Bell & Associates Construction, LP		\$120.0000	\$67,200.00
	Charles Blalock & Sons, Inc.		\$101.4600	\$56,817.60
	Jones Bros. Contractors, LLC		\$109.4000	\$61,264.00
	Summers-Taylor, Inc.		\$117.0000	\$65,520.00
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-N	/12		
	, , , , , ,	141.000 TON		
	Bell & Associates Construction, LP		\$135.0000	\$19,035.00
	Charles Blalock & Sons, Inc.		\$112.9400	\$15,924.54
	Jones Bros. Contractors, LLC		\$121.8000	\$17,173.80
	Summers-Taylor, Inc.		\$130.0000	\$18,330.00
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)			
		5.000 TON		
	Bell & Associates Construction, LP	3.000 TON	\$885.0000	\$4,425.00
	Charles Blalock & Sons, Inc.		\$741.6000	\$3,708.00
	Jones Bros. Contractors, LLC		\$800.0000	\$4,000.00
	Summers-Taylor, Inc.		\$855.0000	\$4,275.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
703-01	BITOMINOGO MATERIAE FOR TAOR GOAT (10)	3.000 TON		
	Dall 9 Associates Construction I D	3.000 TON	#4 050 0000	#2.450.00
	Bell & Associates Construction, LP Charles Blalock & Sons, Inc.		\$1,050.0000 \$880.6500	\$3,150.00 \$2,641.95
	Jones Bros. Contractors, LLC		\$950.0000	\$2,850.00
	Summers-Taylor, Inc.		\$1,020.0000	\$3,060.00
444 04 40	ACC MIV/DCC4 22) CD ADING D			
411-01.10	ACS MIX(PG64-22) GRADING D	165.000 TON		
	Bell & Associates Construction, LP		\$150.0000	\$24,750.00
	Charles Blalock & Sons, Inc.		\$127.9300	\$21,108.45
	Jones Bros. Contractors, LLC		\$138.0000	\$22,770.00
	Summers-Taylor, Inc.		\$148.0000	\$24,420.00

		UNIT PRICE	EXTENSION
411-02.10 ACS MIX(PG70-22) GRADING D			
	140.000 TON		
Bell & Associates Construction, LP		\$160.0000	\$22,400.00
Charles Blalock & Sons, Inc.		\$136.7300	\$19,142.20
Jones Bros. Contractors, LLC		\$147.5000	\$20,650.00
Summers-Taylor, Inc.		\$157.0000	\$21,980.00
415-01.03 COLD PLANING BITUMINOUS PAVEMENT			
	43.000 C.Y.		
Bell & Associates Construction, LP		\$165.0000	\$7,095.00
Charles Blalock & Sons, Inc.		\$140.9000	\$6,058.70
Jones Bros. Contractors, LLC		\$152.0000	\$6,536.00
Summers-Taylor, Inc.		\$162.0000	\$6,966.00
604-01.01 CLASS A CONCRETE (ROADWAY)			
	85.000 C.Y.		
Bell & Associates Construction, LP		\$650.0000	\$55,250.00
Charles Blalock & Sons, Inc.		\$1,115.2800	\$94,798.80
Jones Bros. Contractors, LLC		\$500.0000	\$42,500.00
Summers-Taylor, Inc.		\$662.0000	\$56,270.00
604-01.20 BOX TUBE SAFETY RAIL			
	170.000 L.F.		
Bell & Associates Construction, LP		\$240.0000	\$40,800.00
Charles Blalock & Sons, Inc.		\$233.6100	\$39,713.70
Jones Bros. Contractors, LLC		\$200.0000	\$34,000.00
Summers-Taylor, Inc.		\$235.0000	\$39,950.00
607-03.02 18" CONCRETE PIPE CULVERT (CLASS III)			
	588.000 L.F.		
Bell & Associates Construction, LP		\$120.0000	\$70,560.00
Charles Blalock & Sons, Inc.		\$170.4500	\$100,224.60
Jones Bros. Contractors, LLC		\$75.0000	\$44,100.00
Summers-Taylor, Inc.		\$129.0000	\$75,852.00
607-05.02 24" CONCRETE PIPE CULVERT (CLASS III)			
	183.000 L.F.		
Bell & Associates Construction, LP		\$140.0000	\$25,620.00
Charles Blalock & Sons, Inc.		\$166.7700	\$30,518.91
Jones Bros. Contractors, LLC		\$90.0000	\$16,470.00
Summers-Taylor, Inc.		\$110.0000	\$20,130.00
607-06.02 30" CONCRETE PIPE CULVERT (CLASS III)			
· · ·	108.000 L.F.		
Bell & Associates Construction, LP		\$165.0000	\$17,820.00
Charles Blalock & Sons, Inc.		\$223.9600	\$24,187.68
Jones Bros. Contractors, LLC		\$125.0000	\$13,500.00
Summers-Taylor, Inc.		\$252.0000	\$27,216.00
• •			•

			UNIT PRICE	EXTENSION
607-18.01	CULVERT INSPECTION WITH CAMERA			
		450.000 L.F.		
	Bell & Associates Construction, LP		\$4.7000	\$2,115.00
	Charles Blalock & Sons, Inc.		\$10.3000	\$4,635.00
	Jones Bros. Contractors, LLC		\$3.0000	\$1,350.00
	Summers-Taylor, Inc.		\$6.8000	\$3,060.00
607-50.50	PRECAST CONCRETE BOX CULVERT (UNDERGRND DI	ET. SYSTEM)		
		1.000 LS		
	Bell & Associates Construction, LP		\$380,000.0000	\$380,000.00
	Charles Blalock & Sons, Inc.		\$351,470.1500	\$351,470.15
	Jones Bros. Contractors, LLC		\$420,000.0000	\$420,000.00
	Summers-Taylor, Inc.		\$750,000.0000	\$750,000.00
611-01.02	MANHOLES, > 4' - 8' DEPTH			
		1.000 EACH		
	Bell & Associates Construction, LP		\$11,550.0000	\$11,550.00
	Charles Blalock & Sons, Inc.		\$7,988.6300	\$7,988.63
	Jones Bros. Contractors, LLC		\$7,600.0000	\$7,600.00
	Summers-Taylor, Inc.		\$4,760.0000	\$4,760.00
611-05.01	TRENCH DRAINS			
		60.000 L.F.		
	Bell & Associates Construction, LP		\$250.0000	\$15,000.00
	Charles Blalock & Sons, Inc.		\$415.9900	\$24,959.40
	Jones Bros. Contractors, LLC		\$195.0000	\$11,700.00
	Summers-Taylor, Inc.		\$301.0000	\$18,060.00
611-10.01	CATCH BASINS, TYPE 10, 0' - 4' DEPTH			
		1.000 EACH		
	Bell & Associates Construction, LP		\$4,500.0000	\$4,500.00
	Charles Blalock & Sons, Inc.		\$3,272.1600	\$3,272.16
	Jones Bros. Contractors, LLC		\$4,100.0000	\$4,100.00
	Summers-Taylor, Inc.		\$3,600.0000	\$3,600.00
611-10.02	CATCH BASINS, TYPE 10, > 4' - 8' DEPTH			
		2.000 EACH		
	Bell & Associates Construction, LP		\$6,200.0000	\$12,400.00
	Charles Blalock & Sons, Inc.		\$5,203.9300	\$10,407.86
	Jones Bros. Contractors, LLC		\$5,300.0000	\$10,600.00
	Summers-Taylor, Inc.		\$4,010.0000	\$8,020.00
611-12.01	CATCH BASINS, TYPE 12, 0' - 4' DEPTH			
		1.000 EACH		
	Bell & Associates Construction, LP		\$4,900.0000	\$4,900.00
	Charles Blalock & Sons, Inc.		\$3,708.0300	\$3,708.03
	Jones Bros. Contractors, LLC		\$4,300.0000	\$4,300.00
	Summers-Taylor, Inc.		\$3,980.0000	\$3,980.00

CONTRACT	CNT014	Ļ
----------	--------	---

		UNIT PRICE	EXTENSION
611-12.02 CATCH BASINS, TYPE 12, > 4' - 8' DEPTH			
	4.000 EACH		
Dell 9 Accesiates Construction I D	4.000 LACIT	CO 400 0000	\$22,400,00
Bell & Associates Construction, LP		\$8,100.0000	\$32,400.00
Charles Blalock & Sons, Inc.		\$5,242.9300	\$20,971.72
Jones Bros. Contractors, LLC		\$5,200.0000	\$20,800.00
Summers-Taylor, Inc.		\$6,940.0000	\$27,760.00
611-12.03 CATCH BASINS, TYPE 12, > 8' - 12' DEPTH			
	1.000 EACH		
Bell & Associates Construction, LP		\$16,000.0000	\$16,000.00
Charles Blalock & Sons, Inc.		\$5,874.7200	\$5,874.72
Jones Bros. Contractors, LLC		\$4,900.0000	\$4,900.00
Summers-Taylor, Inc.		\$14,400.0000	\$14,400.00
611-12.04 CATCH BASINS, TYPE 12, > 12' - 16' DEPTH			
· · · · · · · · · · · · · · · · · · ·	2 000 54 011		
	2.000 EACH		
Bell & Associates Construction, LP		\$10,500.0000	\$21,000.00
Charles Blalock & Sons, Inc.		\$10,116.9800	\$20,233.96
Jones Bros. Contractors, LLC		\$7,700.0000	\$15,400.00
Summers-Taylor, Inc.		\$8,380.0000	\$16,760.00
611-14.02 CATCH BASINS, TYPE 14, > 4' - 8' DEPTH			
	4.000 EACH		
Bell & Associates Construction, LP		\$9,250.0000	\$37,000.00
Charles Blalock & Sons, Inc.		\$9,781.3500	\$39,125.40
Jones Bros. Contractors, LLC		\$8,300.0000	\$33,200.00
Summers-Taylor, Inc.		\$8,220.0000	\$32,880.00
• '		. ,	. ,
611-42.01 CATCH BASINS, TYPE 42, 0' - 4' DEPTH			
511 12101 5/11011 5/1011to, 111 2 12, 0 1 1 2 2 1 111	4 000 54 011		
	1.000 EACH		
Bell & Associates Construction, LP		\$4,500.0000	\$4,500.00
Charles Blalock & Sons, Inc.		\$5,621.8500	\$5,621.85
Jones Bros. Contractors, LLC		\$5,500.0000	\$5,500.00
Summers-Taylor, Inc.		\$3,760.0000	\$3,760.00
611-42.02 CATCH BASINS, TYPE 42, > 4' - 8' DEPTH			
	1.000 EACH		
Bell & Associates Construction, LP		\$4,900.0000	\$4,900.00
Charles Blalock & Sons, Inc.		\$6,064.1600	\$6,064.16
Jones Bros. Contractors, LLC		\$5,100.0000	\$5,100.00
Summers-Taylor, Inc.		\$4,210.0000	\$4,210.00
		¥ 1,= 1 0 1 0 0 0 0	¥ 1,= 10100
701-01.01 CONCRETE SIDEWALK (4 ")			
,	4,470.000 S.F.		
Della Acceptata Octobrillo	4,47 V.UUU 3.F.	Φο οσοσ	#00 500 00
Bell & Associates Construction, LP		\$6.6000	\$29,502.00
Charles Blalock & Sons, Inc.		\$7.6200	\$34,061.40
Jones Bros. Contractors, LLC		\$6.0000	\$26,820.00
Summers-Taylor, Inc.		\$7.5000	\$33,525.00

			UNIT PRICE	EXTENSION
701-02	CONCRETE DRIVEWAY			
		308.000 S.F.		
	Bell & Associates Construction, LP		\$9.6900	\$2,984.52
	Charles Blalock & Sons, Inc.		\$17.9100	\$5,516.28
	Jones Bros. Contractors, LLC		\$8.7500	\$2,695.00
	Summers-Taylor, Inc.		\$12.8000	\$3,942.40
701-02.03	CONCRETE CURB RAMP			
		842.000 S.F.		
	Bell & Associates Construction, LP		\$23.5000	\$19,787.00
	Charles Blalock & Sons, Inc.		\$27.9400	\$23,525.48
	Jones Bros. Contractors, LLC		\$21.0000	\$17,682.00
	Summers-Taylor, Inc.		\$42.8000	\$36,037.60
702-01	CONCRETE CURB			
		2.000 C.Y.		
	Bell & Associates Construction, LP		\$1,995.0000	\$3,990.00
	Charles Blalock & Sons, Inc.		\$2,348.0300	\$4,696.06
	Jones Bros. Contractors, LLC		\$1,800.0000	\$3,600.00
	Summers-Taylor, Inc.		\$810.0000	\$1,620.00
702-03	CONCRETE COMBINED CURB & GUTTER			
		75.000 C.Y.		
	Bell & Associates Construction, LP		\$610.0000	\$45,750.00
	Charles Blalock & Sons, Inc.		\$398.3800	\$29,878.50
	Jones Bros. Contractors, LLC		\$560.0000	\$42,000.00
	Summers-Taylor, Inc.		\$427.0000	\$32,025.00
707-01.11	CHAIN LINK FENCE (6 FOOT)			
		100.000 L.F.		
	Bell & Associates Construction, LP		\$30.0000	\$3,000.00
	Charles Blalock & Sons, Inc.		\$28.8400	\$2,884.00
	Jones Bros. Contractors, LLC		\$28.0000	\$2,800.00
	Summers-Taylor, Inc.		\$25.0000	\$2,500.00
707-01.13	GATE - CHAIN-LINK FENCE-6 FOOT (BRIDGE END)			
		1.000 EACH		
	Bell & Associates Construction, LP		\$2,200.0000	\$2,200.00
	Charles Blalock & Sons, Inc.		\$2,060.0000	\$2,060.00
	Jones Bros. Contractors, LLC		\$2,000.0000	\$2,000.00
	Summers-Taylor, Inc.		\$1,035.0000	\$1,035.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		50.000 TON		
	Bell & Associates Construction, LP		\$45.0000	\$2,250.00
	Charles Blalock & Sons, Inc.		\$42.2800	\$2,114.00
	Jones Bros. Contractors, LLC		\$45.0000	\$2,250.00
	Summers-Taylor, Inc.		\$54.0000	\$2,700.00

			O.	DIVINACI CIVIO14
			UNIT PRICE	EXTENSION
709-05.06	6 MACHINED RIP-RAP (CLASS A-1)			
		24.000 TON		
	Bell & Associates Construction, LP		\$45.0000	\$1,080.00
	Charles Blalock & Sons, Inc.		\$52.9500	\$1,270.80
	Jones Bros. Contractors, LLC		\$45.0000	\$1,080.00
	Summers-Taylor, Inc.		\$54.0000	\$1,296.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Bell & Associates Construction, LP		\$1,600.0000	\$1,600.00
	Charles Blalock & Sons, Inc.		\$35,000.0000	\$35,000.00
	Jones Bros. Contractors, LLC		\$30,000.0000	\$30,000.00
	Summers-Taylor, Inc.		\$65,100.0000	\$65,100.00
712-02.02	2 INTERCONNECTED PORTABLE BARRIER RAIL			
		200.000 L.F.		
	Bell & Associates Construction, LP		\$48.0000	\$9,600.00
	Charles Blalock & Sons, Inc.		\$56.7400	\$11,348.00
	Jones Bros. Contractors, LLC		\$20.0000	\$4,000.00
	Summers-Taylor, Inc.		\$36.0000	\$7,200.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	Bell & Associates Construction, LP		\$32.0000	\$3,200.00
	Charles Blalock & Sons, Inc.		\$30.3900	\$3,039.00
	Jones Bros. Contractors, LLC		\$29.5000	\$2,950.00
	Summers-Taylor, Inc.		\$34.0000	\$3,400.00
712-05.01	WARNING LIGHTS (TYPE A)			
		8.000 EACH		
	Bell & Associates Construction, LP		\$28.0000	\$224.00
	Charles Blalock & Sons, Inc.		\$28.3300	\$226.64
	Jones Bros. Contractors, LLC		\$27.5000	\$220.00
	Summers-Taylor, Inc.		\$28.0000	\$224.00
712-05.03	3 WARNING LIGHTS (TYPE C)			
		100.000 EACH		
	Bell & Associates Construction, LP		\$28.0000	\$2,800.00
	Charles Blalock & Sons, Inc.		\$28.3300	\$2,833.00
	Jones Bros. Contractors, LLC		\$27.5000	\$2,750.00
	Summers-Taylor, Inc.		\$28.0000	\$2,800.00
712-06	SIGNS (CONSTRUCTION)			
		708.000 S.F.		
	Bell & Associates Construction, LP	3 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	\$7.7500	\$5,487.00
	Charles Blalock & Sons, Inc.		\$8.7600	\$6,202.08
	Jones Bros. Contractors, LLC		\$8.5000	\$6,018.00
	Summers-Taylor, Inc.		\$16.5000	\$11,682.00
	-			

		UNIT PRICE	EXTENSION
712-07.03 TEMPORARY BARRICADES (TYPE III)			
	210.000 L.F.		
Bell & Associates Construction, LP		\$19.9500	\$4,189.50
Charles Blalock & Sons, Inc.		\$24.9800	\$5,245.80
Jones Bros. Contractors, LLC		\$24.5000	\$5,245.00 \$5,145.00
Summers-Taylor, Inc.		\$19.5000	\$4,095.00
Summers-rayior, mc.		\$19.5000	φ4,095.00
712-08.03 ARROW BOARD (TYPE C)			
112-06.03 ARROW BOARD (TIFE 6)	0.000 54011		
Dell 9 Associates Construction LD	2.000 EACH	#0.040.0000	#4.400.00
Bell & Associates Construction, LP		\$2,218.0000	\$4,436.00
Charles Blalock & Sons, Inc.		\$3,347.5000	\$6,695.00
Jones Bros. Contractors, LLC		\$3,250.0000	\$6,500.00
Summers-Taylor, Inc.		\$1,650.0000	\$3,300.00
712-12.10 TEMPORARY CURB W/FLEXIBLE DELINEATOR			
	2,285.000 L.F.		
Bell & Associates Construction, LP		\$51.0000	\$116,535.00
Charles Blalock & Sons, Inc.		\$58.2000	\$132,987.00
Jones Bros. Contractors, LLC		\$66.5000	\$151,952.50
Summers-Taylor, Inc.		\$51.0000	\$116,535.00
713-11.01 "U" SECTION STEEL POSTS			
	33.000 LB.		
Bell & Associates Construction, LP		\$5.2000	\$171.60
Charles Blalock & Sons, Inc.		\$5.2000	\$171.60
Jones Bros. Contractors, LLC		\$10.0000	\$330.00
Summers-Taylor, Inc.		\$3.5000	\$115.50
·			
713-13.02 FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
	44.000 S.F.		
Bell & Associates Construction, LP		\$4.3000	\$189.20
Charles Blalock & Sons, Inc.		\$4.1600	\$183.04
Jones Bros. Contractors, LLC		\$25.0000	\$1,100.00
Summers-Taylor, Inc.		\$16.0000	\$704.00
ouniners-rayior, mo.		ψ10.0000	Ψ104.00
713-15 REMOVAL OF SIGNS, POSTS AND FOOTINGS			
The field of the country of the coun	1.000 LS		
D. II.O. A	1.000 LS	# 000 0000	Фооо оо
Bell & Associates Construction, LP		\$330.0000	\$330.00
Charles Blalock & Sons, Inc.		\$312.1200	\$312.12
Jones Bros. Contractors, LLC		\$1,000.0000	\$1,000.00
Summers-Taylor, Inc.		\$820.0000	\$820.00
740 40 04 OUANOFARI F MEGO (CT C) C)			
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	3.000 EACH		
Bell & Associates Construction, LP		\$10,000.0000	\$30,000.00
Charles Blalock & Sons, Inc.		\$4,789.5000	\$14,368.50
Jones Bros. Contractors, LLC		\$4,650.0000	\$13,950.00
Summers-Taylor, Inc.		\$7,100.0000	\$21,300.00

		UNIT PRICE	EXTENSION
713-16.41 RELOCATE SIGN			
	1.000 LS		
Bell & Associates Construction, LP		\$2,900.0000	\$2,900.00
Charles Blalock & Sons, Inc.		\$1,545.0000	\$2,900.00 \$1,545.00
Jones Bros. Contractors, LLC		\$1,500.0000	\$1,500.00
Summers-Taylor, Inc.		\$120.0000	\$120.00
713-30.09 BARRIER MOUNTED SIGN SUPPORT			
	5.000 EACH		
Bell & Associates Construction, LP		\$525.0000	\$2,625.00
Charles Blalock & Sons, Inc.		\$494.1900	\$2,470.95
Jones Bros. Contractors, LLC		\$650.0000	\$3,250.00
Summers-Taylor, Inc.		\$110.0000	\$550.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)	1 COLOR)		
`	13.000 EACH		
Dall 9 Associates Construction LD	13.000 EACH	#00.0000	#4.040.00
Bell & Associates Construction, LP		\$80.0000	\$1,040.00
Charles Blalock & Sons, Inc.		\$77.2500	\$1,004.25
Jones Bros. Contractors, LLC		\$75.0000	\$975.00
Summers-Taylor, Inc.		\$80.0000	\$1,040.00
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DI	R)(1 COLOR)		
	16.000 EACH		
Bell & Associates Construction, LP		\$80.0000	\$1,280.00
Charles Blalock & Sons, Inc.		\$77.2500	\$1,236.00
Jones Bros. Contractors, LLC		\$75.0000	\$1,200.00
Summers-Taylor, Inc.		\$80.0000	\$1,280.00
• ,			
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPIN	G)		
	•		
	13.000 S.Y.	*	
Bell & Associates Construction, LP		\$20.0000	\$260.00
Charles Blalock & Sons, Inc.		\$19.3100	\$251.03
Jones Bros. Contractors, LLC		\$18.7500	\$243.75
Summers-Taylor, Inc.		\$20.0000	\$260.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
	150.000 L.F.		
Bell & Associates Construction, LP		\$11.0000	\$1,650.00
Charles Blalock & Sons, Inc.		\$10.3000	\$1,545.00
Jones Bros. Contractors, LLC		\$10.0000	\$1,500.00
Summers-Taylor, Inc.		\$11.0000	\$1,650.00
Cultimore rayior, mo.		ψ11.0000	ψ1,000.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
710-02:00 FEASTIC FAVEINENT WARRING (TORN EARL ARROW)			
	4.000 EACH		
Bell & Associates Construction, LP		\$165.0000	\$660.00
Charles Blalock & Sons, Inc.		\$154.5000	\$618.00
Jones Bros. Contractors, LLC		\$150.0000	\$600.00
Summers-Taylor, Inc.		\$160.0000	\$640.00

		UNIT PRICE	EXTENSION
716-02.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
· · · · · ·	82.000 L.F.		
Dall 9 Associates Construction I D	02.000 L.I .	\$4.0500	\$405.00
Bell & Associates Construction, LP		\$1.6500	\$135.30
Charles Blalock & Sons, Inc.		\$1.5500	\$127.10
Jones Bros. Contractors, LLC		\$1.5000	\$123.00
Summers-Taylor, Inc.		\$2.0000	\$164.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WAL	K)		
	320.000 L.F.		
Bell & Associates Construction, LP		\$20.5000	\$6,560.00
Charles Blalock & Sons, Inc.		\$19.3100	\$6,179.20
Jones Bros. Contractors, LLC		\$18.7500	\$6,000.00
Summers-Taylor, Inc.		\$20.0000	\$6,400.00
• /			
716-04.13 PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARROY	w)		
	8.000 EACH	A	
Bell & Associates Construction, LP		\$415.0000	\$3,320.00
Charles Blalock & Sons, Inc.		\$386.2500	\$3,090.00
Jones Bros. Contractors, LLC		\$375.0000	\$3,000.00
Summers-Taylor, Inc.		\$400.0000	\$3,200.00
716-04.21 GREEN TEXTURED BIKE LANE			
	13.000 S.Y.		
Bell & Associates Construction, LP		\$135.0000	\$1,755.00
Charles Blalock & Sons, Inc.		\$128.7500	\$1,673.75
Jones Bros. Contractors, LLC		\$125.0000	\$1,625.00
Summers-Taylor, Inc.		\$135.0000	\$1,755.00
Canimolo raylor, mo.		Ψ100.0000	Ψ1,700.00
746 OF 04 DAINTED DAVEMENT MADKING (4" LINE)			
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	1.000 L.M.		
Bell & Associates Construction, LP		\$860.0000	\$860.00
Charles Blalock & Sons, Inc.		\$798.2500	\$798.25
Jones Bros. Contractors, LLC		\$775.0000	\$775.00
Summers-Taylor, Inc.		\$830.0000	\$830.00
716-09.72 WET REFLECTIVE PAVEMEMT MARKING (4"LINE)			
	1.100 L.M.		
Bell & Associates Construction, LP	11100 2	0000 000	\$22,000,00
·		\$20,000.0000	\$22,000.00
Charles Blalock & Sons, Inc.		\$19,312.5000	\$21,243.75
Jones Bros. Contractors, LLC		\$18,750.0000	\$20,625.00
Summers-Taylor, Inc.		\$20,025.0000	\$22,027.50
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	0.250 L.M.		
Bell & Associates Construction, LP		\$8,250.0000	\$2,062.50
Charles Blalock & Sons, Inc.		\$7,725.0000	\$1,931.25
Jones Bros. Contractors, LLC		\$7,500.0000	\$1,875.00
Summers-Taylor, Inc.		\$8,010.0000	\$2,002.50
•			,

			•	J. 1111014
			UNIT PRICE	EXTENSION
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	, ,,	0.100 L.M.		
	Bell & Associates Construction, LP		\$11,000.0000	\$1,100.00
	Charles Blalock & Sons, Inc.		\$10,300.0000	\$1,030.00
	Jones Bros. Contractors, LLC		\$10,000.0000	\$1,000.00
	Summers-Taylor, Inc.		\$10,700.0000	\$1,070.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		67.000 L.F.		
	Bell & Associates Construction, LP		\$1.6500	\$110.55
	Charles Blalock & Sons, Inc.		\$1.5500	\$103.85
	Jones Bros. Contractors, LLC		\$1.5000	\$100.50
	Summers-Taylor, Inc.		\$2.0000	\$134.00
740 40 05	ODDAY TUEDNO DVMT MDVNO (60 (61) DOTTED LINES			
/16-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)	47.000 5		
		17.000 L.F.		
	Bell & Associates Construction, LP		\$1.9000	\$32.30
	Charles Blalock & Sons, Inc.		\$1.8000	\$30.60
	Jones Bros. Contractors, LLC		\$1.9000	\$32.30
	Summers-Taylor, Inc.		\$2.0000	\$34.00
717-01	MOBILIZATION			
		1.000 LS		
	Poll & Accordance Construction I D	1.000 LO	\$964 000 0000	\$964 000 00
	Bell & Associates Construction, LP		\$864,000.0000	\$864,000.00
	Charles Blalock & Sons, Inc.		\$912,000.0000	\$912,000.00
	Jones Bros. Contractors, LLC		\$885,000.0000	\$885,000.00
	Summers-Taylor, Inc.		\$990,000.0000	\$990,000.00
730-01.02	REMOVAL OF SIGNAL EQUIPMENT			
		1.000 EACH		
	Bell & Associates Construction, LP		\$3,000.0000	\$3,000.00
	Charles Blalock & Sons, Inc.		\$2,865.4600	\$2,865.46
	Jones Bros. Contractors, LLC			
	•		\$2,000.0000	\$2,000.00
	Summers-Taylor, Inc.		\$3,203.0000	\$3,203.00
730-02.09	SIGNAL HEAD ASSEMBLY (130 WITH BACKPLATE)			
		8.000 EACH		
	Bell & Associates Construction, LP		\$1,000.0000	\$8,000.00
	Charles Blalock & Sons, Inc.		\$928.0300	\$7,424.24
	Jones Bros. Contractors, LLC		\$875.0000	\$7,000.00
			·	
	Summers-Taylor, Inc.		\$934.0000	\$7,472.00
730-03.21	INSTALL PULL BOX (TYPE B)			
		4.000 EACH		
	Bell & Associates Construction, LP		\$500.0000	\$2,000.00
	Charles Blalock & Sons, Inc.		\$484.1000	\$1,936.40
	Jones Bros. Contractors, LLC		\$900.0000	\$3,600.00
	Summers-Taylor, Inc.		\$400.0000	\$1,600.00
	Canimoro Taylor, mo.		Ψ-1 00.0000	Ψ1,000.00

			Co	ONTRACT CNT014
			UNIT PRICE	EXTENSION
730-03.23	INSTALL PULL BOX (FIBER OPTIC-TYPE A)			
		3.000 EACH		
!	Bell & Associates Construction, LP		\$2,600.0000	\$7,800.00
(Charles Blalock & Sons, Inc.		\$2,533.8000	\$7,601.40
	Jones Bros. Contractors, LLC		\$2,000.0000	\$6,000.00
;	Summers-Taylor, Inc.		\$1,388.0000	\$4,164.00
730-03.24	INSTALL PULL BOX (FIBER OPTIC-TYPE B)			
		2.000 EACH		
	Bell & Associates Construction, LP		\$3,100.0000	\$6,200.00
	Charles Blalock & Sons, Inc.		\$2,814.9900	\$5,629.98
	Jones Bros. Contractors, LLC		\$2,750.0000	\$5,500.00
;	Summers-Taylor, Inc.		\$1,015.0000	\$2,030.00
730-05.01	ELECTRICAL SERVICE CONNECTION			
		1.000 EACH		
	Bell & Associates Construction, LP		\$1,400.0000	\$1,400.00
	Charles Blalock & Sons, Inc.		\$1,279.2600	\$1,279.26
	Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
,	Summers-Taylor, Inc.		\$2,030.0000	\$2,030.00
730-08.03	SIGNAL CABLE - 7 CONDUCTOR			
		575.000 L.F.		
	Bell & Associates Construction, LP		\$1.5900	\$914.25
	Charles Blalock & Sons, Inc.		\$1.4400	\$828.00
	Jones Bros. Contractors, LLC		\$0.7400	\$425.50
;	Summers-Taylor, Inc.		\$2.0000	\$1,150.00
730-08.05	SIGNAL CABLE - 12 CONDUCTOR			
		835.000 L.F.		
	Bell & Associates Construction, LP		\$1.9000	\$1,586.50
	Charles Blalock & Sons, Inc.		\$1.7500	\$1,461.25
	Jones Bros. Contractors, LLC		\$1.2900	\$1,077.15
;	Summers-Taylor, Inc.		\$2.5000	\$2,087.50
730-12.02	CONDUIT 2" DIAMETER (PVC)			
		360.000 L.F.		
	Bell & Associates Construction, LP		\$10.5000	\$3,780.00
	Charles Blalock & Sons, Inc.		\$9.7900	\$3,524.40
	Jones Bros. Contractors, LLC		\$6.1000	\$2,196.00
;	Summers-Taylor, Inc.		\$19.2000	\$6,912.00
730-12.13	CONDUIT 2" DIAMETER (JACK AND BORE)			
		1,230.000 L.F.		
	Bell & Associates Construction, LP		\$22.0000	\$27,060.00
(Charles Blalock & Sons, Inc.		\$21.5300	\$26,481.90

Jones Bros. Contractors, LLC

Summers-Taylor, Inc.

\$25,953.00

\$36,900.00

\$21.1000

\$30.0000

730-13.07 VEHICLE DETECTOR (SIREN ACTIVATED PRIORITY CONTROL)				
### Bell & Associates Construction, LP \$15,400,000 \$1			UNIT PRICE	EXTENSION
Bell & Associates Construction, LP \$3,850,000 \$15,400,000 \$14,358,200 \$2,800,000 \$14,358,200 \$3,590,050 \$14,358,200 \$3,590,050 \$14,358,200 \$3,590,050 \$14,358,200 \$3,590,050 \$14,550,000 \$3,500,000 \$14,520,000 \$3,500,000 \$14,520,000 \$3,500,000 \$14,520,000 \$3,500,0				
Bell & Associates Construction, LP \$3,850,000 \$15,400,000 \$14,358,200 \$2,800,000 \$14,358,200 \$3,590,050 \$14,358,200 \$3,590,050 \$14,358,200 \$3,590,050 \$14,358,200 \$3,590,050 \$14,550,000 \$3,500,000 \$14,520,000 \$3,500,000 \$14,520,000 \$3,500,000 \$14,520,000 \$3,500,0	730-13 07 VEHICLE DETECTOR (SIREN ACTIVATED PRIORITY CONTRO))		
Bell & Associates Construction, LP	100 10:07 TEMOLE BETEOTOR (OINCER ACTIVATED FRICKITT CONTIN	-		
Charles Blatoc & Sons, Inc. \$3.588.5500 \$14,385.20. Jones Bros. Contractors, LLC \$2,800.0000 \$14,502.00. T30-13.08 VEHICLE DETECTOR (INTERSECTION RADAR DETECTION) T30-13.08 VEHICLE DETECTOR (INTERSECTION RADAR DETECTION) Bell & Associates Construction, LP \$34,000.000 \$34,000.00 Charles Blatock & Sons, Inc. \$33,203.080 \$33,203.08 Jones Bros. Contractors, LLC \$28,000.0000 \$34,000.00 Summers-Taylor, Inc. \$33,203.080 \$33,203.08 Summers-Taylor, Inc. \$33,203.080 \$33,203.08 Summers-Taylor, Inc. \$33,000.0000 \$34,000.00 Summers-Taylor, Inc. \$33,000.0000 \$33,800.000 Summers-Taylor, Inc. \$11500 \$1,276.50 Charles Blatock & Sons, Inc. \$1110.000 LF. Bell & Associates Construction, LP \$1110.000 LF. Summers-Taylor, Inc. \$11500 \$1,276.50 Charles Blatock & Sons, Inc. \$1,200 EACH Sell & Associates Construction, LP \$2,500.0000 \$24,727.21 Jones Bros. Contractors, LLC \$20,000.0000 \$24,727.21 Jones Bros. Contractors, LLC \$23,000.0000 \$24,727.21 Jones Bros. Contractors, LLC \$23,000.0000 \$24,727.21 Jones Bros. Contractors, LLC \$4,000.0000 \$24,000.00 Summers-Taylor, Inc. \$4,300.0000 \$4,300.00 Summers-Taylor, Inc. \$4,000.0000 \$4,000.00		4.000 EACH		
Jones Bros. Contractors, LLC \$2,800,0000 \$11,200.00 \$14,500.00	Bell & Associates Construction, LP		\$3,850.0000	\$15,400.00
Summers-Taylor, Inc. \$3,830.0000 \$14,520.00	Charles Blalock & Sons, Inc.		\$3,589.5500	\$14,358.20
T30-13.08 VEHICLE DETECTOR (INTERSECTION RADAR DETECTION)	Jones Bros. Contractors, LLC		\$2,800.0000	\$11,200.00
1.000 EACH \$34,000.000	Summers-Taylor, Inc.		\$3,630.0000	\$14,520.00
1.000 EACH \$34,000.000				
1.000 EACH \$34,000.000	730-13.08 VEHICLE DETECTOR (INTERSECTION RADAR DETECTION)			
Bell & Associates Construction, LP		4 000 54 011		
Charles Bialock & Sons, Inc. \$33,203,080 \$33,203,08 \$32,000 \$28,000,000 \$28,000,000 \$33,800,000 \$		1.000 EACH	•	
Jones Bros. Contractors, LLC \$28,000,000 \$28,000,000 \$33,800,000 \$34,800,000				
Summers-Taylor, Inc. \$33,800.00000 \$33,800.0000 \$33,800.0000 \$33,800.0000 \$33,800.0000 \$33,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.00000 \$34,800.00000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.000000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,800.0000 \$34,80				
T30-14.01 SHIELDED DETECTOR CABLE				
### 1,110,000 L.F. Bell & Associates Construction, LP	Summers-Taylor, Inc.		\$33,800.0000	\$33,800.00
1,110,000 LF.				
Bell & Associates Construction, LP	730-14.01 SHIELDED DETECTOR CABLE			
Bell & Associates Construction, LP		1 110 000 L E		
Charles Blalock & Sons, Inc.	D 110 A O	1,110.000 L.F.	#4.4500	04.070.50
Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$1,2000 \$1,332.00 730-15.32 CABINET (EIGHT PHASE BASE MOUNTED) 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$24,727.210 Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,670.0000 \$24,000.000 \$24,000.000 \$24,330.000 \$24,233.300 \$24,200.000 \$24,200.000 \$24,200.000 \$24,200.000 \$24,200.000 \$24,200.000 \$24,200.000 \$24,200.000 \$24,200.000 \$24,200.000 \$24,200.000				
Summers-Taylor, Inc. \$1,2000 \$1,332.00				
730-15.32 CABINET (EIGHT PHASE BASE MOUNTED) 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. 324,727.2100 \$24,727.21 Jones Bros. Contractors, LLC \$23,000.0000 \$23,000.000 \$23,000.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,000.00	·			
1.000 EACH \$25,500.000 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,700.00 \$25,000.00 \$2	Summers-Taylor, Inc.		\$1.2000	\$1,332.00
1.000 EACH \$25,500.000 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,500.00 \$25,700.00 \$25,000.00 \$2				
Bell & Associates Construction, LP	730-15.32 CABINET (EIGHT PHASE BASE MOUNTED)			
Bell & Associates Construction, LP		1 000 FACH		
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. ### 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Summers-Taylor, Inc. #### 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Summers-Taylor, Inc. #### 1.000 EACH #### 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Summers-Taylor, Inc. #### 1.000 EACH Bell & Associates Construction, LP	Ball & Associatos Construction I B	1.000 E/(011	\$25,500,0000	\$25,500,00
Jones Bros. Contractors, LLC \$23,000.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,670.000 \$24,070.000 \$24,300.000				
Summers-Taylor, Inc. \$24,670.000 \$24,670.000 730-16.02 EIGHT PHASE ACTUATED CONTROLLER				
730-16.02 EIGHT PHASE ACTUATED CONTROLLER 1.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Summers-Taylor, Inc. Bell & Associates Construction, LP Summers-Taylor, Inc. Charles Blalock & Sons, Inc. 4.000 EACH Bell & Associates Construction, LP 4.000 EACH Bell & Associates Construction, LP 4.000 EACH Bell & Associates Construction, LP 517,000.000 Charles Blalock & Sons, Inc. 516,646.8600 Charles Blalock & Sons, Inc. 516,646.8600 S66,587.44 Jones Bros. Contractors, LLC Summers-Taylor, Inc. 1000 EACH COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN SIGN Bell & Associates Construction, LP 8.000 EACH Bell & Associates Construction, LP 51,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,400.00 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00 \$14,400.00 \$14,400.00 \$11,800.000 \$14,400.00 \$14,400.00 \$11,800.000 \$14,400.00 \$11,800.000 \$14,400.00 \$11,800.000 \$14,400.00 \$11,800.000 \$14,400.00 \$11,800.000 \$11,800.000 \$14,400.00 \$14,400.00 \$14,400.00				
Bell & Associates Construction, LP	Summers-Taylor, Inc.		\$24,670.0000	\$24,670.00
Bell & Associates Construction, LP				
Bell & Associates Construction, LP \$4,300.0000 \$4,300.00 Charles Blalock & Sons, Inc. \$4,233.3000 \$4,233.30 Jones Bros. Contractors, LLC \$4,000.0000 \$4,000.000 Summers-Taylor, Inc. \$4,385.000 \$4,385.00 \$4,3	730-16.02 EIGHT PHASE ACTUATED CONTROLLER			
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. *4,233.300 \$4,233.300 \$4,000.000 \$4,000.000 \$4,000.000 \$4,385.000 *4,385.000 *4,385.000 *4,385.000 *4,385.000 *5,385.000 *6,8900.000 Charles Blalock & Sons, Inc. Charles Blalock & Sons, Inc. Sing,646.8600 \$66,587.44 Jones Bros. Contractors, LLC Summers-Taylor, Inc. *22,871.8800 \$91,487.52 Summers-Taylor, Inc. *10,605.0000 \$42,420.00 *42,420.00 *5,0000 *6,587.44 *6,646.8600 \$10,605.0000 \$42,420.00 *6,587.44 *6,646.8600 \$10,605.0000 \$10,605.0000 \$10,605.0000 \$10,400.000 \$11,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,485.2600 \$11,882.08		1.000 EACH		
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. *4,233.300 \$4,233.300 \$4,000.000 \$4,000.000 \$4,000.000 \$4,385.000 *4,385.000 *4,385.000 *4,385.000 *4,385.000 *5,385.000 *6,8900.000 Charles Blalock & Sons, Inc. Charles Blalock & Sons, Inc. Sing,646.8600 \$66,587.44 Jones Bros. Contractors, LLC Summers-Taylor, Inc. *22,871.8800 \$91,487.52 Summers-Taylor, Inc. *10,605.0000 \$42,420.00 *42,420.00 *5,0000 *6,587.44 *6,646.8600 \$10,605.0000 \$42,420.00 *6,587.44 *6,646.8600 \$10,605.0000 \$10,605.0000 \$10,605.0000 \$10,400.000 \$11,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,485.2600 \$11,882.08	Rell & Associates Construction I P		\$4 300 0000	\$4 300 00
Jones Bros. Contractors, LLC Summers-Taylor, Inc. *\$4,000.000 \$4,000.000 \$4,385.000 *\$4,385.000 *\$4,385.000 *\$4,385.000 *\$4,385.000 *\$4,385.000 *\$4,385.000 *\$4,385.000 *\$58,000.00 Charles Blalock & Sons, Inc. Charles Bros. Contractors, LLC Summers-Taylor, Inc. *\$17,000.0000 \$68,000.00 \$68,000.00 \$66,587.44 Jones Bros. Contractors, LLC \$22,871.8800 \$91,487.52 Summers-Taylor, Inc. *\$10,605.0000 \$42,420.00 *\$42,420.00 *\$42,420.00 *\$10,605.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,550.0000 \$11,882.08 Jones Bros. Contractors, LLC \$1,480.0000 \$11,882.08	•			
Summers-Taylor, Inc. \$4,385.000 \$4,385.00 730-23.80 CANTILEVER SIGNAL SUPPORT (1 ARM @ 40') 4.000 EACH Bell & Associates Construction, LP \$17,000.0000 \$68,000.00 Charles Blalock & Sons, Inc. \$16,646.8600 \$66,587.44 Jones Bros. Contractors, LLC \$22,871.8800 \$91,487.52 Summers-Taylor, Inc. \$10,605.0000 \$42,420.00 730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN SIGN Bell & Associates Construction, LP \$1,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00				
730-23.80 CANTILEVER SIGNAL SUPPORT (1 ARM @ 40') 4.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$117,000.0000 \$68,000.00 \$66,587.44 Jones Bros. Contractors, LLC \$22,871.8800 \$91,487.52 Summers-Taylor, Inc. \$10,605.0000 \$42,420.00 730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN SIGN 8.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC \$1,400.00 \$11,882.08 Jones Bros. Contractors, LLC	·			
### Associates Construction, LP Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. ###################################	Summers-rayior, inc.		\$4,365.0000	φ 4 ,365.00
### Associates Construction, LP Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. ###################################				
Bell & Associates Construction, LP	730-23.80 CANTILEVER SIGNAL SUPPORT (1 ARM @ 40')			
Charles Blalock & Sons, Inc. \$16,646.8600 \$66,587.44 Jones Bros. Contractors, LLC \$22,871.8800 \$91,487.52 Summers-Taylor, Inc. \$10,605.0000 \$42,420.00 730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN SIGN 8.000 EACH Bell & Associates Construction, LP \$1,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00		4.000 EACH		
Charles Blalock & Sons, Inc. \$16,646.8600 \$66,587.44 Jones Bros. Contractors, LLC \$22,871.8800 \$91,487.52 Summers-Taylor, Inc. \$10,605.0000 \$42,420.00 730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN SIGN 8.000 EACH Bell & Associates Construction, LP \$1,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00	Bell & Associates Construction. LP		\$17.000.0000	\$68.000.00
Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$22,871.8800 \$91,487.52 \$10,605.0000 \$42,420.00 730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN SIGN 8.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC \$1,550.0000 \$11,882.08 \$1,485.2600 \$11,800.0000 \$14,400.00				
Summers-Taylor, Inc. \$10,605.0000 \$42,420.00 730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN SIGN 8.000 EACH Bell & Associates Construction, LP \$1,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00	·			
730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON & 15IN SIGN 8.000 EACH Bell & Associates Construction, LP \$1,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00				
8.000 EACH Bell & Associates Construction, LP \$1,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00	Gammers Taylor, me.		Ψ10,000.0000	Ψ+2,+20.00
8.000 EACH Bell & Associates Construction, LP \$1,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00	700 00 44 OOUNTDOWN PER COM HEAD WAYNER - 51001 511551	0.45IN 0101'		
Bell & Associates Construction, LP \$1,550.0000 \$12,400.00 Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00	730-26.11 COUNTDOWN PED SGNL HEAD W/AUDIBLE PUSH BUTTON	& 15IN SIGN		
Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00		8.000 EACH		
Charles Blalock & Sons, Inc. \$1,485.2600 \$11,882.08 Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00	Bell & Associates Construction, LP		\$1,550.0000	\$12,400.00
Jones Bros. Contractors, LLC \$1,800.0000 \$14,400.00				
, i, i , i , i , i , i , i , i , i , i				
	, . , .		. , - , - , - , - , - , - , - , - , - ,	, ,, ======

				CONTRACT CNT014
			UNIT PRICE	EXTENSION
730-35.06	BATTERY BACK-UP AND POWER CONDITIONER			
		1.000 EACH		
	Bell & Associates Construction, LP		\$13,000.0000	\$13,000.00
	Charles Blalock & Sons, Inc.		\$11,846.0300	\$11,846.03
	Jones Bros. Contractors, LLC		\$10,870.0000	\$10,870.00
	Summers-Taylor, Inc.		\$11,600.0000	\$11,600.00
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		188.000 S.Y.		
	Bell & Associates Construction, LP		\$6.8300	\$1,284.04
	Charles Blalock & Sons, Inc.		\$4.5200	\$849.76
	Jones Bros. Contractors, LLC		\$5.0000	\$940.00
	Summers-Taylor, Inc.		\$6.0000	\$1,128.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		17.000 UNIT		
	Bell & Associates Construction, LP		\$26.0000	\$442.00
	Charles Blalock & Sons, Inc.		\$26.4800	\$450.16
	Jones Bros. Contractors, LLC		\$54.0000	\$918.00
	Summers-Taylor, Inc.		\$28.0000	\$476.00
801-03	WATER (SEEDING & SODDING)			
		21.000 M.G.		
	Bell & Associates Construction, LP		\$32.0000	\$672.00
	Charles Blalock & Sons, Inc.		\$31.7800	\$667.38
	Jones Bros. Contractors, LLC		\$100.0000	\$2,100.00
	Summers-Taylor, Inc.		\$33.0000	\$693.00
803-01	SODDING (NEW SOD)			
		1,915.000 S.Y.		
	Bell & Associates Construction, LP		\$6.5000	\$12,447.50
	Charles Blalock & Sons, Inc.		\$6.3200	\$12,102.80
	Jones Bros. Contractors, LLC		\$6.6000	\$12,639.00
	Summers-Taylor, Inc.		\$6.5000	\$12,447.50

	UNIT PRICE	EXTENSION
BRIDGE CATEGORY		
202-01.02 REMOVAL OF ASBESTOS		
	1.000 LS	
Bell & Associates Construction, LP	\$72,000.0000	\$72,000.00
Charles Blalock & Sons, Inc.	\$67,959.4000	\$67,959.40
Jones Bros. Contractors, LLC	\$65,980.0000	\$65,980.00
Summers-Taylor, Inc.	\$74,000.0000	\$74,000.00
202-04.01 REMOVAL OF STRUCTURES (BRIDGE ID. NO. 47SR0010025)		
	1.000 LS	
Bell & Associates Construction, LP	\$705,000.0000	\$705,000.00
Charles Blalock & Sons, Inc.	\$820,000.0000	\$820,000.00
Jones Bros. Contractors, LLC	\$1,000,000.0000	\$1,000,000.00
Summers-Taylor, Inc.	\$1,644,200.0000	\$1,644,200.00
204-02.01 DRY EXCAVATION (BRIDGES)		
, ,	64.000 C.Y.	
Bell & Associates Construction, LP	\$14.0000	\$10.006.00
Charles Blalock & Sons, Inc.	\$36.2300	\$19,096.00 \$49,417.72
Jones Bros. Contractors, LLC	\$22.0000	\$30,008.00
Summers-Taylor, Inc.	\$25.0000	\$34,100.00
Calliniolo Taylol, Illo.	Ψ20.0000	ψο 1, 1 σσ.σσ
204-05.01 CORE DRILLING AND SAMPLING		
1,12	27.000 L.F.	
Bell & Associates Construction, LP	\$83.0000	\$93,541.00
Charles Blalock & Sons, Inc.	\$77.2500	\$87,060.75
Jones Bros. Contractors, LLC	\$110.0000	\$123,970.00
Summers-Taylor, Inc.	\$84.0000	\$94,668.00
303-01.02 GRANULAR BACKFILL (BRIDGES)		
,	32.000 TON	^
Bell & Associates Construction, LP	\$41.0000	\$222,712.00
Charles Blalock & Sons, Inc.	\$37.6700 \$40.0000	\$204,623.44 \$217,280.00
Jones Bros. Contractors, LLC Summers-Taylor, Inc.	\$40.0000 \$33.0000	\$179,256.00
Guilliners-raylor, inc.	ψ33.0000	ψ173,230.00
602-04.01 STEEL STRUCTURES (BRIDGE NO. 1)		
	1.000 LS	
Bell & Associates Construction, LP	\$3,678,000.0000	\$3,678,000.00
Charles Blalock & Sons, Inc.	\$3,301,255.1200	\$3,301,255.12
Jones Bros. Contractors, LLC	\$3,000,000.0000	\$3,000,000.00
Summers-Taylor, Inc.	\$3,276,108.0000	\$3,276,108.00
604-02.03 EPOXY COATED REINFORCING STEEL		
	35.000 LB.	
Bell & Associates Construction, LP	\$1.1500	\$691,592.75
Charles Blalock & Sons, Inc.	\$1.0500	\$631,454.25
Jones Bros. Contractors, LLC	\$1.1800	\$709,634.30
	Φ4.0000	0040 400 ==

Summers-Taylor, Inc.

\$619,426.55

\$1.0300

		C	ONIRACI CNIU14
		UNIT PRICE	EXTENSION
604-03.01 CLASS A CONCRETE (BRIDGES)			
	2,232.000 C.Y.		
Bell & Associates Construction, LP		\$465.0000	\$1,037,880.00
Charles Blalock & Sons, Inc.		\$714.4600	\$1,594,674.72
Jones Bros. Contractors, LLC		\$500.0000	\$1,116,000.00
Summers-Taylor, Inc.		\$465.0000	\$1,037,880.00
604-03.02 STEEL BAR REINFORCEMENT (BRIDGES)			
	298,721.000 LB.		
Bell & Associates Construction, LP		\$1.0000	\$298,721.00
Charles Blalock & Sons, Inc.		\$0.9300	\$277,810.53
Jones Bros. Contractors, LLC		\$1.0100	\$301,708.21
Summers-Taylor, Inc.		\$1.1000	\$328,593.10
604-03.04 PAVEMENT @ BRIDGE ENDS			
	481.000 S.Y.		
Bell & Associates Construction, LP		\$225.0000	\$108,225.00
Charles Blalock & Sons, Inc.		\$237.5200	\$114,247.12
Jones Bros. Contractors, LLC		\$300.0000	\$144,300.00
Summers-Taylor, Inc.		\$220.0000	\$105,820.00
604-03.32 CLASS DS CONCRETE			
	1,663.000 C.Y.		
Bell & Associates Construction, LP		\$525.0000	\$873,075.00
Charles Blalock & Sons, Inc.		\$661.8400	\$1,100,639.92
Jones Bros. Contractors, LLC		\$700.0000	\$1,164,100.00
Summers-Taylor, Inc.		\$758.0000	\$1,260,554.00
604-04.01 APPLIED TEXTURE FINISH (NEW STRUCTURE			
	5,320.000 S.Y.		
Bell & Associates Construction, LP		\$8.8000	\$46,816.00
Charles Blalock & Sons, Inc.		\$8.4900	\$45,166.80
Jones Bros. Contractors, LLC		\$7.9500 \$8.7000	\$42,294.00 \$46,284.00
Summers-Taylor, Inc.		φο./ 000	\$40,204.00
604-05.31 BRIDGE DECK GROOVING (MECHANICAL)	5 000 000 Q V		
D 0	5,699.000 S.Y.	Фо оооо	#00.000.40
Bell & Associates Construction, LP		\$3.9000	\$22,226.10
Charles Blalock & Sons, Inc.		\$5.8200 \$3.2400	\$33,168.18 \$42.765.76
Jones Bros. Contractors, LLC		\$2.2400 \$4.0000	\$12,765.76 \$22,796.00
Summers-Taylor, Inc.		\$4.0000	\$22,796.00
604-07.01 RETAINING WALL (WALL NO. 1)			
D # 0 A	2,393.000 S.F.	A.a.	
Bell & Associates Construction, LP		\$185.0000	\$442,705.00
Charles Blalock & Sons, Inc.		\$107.0900	\$256,266.37
Jones Bros. Contractors, LLC Summers-Taylor, Inc.		\$150.0000 \$272.1000	\$358,950.00 \$651,135,30
Summers-rayion, inc.		\$272.1000	\$651,135.30

		CC	MIRACI CNIU14
		UNIT PRICE	EXTENSION
604-11.01 EXPANSION DEVICE (WALL NO. 2, 8" MOVEMENT)			
,	74.000 L.F.		
Bell & Associates Construction, LP		\$1,000.0000	\$74,000.00
Charles Blalock & Sons, Inc.		\$620.0000	\$45,880.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$185,000.00
Summers-Taylor, Inc.		\$2,141.0000	\$158,434.00
604-11.02 EXPANSION DEVICE (WALL NO. 2, 4" MOVEMENT)			
,	61.000 L.F.		
Bell & Associates Construction, LP	5 11555 <u>-</u> 1	\$660.0000	\$40,260.00
Charles Blalock & Sons, Inc.		\$611.0900	\$37,276.49
Jones Bros. Contractors, LLC		\$600.0000	\$36,600.00
Summers-Taylor, Inc.		\$528.0000	\$32,208.00
606-02.03 STEEL PILES (10 INCH)			
(,	4,298.000 L.F.		
Bell & Associates Construction, LP	-1,200,000 Em 1	\$45.0000	\$193,410.00
Charles Blalock & Sons, Inc.		\$47.3400	\$203,467.32
Jones Bros. Contractors, LLC		\$50.0000	\$214,900.00
Summers-Taylor, Inc.		\$44.0000	\$189,112.00
Cultillors raylor, inc.		Ψ++.0000	Ψ100,112.00
606-02.06 PILE TIPS (STEEL PILES, 10 INCH)			
	252.000 EACH		
Bell & Associates Construction, LP		\$115.0000	\$28,980.00
Charles Blalock & Sons, Inc.		\$152.7200	\$38,485.44
Jones Bros. Contractors, LLC		\$130.0000	\$32,760.00
Summers-Taylor, Inc.		\$115.0000	\$28,980.00
606-03.03 STEEL PILES (12 INCH)			
	358.000 L.F.		
Bell & Associates Construction, LP		\$64.0000	\$22,912.00
Charles Blalock & Sons, Inc.		\$193.3200	\$69,208.56
Jones Bros. Contractors, LLC		\$200.0000	\$71,600.00
Summers-Taylor, Inc.		\$62.0000	\$22,196.00
606-03.06 PILE TIPS (STEEL PILES, 12 INCH)			
, ,	14.000 EACH		
Bell & Associates Construction, LP	· · · · · · · · · · · · · · · · · · ·	\$130.0000	\$1,820.00
Charles Blalock & Sons, Inc.		\$186.7200	\$2,614.08
Jones Bros. Contractors, LLC		\$180.0000	\$2,520.00
Summers-Taylor, Inc.		\$127.0000	\$1,778.00
615-02.22 PRESTRESSED CONCRETE BOX BEAM (18" X 36")			
======(:===============================	1,606.000 L.F.		
Bell & Associates Construction, LP	-,	\$215.0000	\$345,290.00
Charles Blalock & Sons, Inc.		\$257.8100	\$414,042.86
Jones Bros. Contractors, LLC		\$220.0000	\$353,320.00
Summers-Taylor, Inc.		\$239.0000	\$383,834.00
Cammero Taylor, mor		Ψ=00.0000	4300,00 1.00

CONTRACT	CNT014
----------	--------

	UNIT PRICE	EXTENSION
620-05.02 STANDARD CONCRETE CLASSIC PARAPET RAIL		
	1,755.000 L.F.	
Bell & Associates Construction, LP	\$202.0000	\$354,510.00
Charles Blalock & Sons, Inc.	\$291.7800	\$512,073.90
Jones Bros. Contractors, LLC	\$135.0000	\$236,925.00
Summers-Taylor, Inc.	\$365.0000	\$640,575.00
625-01.11 CAMERA INSPECTION - DRILLED SHAFT (UNDERWATER)		
	24.000 EACH	
Bell & Associates Construction, LP	\$620.0000	\$14,880.00
Charles Blalock & Sons, Inc.	\$618.0000	\$14,832.00
Jones Bros. Contractors, LLC	\$600.0000	\$14,400.00
Summers-Taylor, Inc.	\$1,680.0000	\$40,320.00
625-02.01 DRILLED SHAFT-SOIL (DIA.)		
	525.000 V.F.	
Bell & Associates Construction, LP	\$857.0000	\$449,925.00
Charles Blalock & Sons, Inc.	\$206.0000	\$108,150.00
Jones Bros. Contractors, LLC	\$761.5000	\$399,787.50
Summers-Taylor, Inc.	\$615.0000	\$322,875.00
625-02.13 DRILLED SHAFT-ROCK (DIA.)		
	363.000 V.F.	
Bell & Associates Construction, LP	\$1,009.0000	\$366,267.00
Charles Blalock & Sons, Inc.	\$1,545.0000	\$560,835.00
Jones Bros. Contractors, LLC	\$916.5000	\$332,689.50
Summers-Taylor, Inc.	\$1,168.0000	\$423,984.00
625-02.40 DRILLED SHAFT (SH-SCC) CONCRETE		
,	1,057.000 C.Y.	
Bell & Associates Construction, LP	\$400.0000	\$422,800.00
Charles Blalock & Sons, Inc.	\$381.1000	\$402,822.70
Jones Bros. Contractors, LLC	\$370.0000	\$391,090.00
Summers-Taylor, Inc.	\$495.0000	\$523,215.00
625-02.43 CONCRETE CORING		
	912.000 V.F.	
Bell & Associates Construction, LP	\$85.0000	\$77,520.00
Charles Blalock & Sons, Inc.	\$87.5500	\$79,845.60
Jones Bros. Contractors, LLC	\$110.0000	\$100,320.00
Summers-Taylor, Inc.	\$96.0000	\$87,552.00
625-02.44 DRILLED SHAFT REINFORCING STEEL		
	204,584.000 LB.	
		¢225 042 40
Bell & Associates Construction, LP Charles Blalock & Sons, Inc.	\$1.1000 \$0.9300	\$225,042.40 \$190,263.12
Jones Bros. Contractors, LLC	\$3.0000	\$613,752.00
Summers-Taylor, Inc.	\$3.0000 \$1.1500	\$235,271.60
	ψ····σσσ	φ <u>=</u> 00,=71.00

	•	CONTRACT CNT014
	UNIT PRICE	EXTENSION
707-07.01 CHAIN-LINK FENCE (BRIDGES)		
14,305.000 S	S.F.	
Bell & Associates Construction, LP	\$19.0000	\$271,795.00
Charles Blalock & Sons, Inc.	\$18.5400	\$265,214.70
Jones Bros. Contractors, LLC	\$18.0000	\$257,490.00
Summers-Taylor, Inc.	\$23.0000	\$329,015.00
710-09.01 6" PERFORATED PIPE WITH VERTICAL DRAIN SYSTEM		
349.000 L	F.	
Bell & Associates Construction, LP	\$45.0000	\$15,705.00
Charles Blalock & Sons, Inc.	\$95.4000	\$33,294.60
Jones Bros. Contractors, LLC	\$25.0000	\$8,725.00
Summers-Taylor, Inc.	\$104.0000	\$36,296.00
710-09.02 6" PIPE UNDERDRAIN		
87.000 L	F.	
Bell & Associates Construction, LP	\$9.5000	\$826.50
Charles Blalock & Sons, Inc.	\$31.0000	\$2,697.00
Jones Bros. Contractors, LLC	\$7.0000	\$609.00
Summers-Taylor, Inc.	\$20.0000	\$1,740.00
714-01.01 STRUCTURAL LIGHTING (BRIDGE NOS. 1 AND 2)		
1.000 L	.s	
Bell & Associates Construction, LP	\$23,000.0000	\$23,000.00
Charles Blalock & Sons, Inc.	\$22,139.8500	\$22,139.85
Jones Bros. Contractors, LLC	\$28,000.0000	\$28,000.00
Summers-Taylor, Inc.	\$34,200.0000	\$34,200.00
908-21.01 BEARINGS (WALL NO. 2 REINFORCED NEOPRENE PADS)		
11.000 E	ACH	
Bell & Associates Construction, LP	\$1,100.0000	\$12,100.00
Charles Blalock & Sons, Inc.	\$835.8600	\$9,194.46
Jones Bros. Contractors, LLC	\$1,000.0000	\$11,000.00
Summers-Taylor, Inc.	\$913.0000	\$10,043.00

	UNIT PRICE	EXTENSION
UTILITY CATEGORY		
714-01.69 REMOVE CONDUCTOR	4.000.000 5	
	1,893.000 L.F.	
Bell & Associates Construction, LP	\$2.5000	\$4,732.50
Charles Blalock & Sons, Inc.	\$2.3700	\$4,486.41
Jones Bros. Contractors, LLC	\$0.9700	\$1,836.21
Summers-Taylor, Inc.	\$1.1000	\$2,082.30
714-02.05 ENCASED CONDUIT (2-2" CONDUIT)		
	126.000 L.F.	
Bell & Associates Construction, LP	\$45.0000	\$5,670.00
Charles Blalock & Sons, Inc.	\$41.4100	\$5,217.66
Jones Bros. Contractors, LLC	\$67.5500	\$8,511.30
Summers-Taylor, Inc.	\$32.0000	\$4,032.00
714-03.01 DIRECT BURIAL CONDUIT (2" PVC, SCHEDULE 40)		
,	33.000 L.F.	
Bell & Associates Construction, LP	\$23.0000	\$759.00
Charles Blalock & Sons, Inc.	\$21.3200	\$703.56
Jones Bros. Contractors, LLC	\$6.2000	\$204.60
Summers-Taylor, Inc.	\$20.0000	\$660.00
714-05.05 PULL BOXES (13"x18"x18" QUAZITE GROUND MOUNTED)		
714-03.03 FOLL BOXES (13 X16 X16 QUAZITE GROUND MOUNTED)	3.000 EACH	
Bell & Associates Construction, LP	\$920.0000	\$2,760.00
Charles Blalock & Sons, Inc.	\$920.0000	\$2,760.00 \$2,706.84
Jones Bros. Contractors, LLC	\$1,200.0000	\$3,600.00
Summers-Taylor, Inc.	\$400.0000	\$1,200.00
Cultimers raylor, inc.	Ψ-00.0000	ψ1,200.00
714-05.06 PULL BOXES (12"x12"x6" NEMA 3R)		
	1.000 EACH	
Bell & Associates Construction, LP	\$775.0000	\$775.00
Charles Blalock & Sons, Inc.	\$762.2000	\$762.20
Jones Bros. Contractors, LLC	\$635.0000	\$635.00
Summers-Taylor, Inc.	\$480.0000	\$480.00
714-05.46 WOOD POLE (DESCRIPTION)		
,	1.000 EACH	
Bell & Associates Construction, LP		¢2 200 00
Charles Blalock & Sons, Inc.	\$2,300.0000 \$2,336.0400	\$2,300.00 \$2,336.04
Jones Bros. Contractors, LLC	\$1,000.0000	\$1,000.00
Summers-Taylor, Inc.	\$1,600.0000	\$1,600.00
Summers-rayior, inc.	\$1,000.0000	\$1,000.00
714-06.05 CABLE (1/C # 6 AWG)		
	7,912.000 L.F.	
Bell & Associates Construction, LP	\$1.8800	\$14,874.56
Charles Blalock & Sons, Inc.	\$1.8500	\$14,637.20
Jones Bros. Contractors, LLC	\$0.6000	\$4,747.20
Summers-Taylor, Inc.	\$1.6000	\$12,659.20

		CO	NIRACI CNIU14
		UNIT PRICE	EXTENSION
714-06.06 CABLE (1/C # 4 AWG)			
	318.000 L.F.		
Bell & Associates Construction, LP		\$2.0900	\$664.62
Charles Blalock & Sons, Inc.		\$2.0600	\$655.08
Jones Bros. Contractors, LLC		\$0.7800	\$248.04
Summers-Taylor, Inc.		\$2.0000	\$636.00
714-08.09 LIGHT STANDARDS (BLACK STEEL)			
	16.000 EACH		
Bell & Associates Construction, LP		\$4,500.0000	\$72,000.00
Charles Blalock & Sons, Inc.		\$4,384.7100	\$70,155.36
Jones Bros. Contractors, LLC		\$4,250.0000	\$68,000.00
Summers-Taylor, Inc.		\$4,780.0000	\$76,480.00
714-08.33 REMOVAL OF EXISTING COBRA HEAD LUMINAIRE			
	19.000 EACH		
Bell & Associates Construction, LP		\$130.0000	\$2,470.00
Charles Blalock & Sons, Inc.		\$126.6900	\$2,407.11
Jones Bros. Contractors, LLC		\$160.0000	\$3,040.00
Summers-Taylor, Inc.		\$54.0000	\$1,026.00
714-08.34 REMOVAL OF LIGHT STANDARD			
	17.000 EACH		
Bell & Associates Construction, LP		\$525.0000	\$8,925.00
Charles Blalock & Sons, Inc.		\$498.5200	\$8,474.84
Jones Bros. Contractors, LLC		\$160.0000	\$2,720.00
Summers-Taylor, Inc.		\$160.0000	\$2,720.00
714-09.09 LUMINAIRES (ROADWAY LED)			
	18.000 EACH		
Bell & Associates Construction, LP		\$700.0000	\$12,600.00
Charles Blalock & Sons, Inc.		\$667.4400	\$12,013.92
Jones Bros. Contractors, LLC		\$635.0000	\$11,430.00
Summers-Taylor, Inc.		\$1,450.0000	\$26,100.00
714-09.10 LUMINAIRES (WALPACK LED)			
	2.000 EACH		
Bell & Associates Construction, LP		\$1,100.0000	\$2,200.00
Charles Blalock & Sons, Inc.		\$1,045.4500	\$2,090.90
Jones Bros. Contractors, LLC		\$3,950.0000	\$7,900.00
Summers-Taylor, Inc.		\$1,390.0000	\$2,780.00
714-10.01 OVERHEAD CONDUCTORS (#2 TRIPLEX)			
	153.000 L.F.		
Bell & Associates Construction, LP		\$2.1000	\$321.30
Charles Blalock & Sons, Inc.		\$2.0600	\$315.18
Jones Bros. Contractors, LLC		\$7.5200	\$1,150.56
Summers-Taylor, Inc.		\$15.0000	\$2,295.00

			CONTRACT CNT014
		UNIT PRICE	EXTENSION
714-12.01	CONTROL CENTER (NO. 1)		
	. ,	1.000 LS	
	Bell & Associates Construction, LP	\$8,200.0000	\$8,200.00
	Charles Blalock & Sons, Inc.	\$8,030.9100	\$8,030.91
	Jones Bros. Contractors, LLC	\$8,250.0000	
	Summers-Taylor, Inc.	\$9,960.0000	\$9,960.00
714-12.02	CONTROL CENTER (NO. 2)		
		1.000 LS	
	Bell & Associates Construction, LP	\$6,100.0000	\$6,100.00
	Charles Blalock & Sons, Inc.	\$6,006.9600	\$6,006.96
	Jones Bros. Contractors, LLC	\$8,250.0000	• •
	Summers-Taylor, Inc.	\$7,640.0000	\$7,640.00
790-01.03	POLE 30FT CLASS 4 WOOD		
		1.000 EACH	
	Bell & Associates Construction, LP	\$4,000.0000	\$4,000.00
	Charles Blalock & Sons, Inc.	\$3,802.8100	\$3,802.81
	Jones Bros. Contractors, LLC Summers-Taylor, Inc.	\$3,692.0000 \$3,950.0000	\$3,692.00 \$3,950.00
	Summers-rayior, mc.	\$3,930.0000	φ3,930.00
790-02.04	POLE 35FT CLASS 5 WOOD		
		1.000 EACH	
	Bell & Associates Construction, LP	\$4,000.0000	\$4,000.00
	Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC	\$3,859.6100 \$3,747.1900	\$3,859.61 \$3,747.19
	Summers-Taylor, Inc.	\$4,000.0000	\$4,000.00
	ouninois rayior, mo.	Ψ-1,000.0000	ψ+,000.00
790-04.04	POLE 45FT CLASS 4 WOOD		
		1.000 EACH	
	Bell & Associates Construction, LP	\$4,600.0000	\$4,600.00
	Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC	\$4,568.3800 \$4,435.3200	\$4,568.38 \$4,435.32
	Summers-Taylor, Inc.	\$4,740.0000	\$4,740.00
	Cammoro Taylor, mo.	ψ1,7 10.0000	ψ1,7 10.00
790-05.02	POLE 50FT CLASS 2 WOOD		
		4.000 EACH	
	Bell & Associates Construction, LP	\$5,500.0000 \$5,504.7700	\$22,000.00
	Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC	\$5,524.7700 \$5,363.8500	
	Summers-Taylor, Inc.	\$5,730.0000	\$22,920.00
	Cammoro rayion, mo.	фо,. ос. ос. ос. ос. ос. ос. ос. ос. ос. ос	ΨΕΕ,ΘΕΘ.ΘΘ
790-06.01	POLE 55FT CLASS 1 WOOD	4 000 5 1 5 1 1	
	B.11.0.4	1.000 EACH	^
	Bell & Associates Construction, LP	\$6,500.0000 \$6,507.0000	\$6,500.00 \$6,507.00
	Charles Blalock & Sons, Inc.	\$6,507.0000	\$6,507.00

Jones Bros. Contractors, LLC

Summers-Taylor, Inc.

\$6,317.00

\$6,750.00

\$6,317.0000

\$6,750.0000

		co	NTRACT CNT014
		UNIT PRICE	EXTENSION
790-21.08 1PH DEADEND 15KV			
	1.000 EACH		
Bell & Associates Construction, LP		\$165.0000	\$165.00
Charles Blalock & Sons, Inc.		\$163.0000	\$163.00
Jones Bros. Contractors, LLC		\$158.2500	\$158.25
Summers-Taylor, Inc.		\$170.0000	\$170.00
790-21.09 1PH PRIMARY TAP 15KV			
	1.000 EACH		
Bell & Associates Construction, LP		\$165.0000	\$165.00
Charles Blalock & Sons, Inc.		\$163.0000	\$163.00
Jones Bros. Contractors, LLC		\$158.2500	\$158.25
Summers-Taylor, Inc.		\$170.0000	\$170.00
790-25.01 3PH CROSSARM SGL 15KV			
	3.000 EACH		
Bell & Associates Construction, LP		\$2,400.0000	\$7,200.00
Charles Blalock & Sons, Inc.		\$2,427.9600	\$7,283.88
Jones Bros. Contractors, LLC		\$2,357.3200	\$7,071.96
Summers-Taylor, Inc.		\$2,518.0000	\$7,554.00
790-25.10 3PH CROSSARM DBL PRIM SUPPORT 15KV			
	1.000 EACH		
Bell & Associates Construction, LP		\$4,500.0000	\$4,500.00
Charles Blalock & Sons, Inc.		\$4,471.0000	\$4,471.00
Jones Bros. Contractors, LLC		\$4,340.7800	\$4,340.78
Summers-Taylor, Inc.		\$4,635.0000	\$4,635.00
790-25.21 3PH CROSSARM DEADEND SGL 15KV			
	2.000 EACH		
Bell & Associates Construction, LP		\$3,400.0000	\$6,800.00
Charles Blalock & Sons, Inc.		\$3,434.4900	\$6,868.98
Jones Bros. Contractors, LLC		\$3,334.4500	\$6,668.90
Summers-Taylor, Inc.		\$3,560.0000	\$7,120.00
790-25.23 3PH CROSSARM DDE 15KV			
	1.000 EACH		
Bell & Associates Construction, LP		\$3,750.0000	\$3,750.00
Charles Blalock & Sons, Inc.		\$3,692.2500	\$3,692.25
Jones Bros. Contractors, LLC		\$3,584.7100	\$3,584.71
Summers-Taylor, Inc.		\$3,830.0000	\$3,830.00
790-25.26 3PH CROSSARM DDE 10FT ARMS 15KV			
	1.000 EACH		
Bell & Associates Construction, LP		\$3,550.0000	\$3,550.00
Charles Blalock & Sons, Inc.		\$3,557.0800	\$3,557.08
Jones Bros. Contractors, LLC		\$3,453.4800	\$3,453.48
Summore Taylor, Inc.		¢3 600 0000	¢2 600 00

Summers-Taylor, Inc.

\$3,690.00

\$3,690.0000

		UNIT PRICE	EXTENSION
790-30.06 SECONDARY CONDUCTOR 6 AL DUPLEX			
	95.000 L.F.		
Dall 9 Associates Construction LD	93.000 L.F.	ФС 0000	# 500.50
Bell & Associates Construction, LP		\$6.3000	\$598.50
Charles Blalock & Sons, Inc.		\$6.2600	\$594.70
Jones Bros. Contractors, LLC		\$6.0800	\$577.60
Summers-Taylor, Inc.		\$6.5000	\$617.50
790-30.13 SECONDARY CONDUCTOR 2 AL TRIPLEX			
	126.000 L.F.		
Bell & Associates Construction, LP		\$10.0000	\$1,260.00
Charles Blalock & Sons, Inc.		\$9.9700	\$1,256.22
Jones Bros. Contractors, LLC		\$9.6800	\$1,219.68
Summers-Taylor, Inc.		\$10.5000	\$1,323.00
Cammors Taylor, mor		ψ.σ.σσσσ	Ψ.,σ=σ.σσ
790-31.11 SERVICE CONDUCTOR 2 AL TRIPLEX			
790-31:11 SERVICE CONDUCTOR 2 AL TRIPLEX			
	21.000 L.F.		
Bell & Associates Construction, LP		\$20.0000	\$420.00
Charles Blalock & Sons, Inc.		\$19.9500	\$418.95
Jones Bros. Contractors, LLC		\$19.3700	\$406.77
Summers-Taylor, Inc.		\$21.0000	\$441.00
790-32.01 DOWN GUY - THROUGH BOLT TYPE			
	4.000 EACH		
Dall 9 Accessisted Construction LD	4.000 EACH	# 000 0000	#0.400.00
Bell & Associates Construction, LP		\$600.0000	\$2,400.00
Charles Blalock & Sons, Inc.		\$599.7600	\$2,399.04
Jones Bros. Contractors, LLC		\$582.2900	\$2,329.16
Summers-Taylor, Inc.		\$622.0000	\$2,488.00
790-32.07 OH GUY - THROUGH BOLT TYPE			
	3.000 EACH		
Bell & Associates Construction, LP		\$620,0000	\$1,860.00
Charles Blalock & Sons, Inc.		\$623.2200	\$1,869.66
Jones Bros. Contractors, LLC		\$605.0700	\$1,815.21
Summers-Taylor, Inc.		\$646.0000	\$1,938.00
Guilliners-Taylor, inc.		ΨΟ-10.0000	ψ1,330.00
TOO OO OO COREW TYPE ANOLIOR COOKING COOKING			
790-33.03 SCREW TYPE ANCHOR 6,000LB-8,000LB			
	2.000 EACH		
Bell & Associates Construction, LP		\$1,105.0000	\$2,210.00
Charles Blalock & Sons, Inc.		\$1,118.3800	\$2,236.76
Jones Bros. Contractors, LLC		\$1,085.8000	\$2,171.60
Summers-Taylor, Inc.		\$1,160.0000	\$2,320.00
790-33.04 SCREW TYPE ANCHOR 10,000LB-12,000LB			
-,	1.000 EACH		
Dall 9 Accession Control 12	1.000 EACH	Φ4 400 0000	# 4 400 00
Bell & Associates Construction, LP		\$1,130.0000	\$1,130.00
Charles Blalock & Sons, Inc.		\$1,143.0600	\$1,143.06
Jones Bros. Contractors, LLC		\$1,109.7700	\$1,109.77
Summers-Taylor, Inc.		\$1,185.0000	\$1,185.00

		co	NTRACT CNT014
		UNIT PRICE	EXTENSION
790-36.05 TRANSFER SECONDARY			
730-30.03 TRANSPER SECONDARY	3.000 EACH		
Bell & Associates Construction, LP	3.000 EAGI1	\$1,500.0000	\$4,500.00
Charles Blalock & Sons, Inc.		\$1,454.9400	\$4,364.82
Jones Bros. Contractors, LLC		\$1,412.5600	\$4,237.68
Summers-Taylor, Inc.		\$1,510.0000	\$4,530.00
790-36.06 TRANSFER LIGHT			
	4.000 EACH		
Bell & Associates Construction, LP	4.000 EXCIT	\$630.0000	\$2,520.00
Charles Blalock & Sons, Inc.		\$636.6200	\$2,546.48
Jones Bros. Contractors, LLC		\$618.0800	\$2,472.32
Summers-Taylor, Inc.		\$660.0000	\$2,640.00
790-40.03 OH COND 1/0 6/1 ACSR RAVEN			
	3,104.000 L.F.		
Bell & Associates Construction, LP	•	\$8.5000	\$26,384.00
Charles Blalock & Sons, Inc.		\$8.4600	\$26,259.84
Jones Bros. Contractors, LLC		\$8.2100	\$25,483.84
Summers-Taylor, Inc.		\$8.7500	\$27,160.00
790-41.02 UG PRI COND 1 AL 15KV			
	5,874.000 L.F.		
Bell & Associates Construction, LP		\$7.7500	\$45,523.50
Charles Blalock & Sons, Inc.		\$7.7300	\$45,406.02
Jones Bros. Contractors, LLC		\$7.5000	\$44,055.00
Summers-Taylor, Inc.		\$8.0000	\$46,992.00
790-42.07 6IN DIA GALVINIZED METAL PIPE			
	3,900.000 L.F.		
Bell & Associates Construction, LP		\$95.0000	\$370,500.00
Charles Blalock & Sons, Inc.		\$92.7000	\$361,530.00
Jones Bros. Contractors, LLC		\$90.0000	\$351,000.00
Summers-Taylor, Inc.		\$96.0000	\$374,400.00
790-42.12 CONDUIT - POLE MTD - 2IN SCH 80 PVC			
	1.000 L.F.		
Bell & Associates Construction, LP		\$1.3000	\$1.30
Charles Blalock & Sons, Inc.		\$3.0000	\$3.00
Jones Bros. Contractors, LLC		\$1.2500	\$1.25
Summers-Taylor, Inc.		\$1.5000	\$1.50

674.000 L.F.

790-42.26 __ DUCT BANK @ __IN-__IN DEPTH

Bell & Associates Construction, LP

Charles Blalock & Sons, Inc.

Jones Bros. Contractors, LLC

Summers-Taylor, Inc.

PAGE	

\$171,870.00

\$214,945.34

\$168,500.00 \$179,958.00

\$255.0000

\$318.9100

\$250.0000

\$267.0000

		UNIT PRICE	EXTENSION
790-42.27 DUCT BANK @ININ DEPTH			
	24.000 L.F.		
Bell & Associates Construction, LP		\$310.0000	\$7,440.00
Charles Blalock & Sons, Inc.		\$309.0000	\$7,416.00
Jones Bros. Contractors, LLC		\$300.0000	\$7,200.00
Summers-Taylor, Inc.		\$320.0000	\$7,680.00
790-43.01 LOADBREAK ELBOW 200A 15KV			
	6.000 EACH		
Bell & Associates Construction, LP		\$1,600.0000	\$9,600.00
Charles Blalock & Sons, Inc.		\$1,545.0000	\$9,270.00
Jones Bros. Contractors, LLC		\$1,500.0000	\$9,000.00
Summers-Taylor, Inc.		\$1,600.0000	\$9,600.00
790-43.06 LOADBREAK JUNCTION 4 PT 200A 15KV			
	3.000 EACH		
Bell & Associates Construction, LP		\$3,600.0000	\$10,800.00
Charles Blalock & Sons, Inc.		\$3,605.0000	\$10,815.00
Jones Bros. Contractors, LLC		\$3,500.0000	\$10,500.00
Summers-Taylor, Inc.		\$3,740.0000	\$11,220.00
790-43.47 PRIMARY PULLBOX			
	2.000 EACH		
Bell & Associates Construction, LP		\$80,000.0000	\$160,000.00
Charles Blalock & Sons, Inc.		\$80,920.4800	\$161,840.96
Jones Bros. Contractors, LLC		\$78,563.5700	\$157,127.14
Summers-Taylor, Inc.		\$83,900.0000	\$167,800.00
790-46.02 1PH TRANSFORMER CONV W/POLE MTD FUSE & LA			
	3.000 EACH		
Bell & Associates Construction, LP		\$3,000.0000	\$9,000.00
Charles Blalock & Sons, Inc.		\$3,016.9500	\$9,050.85
Jones Bros. Contractors, LLC		\$2,929.0800	\$8,787.24
Summers-Taylor, Inc.		\$3,130.0000	\$9,390.00
790-60.01 1PH FUSE CUTOUT XARM MOUNT 15KV			
	3.000 EACH		
Bell & Associates Construction, LP		\$850.0000	\$2,550.00
Charles Blalock & Sons, Inc.		\$855.1800	\$2,565.54
Jones Bros. Contractors, LLC		\$830.2700	\$2,490.81
Summers-Taylor, Inc.		\$887.0000	\$2,661.00
790-68.01 POLE GROUND ROD TYPE			
	6.000 EACH		
Bell & Associates Construction, LP	0.000 LAOII	\$595.0000	\$3,570.00
Charles Blalock & Sons, Inc.		\$595.0000 \$598.3500	\$3,590.10
Jones Bros. Contractors, LLC		\$580.9200	\$3,485.52
Summers-Taylor, Inc.		\$621.0000	\$3,726.00
		+	+=,: ==::

CONTRACT CNT014 UNIT PRICE EXTENSION				
Pole Ground Plate Type			co	NTRACT CNT014
Bell & Associates Construction, LP			UNIT PRICE	EXTENSION
Bell & Associates Construction, LP	790-68.02 POLE GROUND PLATE TYPE			
Charles Blalock & Sons, Inc. \$592,7900 \$1,185.8b Jones Bros. Contractors, LLC \$575.5200 \$1,151.04 \$1,000 \$1,230.00 \$1,23		2.000 EACH		
Charles Blalock & Sons, Inc. \$592,7900 \$1,185.8b Jones Bros. Contractors, LLC \$575.5200 \$1,151.04 \$1,230.00 \$1	Bell & Associates Construction, LP		\$590,0000	\$1.180.00
Summers-Taylor, Inc. \$615,0000 \$1,230.00 Taylor, Inc. \$8.000 EACH \$320,0000 \$2,560.00 Charles Blaiock & Sons, Inc. \$3319,2500 \$2,560.00 Charles Blaiock & Sons, Inc. \$330,8800 \$2,471.84 Summers-Taylor, Inc. \$330,0000 \$2,640.00 Taylor, Inc. \$300,0000 \$2,0000 Taylor, Inc. \$105,0000 \$2,0000 Taylor, Inc. \$100,0000 \$2,0000 Taylor, Inc. \$100,0000 \$2,0000 Taylor, Inc. \$6,0000 \$48,527.40 Taylor, Inc. \$6,0000 \$48,527.40 Taylor, Inc. \$6,0000 \$48,527.40 Taylor, Inc. \$6,0000 \$46,962.00 Taylor, Inc. \$1,600,0000 \$19,000.00 Taylor, Inc. \$1,650,0000 \$19,000.00 Taylor, Inc. \$1,650,0000 \$19,000.00 Taylor, Inc. \$1,650,0000 \$19,000.00 Taylor, Inc. \$6,17,3000 \$19,000.00 Taylor, Inc. \$6,17,3000 \$23,460.82 Taylor, Inc.				
Page	Jones Bros. Contractors, LLC		\$575.5200	\$1,151.04
Bell & Associates Construction, LP	Summers-Taylor, Inc.		\$615.0000	\$1,230.00
Bell & Associates Construction, LP	790-68.11 DEAD END SHOE			
Charles Blalock & Sons, Inc. \$318,2500 \$2,546,00 Jones Bros. Contractors, LLC \$308,9800 \$2,471.84 Summers-Taylor, Inc. \$330,0000 \$2,640.00 \$2,		8.000 EACH		
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. S18.26.00 S2.471.84 Summers-Taylor, Inc. S308.9800 S2.471.84 Summers-Taylor, Inc. S30.0000 S2.640.00 S2.6	Bell & Associates Construction, LP		\$320.0000	\$2,560.00
Jones Bros. Contractors, LLC Summers-Taylor, Inc. 790-69.32 ARM PIN			·	
T90-69.32 ARM PIN				
Bell & Associates Construction, LP	Summers-Taylor, Inc.		\$330.0000	\$2,640.00
Bell & Associates Construction, LP	790-69.32 ARM PIN			
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC \$99,3300 \$198.66 Summers-Taylor, Inc. \$110,0000 \$220.00 \$198.66 Summers-Taylor, Inc. \$110,0000 \$220.00 \$199.000 \$220.00 \$199.000 \$220.00 \$199.000 \$220.00 \$199.000 \$220.00 \$199.000 \$199.000 \$220.00 \$199.00		2.000 EACH		
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC \$99,3300 \$198.66 Summers-Taylor, Inc. \$110,0000 \$220.00 \$198.66 Summers-Taylor, Inc. \$110,0000 \$220.00 \$199.000 \$220.00 \$199.000 \$220.00 \$199.000 \$220.00 \$199.000 \$220.00 \$199.000 \$199.000 \$220.00 \$199.00	Bell & Associates Construction, LP		\$105.0000	\$210.00
Jones Bros. Contractors, LLC \$99.3300 \$198.66 \$10.0000 \$220.00 790-98.01 REMOVE WIRE				
790-98.01 REMOVE WIRE 7,827.000 L.F. Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 12.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. 12.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 31,600.0000 \$19,200.00 Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 38.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Summers-Taylor, Inc. 38.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Summers-Taylor, Inc. 38.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Summers-Taylor, Inc. Self-7.3900 \$23,180.00 Charles Blalock & Sons, Inc. Self-7.3900 \$23,460.82 Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$640.0000 \$24,320.00	Jones Bros. Contractors, LLC		\$99.3300	\$198.66
7,827.000 L.F. Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. Bell & Associates Construction, LP T90-98.02 REMOVE POLES 12.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 12.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. 38.000 EACH Bell & Associates Construction, LP Sin,541.3500 Sin,650.0000 Sin,8496.20 Summers-Taylor, Inc. 38.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Sin,650.0000 Sin,800.000	Summers-Taylor, Inc.		\$110.0000	\$220.00
Bell & Associates Construction, LP	790-98.01 REMOVE WIRE			
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. *\$6.1800 \$48,370.86 \$6.0000 \$46,962.00 \$50,092.80 **790-98.02 REMOVE POLES **12.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. *\$1,600.0000 \$19,200.00 \$19,200.00 \$11,587.5900 \$11,587.5900 \$13,051.08 Jones Bros. Contractors, LLC \$1,541.3500 \$118,496.20 \$1,650.0000 \$19,800.00 **790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS **Bell & Associates Construction, LP Charles Blalock & Sons, Inc. \$610.0000 \$23,180.00 Charles Blalock & Sons, Inc. \$617.3900 \$23,460.82 Jones Bros. Contractors, LLC \$599.4100 \$22,777.58 Summers-Taylor, Inc. \$640.0000 \$24,320.00		7,827.000 L.F.		
Jones Bros. Contractors, LLC Summers-Taylor, Inc. 86.0000 \$46,962.00 \$50,092.80 790-98.02 REMOVE POLES 12.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$1,600.0000 \$11,587.5900 \$11,587.5900 \$11,587.5900 \$11,541.3500 \$11,541.3500 \$11,8496.20 \$1,650.0000 \$11,800.000 \$11,800	Bell & Associates Construction, LP		\$6.2000	\$48,527.40
Summers-Taylor, Inc. \$6.4000 \$50,092.80 790-98.02 REMOVE POLES 12.000 EACH Bell & Associates Construction, LP \$1,600.0000 \$19,200.00 Charles Blalock & Sons, Inc. \$1,587.5900 \$19,051.08 Jones Bros. Contractors, LLC \$1,541.3500 \$18,496.20 Summers-Taylor, Inc. \$1,650.0000 \$19,800.00 790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS 38.000 EACH Bell & Associates Construction, LP \$610.0000 \$23,180.00 Charles Blalock & Sons, Inc. \$617.3900 \$23,460.82 Jones Bros. Contractors, LLC \$599.4100 \$22,777.58 Summers-Taylor, Inc. \$640.0000 \$24,320.00				
790-98.02 REMOVE POLES 12.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. Bell & Associates Construction, LP Bell & Associates Construction, LP Charles Blalock & Sons, Inc. 38.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Signature Service Servic	Jones Bros. Contractors, LLC		\$6.0000	\$46,962.00
12.000 EACH Sell & Associates Construction, LP \$1,600.0000 \$19,200.00 \$19,200.00 \$19,200.00 \$19,000.00 \$19,000.00 \$19,000.00 \$19,000.00 \$19,000.00 \$19,000.00 \$19,000.00 \$19,000.00 \$19,400.00 \$19,800.00 \$19	Summers-Taylor, Inc.		\$6.4000	\$50,092.80
Bell & Associates Construction, LP \$1,600.0000 \$19,200.00 Charles Blalock & Sons, Inc. \$1,587.5900 \$19,051.08 Jones Bros. Contractors, LLC \$1,541.3500 \$18,496.20 Summers-Taylor, Inc. \$1,650.0000 \$19,800.00 790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS 38.000 EACH Bell & Associates Construction, LP \$610.0000 \$23,180.00 Charles Blalock & Sons, Inc. \$617.3900 \$23,460.82 Jones Bros. Contractors, LLC \$599.4100 \$22,777.58 Summers-Taylor, Inc. \$640.0000 \$24,320.00	790-98.02 REMOVE POLES			
Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$1,587.5900 \$18,496.20 \$1,541.3500 \$19,800.00 \$19,800.00		12.000 EACH		
Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$1,541.3500 \$18,496.20 \$1,650.0000 \$19,800.00 790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS 38.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$1,541.3500 \$18,496.20 \$19,800.00 \$19,800.00 \$23,180.00 \$23,180.00 \$23,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82 \$3,180.00 \$23,460.82	Bell & Associates Construction, LP		\$1,600.0000	\$19,200.00
Summers-Taylor, Inc. \$1,650.0000 \$19,800.00 790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS 38.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. \$610.0000 \$23,180.00 Charles Bros. Contractors, LLC Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$599.4100 \$22,777.58 Summers-Taylor, Inc. \$640.0000 \$24,320.00	Charles Blalock & Sons, Inc.		\$1,587.5900	\$19,051.08
790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS 38.000 EACH Bell & Associates Construction, LP Charles Blalock & Sons, Inc. Jones Bros. Contractors, LLC Summers-Taylor, Inc. \$610.0000 \$23,180.00 \$23,460.82 \$599.4100 \$22,777.58 \$640.0000 \$24,320.00	Jones Bros. Contractors, LLC		\$1,541.3500	\$18,496.20
38.000 EACH Bell & Associates Construction, LP \$610.0000 \$23,180.00 Charles Blalock & Sons, Inc. \$617.3900 \$23,460.82 Jones Bros. Contractors, LLC \$599.4100 \$22,777.58 Summers-Taylor, Inc. \$640.0000 \$24,320.00	Summers-Taylor, Inc.		\$1,650.0000	\$19,800.00
Bell & Associates Construction, LP \$610.0000 \$23,180.00 Charles Blalock & Sons, Inc. \$617.3900 \$23,460.82 Jones Bros. Contractors, LLC \$599.4100 \$22,777.58 Summers-Taylor, Inc. \$640.0000 \$24,320.00	790-98.03 REMOVE FRAMING/ASSOCIATED APPARATUS			
Charles Blalock & Sons, Inc. \$617.3900 \$23,460.82 Jones Bros. Contractors, LLC \$599.4100 \$22,777.58 Summers-Taylor, Inc. \$640.0000 \$24,320.00		38.000 EACH		
Charles Blalock & Sons, Inc. \$617.3900 \$23,460.82 Jones Bros. Contractors, LLC \$599.4100 \$22,777.58 Summers-Taylor, Inc. \$640.0000 \$24,320.00	Bell & Associates Construction, LP		\$610.0000	\$23,180.00
Summers-Taylor, Inc. \$640.0000 \$24,320.00			\$617.3900	\$23,460.82
			\$599.4100	
791-01.10 12IN OPEN CUT STEEL CASING PIPE	Summers-Taylor, Inc.		\$640.0000	\$24,320.00
	791-01.10 12IN OPEN CUT STEEL CASING PIPE			

270.000 L.F.

Bell & Associates Construction, LP

Charles Blalock & Sons, Inc.

Jones Bros. Contractors, LLC

Summers-Taylor, Inc.

\$118,800.00

\$119,167.20

\$115,695.00 \$123,660.00

\$440.0000

\$441.3600

\$428.5000

\$458.0000

	CONTRACT		DNIRACI CNIU14
		UNIT PRICE	EXTENSION
791-02.04 4IN MDPE GAS MAIN			
	1,725.000 L.F.		
Bell & Associates Construction, LP	·	\$80.0000	\$138,000.00
Charles Blalock & Sons, Inc.		\$76.2200	\$131,479.50
Jones Bros. Contractors, LLC		\$75.0000	\$129,375.00
Summers-Taylor, Inc.		\$79.0000	\$136,275.00
791-05.04 BORE/JACK 12IN - STEEL CASING PIPE - UNCON.			
	520.000 L.F.		
Bell & Associates Construction, LP		\$920.0000	\$478,400.00
Charles Blalock & Sons, Inc.		\$927.0000	\$482,040.00
Jones Bros. Contractors, LLC		\$900.0000	\$468,000.00
Summers-Taylor, Inc.		\$961.0000	\$499,720.00
791-06.02 CONNECT TO 2IN EX. PE MAIN			
	2.000 EACH		
Bell & Associates Construction, LP		\$7,700.0000	\$15,400.00
Charles Blalock & Sons, Inc.		\$7,725.0000	\$15,450.00
Jones Bros. Contractors, LLC		\$7,500.0000	\$15,000.00
Summers-Taylor, Inc.		\$8,010.0000	\$16,020.00
791-06.03 CONNECT TO 4IN EX. PE MAIN			
	3.000 EACH		
Bell & Associates Construction, LP		\$9,200.0000	\$27,600.00
Charles Blalock & Sons, Inc.		\$9,270.0000	\$27,810.00
Jones Bros. Contractors, LLC		\$9,000.0000	\$27,000.00
Summers-Taylor, Inc.		\$9,610.0000	\$28,830.00
791-07.02 4IN PE GAS VALVE ASSEMBLY			
	10.000 EACH		
Bell & Associates Construction, LP		\$1,550.0000	\$15,500.00
Charles Blalock & Sons, Inc.		\$1,545.0000	\$15,450.00
Jones Bros. Contractors, LLC		\$1,500.0000	\$15,000.00
Summers-Taylor, Inc.		\$1,602.0000	\$16,020.00
791-08.04 1-1/4IN SERVICE ASSEMBLY			
	1.000 EACH		
Bell & Associates Construction, LP		\$2,600.0000	\$2,600.00
Charles Blalock & Sons, Inc.		\$2,575.0000	\$2,575.00
Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
Summers-Taylor, Inc.		\$2,670.0000	\$2,670.00
791-08.05 2IN SERVICE ASSEMBLY			
	1.000 EACH		
Bell & Associates Construction, LP		\$3,600.0000	\$3,600.00
Charles Blalock & Sons, Inc.		\$3,605.0000	\$3,605.00
Jones Bros. Contractors, LLC		\$3,500.0000	\$3,500.00
Summers-Taylor, Inc.		\$3,740.0000	\$3,740.00

CONTRACT CNT014

	LINIT PRIOF	EVEL DOON
	UNIT PRICE	EXTENSION
791-08.09 1-1/4IN PE SERVICE PIPE		
	20.000 L.F.	
Bell & Associates Construction, LP	\$42.0000	\$840.00
Charles Blalock & Sons, Inc.	\$41.2000	\$824.00
Jones Bros. Contractors, LLC	\$40.0000	\$800.00
Summers-Taylor, Inc.	\$43.0000	\$860.00
704 00 40 CIN PE OFFICE PIPE		
791-08.10 2IN PE SERVICE PIPE		
	20.000 L.F.	
Bell & Associates Construction, LP	\$42.0000	\$840.00
Charles Blalock & Sons, Inc.	\$41.2000	\$824.00
Jones Bros. Contractors, LLC	\$40.0000	\$800.00
Summers-Taylor, Inc.	\$43.0000	\$860.00
704 00 00 471 D MA ONEONIM ANODEO		
791-09.03 17LB MAGNESIUM ANODES		
	10.000 EACH	
Bell & Associates Construction, LP	\$310.0000	\$3,100.00
Charles Blalock & Sons, Inc.	\$309.0000	\$3,090.00
Jones Bros. Contractors, LLC	\$300.0000	\$3,000.00
Summers-Taylor, Inc.	\$321.0000	\$3,210.00
TO A OO OF DECTORE ACRUMET		
791-09.05 RESTORE ASPHALT		
	200.000 S.Y.	
Bell & Associates Construction, LP	\$235.0000	\$47,000.00
Charles Blalock & Sons, Inc.	\$236.9000	\$47,380.00
Jones Bros. Contractors, LLC	\$230.0000	\$46,000.00
Summers-Taylor, Inc.	\$246.0000	\$49,200.00
704 00 00 PEOTODE OONODETE		
791-09.06 RESTORE CONCRETE		
	85.000 S.Y.	
Bell & Associates Construction, LP	\$255.0000	\$21,675.00
Charles Blalock & Sons, Inc.	\$257.5000	\$21,887.50
Jones Bros. Contractors, LLC	\$250.0000	\$21,250.00
Summers-Taylor, Inc.	\$267.0000	\$22,695.00
791-10.10 RETIRE GAS MAIN		
	1.000 LS	
Bell & Associates Construction, LP	\$11,000.0000	\$11,000.00
Charles Blalock & Sons, Inc.	\$10,300.0000	\$10,300.00
Jones Bros. Contractors, LLC	\$10,000.0000	\$10,000.00
Summers-Taylor, Inc.	\$21,360.0000	\$21,360.00
793-13.08 4IN RGS PIPE		
	75.000 L.F.	
Bell & Associates Construction, LP	\$32.0000	\$2,400.00
Charles Blalock & Sons, Inc.	\$28.0000	\$2,100.00
Jones Bros. Contractors, LLC	\$30.0000	\$2,250.00
Summers-Taylor, Inc.	\$28.0000	\$2,100.00

		UNIT PRICE	EXTENSION
793-13.12 1 DUCT FORMATION @ 36IN DEPTH			
	75.000 L.F.		
Dell 9 Associates Construction LD	75.000 L.F.	#00.0000	#0.400.00
Bell & Associates Construction, LP		\$32.0000	\$2,400.00
Charles Blalock & Sons, Inc.		\$75.0000	\$5,625.00
Jones Bros. Contractors, LLC		\$30.0000	\$2,250.00
Summers-Taylor, Inc.		\$75.0000	\$5,625.00
793-14.26 UNDERGROUND TO OVERHEAD RISER			
	1.000 EACH		
Bell & Associates Construction, LP		\$1,275.0000	\$1,275.00
Charles Blalock & Sons, Inc.		\$2,100.0000	\$2,100.00
Jones Bros. Contractors, LLC		\$1,250.0000	\$1,250.00
Summers-Taylor, Inc.		\$2,085.0000	\$2,085.00
		, ,	, , , , , , , , , , , , , , , , , , , ,
793-16.19 REMOVE TRANSITE CONDUIT			
133-10.13 REMOVE TRANSITE CONDOTT			
	6,195.000 L.F.		
Bell & Associates Construction, LP		\$3.7500	\$23,231.25
Charles Blalock & Sons, Inc.		\$3.7400	\$23,169.30
Jones Bros. Contractors, LLC		\$5.0000	\$30,975.00
Summers-Taylor, Inc.		\$4.7500	\$29,426.25
793-98.01 REMOVE AERIAL CABLE AND WIRE			
	128.000 L.F.		
Bell & Associates Construction, LP		\$1.0500	\$134.40
Charles Blalock & Sons, Inc.		\$10.0000	\$1,280.00
Jones Bros. Contractors, LLC		\$1.0000	\$128.00
Summers-Taylor, Inc.		\$7.5000	\$960.00
Summers-rayior, me.		Ψ1.3000	φ900.00
700 00 OF RETIRE BURIER FACILITIES IN BUACE			
793-98.05 RETIRE BURIED FACILITIES IN PLACE			
	1,020.000 L.F.		
Bell & Associates Construction, LP		\$1.0500	\$1,071.00
Charles Blalock & Sons, Inc.		\$4.5000	\$4,590.00
Jones Bros. Contractors, LLC		\$1.0000	\$1,020.00
Summers-Taylor, Inc.		\$4.2500	\$4,335.00
793-98.07 REMOVE UNDERGROUND TO OVERHEAD RISER			
	1.000 EACH		
	1.000 EACH	4505.000	A =0= 00
Bell & Associates Construction, LP		\$525.0000	\$525.00
Charles Blalock & Sons, Inc.		\$600.0000	\$600.00
Jones Bros. Contractors, LLC		\$500.0000	\$500.00
Summers-Taylor, Inc.		\$535.0000	\$535.00
795-01.04 6IN DIP SLIP JOINT WATER LINE			
	60.000 L.F.		
Bell & Associates Construction, LP		\$100.0000	\$6,000.00
Charles Blalock & Sons, Inc.		\$211.1500	\$12,669.00
Jones Bros. Contractors, LLC		\$92.0000	\$5,520.00
Summers-Taylor, Inc.		\$177.0000	\$10,620.00
Canimoro Taylor, mo.		ψ111.0000	ψ10,020.00

		CONT	
		UNIT PRICE	EXTENSION
795-01.06 8IN DIP SLIP JOINT WATER LINE			
	675.000 L.F.		
Bell & Associates Construction, LP		\$95.0000	\$64,125.00
Charles Blalock & Sons, Inc.		\$206.0000	\$139,050.00
Jones Bros. Contractors, LLC		\$88.0000	\$59,400.00
Summers-Taylor, Inc.		\$167.0000	\$112,725.00
795-01.09 12IN DIP RESTRAINED JOINT WATER LINE			
	125.000 L.F.		
Bell & Associates Construction, LP		\$120.0000	\$15,000.00
Charles Blalock & Sons, Inc.		\$242.0500	\$30,256.25
Jones Bros. Contractors, LLC		\$112.0000	\$14,000.00
Summers-Taylor, Inc.		\$176.0000	\$22,000.00
795-01.10 12IN DIP SLIP JOINT WATER LINE			
	330.000 L.F.		
Bell & Associates Construction, LP		\$105.0000	\$34,650.00
Charles Blalock & Sons, Inc.		\$216.3000	\$71,379.00
Jones Bros. Contractors, LLC		\$99.0000	\$32,670.00
Summers-Taylor, Inc.		\$186.0000	\$61,380.00
795-06.04 CONNECT TO 6IN WATER LINE			
	3.000 EACH		
Bell & Associates Construction, LP		\$2,600.0000	\$7,800.00
Charles Blalock & Sons, Inc.		\$7,725.0000	\$23,175.00
Jones Bros. Contractors, LLC		\$2,518.0000	\$7,554.00
Summers-Taylor, Inc.		\$2,290.0000	\$6,870.00
795-06.05 CONNECT TO 8IN WATER LINE			
	1.000 EACH		
Bell & Associates Construction, LP		\$2,600.0000	\$2,600.00
Charles Blalock & Sons, Inc.		\$7,725.0000	\$7,725.00
Jones Bros. Contractors, LLC		\$2,518.0000	\$2,518.00
Summers-Taylor, Inc.		\$2,380.0000	\$2,380.00
795-06.07 CONNECT TO 12IN WATER LINE			
	1.000 EACH		
Bell & Associates Construction, LP		\$3,250.0000	\$3,250.00
Charles Blalock & Sons, Inc.		\$13,905.0000	\$13,905.00
Jones Bros. Contractors, LLC		\$3,021.0000	\$3,021.00
Summers-Taylor, Inc.		\$4,480.0000	\$4,480.00
795-08.04 6IN GATE VALVE ASSEMBLY			
	1.000 EACH		
Bell & Associates Construction, LP		\$2,300.0000	\$2,300.00
Charles Blalock & Sons, Inc.		\$1,442.0000	\$1,442.00
Jones Bros. Contractors, LLC		\$2,252.0000	\$2,252.00
Summers-Taylor, Inc.		\$1,010.0000	\$1,010.00

CONTRACT CNT014

		UNIT PRICE	EXTENSION
795-08.05 8IN GATE VALVE ASSEMBLY			
	2.000 EACH		
Bell & Associates Construction, LP		\$2,750.0000	\$5,500.00
Charles Blalock & Sons, Inc.		\$2,575.0000	\$5,150.00
Jones Bros. Contractors, LLC		\$2,702.0000	\$5,404.00
Summers-Taylor, Inc.		\$1,290.0000	\$2,580.00
795-08.09 12IN GATE VALVE ASSEMBLY			
	4.000 EACH		
Bell & Associates Construction, LP		\$4,100.0000	\$16,400.00
Charles Blalock & Sons, Inc.		\$4,120.0000	\$16,480.00
Jones Bros. Contractors, LLC		\$3,980.0000	\$15,920.00
Summers-Taylor, Inc.		\$2,580.0000	\$10,320.00
795-09.13 3IN COPPER SERVICE PIPE			
	20.000 L.F.		
Bell & Associates Construction, LP		\$90.0000	\$1,800.00
Charles Blalock & Sons, Inc.		\$103.0000	\$2,060.00
Jones Bros. Contractors, LLC		\$83.0000	\$1,660.00
Summers-Taylor, Inc.		\$175.0000	\$3,500.00
795-09.14 3/4IN HDPE SERVICE PIPE			
	80.000 L.F.		
Bell & Associates Construction, LP		\$40.0000	\$3,200.00
Charles Blalock & Sons, Inc.		\$77.2500	\$6,180.00
Jones Bros. Contractors, LLC		\$37.0000	\$2,960.00
Summers-Taylor, Inc.		\$53.0000	\$4,240.00
795-09.28 3/4IN COPPER SERVICE PIPE			
	80.000 L.F.		
Bell & Associates Construction, LP		\$40.0000	\$3,200.00
Charles Blalock & Sons, Inc.		\$77.2500	\$6,180.00
Jones Bros. Contractors, LLC		\$37.0000	\$2,960.00
Summers-Taylor, Inc.		\$48.5000	\$3,880.00
795-11.02 FIRE HYDRANT ASSEMBLY			
	3.000 EACH		
Bell & Associates Construction, LP		\$6,100.0000	\$18,300.00
Charles Blalock & Sons, Inc.		\$6,180.0000	\$18,540.00
Jones Bros. Contractors, LLC		\$5,977.0000	\$17,931.00
Summers-Taylor, Inc.		\$5,500.0000	\$16,500.00
795-12.01 REMOVE FIRE HYDRANT			
	3.000 EACH		
Bell & Associates Construction, LP		\$1,500.0000	\$4,500.00
Charles Blalock & Sons, Inc.		\$618.0000	\$1,854.00
Jones Bros. Contractors, LLC		\$1,429.0000	\$4,287.00
Summers-Taylor, Inc.		\$1,540.0000	\$4,620.00

CONTRACT CNT014

		CC	DNIKACI CNIU14
		UNIT PRICE	EXTENSION
795-13.01 DI FITTINGS			
	2,000.000 LB.		
Bell & Associates Construction, LP	·	\$7.2000	\$14,400.00
Charles Blalock & Sons, Inc.		\$8.2400	\$16,480.00
Jones Bros. Contractors, LLC		\$7.0000	\$14,000.00
Summers-Taylor, Inc.		\$5.1100	\$10,220.00
795-13.04 BRIDGE HANGER SYSTEM			
	1.000 LS		
Bell & Associates Construction, LP		\$425,000.0000	\$425,000.00
Charles Blalock & Sons, Inc.		\$575,931.4600	\$575,931.46
Jones Bros. Contractors, LLC		\$409,708.0000	\$409,708.00
Summers-Taylor, Inc.		\$405,000.0000	\$405,000.00
795-20.01 RECONNECT SERVICE ASSEMBLY			
	10.000 EACH		
Bell & Associates Construction, LP		\$2,900.0000	\$29,000.00
Charles Blalock & Sons, Inc.		\$3,708.0000	\$37,080.00
Jones Bros. Contractors, LLC		\$2,763.0000	\$27,630.00
Summers-Taylor, Inc.		\$1,740.0000	\$17,400.00
797-05.52 8IN PVC GRAVITY SEWER 6FT-12FT DEPTH			
	30.000 L.F.		
Bell & Associates Construction, LP		\$100.0000	\$3,000.00
Charles Blalock & Sons, Inc.		\$126.7900	\$3,803.70
Jones Bros. Contractors, LLC		\$94.0000	\$2,820.00
Summers-Taylor, Inc.		\$247.0000	\$7,410.00
797-05.53 8IN PVC GRAVITY SEWER 12FT-18FT DEPTH			
	200.000 L.F.		
Bell & Associates Construction, LP		\$185.0000	\$37,000.00
Charles Blalock & Sons, Inc.		\$168.1100	\$33,622.00
Jones Bros. Contractors, LLC		\$180.0000	\$36,000.00
Summers-Taylor, Inc.		\$350.0000	\$70,000.00
797-07.06 48IN MANHOLE 12FT-14FT DEPTH			
	1.000 EACH		
Bell & Associates Construction, LP		\$19,500.0000	\$19,500.00
Charles Blalock & Sons, Inc.		\$8,762.3600	\$8,762.36
Jones Bros. Contractors, LLC		\$18,898.0000	\$18,898.00
Summers-Taylor, Inc.		\$8,000.0000	\$8,000.00
797-07.07 48IN MANHOLE 14FT-16FT DEPTH			
	1.000 EACH		
Bell & Associates Construction, LP		\$22,500.0000	\$22,500.00
Charles Blalock & Sons, Inc.		\$10,429.9400	\$22,500.00 \$10,429.94
Jones Bros. Contractors, LLC		\$21,780.0000	\$21,780.00
Summers-Taylor, Inc.		\$8,500.0000	\$8,500.00
Canimoro Taylor, mo.		ψο,σου.σοσσ	ψο,οσο.οσ

			CONTRACT CNT014
		UNIT PRICE	EXTENSION
797-10.09 CONNECT EX. 8IN SEWER TO NEW MANHOLE			
131-10.09 CONNECT EX. SIN SEWER TO NEW MARRIOLE	3.000 EACH		
Bell & Associates Construction, LP		\$3,700.0000	\$11,100.00
Charles Blalock & Sons, Inc.		\$9,312.2500	\$27,936.75
Jones Bros. Contractors, LLC		\$3,867.5500	\$11,602.65
Summers-Taylor, Inc.		\$1,960.0000	\$5,880.00
797-10.10 CONNECT EX.10-18IN SEWER TO NEW MANHOLE			
	1.000 EACH		
Bell & Associates Construction, LP		\$3,300.0000	\$3,300.00
Charles Blalock & Sons, Inc.		\$22,903.9800	\$22,903.98
Jones Bros. Contractors, LLC		\$2,983.0000	\$2,983.00
Summers-Taylor, Inc.		\$13,500.0000	\$13,500.00
797-11.31 RETIREIN PLACE EXISTING SEWER 8IN-14IN			
	400.000 L.F.		

Bell & Associates Construction, LP

Charles Blalock & Sons, Inc.

Jones Bros. Contractors, LLC

Summers-Taylor, Inc.

\$22.0000

\$33.4800

\$20.0000

\$16.0000

\$8,800.00

\$13,392.00

\$8,000.00

\$6,400.00

SUB-TOTAL ROADWAY

Bell & Associates Construction, LP	\$3,284,763.76
Charles Blalock & Sons, Inc.	\$2,991,020.69
Jones Bros. Contractors, LLC	\$3,488,473.87
Summers-Taylor, Inc.	\$3,915,248.65

SUB-TOTAL BRIDGE

Bell & Associates Construction, LP	\$11,252,632.75
Charles Blalock & Sons, Inc.	\$11,596,082.00
Jones Bros. Contractors, LLC	\$11,578,478.27
Summers-Taylor, Inc.	\$12,876,449.55

SUB-TOTAL UTILITY

Bell & Associates Construction, LP	\$2,819,193.33
Charles Blalock & Sons, Inc.	\$3,200,111.48
Jones Bros. Contractors, LLC	\$2,720,405.71
Summers-Taylor, Inc.	\$2,967,854.55

TOTAL CONTRACT

Bell & Associates Construction, LP	\$17,356,589.84
Charles Blalock & Sons, Inc.	\$17,787,214.17
Jones Bros. Contractors, LLC	\$17,787,357.85
Summers-Taylor, Inc.	\$19,759,552.75

KNOX COUNTY (Contract No. CNT197 Call 050)

47010-4249-04

THE TUNNEL CLEANING ON THE HENLEY STREET CONNECTOR TUNNEL ON S.R. 1 AND THE SMARTFIX TUNNEL ON S.R. 158 (JAMES WHITE PARKWAY).

PROJECT LENGTH - 0.0 MILES

COMPLETION TIME - ON OR BEFORE JUNE 30, 2020

TOTAL CONTRACT

Diamond Specialized, Inc.

\$123,699.00

MAINTENANCE CATEGORY		UNIT PRICE	CONTRACT CNT197 EXTENSION
712-01.56 MAINTENANCE OF TRAFFIC (SMARTFIX I-40 RAMP)			
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
712-01.60 MAINTENANCE OF TRAFFIC (HENLEY STREET TUNNELS)	40.000 54.011		
Diamond Specialized, Inc.	12.000 EACH	\$1,575.0000	\$18,900.00
713-20.40 GRAFFITI REMOVAL			
Diamond Specialized, Inc.	250.000 S.F.	\$2.8000	\$700.00
717-01 MOBILIZATION			
Diamond Specialized, Inc.	1.000 LS	\$5,999.0000	\$5,999.00
760-01.04 TUNNEL CLEANING (HENLEY STREET TUNNELS)			
Diamond Specialized, Inc.	12.000 EACH	\$3,400.0000	\$40,800.00
760-01.07 TUNNEL CLEANING (SMARTFIX I-40 RAMP)			
	12.000 EACH		

Diamond Specialized, Inc.

\$38,400.00

\$3,200.0000

SUB-TOTAL MAINTENANCE

Diamond Specialized, Inc. \$123,699.00

TOTAL CONTRACT

Diamond Specialized, Inc. \$123,699.00

LINCOLN COUNTY (Contract No. CNT153 Call 051)

NH/HSIP-10(78),52002-3242-94,52002-8242-14

THE RESURFACING ON U.S. 231 (U.S. 431, S.R. 10) FROM SOUTH OF SOUTH KING DRIVE (L.M. 8.36) TO THE BRIDGE OVER NORRIS CREEK (L.M. 10.79).

PROJECT LENGTH - 2.430 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.50%

TOTAL CONTRACT

Lincoln Paving, LLC

\$1,296,182.14

Volunteer Paving, LLC

\$1,758,220.18

			CONTRACT CNT153
		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY		
208-01 05	BROOMING & DEGRASSING SHOULDERS		
200-01.03	1.700 L.	М	
	Lincoln Paving, LLC	\$950.0000	\$1,615.00
	Volunteer Paving, LLC	\$2,944.7000	\$5,005.99
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
303-01	318.000 TC	ON	
	Lincoln Paving, LLC	\$25.5800	\$8,134.44
	Volunteer Paving, LLC	\$47.6300	\$15,146.34
307-03.01	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING A		
	408.000 TC	ON	
	Lincoln Paving, LLC	\$83.6500	\$34,129.20
	Volunteer Paving, LLC	\$112.5000	\$45,900.00
307 ₋ 03 08	ASPHALT CONCRETE MIX (PG76-22) (BPMB-HM) GRADING B-M2		
307-03.00	785.000 TO	N.	
	Lincoln Paving, LLC	\$86.7400	\$68,090.90
	Volunteer Paving, LLC	\$119.8600	\$94,090.10
100.04	DITUMNOUS MATERIAL FOR TACK SO AT (TO)		
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC) 57.000 TO	DNI .	
	Lincoln Paving, LLC	\$675.0000	\$38,475.00
	Volunteer Paving, LLC	\$705.8800	\$40,235.16
411-02.10	ACS MIX(PG70-22) GRADING D		
	7,763.000 TC		Ф 7 20 254 44
	Lincoln Paving, LLC Volunteer Paving, LLC	\$92.7800 \$123.2300	\$720,251.14 \$956,634.49
		*.==	4 -5-2,5-2 ··· ·· ·
411-03.10	ACS MIX(PG76-22) GRADING D		
	542.000 TC		•
	Lincoln Paving, LLC Volunteer Paving, LLC	\$95.5800 \$133.4500	\$51,804.36 \$72,329.90
	Volunteer I aving, LLC	ψ133. 4 300	\$12,329.90
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
	3.900 L.	М.	
	Lincoln Paving, LLC	\$1,150.0000	\$4,485.00
	Volunteer Paving, LLC	\$1,058.8200	\$4,129.40
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
	9,254.000 TC	ON	
	Lincoln Paving, LLC	\$15.9000	\$147,138.60
	Volunteer Paving, LLC	\$22.8400	\$211,361.36
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN		

2.000 EACH

Lincoln Paving, LLC

Volunteer Paving, LLC

\$3,000.00

\$1,500.0000

\$1,411.7600

				CONTRACT CNT153
			UNIT PRICE	EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		40.000 S.F.		
	Lincoln Paving, LLC Volunteer Paving, LLC		\$100.0000	\$4,000.00 \$1,176.40
	volunteer Paving, LLC		\$29.4100	\$1,176.40
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		7.000 EACH		
	Lincoln Paving, LLC		\$100.0000	\$700.00
	Volunteer Paving, LLC		\$235.2900	\$1,647.03
705 04 00	FARTH DAD FOR TYPE 20 CD FND TREATMENT			
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	7.000 EACH		
	Lincoln Paving, LLC	7:000 EACH	\$850.0000	\$5,950.00
	Volunteer Paving, LLC		\$2,647.0600	\$18,529.42
	5 .		. ,	. ,
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		7.000 EACH		
	Lincoln Paving, LLC		\$2,650.0000	\$18,550.00
	Volunteer Paving, LLC		\$3,823.5300	\$26,764.71
706-01	GUARDRAIL REMOVED			
		350.000 L.F.		
	Lincoln Paving, LLC		\$4.0000	\$1,400.00
	Volunteer Paving, LLC		\$2.3500	\$822.50
712-01	TRAFFIC CONTROL	4 000 1 0		
	Lincoln Basina III C	1.000 LS	¢22 500 0000	\$22.500.00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$32,500.0000 \$50,294.1200	\$32,500.00 \$50,294.12
	. o.ug,		400,20200	φοσ, <u>σ</u> σ <u>σ</u>
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		300.000 EACH		
	Lincoln Paving, LLC		\$15.0000	\$4,500.00
	Volunteer Paving, LLC		\$17.6500	\$5,295.00
712-05 01	WARNING LIGHTS (TYPE A)			
7 12 00.01	Walding Como (THE A)	4.000 EACH		
	Lincoln Paving, LLC	4.000 E/(01)	\$2.0000	\$8.00
	Volunteer Paving, LLC		\$2.3500	\$9.40
712-06	SIGNS (CONSTRUCTION)			
		1,317.000 S.F.		
	Lincoln Paving, LLC		\$6.5000	\$8,560.50
	Volunteer Paving, LLC		\$7.6500	\$10,075.05
712-08.03	ARROW BOARD (TYPE C)			
	,	2.000 EACH		
	Lincoln Paving, LLC		\$500.0000	\$1,000.00
	Volunteer Paving, LLC		\$1,076.4700	\$2,152.94

				CONTRACT CNT153
			UNIT PRICE	EXTENSION
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 C	COLOR)		
	(476.000 EACH		
	Lincoln Paving, LLC		\$30.0000	\$14,280.00
	Volunteer Paving, LLC		\$30.0000	\$14,280.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
		321.000 EACH		
	Lincoln Paving, LLC		\$30.0000	\$9,630.00
	Volunteer Paving, LLC		\$30.0000	\$9,630.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		685.000 EACH		
	Lincoln Paving, LLC		\$10.0000	\$6,850.00
	Volunteer Paving, LLC		\$10.0000	\$6,850.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		76.000 S.Y.		
	Lincoln Paving, LLC		\$20.0000	\$1,520.00
	Volunteer Paving, LLC		\$20.0000	\$1,520.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		859.000 L.F.		
	Lincoln Paving, LLC		\$15.0000	\$12,885.00
	Volunteer Paving, LLC		\$15.0000	\$12,885.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		42.000 EACH		
	Lincoln Paving, LLC		\$150.0000	\$6,300.00
	Volunteer Paving, LLC		\$150.0000	\$6,300.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		200.000 L.F.		
	Lincoln Paving, LLC		\$3.0000	\$600.00
	Volunteer Paving, LLC		\$3.0000	\$600.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		2.000 EACH		
	Lincoln Paving, LLC		\$350.0000	\$700.00
	Volunteer Paving, LLC		\$250.0000	\$500.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	·	10.000 EACH		
	Lincoln Paving, LLC		\$225.0000	\$2,250.00
	Volunteer Paving, LLC		\$250.0000	\$2,500.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			

15.000 S.F.

Lincoln Paving, LLC

Volunteer Paving, LLC

\$450.00

\$300.00

\$30.0000

\$20.0000

				CONTRACT CNT153
			UNIT PRICE	EXTENSION
740.05.04	DANIES DAVENENT MADVING (ALLINE)			
/16-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		13.000 L.M.		
	Lincoln Paving, LLC		\$925.0000	\$12,025.00
	Volunteer Paving, LLC		\$850.0000	\$11,050.00
716-12.02	2 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		8.100 L.M.		
	Lincoln Paving, LLC		\$5,000.0000	\$40,500.00
	Volunteer Paving, LLC		\$5,000.0000	\$40,500.00
716-12.06	S ENHANCED FLAT LINE THERMO (8IN LINE)			
		2,100.000 L.F.		
	Lincoln Paving, LLC		\$2.0000	\$4,200.00
	Volunteer Paving, LLC		\$3.0000	\$6,300.00
716-13 02	2 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
710-13.02	OF TAT THE MINO I WITH MINIMAG (OU HIII) (ON LINE)	4.900 L.M.		
	1: 1.5 : 110	4.900 L.W.	Фо ооо оооо	044 7 00 00
	Lincoln Paving, LLC		\$3,000.0000	\$14,700.00
	Volunteer Paving, LLC		\$3,000.0000	\$14,700.00
717-01	MOBILIZATION			
		1.000 LS		
	Lincoln Paving, LLC		\$15,000.0000	\$15,000.00
	V I		# 05.000.0500	#05.000.05

Volunteer Paving, LLC

\$65,882.35

\$65,882.3500

SUB-TOTAL ROADWAY

Lincoln Paving, LLC	\$1,296,182.14
Volunteer Paving, LLC	\$1,758,220.18

TOTAL CONTRACT

TAL CONTRACT	
Lincoln Paving, LLC	\$1,296,182.14
Volunteer Paving, LLC	\$1,758,220.18

MADISON COUNTY (Contract No. CNT216 Call 052)

NH/HSIP-5(112),57008-3238-94,57008-8238-14

THE RESURFACING ON U.S. 45 (S.R. 5) FROM S.R. 186 (L.M. 21.21) TO S.R. 43 (L.M. 23.11).

PROJECT LENGTH - 1.760 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 3.50%

TOTAL CONTRACT

Delta Contracting Company, LLC Ford Construction Company

\$1,555,476.50 \$1,948,955.15

CONTRACT	CNT216
----------	--------

			CC	INTRACT CNT216
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
		827.000 S.Y.		
	Delta Contracting Company, LLC Ford Construction Company		\$36.0000 \$38.0000	\$29,772.00 \$31,426.00
203-06	WATER			
		6.000 M.G.		_
	Delta Contracting Company, LLC Ford Construction Company		\$1.0000 \$1.0000	\$6.00 \$6.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		6.544 L.M.		
	Delta Contracting Company, LLC Ford Construction Company		\$695.0000 \$1,270.0000	\$4,548.08 \$8,310.88
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR	D)		
		939.000 TON		
	Delta Contracting Company, LLC Ford Construction Company		\$32.0000 \$51.0000	\$30,048.00 \$47,889.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN			
	Delta Contracting Company, LLC	285.000 TON	\$106.0000	\$30,210.00
	Ford Construction Company		\$155.0000	\$44,175.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADIN			
		1,603.000 TON	.	
	Delta Contracting Company, LLC Ford Construction Company		\$96.0000 \$108.1000	\$153,888.00 \$173,284.30
403-02.01	TRACKLESS TACK COAT			
	Polto Contracting Company 11 C	43.000 TON	\$800.0000	COA 400 00
	Delta Contracting Company, LLC Ford Construction Company		\$990.0000	\$34,400.00 \$42,570.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		425.000 TON	*	
	Delta Contracting Company, LLC Ford Construction Company		\$94.3700 \$121.0000	\$40,107.25 \$51,425.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT			
		5,243.000 TON	# 24.2 7 22	# 40 4 = 24 2 :
	Delta Contracting Company, LLC Ford Construction Company		\$94.3700 \$115.0000	\$494,781.91 \$602,945.00
411-03.24	ACS MIX(PG64-22) THIN LIFT E ASPHALT	4 046 000 TON		
	Polta Contracting Company 11 C	1,916.000 TON	¢ 05 1500	¢192 207 40
	Delta Contracting Company, LLC Ford Construction Company		\$95.1500 \$111.1000	\$182,307.40 \$212,867.60
				PAGE

				CONTRACT CNT216
			UNIT PRICE	EXTENSION
411 12 01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
411-12.01	SCORING SHOULDERS (CONTINUOUS) (Tolin WIDTH)	3.622 L.M.		
	Delta Contracting Company, LLC	•.• <u></u> <u></u>	\$1,100.0000	\$3,984.20
	Ford Construction Company		\$1,369.0000	\$4,958.52
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		2.800 L.M.		
	Delta Contracting Company, LLC		\$1,100.0000	\$3,080.00
	Ford Construction Company		\$1,543.0000	\$4,320.40
414-04.03	ASPHALT EMULSION (SCRUB SEAL)			
	,	97.000 TON		
	Delta Contracting Company, LLC		\$1,300.0000	\$126,100.00
	Ford Construction Company		\$1,450.0000	\$140,650.00
414-04.04	MINERAL AGGREGATE (SCRUB SEAL)			
	·	801.000 TON		
	Delta Contracting Company, LLC		\$60.0000	\$48,060.00
	Ford Construction Company		\$65.0000	\$52,065.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		44,881.000 S.Y.		
	Delta Contracting Company, LLC		\$2.0600	\$92,454.86
	Ford Construction Company		\$3.5500	\$159,327.55
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		7.000 EACH		
	Delta Contracting Company, LLC		\$110.0000	\$770.00
	Ford Construction Company		\$120.0000	\$840.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		2.000 EACH		
	Delta Contracting Company, LLC		\$1,100.0000	\$2,200.00
	Ford Construction Company		\$1,100.0000	\$2,200.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		7.000 EACH		
	Delta Contracting Company, LLC		\$2,950.0000	\$20,650.00
	Ford Construction Company		\$3,100.0000	\$21,700.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Delta Contracting Company, LLC		\$36,000.0000	\$36,000.00
	Ford Construction Company		\$67,000.0000	\$67,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		150.000 EACH		
	Delta Contracting Company, LLC		\$25.0000	\$3,750.00
	Ford Construction Company		\$26.0000	\$3,900.00

				CONTRACT CNT216
			UNIT PRICE	EXTENSION
712-05 03	WARNING LIGHTS (TYPE C)			
712-03.03	WARRING EIGHTS (THE C)	50.000 EACH		
	Delta Contracting Company, LLC		\$15.0000	\$750.00
	Ford Construction Company		\$15.0000	\$750.00
712-06	SIGNS (CONSTRUCTION)			
712-00	SIGNS (CONSTRUCTION)	1,784.000 S.F.		
	Delta Contracting Company, LLC	1,10 11000 011 1	\$5.0000	\$8,920.00
	Ford Construction Company		\$8.0000	\$14,272.00
740.00.00	ADDOW DOADD (TYPE C)			
/12-06.03	ARROW BOARD (TYPE C)	4.000 EACH		
	Delta Contracting Company, LLC	4.000 EAGI1	\$695.0000	\$2,780.00
	Ford Construction Company		\$800.0000	\$3,200.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)			
	Delta Contracting Company, LLC	13.000 EACH	\$38.0000	\$494.00
	Ford Construction Company		\$38.0000	\$494.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2	•		
	Polto Contracting Company, LLC	574.000 EACH	\$38.0000	¢24.942.00
	Delta Contracting Company, LLC Ford Construction Company		\$38.0000	\$21,812.00 \$21,812.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		352.000 EACH	#7 0000	Фо 404 00
	Delta Contracting Company, LLC Ford Construction Company		\$7.0000 \$15.0000	\$2,464.00 \$5,280.00
			•	, , , , , , , , , , , , , , , , , , ,
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING			
		34.000 S.Y.		*
	Delta Contracting Company, LLC Ford Construction Company		\$25.0000 \$25.0000	\$850.00 \$850.00
	Tota construction company		Ψ23.0000	φοσο.σο
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		109.000 L.F.		
	Delta Contracting Company, LLC		\$17.0000 \$17.0000	\$1,853.00 \$1,853.00
	Ford Construction Company		\$17.0000	\$1,853.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		23.000 EACH		
	Delta Contracting Company, LLC		\$200.0000	\$4,600.00
	Ford Construction Company		\$210.0000	\$4,830.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
	,			

1,269.000 L.F.

Delta Contracting Company, LLC

Ford Construction Company

\$20,304.00

\$21,573.00

\$16.0000

\$17.0000

				CONTRACT CNT216
			UNIT PRICE	EXTENSION
746 04 07	DI ACTIC DAVEMENT MADIZING (EVIT ONLY ADDOM)			
716-04.07	PLASTIC PAVEMENT MARKING (EXIT ONLY ARROW)	3.000 EACH		
	Delta Contracting Company, LLC	3.000 EACH	\$300.0000	\$900.00
	Ford Construction Company		\$315.0000	\$945.00
	, ,		·	·
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
		42.000 S.F.		
	Delta Contracting Company, LLC		\$25.0000	\$1,050.00
	Ford Construction Company		\$26.0000	\$1,092.00
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)			
		2,183.000 L.F.		
	Delta Contracting Company, LLC		\$2.5000	\$5,457.50
	Ford Construction Company		\$2.6000	\$5,675.80
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
	(==,	10.000 L.M.		
	Delta Contracting Company, LLC	101000 =	\$1,570.0000	\$15,700.00
	Ford Construction Company		\$1,600.0000	\$16,000.00
74.0 00 04	DEMOVAL OF DAVEMENT MADVING (CHANNELIZATION CTRIS	alvic)		
716-08.04	REMOVAL OF PAVEMENT MARKING (CHANNELIZATION STRIF	34.000 S.Y.		
	Delta Contracting Company, LLC	34.000 5.1.	\$25.0000	\$850.00
	Ford Construction Company		\$26.0000	\$884.00
	, ,		·	·
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)			
		48.000 L.F.		
	Delta Contracting Company, LLC		\$10.0000	\$480.00
	Ford Construction Company		\$10.0000	\$480.00
716-08.20	REMOVAL OF PAVEMENT MARKING (LINE)			
		8.280 L.M.		
	Delta Contracting Company, LLC		\$515.0000	\$4,264.20
	Ford Construction Company		\$1,225.0000	\$10,143.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
-		10.000 L.M.		
	Delta Contracting Company, LLC		\$5,600.0000	\$56,000.00
	Ford Construction Company		\$5,800.0000	\$58,000.00
716-12.03	ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER	LINE)		

716-08.20 REM	MOVAL OF PAVEMENT MARKING (LINE)			
		8.280 L.M.		
Delt	ta Contracting Company, LLC		\$515.0000	\$4,264.20
Ford	d Construction Company		\$1,225.0000	\$10,143.00
716-12.02 ENH	HANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		10.000 L.M.		
Delt	ta Contracting Company, LLC		\$5,600.0000	\$56,000.00
Ford	d Construction Company		\$5,800.0000	\$58,000.00
716-12.03 ENH	HANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIE	R LINE)		
		2,090.000 L.F.		
Delt	ta Contracting Company, LLC		\$3.0000	\$6,270.00
Ford	d Construction Company		\$3.1500	\$6,583.50
716-12.05 ENH	HANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED	D LINE)		
		1,443.000 L.F.		
Delt	ta Contracting Company, LLC		\$2.7000	\$3,896.10
Ford	d Construction Company		\$2.8000	\$4,040.40

				CONTRACT CNT216
			UNIT PRICE	EXTENSION
716-12.08	ENHANCED FLAT LINE THERMO (12IN BARRIER LINE)			
	,	1,590.000 L.F.		
	Delta Contracting Company, LLC		\$8.0000	\$12,720.00
	Ford Construction Company		\$8.4000	\$13,356.00
716-12.10	ENHANCED FLAT LINE THERMO (12IN DOTTED)			
		93.000 L.F.		
	Delta Contracting Company, LLC		\$8.0000	\$744.00
	Ford Construction Company		\$8.4000	\$781.20
717-01	MOBILIZATION			
		1.000 LS		

\$45,200.0000 \$84,200.0000 \$45,200.00 \$84,200.00

Delta Contracting Company, LLC Ford Construction Company

SUB-TOTAL ROADWAY

Delta Contracting Company, LLC	\$1,555,476.50
Ford Construction Company	\$1,948,955.15

TOTAL CONTRACT

TAL CONTINUO	
Delta Contracting Company, LLC	\$1,555,476.50
Ford Construction Company	\$1,948,955.15

MARION COUNTY (Contract No. CNT144 Call 053)

STP/HSIP-377(1),58017-3203-94,58017-8203-14

THE RESURFACING ON S.R. 377 FROM THE ALABAMA STATE LINE (L.M. 0.00) TO S.R. 156 (L.M. 1.19).

PROJECT LENGTH - 1.190 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

TOTAL CONTRACT

Tinsley Asphalt, LLC

\$259,688.21

				CONTRACT CNT144
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
303-01	MINISPAL ACCRECATE TYPE A RASE CRADING D			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D	197.000 TON		
	Tinsley Asphalt, LLC		\$34.2500	\$6,747.25
307-01.10	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING C-W	1,271.000 TON		
	Tinsley Asphalt, LLC	,	\$106.2900	\$135,094.59
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Tinsley Asphalt, LLC	8.000 TON	\$755.0000	\$6,040.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDT			
	Tinsley Asphalt, LLC	1.900 L.M.	\$1,495.0000	\$2,840.50
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	40 40 - 000 0 V		
	Tinsley Asphalt, LLC	18,487.000 S.Y.	\$1.4900	\$27,545.63
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Tinsley Asphalt, LLC	3.000 EACH	\$1,515.0000	\$4,545.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Tinsley Asphalt, LLC	3.000 EACH	\$2,981.8500	\$8,945.55
706-01	GUARDRAIL REMOVED			
	Tinsley Asphalt, LLC	150.000 L.F.	\$1.0000	\$150.00
712-01	TRAFFIC CONTROL			
	Tinsley Asphalt, LLC	1.000 LS	\$17,003.6400	\$17,003.64
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Tinsley Asphalt, LLC	25.000 EACH	\$5.0000	\$125.00
712-06	SIGNS (CONSTRUCTION)			
	Tinsley Asphalt, LLC	428.000 S.F.	\$6.9000	\$2,953.20
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO			
	Tinsley Asphalt, LLC	158.000 EACH	\$50.0000	\$7,900.00

		UNIT PRICE	CONTRACT CNT144 EXTENSION
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)			
Tinsley Asphalt, LLC	32.000 L.F.	\$20.0000	\$640.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
Tinsley Asphalt, LLC	4.800 L.M.	\$600.0000	\$2,880.00
716-05.05 PAINTED PAVEMENT MARKING (STOP LINE)			
Tinsley Asphalt, LLC	32.000 L.F.	\$5.0000	\$160.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
Tinsley Asphalt, LLC	4.800 L.M.	\$2,850.0000	\$13,680.00
717-01 MOBILIZATION			

Tinsley Asphalt, LLC

1.000 LS

\$22,437.85

\$22,437.8500

SUB-TOTAL ROADWAY

Tinsley Asphalt, LLC \$259,688.21

TOTAL CONTRACT

Tinsley Asphalt, LLC \$259,688.21

MARION COUNTY (Contract No. CNT229 Call 054)

STP-2(271),58002-4246-04

THE EMERGENCY SLOPE STABILIZATION ON U.S. 41 (U.S. 64, U.S. 72, S.R. 2) BETWEEN L.M. 25.20 AND L.M. 26.40.

PROJECT LENGTH - 1.200 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 30, 2019

DBE GOAL 4.50%

TOTAL CONTRACT

Dement Construction Company, LLC Talley Construction Company, Inc.

\$16,479,135.45

\$17,058,544.03

				CONTRACT CNT229
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	5 10 11 0 110	1.000 LS	# 50.000.000	A 50 000 00
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$50,000.0000 \$64,542.4000	\$50,000.00 \$64,542.40
201-01	CLEARING AND GRUBBING			
	Demonstration Comments II C	1.000 LS	#007 F00 0000	\$207.500.00
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$887,500.0000 \$116,000.0000	\$887,500.00 \$116,000.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
		39,782.000 C.Y.		•
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$44.0000 \$46.1800	\$1,750,408.00 \$1,837,132.76
203-06	WATER			
		12.000 M.G.		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$4.0000 \$14.4100	\$48.00 \$172.92
209-05	SEDIMENT REMOVAL			
		160.000 C.Y.		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$25.0000 \$28.2100	\$4,000.00 \$4,513.60
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	D 10 1 1 0 110	3,900.000 L.F.	#4.4000	#45.000.00
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$4.1000 \$4.7600	\$15,990.00 \$18,564.00
209-08.07	ROCK CHECK DAM PER			
	5	6.000 EACH	#	# 4.000.00
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$700.0000 \$812.0000	\$4,200.00 \$4,872.00
209-08.08	ENHANCED ROCK CHECK DAM			
		6.000 EACH		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$1,000.0000 \$1,160.0000	\$6,000.00 \$6,960.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	D 10 1 1 0 1 1 0	3,800.000 TON	A OT 2222	6440 655 55
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$37.0000 \$41.8200	\$140,600.00 \$158,916.00
307-02.07	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRA			
		1,330.000 TON	Фор ород	\$400.404.00

Dement Construction Company, LLC

Talley Construction Company, Inc.

\$123,424.00

\$92.8000

\$112.2100

			J	011111/101 0111220
			UNIT PRICE	EXTENSION
307-50.12	ASPHALT CONC. MAINT. MIX (PG70-22) GRADING	A (PLACED)		
		2,029.000 TON		
	Dement Construction Company, LLC		\$87.5000	\$177,537.50
	Talley Construction Company, Inc.		\$93.6300	\$189,975.27
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		12.000 TON		
	Dement Construction Company, LLC		\$850.0000	\$10,200.00
	Talley Construction Company, Inc.		\$753.8300	\$9,045.96
411-02.10	ACS MIX(PG70-22) GRADING D			
		1,400.000 TON		
	Dement Construction Company, LLC		\$115.2500	\$161,350.00
	Talley Construction Company, Inc.		\$124.0000	\$173,600.00
444 40 04	COODING FOR RUMPLE STRIPE (NON CONTINUO	10) (4N M/DTU)		
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOL			
		2.400 L.M.		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$1,650.0000 \$2,639.0000	\$3,960.00 \$6,333.60
	railey Construction Company, Inc.		φ2,039.0000	Ф 0,333.60
415-01 02	COLD PLANING BITUMINOUS PAVEMENT			
410 01.02	GOED I EARTHOUGH AVEINERT	17,500.000 S.Y.		
	Dement Construction Company, LLC	17,300.000 3.1.	\$5.0000	\$87,500.00
	Talley Construction Company, Inc.		\$3.0000 \$2.6400	\$46,200.00
	· and · constitution · company, mo		Ψ=.0.00	Ψ :0,200:00
607-06.02	30" CONCRETE PIPE CULVERT (CLASS III)			
		155.000 L.F.		
	Dement Construction Company, LLC		\$190.0000	\$29,450.00
	Talley Construction Company, Inc.		\$362.2900	\$56,154.95
607-07.02	36" CONCRETE PIPE CULVERT (CLASS III)			
		388.000 L.F.		
	Dement Construction Company, LLC		\$235.0000	\$91,180.00
	Talley Construction Company, Inc.		\$354.3900	\$137,503.32
610-12.02	HORIZONTAL DRAINS			
		32,290.000 L.F.		
	Dement Construction Company, LLC		\$26.3000	\$849,227.00
	Talley Construction Company, Inc.		\$31.4500	\$1,015,520.50
611-07.01	CLASS A CONCRETE (PIPE ENDWALLS)			
		25.000 C.Y.		
	Dement Construction Company, LLC		\$1,250.0000	\$31,250.00
	Talley Construction Company, Inc.		\$1,849.8800	\$46,247.00
044 07 05	OTEL DAD DEINEGROEMENT (DIDE ENDWALLS)			
611-07.02	STEEL BAR REINFORCEMENT (PIPE ENDWALLS)			
		2,274.000 LB.	*	00.000.5
	Dement Construction Company, LLC		\$4.0000	\$9,096.00
	Talley Construction Company, Inc.		\$2.9000	\$6,594.60

CONTRACT	CNT229
----------	---------------

			CC	NIRACI CN1229
			UNIT PRICE	EXTENSION
611-07.03	STRUCTURAL STEEL (PIPE ENDWALLS)			
	Dement Construction Company, LLC Talley Construction Company, Inc.	1,398.000 LB.	\$10.0000 \$5.7500	\$13,980.00 \$8,038.50
611-07.60	30IN ENDWALL (CROSS DRAIN) 3:1			
		3.000 EACH		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$2,500.0000 \$3,932.5100	\$7,500.00 \$11,797.53
611-07.63	36IN ENDWALL (CROSS DRAIN) 3:1			
		8.000 EACH		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$3,000.0000 \$4,941.0700	\$24,000.00 \$39,528.56
621-03.01	15" TEMPORARY DRAINAGE PIPE			
		4,200.000 L.F.		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$50.0000 \$39.3600	\$210,000.00 \$165,312.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		4.000 EACH		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$175.0000 \$203.0000	\$700.00 \$812.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		3,475.000 L.F.		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$19.0000 \$22.0400	\$66,025.00 \$76,589.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$2,800.0000 \$3,248.0000	\$5,600.00 \$6,496.00
705-08.11	PORTABLE IMPACT ATTENUATOR NCHRP350 TL-3			
		10.000 EACH		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$6,700.0000 \$10,511.9200	\$67,000.00 \$105,119.20
706-01	GUARDRAIL REMOVED			
		2,562.000 L.F.		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$1.0000 \$1.1600	\$2,562.00 \$2,971.92
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		8,420.000 TON		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$45.0000 \$62.0300	\$378,900.00 \$522,292.60

			CC	NTRACT CNT229
			UNIT PRICE	EXTENSION
709-05.08	MACHINED RIP-RAP (CLASS B)			
		50.000 TON		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$50.0000 \$117.5800	\$2,500.00 \$5,879.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$100,000.0000 \$3,364.0000	\$100,000.00 \$3,364.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		5,060.000 L.F.		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$45.0000 \$41.7600	\$227,700.00 \$211,305.60
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	,	80.000 EACH		
	Dement Construction Company, LLC	00.000 EAGI1	\$35.0000	\$2,800.00
	Talley Construction Company, Inc.		\$40.6000	\$3,248.00
712-06	SIGNS (CONSTRUCTION)			
		327.000 S.F.		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$6.8500 \$7.9500	\$2,239.95 \$2,599.65
712-09.02	REMOVABLE PAVEMENT MARKING (8" BARRIER	LINE)		
		5,060.000 L.F.		
	Dement Construction Company, LLC		\$3.2000	\$16,192.00
	Talley Construction Company, Inc.		\$4.5800	\$23,174.80
713-02.27	CONCRETE BARRIER/PARAPET DELINEATOR (BI			
		506.000 EACH		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$11.0000 \$12.7600	\$5,566.00 \$6,456.56
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Dement Construction Company, LLC		\$6,450.0000	\$12,900.00
	Talley Construction Company, Inc.		\$7,482.0000	\$14,964.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS			
		80.000 EACH		
	Dement Construction Company, LLC Talley Construction Company, Inc.		\$75.0000 \$87.0000	\$6,000.00 \$6,960.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		48.000 L.F.		
	Dement Construction Company, LLC		\$15.0000	\$720.00
	Talley Construction Company, Inc.		\$17.4000	\$835.20

CONTRACT	CNT229
----------	---------------

			C	UNIKACI CN1229
			UNIT PRICE	EXTENSION
716-13.02	2 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		3.940 L.M.		
	Dement Construction Company, LLC		\$750.0000	\$2,955.00
	Talley Construction Company, Inc.		\$3,248.0000	\$12,797.12
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		4.000 L.M.		
	Dement Construction Company, LLC		\$2,800.0000	\$11,200.00
	Talley Construction Company, Inc.		\$870.0000	\$3,480.00
717-01	MOBILIZATION			
		1.000 LS		
	Dement Construction Company, LLC		\$800,000.0000	\$800,000.00
	Talley Construction Company, Inc.		\$984,281.4600	\$984,281.46
730-40	TEMPORARY TRAFFIC SIGNAL SYSTEM			
		2.000 EACH		
	Dement Construction Company, LLC		\$27,300.0000	\$54,600.00
	Talley Construction Company, Inc.		\$45,240.0000	\$90,480.00
740-06.01	GEOMEMBRANE			
		11,520.000 S.Y.		
	Dement Construction Company, LLC		\$16.0000	\$184,320.00
	Talley Construction Company, Inc.		\$12.2100	\$140,659.20
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		400.000 S.Y.		
	Dement Construction Company, LLC		\$8.0000	\$3,200.00
	Talley Construction Company, Inc.		\$4.1500	\$1,660.00
740-10.04	GEOTEXTILE (TYPE IV)(STABILIZATION)			
		2,581.000 S.Y.		
	Dement Construction Company, LLC		\$5.0000	\$12,905.00
	Talley Construction Company, Inc.		\$1.4500	\$3,742.45
740-11.02	2 TEMPORARY SEDIMENT TUBE 12IN			
		3,600.000 L.F.		
	Dement Construction Company, LLC		\$5.0000	\$18,000.00
	Talley Construction Company, Inc.		\$5.8000	\$20,880.00
801-01.07	TEMPORARY SEEDING (WITH MULCH)			
		12.000 UNIT		
	Dement Construction Company, LLC		\$75.0000	\$900.00
	Talley Construction Company, Inc.		\$87.0000	\$1,044.00
805-05.02	SOIL NAIL STABILIZATION			
		84,025.000 L.F.		
	Dement Construction Company, LLC	•	\$55.0000	\$4,621,375.00
	Talley Construction Company, Inc.		\$72.5800	\$6,098,534.50

				CONTRACT	CNT229
			UNIT PRICE	EXTE	ENSION
805-05.03	REINFORCED SHOTCRETE FACING				
		25,075.000 S.F.			
	Dement Construction Company, LLC		\$85.0000	\$2,131,	375.00
	Talley Construction Company, Inc.		\$85.8400	\$2,152,	,438.00
805-05.04	SECONDARY WALL (OUTER WALL FACE)				
		18,500.000 S.F.			
	Dement Construction Company, LLC		\$165.0000	\$3,052,	,500.00

\$123.3900

\$2,282,715.00

Talley Construction Company, Inc.

SUB-TOTAL ROADWAY

Dement Construction Company, LLC \$16,479,135.45
Talley Construction Company, Inc. \$17,058,544.03

TOTAL CONTRACT

Dement Construction Company, LLC \$16,479,135.45
Talley Construction Company, Inc. \$17,058,544.03

MARSHALL COUNTY (Contract No. CNT170 Call 056)

59069-4212-04, HSIP-50(67), 59069-3212-94

THE RESURFACING ON S.R. 50 FROM THE MAURY COUNTY LINE (L.M. 0.00) TO WEST OF U.S. 431 (S.R. 106) (L.M. 4.40).

PROJECT LENGTH - 4.400 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.50%

TOTAL CONTRACT

Lincoln Paving, LLC Volunteer Paving, LLC \$993,029.65

\$997,735.35

				CONTRACT CNT170
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		8.800 L.M.		
	Lincoln Paving, LLC		\$900.0000	\$7,920.00
	Volunteer Paving, LLC		\$1,247.5800	\$10,978.70
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		1,740.000 TON		
	Lincoln Paving, LLC		\$16.2500	\$28,275.00
	Volunteer Paving, LLC		\$19.6700	\$34,225.80
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GF			
		140.000 TON	A74.000	# 40 000 00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$74.0000 \$106.9500	\$10,360.00 \$14,973.00
	volunteer r aving, LLO		\$100.9300	φ14,973.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Lincoln Paving LLC	37.000 TON	¢675,0000	\$24.07F.00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$675.0000 \$645.1600	\$24,975.00 \$23,870.92
	volunced i aving, 220		φο (ο. 1000	Ψ20,010.02
407-07.01	INTELLIGENT COMPACTION EQUIPMENT			
		1.000 LS	# 40,000,000	# 40.000.00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$48,000.0000 \$21,505.3800	\$48,000.00 \$21,505.38
	volunteer i aving, ELO		Ψ21,000.0000	Ψ21,000.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	Lincole Bering III O	8,471.000 TON	\$05.7500	Ф 7 00 000 05
	Lincoln Paving, LLC Volunteer Paving, LLC		\$85.7500 \$84.7400	\$726,388.25 \$717,832.54
	Volumes i aving, 220		ψο 1.7 100	ψ117,002.01
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN N			
	Lincoln Devine LLC	8.800 L.M.	\$505,0000	ФE 220 00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$595.0000 \$510.2000	\$5,236.00 \$4,489.76
	Volumes i aving, 220		φο το.2000	ψ1,100.70
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
	Lincoln Paving LLC	1,232.000 S.Y.	¢10.7500	¢12 244 00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$10.7500 \$6.4200	\$13,244.00 \$7,909.44
	Volumes i aving, 220		ψο. 1200	ψ7,000.11
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Lincoln Boying LLC	3.000 EACH	6400 0000	\$200.00
	Lincoln Paving, LLC Volunteer Paving, LLC		\$100.0000 \$183.6700	\$300.00 \$551.01
			ψ130.0700	ΨΟΟ 1.0 Ι
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		3.000 EACH	.	

Lincoln Paving, LLC

Volunteer Paving, LLC

\$3,000.00

\$1,000.0000

\$1,224.4900

			CO	NTRACT CNT170
			UNIT PRICE	EXTENSION
705-06.20	TANGENT ENERGY ABSORBING TERM MASH	TL-3		
		3.000 EACH		
	Lincoln Paving, LLC		\$2,750.0000	\$8,250.00
	Volunteer Paving, LLC		\$3,205.1000	\$9,615.30
706-01	GUARDRAIL REMOVED			
		150.000 L.F.		
	Lincoln Paving, LLC		\$1.0000	\$150.00
	Volunteer Paving, LLC		\$1.0200	\$153.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Lincoln Paving, LLC		\$14,750.0000	\$14,750.00
	Volunteer Paving, LLC		\$16,827.9600	\$16,827.96
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Lincoln Paving, LLC		\$2.0000	\$50.00
	Volunteer Paving, LLC		\$5.1000	\$127.50
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Lincoln Paving, LLC		\$2.0000	\$8.00
	Volunteer Paving, LLC		\$2.0400	\$8.16
712-06	SIGNS (CONSTRUCTION)			
		906.000 S.F.		
	Lincoln Paving, LLC		\$6.4000	\$5,798.40
	Volunteer Paving, LLC		\$6.5300	\$5,916.18
713-16.20	SIGNS (OM3-L)			
		11.000 EACH		
	Lincoln Paving, LLC		\$190.0000	\$2,090.00
	Volunteer Paving, LLC		\$193.8800	\$2,132.68
713-16.21	SIGNS (OM3-R)			
		10.000 EACH		
	Lincoln Paving, LLC		\$190.0000	\$1,900.00
	Volunteer Paving, LLC		\$193.8800	\$1,938.80
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKI			
	I. I. B I. C.	290.000 EACH	400.5555	40 700 0 0
	Lincoln Paving, LLC		\$30.0000	\$8,700.00
	Volunteer Paving, LLC		\$25.0000	\$7,250.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	I. I. B I. C.	149.000 L.F.	A	40.03 = 3=
	Lincoln Paving, LLC		\$15.0000 \$15.0000	\$2,235.00 \$2,235.00
	Volunteer Paving, LLC		\$15.0000	\$2,235.00

			CONTRACT CNT170
		UNIT PRIC	EXTENSION
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)		
		0.600 L.M.	
	Lincoln Paving, LLC	\$1,500.000	\$900.00
	Volunteer Paving, LLC	\$850.0000	\$510.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
		13.600 L.M.	
	Lincoln Paving, LLC	\$5,000.0000	\$68,000.00
	Volunteer Paving, LLC	\$5,000.0000	\$68,000.00
717-01	MOBILIZATION		
		1.000 LS	

Lincoln Paving, LLC Volunteer Paving, LLC \$12,500.00 \$43,010.75

\$12,500.0000 \$43,010.7500

Lincoln Paving, LLC \$993,029.65
Volunteer Paving, LLC \$997,735.35

TOTAL CONTRACT

Lincoln Paving, LLC \$993,029.65 Volunteer Paving, LLC \$997,735.35

MAURY COUNTY (Contract No. CNT135 Call 057)

NH/HSIP-99(58),60010-3218-94,60010-8218-14,STP-50(66),60006-8222-14

THE RESURFACING ON U.S. 412 (S.R. 50) FROM U.S. 412 (S.R. 99) (L.M. 12.19) TO U.S. 412 (S.R. 99) (L.M. 13.32) ON U.S. 412 (S.R. 99) FROM ZION ROAD (L.M. 11.92) TO NEAR BECKETT STREET (L.M. 16.40).

PROJECT LENGTH - 5.140 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 8.00%

TOTAL CONTRACT

Rogers Group, Inc. \$1,570,050.00
Volunteer Paving, LLC \$1,703,597.29
Vulcan Construction Materials, LLC \$1,828,889.75

	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
208-01.05 BROOMING & DEGRASSING SHOULDERS		
10.300	D L.M.	
Rogers Group, Inc.	\$1,950.0000	\$20,085.00
Volunteer Paving, LLC	\$1,709.3100	\$17,605.89
Vulcan Construction Materials, LLC	\$2,500.0000	\$25,750.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D		
1,926.000		
Rogers Group, Inc.	\$25.0000	\$48,150.00
Volunteer Paving, LLC	\$25.6800	\$49,459.68
Vulcan Construction Materials, LLC	\$36.0000	\$69,336.00
307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
1,603.000	O TON	
Rogers Group, Inc.	\$84.5000	\$135,453.50
Volunteer Paving, LLC	\$87.4800	\$140,230.44
Vulcan Construction Materials, LLC	\$100.0000	\$160,300.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		
49.000) TON	
Rogers Group, Inc.	\$550.0000	\$26,950.00
Volunteer Paving, LLC	\$685.7100	\$33,599.79
Vulcan Construction Materials, LLC	\$900.0000	\$44,100.00
411-02.10 ACS MIX(PG70-22) GRADING D		
9,091.000) TON	
Rogers Group, Inc.	\$94.0000	\$854,554.00
Volunteer Paving, LLC	\$103.5000	\$940,918.50
Vulcan Construction Materials, LLC	\$104.0000	\$945,464.00
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
6.500	D L.M.	
Rogers Group, Inc.	\$1,150.0000	\$7,475.00
Volunteer Paving, LLC	\$627.5500	\$4,079.08
Vulcan Construction Materials, LLC	\$500.0000	\$3,250.00
415-01.01 COLD PLANING BITUMINOUS PAVEMENT		
4,263.000	TON	
Rogers Group, Inc.	\$28.5000	\$121,495.50
Volunteer Paving, LLC	\$25.5600	\$108,962.28
Vulcan Construction Materials, LLC	\$20.0000	\$85,260.00
611-01.20 ADJUSTMENT OF EXISTING MANHOLE		
	DEACH	
Rogers Group, Inc.	\$215.0000	\$2,150.00
Volunteer Paving, LLC	\$612.2400	\$6,122.40
Vulcan Construction Materials, LLC	\$600.0000	\$6,000.00

			00	MINACI CHIISS
			UNIT PRICE	EXTENSION
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
		12.000 EACH		
	Rogers Group, Inc.		\$1,000.0000	\$12,000.00
	Volunteer Paving, LLC		\$1,530.6100	\$18,367.32
	Vulcan Construction Materials, LLC		\$1,500.0000	\$18,000.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		1,820.000 S.F.		
	Rogers Group, Inc.		\$36.2500	\$65,975.00
	Volunteer Paving, LLC		\$25.5100	\$46,428.20
	Vulcan Construction Materials, LLC		\$36.0000	\$65,520.00
701-02.03	CONCRETE CURB RAMP			
		130.000 S.F.		
	Rogers Group, Inc.		\$25.2500	\$3,282.50
	Volunteer Paving, LLC		\$22.4500	\$2,918.50
	Vulcan Construction Materials, LLC		\$21.5000	\$2,795.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		6.000 EACH		
	Rogers Group, Inc.		\$100.0000	\$600.00
	Volunteer Paving, LLC		\$183.6700	\$1,102.02
	Vulcan Construction Materials, LLC		\$47.5000	\$285.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		6.000 EACH		
	Rogers Group, Inc.		\$2,655.0000	\$15,930.00
	Volunteer Paving, LLC		\$3,059.1800	\$18,355.08
	Vulcan Construction Materials, LLC		\$2,755.0000	\$16,530.00
706-01	GUARDRAIL REMOVED			
		300.000 L.F.		
	Rogers Group, Inc.		\$1.0000	\$300.00
	Volunteer Paving, LLC		\$1.0200	\$306.00
	Vulcan Construction Materials, LLC		\$1.3000	\$390.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$28,672.0000	\$28,672.00
	Volunteer Paving, LLC		\$49,371.4300	\$49,371.43
	Vulcan Construction Materials, LLC		\$127,500.0000	\$127,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	•	50.000 EACH		
	Rogers Group, Inc.		\$5.0000	\$250.00
	Volunteer Paving, LLC		\$5.1000	\$255.00
	Vulcan Construction Materials, LLC		\$5.0000	\$250.00

		`	
		UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)		
	8.000 EACH		
	Rogers Group, Inc.	\$2.0000	\$16.00
	Volunteer Paving, LLC	\$2.0400	\$16.32
	Vulcan Construction Materials, LLC	\$5.0000	\$40.00
740.00	CIONO (CONGEDUCTION)		
712-06	SIGNS (CONSTRUCTION)		
	1,933.000 S.F.	#0.0500	#40.044.05
	Rogers Group, Inc.	\$6.8500	\$13,241.05
	Volunteer Paving, LLC	\$6.9900	\$13,511.67
	Vulcan Construction Materials, LLC	\$9.2500	\$17,880.25
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
	409.000 EACH		
	Rogers Group, Inc.	\$20.0000	\$8,180.00
	Volunteer Paving, LLC	\$25.0000	\$10,225.00
	Vulcan Construction Materials, LLC	\$30.0000	\$12,270.00
		·	
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
	129.000 EACH		
	Rogers Group, Inc.	\$20.0000	\$2,580.00
	Volunteer Paving, LLC	\$25.0000	\$3,225.00
	Vulcan Construction Materials, LLC	\$30.0000	\$3,870.00
716-02 02	PLASTIC PAVEMENT MARKING (CROSS-WALK)		
710-02.03	115.000 L.F.		
	Rogers Group, Inc.	\$6.5000	\$747.50
	Volunteer Paving, LLC	\$6.5000 \$6.5000	\$747.50 \$747.50
	Vulcan Construction Materials, LLC	\$12.0000	\$1,380.00
	vuican Construction Materials, LLC	φ12.0000	\$1,360.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
	1,250.000 S.Y.		
	Rogers Group, Inc.	\$17.5000	\$21,875.00
	Volunteer Paving, LLC	\$20.0000	\$25,000.00
	Vulcan Construction Materials, LLC	\$5.0000	\$6,250.00
746 00 05	DI ACTIC DAVEMENT MADIZING (CTOD LINE)		
/16-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		
	400.000 L.F.	#45.0000	ФС 000 00
	Rogers Group, Inc.	\$15.0000	\$6,000.00
	Volunteer Paving, LLC	\$15.0000	\$6,000.00
	Vulcan Construction Materials, LLC	\$15.0000	\$6,000.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
	25.000 EACH		
	Rogers Group, Inc.	\$145.0000	\$3,625.00
	Volunteer Paving, LLC	\$150.0000	\$3,750.00
	Vulcan Construction Materials, LLC	\$150.0000	\$3,750.00
		,	. ,

		UNIT PRICE	EXTENSION
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WA	LK)		
	60.000 L.F.		
Rogers Group, Inc.		\$30.0000	\$1,800.00
Volunteer Paving, LLC		\$30.0000	\$1,800.00
Vulcan Construction Materials, LLC		\$35.0000	\$2,100.00
716-02.12 PLASTIC PAVEMENT MARKING (8IN LINE)			
	0.100 L.M.		
Rogers Group, Inc.		\$7,500.0000	\$750.00
Volunteer Paving, LLC		\$8,000.0000	\$800.00
Vulcan Construction Materials, LLC		\$6,000.0000	\$600.00
716-03.01 PLASTIC WORD PAVEMENT MARKING (ONLY)			
	1.000 EACH		
Rogers Group, Inc.		\$225.0000	\$225.00
Volunteer Paving, LLC		\$250.0000	\$250.00
Vulcan Construction Materials, LLC		\$360.0000	\$360.00
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
	3.000 EACH		
Rogers Group, Inc.		\$145.0000	\$435.00
Volunteer Paving, LLC		\$150.0000	\$450.00
Vulcan Construction Materials, LLC		\$140.0000	\$420.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)			
	17.000 S.F.		
Rogers Group, Inc.		\$17.5000	\$297.50
Volunteer Paving, LLC		\$20.0000	\$340.00
Vulcan Construction Materials, LLC		\$30.0000	\$510.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)			
	21.200 L.M.		
Rogers Group, Inc.		\$775.0000	\$16,430.00
Volunteer Paving, LLC		\$850.0000	\$18,020.00
Vulcan Construction Materials, LLC		\$1,100.0000	\$23,320.00
716-05.21 PAINTED PAVEMENT MARKING(4"DOTTED LINE)			
	2,640.000 L.F.		
Rogers Group, Inc.		\$0.3000	\$792.00
Volunteer Paving, LLC		\$0.3500	\$924.00
Vulcan Construction Materials, LLC		\$0.2500	\$660.00
716-12.01 ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)			
	5.200 L.M.		
Rogers Group, Inc.		\$3,400.0000	\$17,680.00
Volunteer Paving, LLC		\$3,500.0000	\$18,200.00
Vulcan Construction Materials, LLC		\$4,000.0000	\$20,800.00

CON	JTR.	ACT	CNT	135
COI	4 1 1 1 1 1	701		133

				CONTRACT CNT135
			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		8.000 L.M.		
	Rogers Group, Inc.		\$4,800.0000	\$38,400.00
	Volunteer Paving, LLC		\$5,000.0000	\$40,000.00
	Vulcan Construction Materials, LLC		\$5,100.0000	\$40,800.00
716-12.04	ENHANCED FLATLINE THERMO PVMT MRKNG (4IN DOTTED	LINE)		
		5,597.000 L.F.		
	Rogers Group, Inc.		\$1.2500	\$6,996.25
	Volunteer Paving, LLC		\$1.5000	\$8,395.50
	Vulcan Construction Materials, LLC		\$1.0000	\$5,597.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		8.000 L.M.		
	Rogers Group, Inc.		\$2,850.0000	\$22,800.00
	Volunteer Paving, LLC		\$3,000.0000	\$24,000.00
	Vulcan Construction Materials, LLC		\$3,000.0000	\$24,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$40,000.0000	\$40,000.00
	Volunteer Paving, LLC		\$66,857.1400	\$66,857.14
	Vulcan Construction Materials, LLC		\$65,000.0000	\$65,000.00
730-14.02	SAW SLOT			
		4,845.000 L.F.		
	Rogers Group, Inc.	·	\$3.7000	\$17,926.50
	Volunteer Paving, LLC		\$3.5700	\$17,296.65
	Vulcan Construction Materials, LLC		\$3.5000	\$16,957.50
730-14.03	LOOP WIRE			
		11,190.000 L.F.		
	Rogers Group, Inc.	,	\$0.5300	\$5,930.70
	Volunteer Paving, LLC		\$0.5100	\$5,706.90
	Vulcan Construction Materials, LLC		\$0.5000	\$5,595.00

Rogers Group, Inc.	\$1,570,050.00
Volunteer Paving, LLC	\$1,703,597.29
Vulcan Construction Materials, LLC	\$1,828,889.75

TOTAL CONTRACT

Rogers Group, Inc.	\$1,570,050.00
Volunteer Paving, LLC	\$1,703,597.29
Vulcan Construction Materials, LLC	\$1,828,889.75

MCMINN COUNTY (Contract No. CNT147 Call 058)

54010-4220-04, HSIP-39(17), 54010-3220-94

THE RESURFACING ON S.R. 39 FROM SOUTH JACKSON STREET (L.M. 9.35) TO EAST OF OLD ATHENS ENGLEWOOD ROAD (L.M. 12.30).

PROJECT LENGTH - 2.950 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.50%

TOTAL CONTRACT

Rogers Group, Inc.

\$514,379.40

Wright Brothers Construction Company, Inc.

\$794,519.80

			UNIT PRICE	CONTRACT CNT147 EXTENSION
ROADV	VAY CATEGORY			
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		23.000 TON		
	Rogers Group, Inc.		\$780.0000	\$17,940.00
	Wright Brothers Construction Company, Inc.		\$675.0000	\$15,525.00
411-02.1	0 ACS MIX(PG70-22) GRADING D			
		3,544.000 TON		
	Rogers Group, Inc.		\$94.8500	\$336,148.40
	Wright Brothers Construction Company, Inc.		\$142.0000	\$503,248.00
411-12.0	3 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (81	IN WIDTH)		
		4.700 L.M.		
	Rogers Group, Inc.		\$907.0000	\$4,262.90
	Wright Brothers Construction Company, Inc.		\$1,530.0000	\$7,191.00
415-01.0	1 COLD PLANING BITUMINOUS PAVEMENT			
		3,405.000 TON		
	Rogers Group, Inc.		\$20.4000	\$69,462.00
	Wright Brothers Construction Company, Inc.		\$38.5000	\$131,092.50
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$12,740.0000	\$12,740.00
	Wright Brothers Construction Company, Inc.		\$32,000.0000	\$32,000.00
712-04.0	1 FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Rogers Group, Inc.		\$29.2600	\$731.50
	Wright Brothers Construction Company, Inc.		\$5.5000	\$137.50
712-06	SIGNS (CONSTRUCTION)			
		667.000 S.F.		
	Rogers Group, Inc.		\$8.7500	\$5,836.25
	Wright Brothers Construction Company, Inc.		\$7.0000	\$4,669.00
713-16.0	1 CHANGEABLE MESSAGE SIGN UNIT			
		1.000 EACH		
	Rogers Group, Inc.		\$3,540.0000	\$3,540.00
	Wright Brothers Construction Company, Inc.		\$5,785.0000	\$5,785.00
716-01.2	21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DII	R) (1 COLOR)		
		200.000 EACH		
	Rogers Group, Inc.		\$28.7500	\$5,750.00
	Wright Brothers Construction Company, Inc.		\$33.0000	\$6,600.00
716-01.2	2 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO	-DIR)(1 COLOR)		
		20.000 EACH		
	D 0 1		MAA 7500	A 00

Rogers Group, Inc.

Wright Brothers Construction Company, Inc.

\$575.00

\$28.7500

\$33.0000

				CONTRACT CNT147
			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	,	16.000 S.Y.		
	Rogers Group, Inc.		\$5.1500	\$82.40
	Wright Brothers Construction Company, Inc.		\$19.5000	\$312.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		323.000 L.F.		
	Rogers Group, Inc. Wright Brothers Construction Company, Inc.		\$12.3000 \$11.0000	\$3,972.90 \$3,553.00
	Whight Brothers Constitution Company, inc.		ψ11.0000	ψ0,000.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Degrave Crave Inc.	2.000 EACH	¢454,0000	#200.00
	Rogers Group, Inc. Wright Brothers Construction Company, Inc.		\$154.0000 \$165.0000	\$308.00 \$330.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	47.000 14		
	Rogers Group, Inc.	17.800 L.M.	\$590.0000	\$10,502.00
	Wright Brothers Construction Company, Inc.		\$743.0000	\$13,225.40
716-05 05	PAINTED PAVEMENT MARKING (STOP LINE)			
710-03.03	TANTED TAVEINENT MARKING (OTOT LINE)	323.000 L.F.		
	Rogers Group, Inc.		\$5.1500	\$1,663.45
	Wright Brothers Construction Company, Inc.		\$5.8000	\$1,873.40
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		11.900 L.M.		
	Rogers Group, Inc.		\$2,464.0000	\$29,321.60
	Wright Brothers Construction Company, Inc.		\$2,610.0000	\$31,059.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		200.000 L.F.		
	Rogers Group, Inc. Wright Brothers Construction Company, Inc.		\$1.0500 \$1.4000	\$210.00 \$280.00
	Trigit Brothor Conocidence Company, mo.		ψ1.1000	Ψ200.00
716-13.08	SPRAY THERMO PVMT MRKNG (40 mil) (8IN BARRIER LINE)			
	Pagara Group, Inc.	260.000 L.F.	\$2.0500	\$ 533.00
	Rogers Group, Inc. Wright Brothers Construction Company, Inc.		\$2.0500 \$1.6500	\$533.00 \$429.00
			•	

1.000 LS

717-01

MOBILIZATION

Rogers Group, Inc.

Wright Brothers Construction Company, Inc.

\$10,800.00

\$36,550.00

\$10,800.0000

\$36,550.0000

Rogers Group, Inc.	\$514,379.40
Wright Brothers Construction Company, Inc.	\$794,519.80

TOTAL CONTRACT

Rogers Group, Inc.	\$514,379.40
Wright Brothers Construction Company, Inc.	\$794,519.80

MONTGOMERY COUNTY (Contract No. CNT164 Call 059)

NH/HSIP-374(18),63374-3223-94,63374-8223-14

THE RESURFACING ON S.R. 374 FROM THE BRIDGE OVER U.S. 41A (S.R. 12) (L.M. 11.70) TO U.S. 79 (S.R. 76) (L.M. 16.20).

PROJECT LENGTH - 4.500 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.00%

TOTAL CONTRACT

Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC \$2,178,236.70 \$2,332,435.95

CONTRACT	CNT164
----------	---------------

				CONTRACT CNT164
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01 05	BROOMING & DEGRASSING SHOULDERS			
200-01.03	BROOMING & DEGRASSING SHOULDERS	16.700 L.M.		
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC	10.700 E.M.	\$1,500.0000 \$1,200.0000	\$25,050.00 \$20,040.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		3,293.000 TON		
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$21.0000 \$20.7500	\$69,153.00 \$68,329.75
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING E	3-M2		
		510.000 TON		
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$73.0000 \$80.5000	\$37,230.00 \$41,055.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	W.L. 0	90.000 TON	# 252.222	#
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$850.0000 \$580.0000	\$76,500.00 \$52,200.00
411-02.10	ACS MIX(PG70-22) GRADING D	44 740 000 TO N		
	Vulcan Construction Materials, LLC	14,713.000 TON	\$84.0000	\$1,235,892.00
	Jones Bros. Contractors, LLC		\$100.0000	\$1,471,300.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)	0.000 14		
	Vulcan Construction Materials, LLC	9.000 L.M.	\$375.0000	\$3,375.00
	Jones Bros. Contractors, LLC		\$375.0000	\$3,375.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)	7.200 L.M.		
	Vulcan Construction Materials, LLC	7.200 L.W.	\$375.0000	\$2,700.00
	Jones Bros. Contractors, LLC		\$375.0000	\$2,700.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	4.4 F07 000 TON		
	Vulcan Construction Materials, LLC	14,587.000 TON	\$19.0000	\$277,153.00
	Jones Bros. Contractors, LLC		\$17.5500	\$256,001.85
502-01	CLEANING AND SEALING JOINTS	074 000 L F		
	Vulcan Construction Materials, LLC	974.000 L.F.	\$6.0000	\$5,844.00
	Jones Bros. Contractors, LLC		\$3.0000	\$2,922.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)	72.000 S.F.		
	Vulcan Construction Materials, LLC	1 2.000 J.I⁻.	\$25.0000	\$1,800.00
	Jones Bros. Contractors, LLC		\$58.5000	\$4,212.00
				PAGE

				CONTRACT CNT164
			UNIT PRICE	EXTENSION
701-02.03	CONCRETE CURB RAMP			
		1,964.000 S.F.		
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$26.0000 \$24.2500	\$51,064.00 \$47,627.00
	Jones Bios. Contractors, LLC		ψ24.2300	φ47,027.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$95,000.0000 \$75,000.0000	\$95,000.00 \$75,000.00
	05.130 2130. 05.11103.010, 220		φ. σ,σσσ.σσσσ	ψ, ο,οοοοο
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$20.0000 \$15.0000	\$2,000.00 \$1,500.00
	Conces Bros. Contractors, ELC		ψ10.0000	ψ1,000.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$15.0000	\$60.00
	Jones Bros. Contractors, LLC		\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
		1,671.000 S.F.		
	Vulcan Construction Materials, LLC		\$9.4500	\$15,790.95
	Jones Bros. Contractors, LLC		\$6.6000	\$11,028.60
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 C	OLOR)		
		822.000 EACH		
	Vulcan Construction Materials, LLC		\$30.0000	\$24,660.00
	Jones Bros. Contractors, LLC		\$30.0000	\$24,660.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		60.000 L.F.		
	Vulcan Construction Materials, LLC		\$6.0000	\$360.00
	Jones Bros. Contractors, LLC		\$6.0000	\$360.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		2,775.000 S.Y.		
	Vulcan Construction Materials, LLC		\$15.0000 \$45.0000	\$41,625.00
	Jones Bros. Contractors, LLC		\$15.0000	\$41,625.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		272.000 L.F.		
	Vulcan Construction Materials, LLC		\$15.0000	\$4,080.00
	Jones Bros. Contractors, LLC		\$15.0000	\$4,080.00

42.000 EACH

716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)

Vulcan Construction Materials, LLC

Jones Bros. Contractors, LLC

\$6,300.00

\$6,300.00

\$150.0000

\$150.0000

			C	ONTRACT CNT164
			UNIT PRICE	EXTENSION
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WA	ALK)		
		457.000 L.F.		
	Vulcan Construction Materials, LLC		\$30.0000	\$13,710.00
	Jones Bros. Contractors, LLC		\$30.0000	\$13,710.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		23.000 L.M.		
	Vulcan Construction Materials, LLC		\$800.0000	\$18,400.00
	Jones Bros. Contractors, LLC		\$800.0000	\$18,400.00
716-12.02	2 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		23.000 L.M.		
	Vulcan Construction Materials, LLC		\$5,000.0000	\$115,000.00
	Jones Bros. Contractors, LLC		\$5,000.0000	\$115,000.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTE	D LINE)		
		4,200.000 L.F.		
	Vulcan Construction Materials, LLC		\$1.0000	\$4,200.00
	Jones Bros. Contractors, LLC		\$1.0000	\$4,200.00
717-01	MOBILIZATION			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$29,500.0000	\$29,500.00
	Jones Bros. Contractors, LLC		\$25,000.0000	\$25,000.00
730-14.02	2 SAW SLOT			
		4,461.000 L.F.		
	Vulcan Construction Materials, LLC		\$3.7500	\$16,728.75
	Jones Bros. Contractors, LLC		\$3.7500	\$16,728.75

10,122.000 L.F.

730-14.03 LOOP WIRE

Vulcan Construction Materials, LLC

Jones Bros. Contractors, LLC

\$5,061.00

\$5,061.00

\$0.5000

\$0.5000

Vulcan Construction Materials, LLC	\$2,178,236.70
Jones Bros. Contractors, LLC	\$2,332,435.95

TOTAL CONTRACT

Vulcan Construction Materials, LLC	\$2,178,236.70
Jones Bros. Contractors, LLC	\$2,332,435.95

OVERTON COUNTY (Contract No. CNT184 Call 060)

HSIP-111(98),67001-3289-94

THE MISCELLANEOUS SAFETY IMPROVEMENTS ON S.R. 111 AT THE INTERSECTIONS OF S.R. 293 (L.M. 3.09 AND L.M. 3.18), INCLUDING GRADING, DRAINAGE AND PAVING.

PROJECT LENGTH - 0.492 MILES

COMPLETION TIME - ON OR BEFORE OCTOBER 31, 2019

DBE GOAL 10.00%

TOTAL CONTRACT

Rogers Group, Inc. \$2,183,284.71

Mid-State Construction Company, Inc. \$2,395,282.29

	CNT18	

			CC	ONTRACT CNT184
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
		1.000 LS		
	Rogers Group, Inc. Mid-State Construction Company, Inc.		\$17,168.1500 \$31,403.7600	\$17,168.15 \$31,403.76
201-01	CLEARING AND GRUBBING	4 000 1 0		
	Rogers Group, Inc.	1.000 LS	\$8,279.3400	\$8,279.34
	Mid-State Construction Company, Inc.		\$32,571.4300	\$32,571.43
202-01.50	REMOVAL OF STRUCTURES AND OBSTRUCTIONS			
	Rogers Group, Inc.	3.000 EACH	\$2 138 4000	\$6,415.20
	Mid-State Construction Company, Inc.		\$2,138.4000 \$612.5800	\$1,837.74
202-02.01	REMOVAL OF PIPE (18", STA 6+01.65, SR 293 EAST)	40.000 5		
	Rogers Group, Inc.	42.000 L.F.	\$7.7300	\$324.66
	Mid-State Construction Company, Inc.		\$15.7500 \$15.7500	\$661.50
202-02.02	REMOVAL OF PIPE (24". STA. 12+73.54 SR 293 WEST)			
	Rogers Group, Inc.	76.000 L.F.	\$10.3100	\$783.56
	Mid-State Construction Company, Inc.		\$15.7500	\$1,197.00
202-02.21	REMOVAL OF PIPE (18" STORM SEWER)			
	Pagara Graup, Inc.	1,920.000 L.F.	\$6.2400	\$11,980.80
	Rogers Group, Inc. Mid-State Construction Company, Inc.		\$12.5900	\$24,172.80
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	Rogers Group, Inc.	11,204.000 C.Y.	\$14.9600	\$167,611.84
	Mid-State Construction Company, Inc.		\$13.2000	\$147,892.80
203-04	PLACING AND SPREADING TOPSOIL			
	Rogers Group, Inc.	1,324.000 C.Y.	\$18.1500	\$24,030.60
	Mid-State Construction Company, Inc.		\$8.5800	\$11,359.92
203-06	WATER			
	Rogers Group, Inc.	10.000 M.G.	\$14.0200	\$140.20
	Mid-State Construction Company, Inc.		\$36.5200	\$365.20
203-10.15	WASTE MATERIAL	7 000 000 0 1		
	Rogers Group, Inc.	7,269.000 C.Y.	\$10.7500	\$78,141.75
	Mid-State Construction Company, Inc.		\$0.1200	\$872.28
				PAGE

				CONTRACT CNT404
			UNIT PRICE	EXTENSION
			ONITTRIOL	EXTENSION
209-05	SEDIMENT REMOVAL			
		180.000 C.Y.		
	Rogers Group, Inc. Mid-State Construction Company, Inc.		\$29.8100 \$18.8800	\$5,365.80 \$3,398.40
	mid-State Constituction Company, inc.		φ10.0000	Ф 3,396.40
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	•	4,750.000 L.F.		
	Rogers Group, Inc.		\$5.0900	\$24,177.50
	Mid-State Construction Company, Inc.		\$4.9600	\$23,560.00
209-08.07	ROCK CHECK DAM PER			
		45.000 EACH		
	Rogers Group, Inc.		\$462.6400	\$20,818.80
	Mid-State Construction Company, Inc.		\$711.1600	\$32,002.20
209-08.08	ENHANCED ROCK CHECK DAM			
_00 00.00		15.000 EACH		
	Rogers Group, Inc.		\$1,084.2600	\$16,263.90
	Mid-State Construction Company, Inc.		\$974.7400	\$14,621.10
300-40 33	CATCH BASIN PROTECTION (TYPE D)			
209-40.33	CATCH BASIN FROTECTION (TTFL D)	4.000 EACH		
	Rogers Group, Inc.	4.000 E/(011	\$483.0400	\$1,932.16
	Mid-State Construction Company, Inc.		\$914.5000	\$3,658.00
200 40 40	CATCH DACIN FILTED ACCEMBL V/TVDF 0)			
209-40.48	CATCH BASIN FILTER ASSEMBLY(TYPE 8)	8.000 EACH		
	Rogers Group, Inc.		\$1,626.3800	\$13,011.04
	Mid-State Construction Company, Inc.		\$1,770.0000	\$14,160.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc.	1,157.000 TON	\$22.5000	\$251,032.50
	Mid-State Construction Company, Inc.		\$26.5500	\$296,218.35
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
		236.000 TON		*******
	Rogers Group, Inc. Mid-State Construction Company, Inc.		\$99.8000 \$117.7600	\$23,552.80 \$27,791.36
	wild State Constitution Company, inc.		ψ117.7000	Ψ27,701.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
		321.000 TON		
	Rogers Group, Inc.		\$122.4700 \$144.5100	\$39,312.87 \$46,387,71
	Mid-State Construction Company, Inc.		\$144.5100	\$46,387.71
307-01.21	ASP. CONC. MIX(PG70-22) (BPMB-HM) GR. A-S			
		567.000 TON		
	Description of the second of t		# 00 0000	MEO EOO OO

Rogers Group, Inc.

Mid-State Construction Company, Inc.

\$56,586.60

\$66,769.92

\$99.8000

\$117.7600

				CONTRACT CNT184
			UNIT PRICE	EXTENSION
307-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	Α		
		1,749.000 TON		
	Rogers Group, Inc. Mid-State Construction Company, Inc.		\$99.8000 \$117.7600	\$174,550.20 \$205,962.24
	wild-State Construction Company, Inc.		\$117.7600	\$205,962.24
307-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING	B-M2		
	Darrage Crause Inc.	784.000 TON	¢400.4700	COC 04C 40
	Rogers Group, Inc. Mid-State Construction Company, Inc.		\$122.4700 \$144.5100	\$96,016.48 \$113,295.84
402-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC)	00 000 TON		
	Rogers Group, Inc.	22.000 TON	\$500.0000	\$11,000.00
	Mid-State Construction Company, Inc.		\$590.0000	\$12,980.00
402-02	AGGREGATE FOR COVER MATERIAL (PC)			
402-02	AGGREGATE FOR GOVER MATERIAL (FG)	83.000 TON		
	Rogers Group, Inc.		\$22.5000	\$1,867.50
	Mid-State Construction Company, Inc.		\$26.5500	\$2,203.65
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		23.000 TON		
	Rogers Group, Inc.		\$500.0000	\$11,500.00
	Mid-State Construction Company, Inc.		\$590.0000	\$13,570.00
407-20.05	SAW CUTTING ASPHALT PAVEMENT			
		4,000.000 L.F.		
	Rogers Group, Inc. Mid-State Construction Company, Inc.		\$2.1300 \$3.2400	\$8,520.00 \$12,960.00
	one one of the company, more		Ψ0.2.00	ψ.=,σσσ.σσ
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	Rogers Group, Inc.	453.000 TON	\$114.3500	\$51,800.55
	Mid-State Construction Company, Inc.		\$134.9300	\$61,123.29
411-01.10	ACS MIX(PG64-22) GRADING D	208.000 TON		
	Rogers Group, Inc.	200.000 1014	\$125.7200	\$26,149.76
	Mid-State Construction Company, Inc.		\$148.3500	\$30,856.80
411-02.10	ACS MIX(PG70-22) GRADING D			
- · · ·	,	1,389.000 TON		
	Rogers Group, Inc.		\$125.7200	\$174,625.08
	Mid-State Construction Company, Inc.		\$148.3500	\$206,058.15
444 40 04	SCODING SHOULDERS (CONTINUEDUS) (46IN WIDTH)			

1.100 L.M.

411-12.01 SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)

Mid-State Construction Company, Inc.

Rogers Group, Inc.

\$1,403.16

\$1,557.60

\$1,275.6000

\$1,416.0000

			CONTRACT CNT184
		UNIT PRICE	EXTENSION
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
		0.800 L.M.	
	Rogers Group, Inc.	\$1,275.6000	\$1,020.48
	Mid-State Construction Company, Inc.	\$1,416.0000	\$1,132.80
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
		0.200 L.M.	
	Rogers Group, Inc.	\$1,275.6000	\$255.12
	Mid-State Construction Company, Inc.	\$1,416.0000	\$283.20
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
		986.000 TON	
	Rogers Group, Inc.	\$36.0000 \$43.4000	\$39,096.00
	Mid-State Construction Company, Inc.	\$42.4800	\$46,133.28
607-03.02	18" CONCRETE PIPE CULVERT (CLASS III)		
		06.000 L.F.	
	Rogers Group, Inc.	\$52.1900	\$47,284.14
	Mid-State Construction Company, Inc.	\$57.3000	\$51,913.80
607-05.02	24" CONCRETE PIPE CULVERT (CLASS III)		
		59.000 L.F.	
	Rogers Group, Inc.	\$65.5800 \$74.7000	\$62,891.22
	Mid-State Construction Company, Inc.	\$71.7600	\$68,817.84
607-06.02	30" CONCRETE PIPE CULVERT (CLASS III)		
		72.000 L.F.	
	Rogers Group, Inc.	\$81.9900 \$24.3000	\$14,102.28 \$16,335.08
	Mid-State Construction Company, Inc.	\$94.3900	\$16,235.08
607-20.01	18" CROSSDRAIN PIPE CULVERT(COLLECTORS & LOCAL ROADS)		
		58.000 L.F.	40.070.00
	Rogers Group, Inc. Mid-State Construction Company, Inc.	\$120.2900 \$61.4100	\$6,976.82 \$3,561.78
	wiid-State Construction Company, Inc.	\$61.4100	φ3,301.76
607-20.02	24" CROSSDRAIN PIPE CULVERT(COLLECTORS & LOCAL ROADS)		
		56.000 L.F.	^
	Rogers Group, Inc. Mid-State Construction Company, Inc.	\$134.1300 \$76.9000	\$7,511.28 \$4,306.40
	Mid-State Constitution Company, Inc.	\$70.9000	ψ 4 ,300.40
607-39.02	18" PIPE CULVERT (SIDE DRAIN)		
		84.000 L.F.	
	Rogers Group, Inc.	\$87.8600 \$55.5000	\$16,166.24 \$10,228,56
	Mid-State Construction Company, Inc.	\$55.5900	\$10,228.56
611-01.03	MANHOLES, > 8' - 12' DEPTH		

1.000 EACH

Rogers Group, Inc.

Mid-State Construction Company, Inc.

\$5,082.90

\$6,756.62

\$5,082.9000

\$6,756.6200

Color Colo				СО	NTRACT CNT184
Rogers Group, Inc. \$3,081.7800 \$36,981.36 \$36,981				UNIT PRICE	EXTENSION
Rogers Group, Inc. \$3,081.7800 \$36,981.36 \$36,981	044.07.04	AON ENDWALL (OIDE DE ANN			
Rogers Group, Inc. \$3,081,7800 \$36,981.36 \$43,093.56 \$11-97.54 \$181 ENDWALL (CROSS DRAIN) 3:1 2.000 EACH \$2,426,4700 \$4,852.94 \$4,942.88 \$4,942.88 \$4,943.88 \$4,	611-07.31	18IN ENDWALL (SIDE DRAIN)	12 000 EACH		
### Mid-State Construction Company, Inc. #### 14.000 EACH Rogers Group, Inc. ###################################		Rogers Group Inc	12.000 EAGH	\$3 081 7800	\$36 981 36
Rogers Group, Inc. Mild-State Construction Company, Inc. \$2,406,4700 \$4,852.94					
Rogers Group, Inc. Mild-State Construction Company, Inc. \$2,406,4700 \$4,852.94					
Rogers Group, Inc. \$2,426,4700 \$4,852.94 Mid-State Construction Company, Inc. \$1,763,2700 \$3,526.54 \$4,852.94 \$1,763,2700 \$3,526.54 \$4,852.94 \$1,763,2700 \$3,526.54 \$4,852.94 \$1,763,2700 \$3,526.54 \$4,852.94 \$3,526.54 \$4,852.94 \$4,852.94 \$3,526.54 \$4,852.94 \$4,852.94 \$4,852.94 \$4,852.89 \$4,453.88 \$4,443.38 \$4,443	611-07.54	18IN ENDWALL (CROSS DRAIN) 3:1			
Mid-State Construction Company, Inc. \$1,763.2700 \$3,526.54		Demore Crayer Inc.	2.000 EACH	ФО 40C 4700	Φ4.0 <u>50.04</u>
### Rogers Group, Inc.		-			
Rogers Group, Inc. \$2,000 EACH \$2,721.3600 \$5,442.72 \$6,442.72 \$6,442.72 \$6,442.72 \$6,442.72 \$6,442.73 \$6,		wild diate construction company, me.		ψ1,700.2700	ψο,σ2σ.σ4
Rogers Group, Inc. \$2,721.3600 \$5,442.72 \$6,000 \$4,043.38 \$1.38.02 \$2,021.6900 \$4,043.38 \$1.38.02 \$2,021.6900 \$4,043.38 \$1.38.02 \$2,021.6900 \$4,043.38 \$1.38.02 \$1.38.02 \$1.38.02 \$1.38.02 \$1.38.02 \$1.38.02 \$1.38.000 \$1.38.04 \$1.38.02 \$1.38	611-07.57	24IN ENDWALL (CROSS DRAIN) 3:1			
Mid-State Construction Company, Inc. \$2,021.6900 \$4,043.38			2.000 EACH		
Rogers Group, Inc. S1,353,8100 \$34,830,48 \$5,256,8800 \$34,830,48 \$5,256,8800 \$42,055,04 \$621-03.02 18" TEMPORARY DRAINAGE PIPE S6,000 L.F. S103,7700 S3,735,72 S36,000 L.F. S103,7700 S3,735,72 S36,000 C.Y. S538,9400 S7,545,16 S490,6900 S6,869,66 S490,6900 S6,869,66 S490,6900 S6,869,66 S490,6900 S6,869,66 S490,6900 S6,869,60 S6,869,				• •	
Rogers Group, Inc. \$4,353.8100 \$34,830.48 \$42,055.04 \$42,050.04 \$42,055		Mid-State Construction Company, Inc.		\$2,021.6900	\$4,043.38
Rogers Group, Inc. \$4,353.8100 \$34,830.48 \$42,056.04 \$42,056	611-38.02	CATCH BASINS, TYPE 38, > 4' - 8' DEPTH			
Mid-State Construction Company, Inc. \$5,256.8800 \$42,055.04			8.000 EACH		
18" TEMPORARY DRAINAGE PIPE 36.000 L.F. 36.000 L.F. 36.000 L.F. 3103.7700 \$3,735.72 \$35.4000 \$1,274.40 \$35.4000 \$1,274.40 \$35.4000 \$1,274.40 \$35.4000 \$1,274.40 \$35.4000 \$1,274.40 \$35.4000 \$1,274.40 \$35.4000 \$1,274.40 \$35.4000 \$1,274.40 \$35.4000 \$1,274.40 \$10.000 C.Y. \$20.000 C.Y. \$				\$4,353.8100	
Rogers Group, Inc. \$103.7700 \$37.35.72 \$35.4000 \$1,274.40 \$103.7700 \$37.35.72 \$35.4000 \$1,274.40 \$10.000 C.Y. \$35.4000 \$1,274.40 \$14.000 C.Y. \$		Mid-State Construction Company, Inc.		\$5,256.8800	\$42,055.04
Rogers Group, Inc. \$103.7700 \$37.35.72 \$35.4000 \$1,274.40 \$103.7700 \$37.35.72 \$35.4000 \$1,274.40 \$10.000 C.Y. \$35.4000 \$1,274.40 \$14.000 C.Y. \$	621-03 02	18" TEMPORARY DRAINAGE PIPE			
Rogers Group, Inc. \$103.7700 \$3,735.72 \$35.4000 \$1,274.40	021 00.02	TO TELLIN ORARCI BRAINAGET II E	36.000 L.F.		
Mid-State Construction Company, Inc.		Rogers Group, Inc.	00.000 =	\$103.7700	\$3,735.72
14.000 C.Y. Rogers Group, Inc. \$538.9400 \$7,545.16 \$490.6900 \$6,869.66 \$703-01 PORTLAND CEMENT CONCRETE DITCH PAVING \$716.4600 \$28,658.40 \$26,098.00 \$652.4500 \$26,098.00 \$705-04.50 \$652.4500 \$26,098.00 \$705-04.50 \$15.9500 \$797.50 \$705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) \$4.000 EACH \$4.					
14.000 C.Y. Rogers Group, Inc. \$538.9400 \$7,545.16 \$490.6900 \$6,869.66 \$703-01 PORTLAND CEMENT CONCRETE DITCH PAVING \$716.4600 \$28,658.40 \$26,098.00 \$652.4500 \$26,098.00 \$705-04.50 \$652.4500 \$26,098.00 \$705-04.50 \$15.9500 \$797.50 \$705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) \$4.000 EACH \$4.	704.00	CONORETE MEDIAN DAVEMENT			
Rogers Group, Inc. \$538.9400 \$7,545.16 \$490.6900 \$6,869.66 703-01 PORTLAND CEMENT CONCRETE DITCH PAVING 40.000 C.Y. Rogers Group, Inc. \$716.4600 \$28,658.40 \$26,098.00 705-04.50 PORTABLE BARRIER RAIL DELINEATOR \$652.4500 \$26,098.00 705-04.50 Rogers Group, Inc. \$15.9500 \$797.50 \$797.50 \$705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) \$4.000 EACH \$15.3800 \$769.00 705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) \$4.000 EACH \$4.	701-03	CONCRETE MEDIAN PAVEMENT	14 000 C V		
Mid-State Construction Company, Inc.		Rogers Group Inc	14.000 0.1.	\$538 9400	\$7 545 16
## 40.000 C.Y. Rogers Group, Inc. Mid-State Construction Company, Inc. ### 50.000 EACH Rogers Group, Inc. ### 50.000 EACH Rogers Group, Inc. Mid-State Construction Company, Inc. ### 15.9500 \$797.50 Mid-State Construction Company, Inc. ### 15.3800 \$769.00 ### 15.3800 \$769.00		- ·			
## 40.000 C.Y. Rogers Group, Inc. Mid-State Construction Company, Inc. ### 50.000 EACH Rogers Group, Inc. ### 50.000 EACH Rogers Group, Inc. Mid-State Construction Company, Inc. ### 15.9500 \$797.50 Mid-State Construction Company, Inc. ### 15.3800 \$769.00 ### 15.3800 \$769.00					
Rogers Group, Inc. Mid-State Construction Company, Inc. 705-04.50 PORTABLE BARRIER RAIL DELINEATOR Fogers Group, Inc. Rogers Group, Inc. Mid-State Construction Company, Inc. \$15.9500 \$797.50 Mid-State Construction Company, Inc. \$15.3800 \$769.00	703-01	PORTLAND CEMENT CONCRETE DITCH PAVING			
Mid-State Construction Company, Inc. \$652.4500 \$26,098.00 705-04.50 PORTABLE BARRIER RAIL DELINEATOR 50.000 EACH Rogers Group, Inc. \$15.9500 \$797.50 Mid-State Construction Company, Inc. \$15.3800 \$769.00 705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) 4.000 EACH		Pagara Craup Ina	40.000 C.Y.	\$716.4600	¢20 650 40
705-04.50 PORTABLE BARRIER RAIL DELINEATOR 50.000 EACH Rogers Group, Inc. \$15.9500 \$797.50 Mid-State Construction Company, Inc. \$15.3800 \$769.00 705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) 4.000 EACH		-		·	
50.000 EACH Rogers Group, Inc. \$15.9500 \$797.50 Mid-State Construction Company, Inc. \$15.3800 \$769.00 705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) 4.000 EACH		, ,,		·	. ,
Rogers Group, Inc. \$15.9500 \$797.50 Mid-State Construction Company, Inc. \$15.3800 \$769.00 705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) 4.000 EACH	705-04.50	PORTABLE BARRIER RAIL DELINEATOR			
Mid-State Construction Company, Inc. \$15.3800 \$769.00 705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) 4.000 EACH			50.000 EACH		
705-20.25 TEMPORARY CRASH CUSHION (MASH TL-3) 4.000 EACH				·	
4.000 EACH		Mid-State Construction Company, Inc.		\$15.3600	\$769.00
	705-20.25	TEMPORARY CRASH CUSHION (MASH TL-3)			
Rogers Group, Inc. \$6 227 0300 \$24 908 12			4.000 EACH		
		Rogers Group, Inc.		\$6,227.0300	\$24,908.12
Mid-State Construction Company, Inc. \$8,453.8200 \$33,815.28		Mid-State Construction Company, Inc.		\$8,453.8200	\$33,815.28
707-08.11 HIGH-VISIBILITY CONSTRUCTION FENCE	707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE			
200.000 L.F.			200.000 L.F.		
Rogers Group, Inc. \$3.2500 \$650.00		- ·		\$3.2500	\$650.00
Mid-State Construction Company, Inc. \$13.5700 \$2,714.00		Mid-State Construction Company, Inc.		\$13.5700	\$2,714.00

			CC	NTRACT CNT184
			UNIT PRICE	EXTENSION
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
		65.000 TON		
	Rogers Group, Inc.		\$44.2500	\$2,876.25
	Mid-State Construction Company, Inc.		\$41.7500	\$2,713.75
709-05.08	MACHINED RIP-RAP (CLASS B)			
		25.000 TON		
	Rogers Group, Inc.		\$45.8200	\$1,145.50
	Mid-State Construction Company, Inc.		\$48.6700	\$1,216.75
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)			
		1,210.000 L.F.		
	Rogers Group, Inc.		\$7.5500	\$9,135.50
	Mid-State Construction Company, Inc.		\$8.2600	\$9,994.60
710-05	LATERAL UNDERDRAIN			
		70.000 L.F.		
	Rogers Group, Inc.		\$5.3900	\$377.30
	Mid-State Construction Company, Inc.		\$5.9000	\$413.00
710-06.15	LATERAL UNDERDRAIN ENDWALL (6:1)			
		7.000 EACH		
	Rogers Group, Inc.		\$863.1500	\$6,042.05
	Mid-State Construction Company, Inc.		\$944.0000	\$6,608.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$92,583.1800	\$92,583.18
	Mid-State Construction Company, Inc.		\$115,667.3700	\$115,667.37
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL			
		1,000.000 L.F.		
	Rogers Group, Inc.		\$52.9400	\$52,940.00
	Mid-State Construction Company, Inc.		\$56.4300	\$56,430.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		125.000 EACH		
	Rogers Group, Inc.		\$37.2100	\$4,651.25
	Mid-State Construction Company, Inc.		\$35.4000	\$4,425.00
712-05.01	WARNING LIGHTS (TYPE A)			
		50.000 EACH		
	Rogers Group, Inc.		\$31.8900	\$1,594.50
	Mid-State Construction Company, Inc.		\$29.5000	\$1,475.00
712-06	SIGNS (CONSTRUCTION)			
		606.000 S.F.		
	Rogers Group, Inc.		\$7.4400	\$4,508.64
	Mid-State Construction Company, Inc.		\$8.8500	\$5,363.10

	CONTRACT	CNT184
UNIT PRICE	EXTE	ENSION

			CC	INIRACI CNI184
			UNIT PRICE	EXTENSION
712-07.03	TEMPORARY BARRICADES (TYPE III)			
		600.000 L.F.		
	Rogers Group, Inc.		\$14.8800	\$8,928.00
	Mid-State Construction Company, Inc.		\$21.2400	\$12,744.00
742.00.02	ADDOW DOADD (TVDE C)			
712-08.03	ARROW BOARD (TYPE C)	2.000 EACH		
	Rogers Group, Inc.	2.000 27(011	\$1,913.4400	\$3,826.88
	Mid-State Construction Company, Inc.		\$1,770.0000	\$3,540.00
742.04.04	CLASS A CONCRETE (FOUNDATION FOR SIGN SURB	ODTS)		
713-01.01	CLASS A CONCRETE (FOUNDATION FOR SIGN SUPPO	3.000 C.Y.		
	Rogers Group, Inc.	0.000 0.11	\$842.8000	\$2,528.40
	Mid-State Construction Company, Inc.		\$767.0000	\$2,301.00
	. 27		·	. ,
713-01.02	STEEL BAR REINFORCEMENT(FOUNDATION FOR SIG	·		
		601.000 LB.		
	Rogers Group, Inc.		\$4.4600	\$2,680.46
	Mid-State Construction Company, Inc.		\$3.5400	\$2,127.54
713-02.14	FLEXIBLE DELINEATOR (WHITE)			
		150.000 EACH		
	Rogers Group, Inc.		\$35.9700	\$5,395.50
	Mid-State Construction Company, Inc.		\$37.7600	\$5,664.00
713-02.26	CONCRETE BARRIER/PARAPET DELINEATOR			
		6.000 EACH		
	Rogers Group, Inc.		\$13.9600	\$83.76
	Mid-State Construction Company, Inc.		\$23.6000	\$141.60
712 06 01	STEEL I-BEAMS & WF-BEAMS(BREAKSAFE) SIGN SUI	PROPT		
713-00.01	STEEL I-BEAMS & WF-BEAMS(BREAKSAFE) SIGN SUI	1,810.000 LB.		
	Rogers Group, Inc.	1,010.000 LB.	\$4.5600	\$8,253.60
	Mid-State Construction Company, Inc.		\$7.6700	\$13,882.70
713-11.02	PERFORATED/KNOCKOUT SQUARE TUBE POST	2 404 000 LB		
	Rogers Group, Inc.	3,181.000 LB.	\$4.0800	\$12,978.48
	Mid-State Construction Company, Inc.		\$4.0800 \$4.1300	\$13,137.53
	mid-state donstruction company, me.		ψ4.1300	ψ13,137.33
713-11.21	P POST SLIP BASE			
		4.000 EACH		
	Rogers Group, Inc.		\$370.4000	\$1,481.60
	Mid-State Construction Company, Inc.		\$442.5000	\$1,770.00
713-13.02	FLAT SHEET ALUMINUM SIGNS (0.080" THICK)			
		143.000 S.F.		
	Rogers Group, Inc.		\$14.1700	\$2,026.31
	Mid-State Construction Company, Inc.		\$16.5200	\$2,362.36

~~	ITD A OT	CNT184
(() r	4 I R A C I	CNITXA

			CO	NIRACI CNI184
			UNIT PRICE	EXTENSION
713-13.03	FLAT SHEET ALUMINUM SIGNS (0.100" THICK)			
		519.000 S.F.		
	Rogers Group, Inc.		\$14.6000	\$7,577.40
	Mid-State Construction Company, Inc.		\$18.8800	\$9,798.72
	otato os.ionaonon os.i.pany, ino		ψ.σ.σσσ	ψο,. σσ Ξ
713-14	EXTRUDED ALUMINUM PANEL SIGNS			
		340.000 S.F.		
	Rogers Group, Inc.		\$29.2600	\$9,948.40
	Mid-State Construction Company, Inc.		\$35.4000	\$12,036.00
713-14-22	STREET NAME SIGN (SUSPENDED 0.100IN THICK	Ω		
		1.000 S.F.		
	Rogers Group, Inc.		\$24.6900	\$24.69
	Mid-State Construction Company, Inc.		\$35.4000	\$35.40
713-15	REMOVAL OF SIGNS, POSTS AND FOOTINGS			
		1.000 LS		
	Rogers Group, Inc.	1.000 20	\$1,288.3500	\$1,288.35
	Mid-State Construction Company, Inc.		\$236.0000	\$236.00
	wid-state construction company, inc.		Ψ230.0000	Ψ230.00
713-15.06	MILE POST SIGN			
		2.000 EACH		
	Rogers Group, Inc.		\$203.9900	\$407.98
	Mid-State Construction Company, Inc.		\$94.4000	\$188.80
	, , , ,		•	,
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		4.000 EACH		
	Rogers Group, Inc.		\$6,590.7300	\$26,362.92
	Mid-State Construction Company, Inc.		\$7,080.0000	\$28,320.00
715-01	ASPHALTIC CONCRETE CURB (4 INCHES)			
		200.000 L.F.		
	Rogers Group, Inc.		\$36.0000	\$7,200.00
	Mid-State Construction Company, Inc.		\$42.4800	\$8,496.00
716-01 21	SNOWPLOWABLE RAISED PAVEMENT MARKERS	S (BLDIP) (1 COLOP)		
710-01.21	ONOW EGWADEE NAIGED FAVEMENT MANNEN			
	D 0 1	5.000 EACH	#00.7000	# 440.00
	Rogers Group, Inc.		\$29.7600	\$148.80
	Mid-State Construction Company, Inc.		\$33.0400	\$165.20
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKER	S (BI-DIR)(2 COLOR)		
		155.000 EACH		
	Rogers Group, Inc.		\$29.7600	\$4,612.80
	Mid-State Construction Company, Inc.		\$33.0400	\$5,121.20
	Julio Condition Company, mo.		ψοσ.σποσ	ψο, 121.20
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATIO	ON STRIPING)		
		62.000 S.Y.		
	Rogers Group, Inc.		\$19.1300	\$1,186.06
	Mid-State Construction Company, Inc.		\$21.2400	\$1,316.88
	- · ·			

				CONTRACT CNT184
			UNIT PRICE	EXTENSION
716 02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
710-02.05	FLASTIC FAVENCIAL MARKING (STOP LINE)	121.000 L.F.		
	Rogers Group, Inc.		\$12.7600	\$1,543.96
	Mid-State Construction Company, Inc.		\$14.1600	\$1,713.36
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	17.000 EACH		
	Rogers Group, Inc.	17.000 EAGH	\$159.4500	\$2,710.65
	Mid-State Construction Company, Inc.		\$177.0000	\$3,009.00
716-02.07	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		650.000 L.F.	4.0500	40 700 50
	Rogers Group, Inc. Mid-State Construction Company, Inc.		\$4.2500 \$4.7200	\$2,762.50 \$3,068.00
	wild-State Construction Company, inc.		ψ4.7200	ψ3,000.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		1,550.000 L.F.		
	Rogers Group, Inc.		\$2.1300	\$3,301.50
	Mid-State Construction Company, Inc.		\$2.3600	\$3,658.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)			
	(***===,	0.400 L.M.		
	Rogers Group, Inc.		\$9,035.4700	\$3,614.19
	Mid-State Construction Company, Inc.		\$10,030.0000	\$4,012.00
716-03 01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
710-03.01	FLASTIC WORD PAVEINENT MARKING (ONLT)	4.000 EACH		
	Rogers Group, Inc.	4.000 LAOI1	\$132.8700	\$531.48
	Mid-State Construction Company, Inc.		\$147.5000	\$590.00
716-05.02	PAINTED PAVEMENT MARKING (8" BARRIER LINE)			
	Rogers Group, Inc.	4,000.000 L.F.	\$0.4800	\$1,920.00
	Mid-State Construction Company, Inc.		\$0.4800	\$2,120.00
	, ,			
716-08.01	REMOVAL OF PAVEMENT MARKING (LINE)			
		1,000.000 L.F.		
	Rogers Group, Inc.		\$0.8000 \$0.8900	\$800.00 \$890.00
	Mid-State Construction Company, Inc.		\$0.6900	\$690.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		2.300 L.M.		
	Rogers Group, Inc.		\$4,996.0800	\$11,490.98
	Mid-State Construction Company, Inc.		\$5,546.0000	\$12,755.80
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	······································	0.300 L.M.		
	Rogers Group, Inc.		\$4,251.9800	\$1,275.59
	Mid-State Construction Company, Inc.		\$4,720.0000	\$1,416.00

			CC	NTRACT CNT184
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$109,000.0000	\$109,000.00
	Mid-State Construction Company, Inc.		\$125,901.5900	\$125,901.59
740-10.03	GEOTEXTILE (TYPE III)(EROSION CONTROL)			
		190.000 S.Y.		
	Rogers Group, Inc.		\$3.5100	\$666.90
	Mid-State Construction Company, Inc.		\$6.0200	\$1,143.80
740-11.01	TEMPORARY SEDIMENT TUBE 8IN			
		3,810.000 L.F.		
	Rogers Group, Inc.		\$5.1500	\$19,621.50
	Mid-State Construction Company, Inc.		\$4.3700	\$16,649.70
801-01	SEEDING (WITH MULCH)			
		427.000 UNIT		
	Rogers Group, Inc.		\$24.4500	\$10,440.15
	Mid-State Construction Company, Inc.		\$27.1400	\$11,588.78
801-03	WATER (SEEDING & SODDING)			
		203.000 M.G.		
	Rogers Group, Inc.		\$5.3100	\$1,077.93
	Mid-State Construction Company, Inc.		\$5.9000	\$1,197.70
803-01	SODDING (NEW SOD)			
		15,804.000 S.Y.		
	Rogers Group, Inc.		\$3.5600	\$56,262.24
	Mid-State Construction Company, Inc.		\$3.9500	\$62,425.80
806-02.03	PROJECT MOWING			
		1.000 CYCL		
	Rogers Group, Inc.		\$318.9000	\$318.90
	Mid-State Construction Company, Inc.		\$354.0000	\$354.00

Rogers Group, Inc.	\$2,183,284.71
Mid-State Construction Company, Inc.	\$2,395,282.29

TOTAL CONTRACT

Rogers Group, Inc.	\$2,183,284.71
Mid-State Construction Company, Inc.	\$2,395,282.29

OVERTON COUNTY (Contract No. CNT175 Call 061)

67013-4210-04,NH-111(109),67001-8293-14

THE RESURFACING ON S.R. 111 FROM SOUTH OF TWIN OAKS ROAD (L.M. 15.97) TO NORTH OF BIG SPRINGS ROAD (L.M. 20.07) AND ON S.R. 294 FROM S.R. 111 (L.M. 0.58) TO OAKLEY-ALLONS ROAD (L.M. 6.77).

PROJECT LENGTH - 10.290 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 5.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,556,730.79

ROADW	AY CATEGORY		UNIT PRICE	CONTRACT CNT175 EXTENSION
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Rogers Group, Inc.	272.000 TON	\$41.5300	\$11,296.16
403-02.01	TRACKLESS TACK COAT			
	Rogers Group, Inc.	70.000 TON	\$550.0000	\$38,500.00
411-03.07	ACS MIX(PG64-22) THIN LIFT ASPHALT			
	Rogers Group, Inc.	10,099.000 TON	\$107.0800	\$1,081,400.92
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN W	(IDTH) 6.600 L.M.		
	Rogers Group, Inc.	0.000 L.W.	\$472.0600	\$3,115.60
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN W	'IDTH) 9.900 L.M.		
	Rogers Group, Inc.		\$472.0600	\$4,673.39
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	8,237.000 TON		
	Rogers Group, Inc.		\$16.8500	\$138,793.45
712-01	TRAFFIC CONTROL	1.000 LS		
	Rogers Group, Inc.		\$43,580.2100	\$43,580.21
712-06	SIGNS (CONSTRUCTION)	1,840.000 S.F.		
	Rogers Group, Inc.		\$8.0500	\$14,812.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR) 715.000 EACH		
	Rogers Group, Inc.		\$28.3200	\$20,248.80
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR	2)(1 COLOR) 27.000 EACH		
	Rogers Group, Inc.		\$28.3200	\$764.64
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	742.000 EACH		
	Rogers Group, Inc.		\$7.0800	\$5,253.36
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	460.000 L.F.		
	Rogers Group, Inc.		\$11.8000	\$5,428.00

			UNIT PRICE	CONTRACT CNT175 EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Rogers Group, Inc.	2.000 EACH	\$177.0200	\$354.04
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)	4 000 54011		
	Rogers Group, Inc.	1.000 EACH	\$531.0600	\$531.06
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW			
	Rogers Group, Inc.	2.000 EACH	\$295.0400	\$590.08
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Rogers Group, Inc.	50.400 L.M.	\$584.1700	\$29,442.17
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
	Rogers Group, Inc.	200.000 L.F.	\$5.9000	\$1,180.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	Rogers Group, Inc.	9.600 L.M.	\$5,074.6000	\$48,716.16
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED			
	Rogers Group, Inc.	120.000 L.F.	\$2.3600	\$283.20
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	Rogers Group, Inc.	12.400 L.M.	\$2,537.3000	\$31,462.52
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
	Rogers Group, Inc.	14.200 L.M.	\$3,068.3700	\$43,570.85
717-01	MOBILIZATION			
	Rogers Group, Inc.	1.000 LS	\$30,738.7100	\$30,738.71
730-03.20	INSTALL PULL BOX (TYPE A)			
	Rogers Group, Inc.	1.000 EACH	\$595.9700	\$595.97
730-12.02	CONDUIT 2" DIAMETER (PVC)			
	Rogers Group, Inc.	20.000 L.F.	\$21.4500	\$429.00

			CONTRACT CNT175
		UNIT PRICE	EXTENSION
730-14.02 SAW SLOT			
Rogers Group, Inc.	150.000 L.F.	\$4.4700	\$670.50
730-14.03 LOOP WIRE			

500.000 L.F.

Rogers Group, Inc. \$1,556,730.79

TOTAL CONTRACT

Rogers Group, Inc. \$1,556,730.79

PERRY COUNTY (Contract No. CNT177 Call 062)

68001-4256-04,68005-4206-04,HSIP-100(86),68005-3206-94,HSIP-13(80),68001-3256-94,STP/HSIP-438(7),68009-3241-94,68009-8241-14

THE RESURFACING ON S.R. 13, S.R. 438 AND S.R. 100.

PROJECT LENGTH - 18.520 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.50%

٦	$\Gamma \cap \overline{}$	ΓΔΙ		\cap N	TR	ACT	Г
			ᆫ	\mathbf{v}		\sim	

Delta Contracting Company, LLC \$2,423,967.82
Eubank Asphalt Paving & Sealing \$2,486,223.60
Volunteer Paving, LLC \$3,475,127.11

			С	ONTRACT CNT177
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
208-01.0	5 BROOMING & DEGRASSING SHOULDERS			
		37.000 L.M.		
	Delta Contracting Company, LLC		\$595.0000	\$22,015.00
	Eubank Asphalt Paving & Sealing		\$750.0000	\$27,750.00
	Volunteer Paving, LLC		\$1,893.5100	\$70,059.87
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING	D		
		4,892.000 TON		
	Delta Contracting Company, LLC		\$16.3500	\$79,984.20
	Eubank Asphalt Paving & Sealing		\$18.0000	\$88,056.00
	Volunteer Paving, LLC		\$51.2100	\$250,519.32
307-01.0	8 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) G	GRADING B-M2		
		700.000 TON		
	Delta Contracting Company, LLC		\$89.0000	\$62,300.00
	Eubank Asphalt Paving & Sealing		\$75.0000	\$52,500.00
	Volunteer Paving, LLC		\$125.4000	\$87,780.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		111.000 TON		
	Delta Contracting Company, LLC		\$615.0000	\$68,265.00
	Eubank Asphalt Paving & Sealing		\$420.0000	\$46,620.00
	Volunteer Paving, LLC		\$705.8800	\$78,352.68
411-01.1	0 ACS MIX(PG64-22) GRADING D			
		15,014.000 TON		
	Delta Contracting Company, LLC		\$85.8900	\$1,289,552.46
	Eubank Asphalt Paving & Sealing		\$90.0000	\$1,351,260.00
	Volunteer Paving, LLC		\$120.4800	\$1,808,886.72
411-03.1	2 ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		5,212.000 TON		
	Delta Contracting Company, LLC		\$88.4300	\$460,897.16
	Eubank Asphalt Paving & Sealing		\$92.0000	\$479,504.00
	Volunteer Paving, LLC		\$124.8500	\$650,718.20
411-12.0	3 SCORING FOR RUMBLE STRIPE (NON-CONTINUO	US) (8IN WIDTH)		

705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN

Volunteer Paving, LLC

Delta Contracting Company, LLC

Eubank Asphalt Paving & Sealing

1	.000 EACH	
Delta Contracting Company, LLC	\$300.0000	\$300.00
Eubank Asphalt Paving & Sealing	\$500.0000	\$500.00
Volunteer Paving, LLC	\$306.1200	\$306.12

29.800 L.M.

\$17,880.00

\$14,900.00

\$27,367.43

\$600.0000

\$500.0000

\$918.3700

	CONTRACT	CNT177
UNIT PRICE	EXT	ENSION

	UNIT PRICE	EXTENSION
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATM	MENT	
	1.000 EACH	
Delta Contracting Company, LLC	\$1,700.0000	\$1,700.00
Eubank Asphalt Paving & Sealing	\$1,000.0000	\$1,000.00
Volunteer Paving, LLC	\$2,551.0200	\$2,551.02
705-06.20 TANGENT ENERGY ABSORBING TERM MA	SH TL-3	
	1.000 EACH	
Delta Contracting Company, LLC	\$6,100.0000	\$6,100.00
Eubank Asphalt Paving & Sealing	\$3,000.0000	\$3,000.00
Volunteer Paving, LLC	\$3,571.4300	\$3,571.43
706-01 GUARDRAIL REMOVED		
	50.000 L.F.	
Delta Contracting Company, LLC	\$6.0000	\$300.00
Eubank Asphalt Paving & Sealing	\$1.0000	\$50.00
Volunteer Paving, LLC	\$2.0400	\$102.00
712-01 TRAFFIC CONTROL		
	1.000 LS	
Delta Contracting Company, LLC	\$46,000.0000	\$46,000.00
Eubank Asphalt Paving & Sealing	\$20,000.0000	\$20,000.00
Volunteer Paving, LLC	\$60,000.0000	\$60,000.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)		
	75.000 EACH	
Delta Contracting Company, LLC	\$21.0000	\$1,575.00
Eubank Asphalt Paving & Sealing	\$10.0000	\$750.00
Volunteer Paving, LLC	\$25.5100	\$1,913.25
712-05.01 WARNING LIGHTS (TYPE A)		
	12.000 EACH	
Delta Contracting Company, LLC	\$15.0000	\$180.00
Eubank Asphalt Paving & Sealing	\$5.0000	\$60.00
Volunteer Paving, LLC	\$30.6100	\$367.32
712-06 SIGNS (CONSTRUCTION)		
	3,267.000 S.F.	
Delta Contracting Company, LLC	\$5.5000	\$17,968.50
Eubank Asphalt Paving & Sealing	\$8.0000	\$26,136.00
Volunteer Paving, LLC	\$7.6500	\$24,992.55
713-16.20 SIGNS (OM-3R,TYPE 3 OBJECT MARKER)		
	6.000 EACH	
Delta Contracting Company, LLC	\$125.0000	\$750.00
Eubank Asphalt Paving & Sealing	\$350.0000	\$2,100.00
Volunteer Paving, LLC	\$306.1200	\$1,836.72

	UNIT PRICE	EXTENSION
713-16.21 SIGNS (OM-3L,TYPE 3 OBJECT MARKER)		
6.000 EACH		
Delta Contracting Company, LLC	\$125.0000	\$750.00
Eubank Asphalt Paving & Sealing	\$350.0000	\$2,100.00
Volunteer Paving, LLC	\$306.1200	\$1,836.72
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
1,279.000 EACH		
Delta Contracting Company, LLC	\$30.0000	\$38,370.00
Eubank Asphalt Paving & Sealing	\$30.0000	\$38,370.00
Volunteer Paving, LLC	\$25.0000	\$31,975.00
716-01.22 SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 COLOR)		
120.000 EACH		
Delta Contracting Company, LLC	\$30.0000	\$3,600.00
Eubank Asphalt Paving & Sealing	\$30.0000	\$3,600.00
Volunteer Paving, LLC	\$25.0000	\$3,000.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
224.000 EACH		
Delta Contracting Company, LLC	\$6.0000	\$1,344.00
Eubank Asphalt Paving & Sealing	\$10.0000	\$2,240.00
Volunteer Paving, LLC	\$10.0000	\$2,240.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
438.000 L.F.		
Delta Contracting Company, LLC	\$15.0000	\$6,570.00
Eubank Asphalt Paving & Sealing	\$15.0000	\$6,570.00
Volunteer Paving, LLC	\$15.0000	\$6,570.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
1.000 EACH		
Delta Contracting Company, LLC	\$150.0000	\$150.00
Eubank Asphalt Paving & Sealing	\$150.0000	\$150.00
Volunteer Paving, LLC	\$150.0000	\$150.00
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)		
3.000 EACH		
Delta Contracting Company, LLC	\$750.0000	\$2,250.00
Eubank Asphalt Paving & Sealing	\$750.0000	\$2,250.00
Volunteer Paving, LLC	\$450.0000	\$1,350.00
716-04.12 PLASTIC PAVEMENT MARKING (YIELD LINE)		
35.000 S.F.		
Delta Contracting Company, LLC	\$20.0000	\$700.00
Eubank Asphalt Paving & Sealing	\$20.0000	\$700.00
Volunteer Paving, LLC	\$20.0000	\$700.00

			CC	ONTRACT CNT177
			UNIT PRICE	EXTENSION
716-05 01 PAINTED PA	VEMENT MARKING (4" LINE)			
710 00.01 TAIRTED TA	VEINERT IMPROVING (4° EINE)	6.000 L.M.		
Delta Contra	cting Company, LLC	5.500 E.III.	\$800.0000	\$4,800.00
	halt Paving & Sealing		\$800.0000	\$4,800.00
Volunteer Pa	•		\$850.0000	\$5,100.00
716-12.02 ENHANCED	FLATLINE THERMO PVMT MRKNG (61	IN LINE)		
		26.200 L.M.		
Delta Contra	cting Company, LLC		\$5,000.0000	\$131,000.00
Eubank Asph	halt Paving & Sealing		\$5,000.0000	\$131,000.00
Volunteer Pa	iving, LLC		\$5,000.0000	\$131,000.00
716-13.01 SPRAY THEF	RMO PVMT MRKNG (60 mil) (4IN LINE)			
		13.400 L.M.		
Delta Contra	cting Company, LLC		\$2,100.0000	\$28,140.00
Eubank Asph	halt Paving & Sealing		\$2,100.0000	\$28,140.00
Volunteer Pa	aving, LLC		\$1,750.0000	\$23,450.00
716-13.02 SPRAY THEF	RMO PVMT MRKNG (60 mil) (6IN LINE)			
		30.300 L.M.		
Delta Contra	cting Company, LLC		\$2,800.0000	\$84,840.00
Eubank Asph	halt Paving & Sealing		\$2,800.0000	\$84,840.00
Volunteer Pa	iving, LLC		\$2,750.0000	\$83,325.00
717-01 MOBILIZATIO	ON			
		1.000 LS		
Delta Contra	cting Company, LLC		\$44,000.0000	\$44,000.00
Eubank Asph	halt Paving & Sealing		\$65,000.0000	\$65,000.00
Volunteer Pa	iving, LLC		\$112,941.1800	\$112,941.18
730-14.02 SAW SLOT				
		334.000 L.F.		
Delta Contra	cting Company, LLC		\$3.7500	\$1,252.50
Eubank Asph	halt Paving & Sealing		\$5.0000	\$1,670.00
Volunteer Pa	iving, LLC		\$3.8300	\$1,279.22
730-14.03 LOOP WIRE				
		868.000 L.F.		
Delta Contra	cting Company, LLC		\$0.5000	\$434.00
Eubank Asph	halt Paving & Sealing		\$0.7000	\$607.60
Valuateer De	wing IIC		¢4 0200	COOF 26

Volunteer Paving, LLC

\$885.36

\$1.0200

Delta Contracting Company, LLC	\$2,423,967.82
Eubank Asphalt Paving & Sealing	\$2,486,223.60
Volunteer Paving, LLC	\$3,475,127.11

Delta Contracting Company, LLC	\$2,423,967.82
Eubank Asphalt Paving & Sealing	\$2,486,223.60
Volunteer Paving, LLC	\$3,475,127.11

POLK COUNTY (Contract No. CNT148 Call 063)

70002-4230-04, HSIP-30(84), 70002-3230-94

THE RESURFACING ON S.R. 30 FROM WEST OF TELLICO RELIANCE ROAD (L.M. 8.00) TO NEAR GREASY CREEK ROAD (L.M. 13.10).

PROJECT LENGTH - 5.100 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

TOTAL CONTRACT

Talley Construction Company, Inc.

\$1,012,289.04

Wright Brothers Construction Company, Inc.

\$1,127,717.05

CONTRACT	CNT1	48
----------	------	----

			CC	NTRACT CNT148
			UNIT PRICE	EXTENSION
ROADWAY	Y CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		211.000 TON		
	Talley Construction Company, Inc.		\$53.0800	\$11,199.88
`	Wright Brothers Construction Company, Inc.		\$60.0000	\$12,660.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		200.000 TON		
	Talley Construction Company, Inc.		\$153.7400 \$162.0000	\$30,748.00 \$32,400.00
,	Wright Brothers Construction Company, Inc.		\$162.0000	\$32,400.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		30.000 TON	.	•
	Talley Construction Company, Inc.		\$703.0200	\$21,090.60
· ·	Wright Brothers Construction Company, Inc.		\$675.0000	\$20,250.00
407-07.01	INTELLIGENT COMPACTION EQUIPMENT			
		1.000 LS		
	Talley Construction Company, Inc.		\$35,100.0000	\$35,100.00
,	Wright Brothers Construction Company, Inc.		\$6,800.0000	\$6,800.00
411-01.10	ACS MIX(PG64-22) GRADING D			
		4,472.000 TON		
	Talley Construction Company, Inc.		\$118.0000	\$527,696.00
,	Wright Brothers Construction Company, Inc.		\$137.0000	\$612,664.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN	WIDTH)		
		8.400 L.M.		
	Talley Construction Company, Inc.		\$579.1500	\$4,864.86
,	Wright Brothers Construction Company, Inc.		\$769.0000	\$6,459.60
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		6,202.000 TON		
	Talley Construction Company, Inc.		\$27.7000	\$171,795.40
,	Wright Brothers Construction Company, Inc.		\$33.2500	\$206,216.50
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		5.000 EACH		
	Talley Construction Company, Inc.		\$1,696.5000	\$8,482.50
,	Wright Brothers Construction Company, Inc.		\$1,210.0000	\$6,050.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		5.000 EACH		
	Talley Construction Company, Inc.		\$3,276.0000	\$16,380.00
`	Wright Brothers Construction Company, Inc.		\$3,020.0000	\$15,100.00
705-11.03	SINGLE GUARDRAIL (TYPE 2) (POWDER COATED)			
		25.000 L.F.		
	Talley Construction Company, Inc.		\$70.2000	\$1,755.00
,	Wright Brothers Construction Company, Inc.		\$104.0000	\$2,600.00
				PAGE

				CONTRACT CNT148
			UNIT PRICE	EXTENSION
705-11.13	GUARDRAIL TERMINAL (TYPE 21)(POWDER COATED)			
		2.000 EACH		
	Talley Construction Company, Inc.		\$6,435.0000	\$12,870.00
	Wright Brothers Construction Company, Inc.		\$5,300.0000	\$10,600.00
706-01	GUARDRAIL REMOVED			
		320.000 L.F.		
	Talley Construction Company, Inc.		\$1.1700	\$374.40
	Wright Brothers Construction Company, Inc.		\$1.1000	\$352.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Talley Construction Company, Inc.		\$34,500.0000	\$34,500.00
	Wright Brothers Construction Company, Inc.		\$55,000.0000	\$55,000.00
712-06	SIGNS (CONSTRUCTION)			
		654.000 S.F.		
	Talley Construction Company, Inc.		\$10.2400	\$6,696.96
	Wright Brothers Construction Company, Inc.		\$7.3500	\$4,806.90
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Talley Construction Company, Inc.		\$3,919.5000	\$7,839.00
	Wright Brothers Construction Company, Inc.		\$5,900.0000	\$11,800.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CO	OLOR)		
		440.000 EACH		
	Talley Construction Company, Inc.		\$32.7600	\$14,414.40
	Wright Brothers Construction Company, Inc.		\$30.7500	\$13,530.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		440.000 EACH		
	Talley Construction Company, Inc.		\$9.3600	\$4,118.40
	Wright Brothers Construction Company, Inc.		\$8.8000	\$3,872.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		42.000 S.Y.		
	Talley Construction Company, Inc.		\$20.7700	\$872.34
	Wright Brothers Construction Company, Inc.		\$19.5000	\$819.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		125.000 L.F.		
	Talley Construction Company, Inc.		\$11.7000	\$1,462.50
	Wright Brothers Construction Company, Inc.		\$11.0000	\$1,375.00
716-02.22	PLASTIC AERIAL SPEED BARS			

420.000 L.F.

Talley Construction Company, Inc.

Wright Brothers Construction Company, Inc.

\$5,896.80

\$5,565.00

\$14.0400

\$13.2500

				CONTRACT CNT148
			UNIT PRICE	EXTENSION
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	,	20.400 L.M.		
	Talley Construction Company, Inc.		\$672.7500	\$13,724.10
	Wright Brothers Construction Company, Inc.		\$632.0000	\$12,892.80
716-05.05	PAINTED PAVEMENT MARKING (STOP LINE)			
		125.000 L.F.		
	Talley Construction Company, Inc.		\$7.9000	\$987.50
	Wright Brothers Construction Company, Inc.		\$7.4000	\$925.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		20.400 L.M.		
	Talley Construction Company, Inc.		\$2,193.7500	\$44,752.50
	Wright Brothers Construction Company, Inc.		\$2,060.0000	\$42,024.00
716-13.05	SPRAY THERMO PVMT MRKNG (60 mil) (6IN DOTTED LINE)			
		115.000 L.F.		
	Talley Construction Company, Inc.		\$1.4600	\$167.90
	Wright Brothers Construction Company, Inc.		\$1.3500	\$155.25
717-01	MOBILIZATION			
		1.000 LS		
	Talley Construction Company, Inc.		\$34,500.0000	\$34,500.00
	Wright Brothers Construction Company, Inc.		\$42,800.0000	\$42,800.00

Talley Construction Company, Inc.	\$1,012,289.04
Wright Brothers Construction Company, Inc.	\$1,127,717.05

Talley Construction Company, Inc.	\$1,012,289.04
Wright Brothers Construction Company, Inc.	\$1,127,717.05

ROANE COUNTY (Contract No. CNT224 Call 065)

STP/HSIP-1(399),73004-3228-94,73004-8228-14,STP/HSIP-29(110),73035-3211-94,73035-8211-14

THE RESURFACING ON S.R. 29 FROM NEAR U.S. 70 (S.R. 1) (L.M. 4.40) TO NEAR RURITAN ROAD (L.M. 5.97) AND ON U.S. 70 (S.R. 1) FROM NEAR RURITAN ROAD (L.M. 12.20) TO NEAR THE CLINCH RIVER BRIDGE (L.M. 14.90).

PROJECT LENGTH - 4.270 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.50%

TOTAL CONTRACT

 Rogers Group, Inc.
 \$1,653,470.70

 Duracap Asphalt Paving Co., Inc.
 \$2,003,385.06

 APAC-Atlantic, Inc.
 \$2,493,110.55

		UNIT PRICE	EXTENSION
ROADWAY CATEGORY			
303-01 MINERAL AGGREGATE	, TYPE A BASE, GRADING D		
	31.000 TON		
Rogers Group, Inc.		\$60.0000	\$1,860.00
Duracap Asphalt Paving	g Co., Inc.	\$107.0000	\$3,317.00
APAC-Atlantic, Inc.		\$115.0000	\$3,565.00
403-01 BITUMINOUS MATERIA	L FOR TACK COAT (TC)		
	78.000 TON		
Rogers Group, Inc.		\$763.0200	\$59,515.56
Duracap Asphalt Paving	g Co., Inc.	\$975.0000	\$76,050.00
APAC-Atlantic, Inc.		\$915.0000	\$71,370.00
411-01.07 ACS MIX (PG64-22) GRA	ADING E SHOULDER		
, ,	1,923.000 TON		
Rogers Group, Inc.	,	\$76.9500	\$147,974.85
Duracap Asphalt Paving	g Co., Inc.	\$94.7000	\$182,108.10
APAC-Atlantic, Inc.		\$110.0000	\$211,530.00
411-02.10 ACS MIX(PG70-22) GRA			
5 0 1	9,543.000 TON	400.0700	* 050 500 74
Rogers Group, Inc.	r Co. Jac	\$89.9700	\$858,583.71
Duracap Asphalt Paving APAC-Atlantic, Inc.	g Co., inc.	\$111.4700 \$135.0000	\$1,063,758.21 \$1,288,305.00
Ai AO-Aliantic, inc.		ψ133.0000	ψ1,200,303.00
411-12.01 SCORING SHOULDERS	(CONTINUOUS) (16IN WIDTH)		
	3.800 L.M.		
Rogers Group, Inc.		\$847.6000	\$3,220.88
Duracap Asphalt Paving	g Co., Inc.	\$856.0000	\$3,252.80
APAC-Atlantic, Inc.		\$1,500.0000	\$5,700.00
A11-12 03 SCOPING FOR PLIMBLE	E STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
411-12.03 SCOKING FOR KOMBE	0.500 L.M.		
Rogers Group, Inc.	0.300 E.W.	\$847.6000	\$423.80
Duracap Asphalt Paving	g Co., Inc.	\$856.0000	\$428.00
APAC-Atlantic, Inc.	g 	\$1,900.0000	\$950.00
415-01.01 COLD PLANING BITUM	INOUS PAVEMENT		
	9,651.000 TON		
Rogers Group, Inc.		\$17.5500	\$169,375.05
Duracap Asphalt Paving	g Co., Inc.	\$25.0000	\$241,275.00
APAC-Atlantic, Inc.		\$39.0000	\$376,389.00
611-09.04 CATCHBASIN RETROFI	т		
	6.000 EACH		
Rogers Group, Inc.	5.555 EAGIT	\$2,523.7200	\$15,142.32
Duracap Asphalt Paving	g Co., Inc.	\$2,500.0000	\$15,000.00
APAC-Atlantic, Inc.	· ·	\$2,300.0000	\$13,800.00
•		· <i>,</i>	•

			C	ONTRACT CN1224
			UNIT PRICE	EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		500.000 S.F.		
	Rogers Group, Inc.		\$28.5700	\$14,285.00
	Duracap Asphalt Paving Co., Inc.		\$29.4000	\$14,700.00
	APAC-Atlantic, Inc.		\$42.0000	\$21,000.00
70E 02 40	GUARDRAIL TRANSITION 27IN TO 31IN			
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN	0.000 54.011		
		3.000 EACH	#05.000	A 40 5 00
	Rogers Group, Inc.		\$35.0000	\$105.00
	Duracap Asphalt Paving Co., Inc.		\$157.5000 \$405.0000	\$472.50
	APAC-Atlantic, Inc.		\$185.0000	\$555.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		3.000 EACH		
	Rogers Group, Inc.		\$1,150.0000	\$3,450.00
	Duracap Asphalt Paving Co., Inc.		\$1,155.0000	\$3,465.00
	APAC-Atlantic, Inc.		\$1,400.0000	\$4,200.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		3.000 EACH		
	Rogers Group, Inc.	0.000 E/(011	\$2,580.0000	\$7,740.00
	Duracap Asphalt Paving Co., Inc.		\$2,625.0000	\$7,875.00
	APAC-Atlantic, Inc.		\$3,100.0000	\$9,300.00
705 00 20	OR TERMINAL (ENERGY ARCORDING) MACUTIA			
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL2	4 000 EACH		
	Degrave Crown Inc.	1.000 EACH	#2.455.0000	ФО 455 OO
	Rogers Group, Inc.		\$2,155.0000	\$2,155.00
	Duracap Asphalt Paving Co., Inc. APAC-Atlantic, Inc.		\$1,950.0000 \$2,300.0000	\$1,950.00 \$2,300.00
	AFAC-Aliantic, Inc.		φ2,300.0000	φ2,300.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$46,231.0800	\$46,231.08
	Duracap Asphalt Paving Co., Inc.		\$65,580.0000	\$65,580.00
	APAC-Atlantic, Inc.		\$100,000.0000	\$100,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		470.000 EACH		
	Rogers Group, Inc.		\$5.0500	\$2,373.50
	Duracap Asphalt Paving Co., Inc.		\$5.5000	\$2,585.00
	APAC-Atlantic, Inc.		\$6.2500	\$2,937.50
712-05 01	WARNING LIGHTS (TYPE A)			
2 00.01	The state of the s	118.000 EACH		
	Rogers Group, Inc.	1101000 EAGIT	\$2.0200	\$238.36
	Duracap Asphalt Paving Co., Inc.		\$2.2000	\$259.60
	APAC-Atlantic, Inc.		\$2.5000	\$295.00
				

			UNIT PRICE	EXTENSION
712-06	SIGNS (CONSTRUCTION)			
	,	2,229.000 S.F.		
	Degrave Crayer Inc.	2,229.000 S.F.	CO 0400	#40.040.00
	Rogers Group, Inc.		\$6.2100	\$13,842.09 \$44,488.50
	Duracap Asphalt Paving Co., Inc. APAC-Atlantic, Inc.		\$6.5000 \$7.7000	\$14,488.50 \$17,163.30
	AFAC-Atlantic, Inc.		\$7.7000	\$17,163.30
740 00 00	ADDOW DO ADD (TVDE O)			
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Rogers Group, Inc.		\$934.2500	\$3,737.00
	Duracap Asphalt Paving Co., Inc.		\$971.0000	\$3,884.00
	APAC-Atlantic, Inc.		\$1,150.0000	\$4,600.00
713-16.20	SIGNS (BIKE)			
		10.000 EACH		
	Rogers Group, Inc.		\$186.8500	\$1,868.50
	Duracap Asphalt Paving Co., Inc.		\$194.0000	\$1,940.00
	APAC-Atlantic, Inc.		\$230.0000	\$2,300.00
			Ψ=00.000	ψ=,σσσ.σσ
716-01 21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (B	I-DIR) (1 COLOR)		
710 01.21	ONOW EDWADEL NAIGED FAVEMENT MARKETO (5	, ,		
	Daniera Oracia Ira	135.000 EACH	#00.0000	#0.405.00
	Rogers Group, Inc.		\$23.0000	\$3,105.00
	Duracap Asphalt Paving Co., Inc.		\$24.1500	\$3,260.25
	APAC-Atlantic, Inc.		\$38.0000	\$5,130.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MO	ono-dir)(1 color)		
		217.000 EACH		
	Rogers Group, Inc.		\$23.0000	\$4,991.00
	Duracap Asphalt Paving Co., Inc.		\$24.1500	\$5,240.55
	APAC-Atlantic, Inc.		\$38.0000	\$8,246.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (B	I-DIR)(2 COLOR)		
		414.000 EACH		
	Rogers Group, Inc.		\$23.0000	\$9,522.00
	Duracap Asphalt Paving Co., Inc.		\$24.1500	\$9,998.10
	APAC-Atlantic, Inc.		\$38.0000	\$15,732.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION S	TRIPING)		
	•	, 875.000 S.Y.		
	Pagara Group, Inc.	073.000 3.1.	\$18.0000	\$15,750.00
	Rogers Group, Inc. Duracap Asphalt Paving Co., Inc.		\$19.0000	\$15,750.00 \$16,625.00
	APAC-Atlantic, Inc.		\$22.0000	\$19,250.00
	AFAC-Aliantic, inc.		φ22.0000	\$19,230.00
716 02 05	DI ASTIC DAVEMENT MADVING (STORTINE)			
110-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		360.000 L.F.		
	Rogers Group, Inc.		\$10.0000	\$3,600.00
	Duracap Asphalt Paving Co., Inc.		\$11.0000	\$3,960.00
	APAC-Atlantic, Inc.		\$12.5000	\$4,500.00

	UNIT PRICE	EXTENSION
	UNIT FRICE	EXTENSION
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
55.000 EACH		
Rogers Group, Inc.	\$150.0000	\$8,250.00
Duracap Asphalt Paving Co., Inc.	\$157.5000	\$8,662.50
APAC-Atlantic, Inc.	\$190.0000	\$10,450.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
100.000 L.F.		
Rogers Group, Inc.	\$20.0000	\$2,000.00
Duracap Asphalt Paving Co., Inc.	\$20.0000	\$2,000.00
APAC-Atlantic, Inc.	\$25.0000	\$2,500.00
,	·	. ,
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
18,289.000 L.F.		
Rogers Group, Inc.	\$3.0000	\$54,867.00
Duracap Asphalt Paving Co., Inc.	\$3.3000	\$60,353.70
APAC-Atlantic, Inc.	\$3.7500	\$68,583.75
716-04.13 PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARROW)		
26.000 EACH		
Rogers Group, Inc.	\$375.0000	\$9,750.00
Duracap Asphalt Paving Co., Inc.	\$394.0000	\$10,244.00
APAC-Atlantic, Inc.	\$470.0000	\$12,220.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
7.200 L.M.		
Rogers Group, Inc.	\$495.0000	\$3,564.00
Duracap Asphalt Paving Co., Inc.	\$520.0000	\$3,744.00
APAC-Atlantic, Inc.	\$620.0000	\$4,464.00
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)		
13.000 L.M.		
Rogers Group, Inc.	\$525.0000 \$554.3500	\$6,825.00 \$7,166.25
Duracap Asphalt Paving Co., Inc. APAC-Atlantic, Inc.	\$551.2500 \$650.0000	\$8,450.00
Al AO-Allantio, Inc.	ψ030.0000	ψο,+30.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
20.200 L.M.		
Rogers Group, Inc.	\$4,200.0000	\$84,840.00
Duracap Asphalt Paving Co., Inc.	\$4,410.0000	\$89,082.00
APAC-Atlantic, Inc.	\$5,250.0000	\$106,050.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)		
100.000 L.F.		
Rogers Group, Inc.	\$1.0000	\$100.00
Duracap Asphalt Paving Co., Inc.	\$1.1000	\$110.00
APAC-Atlantic, Inc.	\$1.2500	\$125.00

				CONTRACT CNT224
			UNIT PRICE	EXTENSION
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$57,210.0000	\$57,210.00
	Duracap Asphalt Paving Co., Inc.		\$45,925.0000	\$45,925.00
	APAC-Atlantic, Inc.		\$41,000.0000	\$41,000.00
730-14.02	SAW SLOT			
		8,500.000 L.F.		
	Rogers Group, Inc.		\$3.2500	\$27,625.00
	Duracap Asphalt Paving Co., Inc.		\$3.0500	\$25,925.00
	APAC-Atlantic, Inc.		\$4.7000	\$39,950.00
730-14.03	LOOP WIRE			
		17,000.000 L.F.		
	Rogers Group, Inc.	•	\$0.5500	\$9,350.00

Duracap Asphalt Paving Co., Inc.

APAC-Atlantic, Inc.

\$0.5000

\$0.6000

\$8,500.00

\$10,200.00

Rogers Group, Inc.	\$1,653,470.70
Duracap Asphalt Paving Co., Inc.	\$2,003,385.06
APAC-Atlantic, Inc.	\$2,493,110.55

Rogers Group, Inc.	\$1,653,470.70
Duracap Asphalt Paving Co., Inc.	\$2,003,385.06
APAC-Atlantic, Inc.	\$2,493,110.55

ROBERTSON COUNTY (Contract No. CNT080 Call 066)

NH/HSIP-11(105),74004-3234-94,74004-8234-14

THE RESURFACING ON U.S. 41 (S.R. 11) FROM LIGHTS CHAPEL ROAD (L.M. 4.30) TO U.S. 431 (S.R. 65) (L.M. 9.32).

PROJECT LENGTH - 4.670 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

TOTAL CONTRACT

Vulcan Construction Materials, LLC\$1,989,391.50Charles Deweese Construction, Inc\$2,348,776.49Rogers Group, Inc.\$2,369,777.00

	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
208-01.05 BROOMING & DEGRASSING SHOULDERS		
9	9.300 L.M.	
Vulcan Construction Materials, LLC	\$1,200.0000	\$11,160.00
Charles Deweese Construction, Inc	\$2,900.0000	\$26,970.00
Rogers Group, Inc.	\$2,500.0000	\$23,250.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D		
50	0.000 TON	
Vulcan Construction Materials, LLC	\$23.0000	\$1,150.00
Charles Deweese Construction, Inc	\$33.2800	\$1,664.00
Rogers Group, Inc.	\$25.0000	\$1,250.00
307-02.08 ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2		
	0.000 TON	
		\$27.750.00
Vulcan Construction Materials, LLC	\$75.5000	\$37,750.00
Charles Deweese Construction, Inc	\$90.9800 \$94.0000	\$45,490.00 \$47,000.00
Rogers Group, Inc.	\$94.0000	φ47,000.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		
98	3.000 TON	
Vulcan Construction Materials, LLC	\$800.0000	\$78,400.00
Charles Deweese Construction, Inc	\$875.0000	\$85,750.00
Rogers Group, Inc.	\$900.0000	\$88,200.00
411-02.10 ACS MIX(PG70-22) GRADING D		
14,715	5.000 TON	
Vulcan Construction Materials, LLC	\$89.0000	\$1,309,635.00
Charles Deweese Construction, Inc	\$96.9300	\$1,426,324.95
Rogers Group, Inc.	\$105.5000	\$1,552,432.50
415-01.01 COLD PLANING BITUMINOUS PAVEMENT		
14 577	7.000 TON	
Vulcan Construction Materials, LLC	\$14.0000	\$204,078.00
Charles Deweese Construction, Inc	\$20.7500	\$302,472.75
Rogers Group, Inc.	\$17.0000	\$247,809.00
Rogers Group, me.	Ψ17.0000	ΨΖ+1,000.00
611-09.01 ADJUSTMENT OF EXISTING CATCHBASIN		
	1.000 EACH	
Vulcan Construction Materials, LLC	\$3,300.0000	\$13,200.00
Charles Deweese Construction, Inc	\$1,500.0000	\$6,000.00
Rogers Group, Inc.	\$1,700.0000	\$6,800.00
701-02.01 CONCRETE CURB RAMP (RETROFIT)		
1,170	0.000 S.F.	
Vulcan Construction Materials, LLC	\$25.0000	\$29,250.00
Charles Deweese Construction, Inc	\$40.0000	\$46,800.00
Rogers Group, Inc.	\$27.0000	\$31,590.00

			00	DIVINACI CIVIOSO
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$60,650.0000	\$60,650.00
	Charles Deweese Construction, Inc		\$47,790.0000	\$47,790.00
	Rogers Group, Inc.		\$110,000.0000	\$110,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		50.000 EACH		
	Vulcan Construction Materials, LLC		\$15.0000	\$750.00
	Charles Deweese Construction, Inc		\$16.7500	\$837.50
	Rogers Group, Inc.		\$5.5000	\$275.00
712-06	SIGNS (CONSTRUCTION)			
		1,904.000 S.F.		
	Vulcan Construction Materials, LLC		\$9.2500	\$17,612.00
	Charles Deweese Construction, Inc		\$7.5000	\$14,280.00
	Rogers Group, Inc.		\$7.0000	\$13,328.00
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$900.0000	\$3,600.00
	Charles Deweese Construction, Inc		\$810.0000	\$3,240.00
	Rogers Group, Inc.		\$900.0000	\$3,600.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-	DIR) (1 COLOR)		
		617.000 EACH		
	Vulcan Construction Materials, LLC		\$30.0000	\$18,510.00
	Charles Deweese Construction, Inc		\$30.9300	\$19,083.81
	Rogers Group, Inc.		\$32.0000	\$19,744.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MON	O-DIR)(1 COLOR)		
		617.000 EACH		
	Vulcan Construction Materials, LLC		\$30.0000	\$18,510.00
	Charles Deweese Construction, Inc		\$30.9300	\$19,083.81
	Rogers Group, Inc.		\$32.0000	\$19,744.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		65.000 L.F.		
	Vulcan Construction Materials, LLC		\$6.0000	\$390.00
	Charles Deweese Construction, Inc		\$6.1900	\$402.35
	Rogers Group, Inc.		\$7.0000	\$455.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		710.000 L.F.		
	Vulcan Construction Materials, LLC		\$15.0000	\$10,650.00
	Charles Deweese Construction, Inc		\$15.4600	\$10,976.60
	Rogers Group, Inc.		\$17.0000	\$12,070.00

			С	ONTRACT CNT080
			UNIT PRICE	EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW	<i>(</i>)		
		34.000 EACH		
	Vulcan Construction Materials, LLC		\$150.0000	\$5,100.00
	Charles Deweese Construction, Inc		\$154.6400	\$5,257.76
	Rogers Group, Inc.		\$167.0000	\$5,678.00
716-03.02	PLASTIC WORD PAVEMENT MARKING (RXR)			
		1.000 EACH		
	Vulcan Construction Materials, LLC		\$500.0000	\$500.00
	Charles Deweese Construction, Inc		\$515.4600	\$515.46
	Rogers Group, Inc.		\$555.0000	\$555.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		23.600 L.M.		
	Vulcan Construction Materials, LLC		\$800.0000	\$18,880.00
	Charles Deweese Construction, Inc		\$824.7400	\$19,463.86
	Rogers Group, Inc.		\$890.0000	\$21,004.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN L	LINE)		
		23.600 L.M.		
	Vulcan Construction Materials, LLC		\$5,000.0000	\$118,000.00
	Charles Deweese Construction, Inc		\$5,154.6400	\$121,649.50
	Rogers Group, Inc.		\$5,555.0000	\$131,098.00
717-01	MOBILIZATION			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
	Charles Deweese Construction, Inc		\$137,578.3200	\$137,578.32
	Rogers Group, Inc.		\$26,559.5000	\$26,559.50
730-14.02	SAW SLOT			
		1,437.000 L.F.		
	Vulcan Construction Materials, LLC		\$3.5000	\$5,029.50
	Charles Deweese Construction, Inc		\$3.7800	\$5,431.86
	Rogers Group, Inc.		\$4.0000	\$5,748.00
730-14.03	LOOP WIRE			
		3,174.000 L.F.		
	Vulcan Construction Materials, LLC		\$0.5000	\$1,587.00
	Charles Deweese Construction, Inc		\$0.5400	\$1,713.96
	Dagara Craup, Inc		¢0 5000	¢4 507 00

Rogers Group, Inc.

\$1,587.00

\$0.5000

Vulcan Construction Materials, LLC	\$1,989,391.50
Charles Deweese Construction, Inc	\$2,348,776.49
Rogers Group, Inc.	\$2,369,777.00

Vulcan Construction Materials, LLC	\$1,989,391.50
Charles Deweese Construction, Inc	\$2,348,776.49
Rogers Group, Inc.	\$2,369,777.00

RUTHERFORD COUNTY (Contract No. CNT178 Call 068)

75008-4210-04,HSIP-16(61),75008-3210-94

THE RESURFACING ON U.S. 41A (S.R. 16) FROM THE WILLIAMSON COUNTY LINE (L.M. 0.00) TO THE BEDFORD COUNTY LINE (L.M. 6.52).

PROJECT LENGTH - 6.520 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

	TOTAL CONTRACT
Rogers Group, Inc.	\$1,887,041.00
BWI MTN ii Inc. & dba Blue Water Industries	\$1,929,832.00
Volunteer Paving, LLC	\$1,989,370.04
Vulcan Construction Materials, LLC	\$2,098,580.05

	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
208-01.05 BROOMING & DEGRASSING SHOULDERS		
	500 L.M.	
Rogers Group, Inc.	\$1,200.0000	\$13,800.00
BWI MTN ii Inc. & dba Blue Water Industries	\$1,520.0000	\$17,480.00
Volunteer Paving, LLC	\$1,722.6600	\$19,810.59
Vulcan Construction Materials, LLC	\$1,525.0000	\$17,537.50
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D		
1,522.	000 TON	
Rogers Group, Inc.	\$22.0000	\$33,484.00
BWI MTN ii Inc. & dba Blue Water Industries	\$17.2500	\$26,254.50
Volunteer Paving, LLC	\$18.9900	\$28,902.78
Vulcan Construction Materials, LLC	\$25.7500	\$39,191.50
307-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS		
500.	000 TON	
Rogers Group, Inc.	\$88.0000	\$44,000.00
BWI MTN ii Inc. & dba Blue Water Industries	\$76.0000	\$38,000.00
Volunteer Paving, LLC Vulcan Construction Materials, LLC	\$93.9900 \$97.5000	\$46,995.00 \$48,750.00
Vulcan Construction Materials, LLC	φ97.3000	φ40,750.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	000 TON	
Rogers Group, Inc.	\$550.0000	\$31,350.00
BWI MTN ii Inc. & dba Blue Water Industries	\$880.0000	\$50,160.00
Volunteer Paving, LLC Vulcan Construction Materials, LLC	\$665.3300 \$840.0000	\$37,923.81 \$47,880.00
Vulcan Construction Materials, LEC	φο-40.0000	Ψ47,000.00
411-01.10 ACS MIX(PG64-22) GRADING D		
	000 TON	
Rogers Group, Inc.	\$88.2500	\$1,414,118.00
BWI MTN ii Inc. & dba Blue Water Industries	\$86.0000	\$1,378,064.00 \$1,455,040.64
Volunteer Paving, LLC Vulcan Construction Materials, LLC	\$90.8600 \$94.5000	\$1,455,940.64 \$1,514,268.00
Valouri Goristraction Materials, LEG	ψ34.3000	ψ1,514,200.00
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
8.	000 L.M.	
Rogers Group, Inc.	\$880.0000	\$7,040.00
BWI MTN ii Inc. & dba Blue Water Industries	\$525.0000	\$4,200.00
Volunteer Paving, LLC	\$535.7100 \$1.050.0000	\$4,285.68
Vulcan Construction Materials, LLC	\$1,050.0000	\$8,400.00
415-01.01 COLD PLANING BITUMINOUS PAVEMENT		
2,718.	000 TON	
Rogers Group, Inc.	\$22.5000	\$61,155.00
BWI MTN ii Inc. & dba Blue Water Industries	\$16.0000	\$43,488.00
Volunteer Paving, LLC	\$18.9300	\$51,451.74
Vulcan Construction Materials, LLC	\$28.0000	\$76,104.00

			UNIT PRICE	EXTENSION
			ONTTRIOL	EXTENSION
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		760.000 S.F.		
	Rogers Group, Inc.		\$37.7500	\$28,690.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$25.0000	\$19,000.00
	Volunteer Paving, LLC		\$25.5100	\$19,387.60
	Vulcan Construction Materials, LLC		\$70.0000	\$53,200.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		4.000 EACH		
	Rogers Group, Inc.		\$186.0000	\$744.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$100.0000	\$400.00
	Volunteer Paving, LLC		\$179.5900	\$718.36
	Vulcan Construction Materials, LLC		\$125.0000	\$500.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		4.000 EACH		
	Rogers Group, Inc.		\$1,250.0000	\$5,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,000.0000	\$4,000.00
	Volunteer Paving, LLC		\$1,198.9800	\$4,795.92
	Vulcan Construction Materials, LLC		\$1,250.0000	\$5,000.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		4.000 EACH		
	Rogers Group, Inc.		\$3,135.0000	\$12,540.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$2,650.0000	\$10,600.00
	Volunteer Paving, LLC		\$3,032.6500	\$12,130.60
	Vulcan Construction Materials, LLC		\$2,900.0000	\$11,600.00
706-01	GUARDRAIL REMOVED			
		200.000 L.F.		
	Rogers Group, Inc.		\$1.0500	\$210.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$2.0000	\$400.00
	Volunteer Paving, LLC		\$1.0200	\$204.00
	Vulcan Construction Materials, LLC		\$2.5000	\$500.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$25,116.5400	\$25,116.54
	BWI MTN ii Inc. & dba Blue Water Industries		\$110,000.0000	\$110,000.00
	Volunteer Paving, LLC		\$40,585.2700	\$40,585.27
	Vulcan Construction Materials, LLC		\$70,000.0000	\$70,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	•	100.000 EACH		
	Rogers Group, Inc.	-	\$27.5000	\$2,750.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$26.0000	\$2,600.00
	Volunteer Paving, LLC		\$26.5300	\$2,653.00
	Vulcan Construction Materials, LLC		\$10.0000	\$1,000.00

CONTRACT C	NT1	78
------------	-----	----

		UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)		
		4.000 EACH	
	Rogers Group, Inc.	\$5.2500	\$21.00
	BWI MTN ii Inc. & dba Blue Water Industries	\$5.0000	\$20.00
	Volunteer Paving, LLC	\$5.1000	\$20.40
	Vulcan Construction Materials, LLC	\$10.0000	\$40.00
712-06	SIGNS (CONSTRUCTION)		
	1	1,626.000 S.F.	
	Rogers Group, Inc.	\$6.6000	\$10,731.60
	BWI MTN ii Inc. & dba Blue Water Industries	\$6.2500	\$10,162.50
	Volunteer Paving, LLC	\$6.3800	\$10,373.88
	Vulcan Construction Materials, LLC	\$9.2500	\$15,040.50
713-16.01	CHANGEABLE MESSAGE SIGN UNIT		
		2.000 EACH	
	Rogers Group, Inc.	\$3,500.0000	\$7,000.00
	BWI MTN ii Inc. & dba Blue Water Industries	\$5,300.0000	\$10,600.00
	Volunteer Paving, LLC	\$5,408.1600	\$10,816.32
	Vulcan Construction Materials, LLC	\$6,500.0000	\$13,000.00
713-16.50	REMOVE AND REPLACE SIGN (FRANK CROSSLIN BRIDGE)		
		2.000 EACH	
	Rogers Group, Inc.	\$275.0000	\$550.00
	BWI MTN ii Inc. & dba Blue Water Industries	\$235.0000	\$470.00
	Volunteer Paving, LLC	\$267.3500	\$534.70
	Vulcan Construction Materials, LLC	\$185.0000	\$370.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COL	OR)	
		551.000 EACH	
	Rogers Group, Inc.	\$20.0000	\$11,020.00
	BWI MTN ii Inc. & dba Blue Water Industries	\$30.0000	\$16,530.00
	Volunteer Paving, LLC	\$25.0000	\$13,775.00
	Vulcan Construction Materials, LLC	\$31.5000	\$17,356.50
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 Co	OLOR)	
		22.000 EACH	
	Rogers Group, Inc.	\$20.0000	\$440.00
	BWI MTN ii Inc. & dba Blue Water Industries	\$30.0000	\$660.00
	Volunteer Paving, LLC	\$25.0000	\$550.00
	Vulcan Construction Materials, LLC	\$31.5000	\$693.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)		
		175.000 L.F.	
	Rogers Group, Inc.	\$6.5000	\$1,137.50
	BWI MTN ii Inc. & dba Blue Water Industries	\$12.0000	\$2,100.00
	Volunteer Paving, LLC	\$6.5000	\$1,137.50
	Vulcan Construction Materials, LLC	\$12.6000	\$2,205.00

		UNIT PRICE	EXTENSION
716-02.04 PLASTIC PAVEMENT MARKING (CHANNELIZATION STRIPING)	NG)		
	1,199.000 S.Y.		
Rogers Group, Inc.		\$17.5000	\$20,982.50
BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000	\$5,995.00
Volunteer Paving, LLC		\$20.0000	\$23,980.00
Vulcan Construction Materials, LLC		\$5.2500	\$6,294.75
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	5.000 EACH		
Rogers Group, Inc.		\$145.0000	\$725.00
BWI MTN ii Inc. & dba Blue Water Industries		\$150.0000	\$750.00
Volunteer Paving, LLC		\$150.0000	\$750.00
Vulcan Construction Materials, LLC		\$160.0000	\$800.00
716-04.10 PLASTIC PAVEMENT MARKING (HANDICAP SYMBOL)			
	1.000 EACH		
Rogers Group, Inc.		\$225.0000	\$225.00
BWI MTN ii Inc. & dba Blue Water Industries		\$325.0000	\$325.00
Volunteer Paving, LLC		\$250.0000	\$250.00
Vulcan Construction Materials, LLC		\$345.0000	\$345.00
TAG OF CO. DAINTED DAVEMENT MADIVING (CILLING)			
716-05.20 PAINTED PAVEMENT MARKING (6" LINE)			
	3.100 L.M.		
Rogers Group, Inc.		\$900.0000	\$2,790.00
BWI MTN ii Inc. & dba Blue Water Industries		\$1,500.0000	\$4,650.00
Volunteer Paving, LLC		\$1,000.0000	\$3,100.00
Vulcan Construction Materials, LLC		\$1,575.0000	\$4,882.50
716-10.07 PREFORMED PLASTIC PAVEMENT MARKING (STOP LINE)			
	270.000 L.F.		
Rogers Group, Inc.		\$15.0000	\$4,050.00
BWI MTN ii Inc. & dba Blue Water Industries		\$18.0000	\$4,860.00
Volunteer Paving, LLC		\$15.0000	\$4,050.00
Vulcan Construction Materials, LLC		\$18.9000	\$5,103.00
716-12.01 ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)			
(=,	0.300 L.M.		
Rogers Group, Inc.	0.300 E.M.	\$3.350.0000	¢075.00
BWI MTN ii Inc. & dba Blue Water Industries		\$3,250.0000 \$3,900.0000	\$975.00 \$1,170.00
Volunteer Paving, LLC		\$3,500.0000	\$1,050.00
Vulcan Construction Materials, LLC		\$4,095.0000	\$1,228.50
Vulcan Constituction Materials, LLC		φ4,095.0000	φ1,220.50
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
	21.000 L.M.		
Rogers Group, Inc.		\$4,750.0000	\$99,750.00
BWI MTN ii Inc. & dba Blue Water Industries		\$5,000.0000	\$105,000.00
Volunteer Paving, LLC		\$5,000.0000	\$105,000.00
Vulcan Construction Materials, LLC		\$5,250.0000	\$110,250.00

CON	NTRAC	T CN	JT178

			UNIT PRICE	EXTENSION
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOT	TED LINE)		
		420.000 L.F.		
	Rogers Group, Inc.		\$1.2500	\$525.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$2.0000	\$840.00
	Volunteer Paving, LLC		\$1.5000	\$630.00
	Vulcan Construction Materials, LLC		\$2.1000	\$882.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$45,000.0000	\$45,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$60,000.0000	\$60,000.00
	Volunteer Paving, LLC		\$86,493.1900	\$86,493.19
	Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
730-14.02	SAW SLOT			
		234.000 L.F.		
	Rogers Group, Inc.		\$3.7500	\$877.50
	BWI MTN ii Inc. & dba Blue Water Industries		\$3.5000	\$819.00
	Volunteer Paving, LLC		\$3.5700	\$835.38
	Vulcan Construction Materials, LLC		\$3.8500	\$900.90
730-14.03	LOOP WIRE			
		468.000 L.F.		
	Rogers Group, Inc.		\$0.5200	\$243.36
	BWI MTN ii Inc. & dba Blue Water Industries		\$0.5000	\$234.00
	Volunteer Paving, LLC		\$0.5100	\$238.68
	Vulcan Construction Materials, LLC		\$0.5500	\$257.40

Rogers Group, Inc.	\$1,887,041.00
BWI MTN ii Inc. & dba Blue Water Industries	\$1,929,832.00
Volunteer Paving, LLC	\$1,989,370.04
Vulcan Construction Materials, LLC	\$2,098,580.05

Rogers Group, Inc.	\$1,887,041.00
BWI MTN ii Inc. & dba Blue Water Industries	\$1,929,832.00
Volunteer Paving, LLC	\$1,989,370.04
Vulcan Construction Materials, LLC	\$2,098,580.05

RUTHERFORD COUNTY (Contract No. CNT157 Call 069)

STP/HSIP-102(17),75021-3207-94,75021-8207-14

THE RESURFACING ON S.R. 102 FROM NORTH OF MERCEDES DRIVE (L.M. 6.00) TO THE BRIDGE OVER OLIVE BRANCH (L.M. 7.82).

PROJECT LENGTH - 1.820 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

	TOTAL CONTRACT
BWI MTN ii Inc. & dba Blue Water Industries	\$696,403.25
Jones Bros. Contractors, LLC	\$713,818.65
Volunteer Paving, LLC	\$797,656.26
Vulcan Construction Materials, LLC	\$799,033.25

			CC	NTRACT CNT157
			UNIT PRICE	EXTENSION
ROADWA	Y CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		3.700 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,520.0000	\$5,624.00
,	Jones Bros. Contractors, LLC		\$4,500.0000	\$16,650.00
	Volunteer Paving, LLC		\$1,893.5100	\$7,005.99
	Vulcan Construction Materials, LLC		\$3,825.0000	\$14,152.50
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
303-01	minterne Addressie, Tit e a bade, disabilio b	114.000 TON		
	BWI MTN ii Inc. & dba Blue Water Industries		\$20.0000	\$2,280.00
,	Jones Bros. Contractors, LLC		\$38.0000	\$4,332.00
,	Volunteer Paving, LLC		\$71.4000	\$8,139.60
,	Vulcan Construction Materials, LLC		\$70.0000	\$7,980.00
307-01 15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
307-01.13	AGO MIX (1 GOT-22) (BI MEG-11M) GIXADING GO	500.000 TON		
	BWI MTN ii Inc. & dba Blue Water Industries		\$76.0000	\$38,000.00
	Jones Bros. Contractors, LLC		\$95.0000	\$47,500.00
	Volunteer Paving, LLC		\$104.1900	\$52,095.00
,	Vulcan Construction Materials, LLC		\$110.0000	\$55,000.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
403-01	BITOMINOUS MATERIAL FOR TACK COAT (10)	31.000 TON		
	BWI MTN ii Inc. & dba Blue Water Industries	011000 1011	\$880.0000	\$27,280.00
	Jones Bros. Contractors, LLC		\$575.0000	\$17,825.00
	Volunteer Paving, LLC		\$705.8800	\$21,882.28
,	Vulcan Construction Materials, LLC		\$840.0000	\$26,040.00
444 00 40	ACC MIV/DC70 22) CDADING D			
411-02.10	ACS MIX(PG70-22) GRADING D	3,313.000 TON		
	BWI MTN ii Inc. & dba Blue Water Industries	3,313.000 1014	\$86.0000	\$284,918.00
	Jones Bros. Contractors, LLC		\$102.0000	\$337,926.00
	Volunteer Paving, LLC		\$111.7700	\$370,294.01
	Vulcan Construction Materials, LLC		\$105.0000	\$347,865.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT	004 000 TON		
	DW// MATAL :: In a . 0 . db a Db a . Water landwater a	964.000 TON	#07.000	#00.000.00
	BWI MTN ii Inc. & dba Blue Water Industries Jones Bros. Contractors, LLC		\$87.0000 \$114.0000	\$83,868.00 \$109,896.00
	Volunteer Paving, LLC		\$114.2800	\$109,896.00
	Vulcan Construction Materials, LLC		\$125.0000	\$120,500.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
		3,281.000 TON	A.	0.4
	BWI MTN ii Inc. & dba Blue Water Industries		\$14.5000	\$47,574.50
	Jones Bros. Contractors, LLC		\$16.9000 \$22.4400	\$55,448.90 \$73,635,64
	Volunteer Paving, LLC Vulcan Construction Materials, LLC		\$22.4400 \$17.7500	\$73,625.64 \$58,237.75
	Taisan Constitution Materials, LLC		ψ17.7500	φου,201.10

				CONTRACT CNT157
			UNIT PRICE	EXTENSION
705-04.10	EARTH PAD FOR GUARD RAIL END TREATMENT	4 000 54 011		
	DM/MTN/**L 0 II DI M/ (L L /)	1.000 EACH	#4 000 0000	# 4 000 00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,200.0000	\$1,200.00
	Jones Bros. Contractors, LLC		\$1,200.0000 \$1,224.4900	\$1,200.00 \$1,334.40
	Volunteer Paving, LLC Vulcan Construction Materials, LLC		\$1,224.4900	\$1,224.49 \$1,320.00
	vuican Construction Materials, LLC		\$1,320.0000	\$1,320.00
705-06.01	W BEAM GR (TYPE 2) MASH TL3			
		75.000 L.F.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$22.0000	\$1,650.00
	Jones Bros. Contractors, LLC		\$22.0000	\$1,650.00
	Volunteer Paving, LLC		\$30.3700	\$2,277.75
	Vulcan Construction Materials, LLC		\$24.2000	\$1,815.00
705-06 10	GR TERMINALTRAILING END (TYPE 13) MASH TL3			
700 00.10	ON TERMINAL TRAILING END (THE 10) MAGNITES	1.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries	11000 = 7.011	\$1,100.0000	\$1,100.00
	Jones Bros. Contractors, LLC		\$1,100.0000	\$1,100.00
	Volunteer Paving, LLC		\$1,060.2000	\$1,060.20
	Vulcan Construction Materials, LLC		\$1,210.0000	\$1,210.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL2			
		1.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$2,300.0000	\$2,300.00
	Jones Bros. Contractors, LLC		\$2,500.0000	\$2,500.00
	Volunteer Paving, LLC		\$2,728.5700	\$2,728.57
	Vulcan Construction Materials, LLC		\$2,530.0000	\$2,530.00
706-01	GUARDRAIL REMOVED			
		125.000 L.F.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$1.0000	\$125.00
	Jones Bros. Contractors, LLC		\$1.0000	\$125.00
	Volunteer Paving, LLC		\$1.0200	\$127.50
	Vulcan Construction Materials, LLC		\$1.1000	\$137.50
712-01	TRAFFIC CONTROL			
0 .		1.000 LS		
	DIA/I MTNI ii laa 9 dha Diya Watay ladyatiisa	1.000 L3	ФE0 000 0000	ФE0 000 00
	BWI MTN ii Inc. & dba Blue Water Industries Jones Bros. Contractors, LLC		\$50,000.0000	\$50,000.00
	Volunteer Paving, LLC		\$20,000.0000 \$18,411.7600	\$20,000.00 \$18,411.76
	Vulcan Construction Materials, LLC		\$40,000.0000	\$40,000.00
	Vulcan Construction Materials, LLC		ψ+0,000.0000	Ψ+0,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$15.0000	\$1,500.00
	Jones Bros. Contractors, LLC		\$15.0000	\$1,500.00
	Volunteer Paving, LLC		\$15.3100	\$1,531.00
	Vulcan Construction Materials, LLC		\$10.1000	\$1,010.00

			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000	\$20.00
	Jones Bros. Contractors, LLC		\$5.0000	\$20.00
	Volunteer Paving, LLC		\$5.1000	\$20.40
	Vulcan Construction Materials, LLC		\$5.0000	\$20.00
712-06	SIGNS (CONSTRUCTION)			
		1,066.000 S.F.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$6.2500	\$6,662.50
	Jones Bros. Contractors, LLC		\$6.2500	\$6,662.50
	Volunteer Paving, LLC		\$6.3800	\$6,801.08
	Vulcan Construction Materials, LLC		\$9.2500	\$9,860.50
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$850.0000	\$1,700.00
	Jones Bros. Contractors, LLC		\$850.0000	\$1,700.00
	Volunteer Paving, LLC		\$867.3500	\$1,734.70
	Vulcan Construction Materials, LLC		\$900.0000	\$1,800.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$5,300.0000	\$10,600.00
	Jones Bros. Contractors, LLC		\$5,300.0000	\$10,600.00
	Volunteer Paving, LLC		\$5,408.1600	\$10,816.32
	Vulcan Construction Materials, LLC		\$6,500.0000	\$13,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CC	DLOR)		
		345.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$10,350.00
	Jones Bros. Contractors, LLC		\$30.0000	\$10,350.00
	Volunteer Paving, LLC		\$25.0000	\$8,625.00
	Vulcan Construction Materials, LLC		\$31.5000	\$10,867.50
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1	COLOR)		
		225.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$6,750.00
	Jones Bros. Contractors, LLC		\$30.0000	\$6,750.00
	Volunteer Paving, LLC		\$25.0000	\$5,625.00
	Vulcan Construction Materials, LLC		\$31.5000	\$7,087.50
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		60.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries	-	\$10.0000	\$600.00
	Jones Bros. Contractors, LLC		\$15.0000	\$900.00
	Volunteer Paving, LLC		\$10.0000	\$600.00
	Vulcan Construction Materials, LLC		\$10.5000	\$630.00

			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		188.000 S.Y.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$20.0000	\$3,760.00
	Jones Bros. Contractors, LLC		\$63.0000	\$11,844.00
	Volunteer Paving, LLC		\$20.0000	\$3,760.00
	Vulcan Construction Materials, LLC		\$21.0000	\$3,948.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		252.000 L.F.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$15.0000	\$3,780.00
	Jones Bros. Contractors, LLC		\$14.0000	\$3,528.00
	Volunteer Paving, LLC		\$15.0000	\$3,780.00
	Vulcan Construction Materials, LLC		\$15.7500	\$3,969.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		23.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$150.0000	\$3,450.00
	Jones Bros. Contractors, LLC		\$150.0000	\$3,450.00
	Volunteer Paving, LLC		\$150.0000	\$3,450.00
	Vulcan Construction Materials, LLC		\$160.0000	\$3,680.00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)			
		3.000 EACH		
	BWI MTN ii Inc. & dba Blue Water Industries		\$650.0000	\$1,950.00
	Jones Bros. Contractors, LLC		\$150.0000	\$450.00
	Volunteer Paving, LLC		\$400.0000	\$1,200.00
	Vulcan Construction Materials, LLC		\$685.0000	\$2,055.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		5.100 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$900.0000	\$4,590.00
	Jones Bros. Contractors, LLC		\$400.0000	\$2,040.00
	Volunteer Paving, LLC		\$850.0000	\$4,335.00
	Vulcan Construction Materials, LLC		\$945.0000	\$4,819.50
716-12.01	ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)			
		9.000 L.M.		
	BWI MTN ii Inc. & dba Blue Water Industries		\$4,000.0000	\$36,000.00
	Jones Bros. Contractors, LLC		\$1,900.0000	\$17,100.00
	Volunteer Paving, LLC		\$3,500.0000	\$31,500.00
	Vulcan Construction Materials, LLC		\$4,200.0000	\$37,800.00
717-01	MOBILIZATION			
		1.000 LS		
	BWI MTN ii Inc. & dba Blue Water Industries		\$50,000.0000	\$50,000.00
	Jones Bros. Contractors, LLC		\$12,000.0000	\$12,000.00
	Volunteer Paving, LLC		\$35,882.3500	\$35,882.35
	Vulcan Construction Materials, LLC		\$12,000.0000	\$12,000.00
			•	

			CONTRACT CNT157
		UNIT PRICE	EXTENSION
730-14.02 SAW SLOT			
	2,005.000 L.F.		
BWI MTN ii Inc. & dba Blue Water Industries		\$3.2500	\$6,516.25
Jones Bros. Contractors, LLC		\$3.2500	\$6,516.25
Volunteer Paving, LLC		\$3.3200	\$6,656.60
Vulcan Construction Materials, LLC		\$3.6000	\$7,218.00
730-14.03 LOOP WIRE			
	4,510.000 L.F.		
BWI MTN ii Inc. & dba Blue Water Industries		\$0.5000	\$2,255.00
Jones Bros. Contractors, LLC		\$0.5000	\$2,255.00
Volunteer Paving, LLC		\$0.5100	\$2,300.10

Vulcan Construction Materials, LLC

\$0.5500

\$2,480.50

BWI MTN ii Inc. & dba Blue Water Industries	\$696,403.25
Jones Bros. Contractors, LLC	\$713,818.65
Volunteer Paving, LLC	\$797,656.26
Vulcan Construction Materials, LLC	\$799,033.25

BWI MTN ii Inc. & dba Blue Water Industries	\$696,403.25
Jones Bros. Contractors, LLC	\$713,818.65
Volunteer Paving, LLC	\$797,656.26
Vulcan Construction Materials, LLC	\$799,033.25

SCOTT COUNTY (Contract No. CNT181 Call 070)

NH/HSIP-29(112),76001-3280-94,76001-8280-14

THE RESURFACING ON U.S. 27 (S.R. 29) FROM NEAR THE MORGAN COUNTY LINE (L.M. 0.00) TO NEAR TUNNEL HILL ROAD (L.M. 6.10).

PROJECT LENGTH - 6.100 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$878,303.65

Potter South East LLC

\$888,689.54

			CONTRACT CNT181
		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY		
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS		
	Daniero Carrier Inc.	620.000 TON	Ф 7 0 000 00
	Rogers Group, Inc. Potter South East LLC	\$114.4000 \$88.2500	\$70,928.00 \$54,715.00
		\$33.233	4 0.,
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
		93.000 TON	
	Rogers Group, Inc. Potter South East LLC	\$710.0000	\$66,030.00
	Potter South East LLC	\$600.0000	\$55,800.00
407-07.01	INTELLIGENT COMPACTION EQUIPMENT		
		1.000 LS	
	Rogers Group, Inc.	\$50,000.0000	\$50,000.00
	Potter South East LLC	\$42,000.0000	\$42,000.00
411-03 13	ACS MIX(PG70-22) THIN LIFT D ASPHALT		
411-05.15		,481.000 TON	
	Rogers Group, Inc.	\$102.6000	\$562,350.60
	Potter South East LLC	\$109.0000	\$597,429.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
	Rogers Group, Inc.	9.900 L.M. \$459.5500	\$4,549.55
	Potter South East LLC	\$707.0700 \$707.0700	\$6,999.99
		·	
712-01	TRAFFIC CONTROL		
		1.000 LS	
	Rogers Group, Inc. Potter South East LLC	\$13,669.0000 \$10,500.0000	\$13,669.00 \$10,500.00
	Poller South East LLC	\$10,500.0000	\$10,500.00
712-06	SIGNS (CONSTRUCTION)		
		538.000 S.F.	
	Rogers Group, Inc.	\$8.7500	\$4,707.50
	Potter South East LLC	\$8.0000	\$4,304.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 CC	DLOR)	
		10.000 EACH	
	Rogers Group, Inc.	\$24.0000	\$240.00
	Potter South East LLC	\$26.7800	\$267.80
740.01.5=	ONOWEL OWARD E DAIGED BAVENEUT MARKETS (TO DESCRIP	, n	
/16-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLC		
		410.000 EACH	

		410.000 EACH		
	Rogers Group, Inc.		\$29.3000	\$12,013.00
	Potter South East LLC		\$26.7800	\$10,979.80
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		280.000 L.F.		
	Rogers Group, Inc.		\$10.0000	\$2,800.00
	Potter South East LLC		\$11.3000	\$3,164.00
				PAGE

			UNIT PRICE	CONTRACT CNT181 EXTENSION
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		1.000 EACH		
	Rogers Group, Inc.		\$150.0000	\$150.00
	Potter South East LLC		\$142.0000	\$142.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		2,619.000 L.F.		
	Rogers Group, Inc.		\$3.0000	\$7,857.00
	Potter South East LLC		\$6.0500	\$15,844.95
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		6.000 L.M.		
	Rogers Group, Inc.		\$525.0000	\$3,150.00
	Potter South East LLC		\$578.0000	\$3,468.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		25.000 L.M.		
	Rogers Group, Inc.		\$2,150.0000	\$53,750.00
	Potter South East LLC		\$2,363.0000	\$59,075.00
717-01	MOBILIZATION			
		1.000 LS		
	Rogers Group, Inc.		\$26,109.0000	\$26,109.00
	Potter South East LLC		\$24,000.0000	\$24,000.00

 Rogers Group, Inc.
 \$878,303.65

 Potter South East LLC
 \$888,689.54

TOTAL CONTRACT

 Rogers Group, Inc.
 \$878,303.65

 Potter South East LLC
 \$888,689.54

SEVIER COUNTY (Contract No. CNT200 Call 072)

78007-4235-04,78016-4217-04,HSIP-338(8),78007-3235-94

THE RESURFACING ON S.R. 338 FROM NEAR OLD RED LANE (L.M. 7.00) TO S.R. 139 (L.M. 18.54) AND ON S.R. 339 FROM U.S. 411 (S.R. 35) (L.M. 0.00) TO NEAR JONES COVE ROAD (L.M. 2.00).

PROJECT LENGTH - 13.450 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 5.00%

TOTAL CONTRACT

Charles Blalock & Sons, Inc.

\$1,696,669.71

DOADW	AV 047500DV		UNIT PRICE	CONTRACT CNT200 EXTENSION
ROADW	AY CATEGORY			
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
	Charles Blalock & Sons, Inc.	621.000 TON	\$22.0000	\$13,662.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
	Charles Blalock & Sons, Inc.	1,785.000 TON	\$129.7500	\$231,603.75
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Charles Blalock & Sons, Inc.	161.000 TON	\$80.0000	\$12,880.00
411-03.13	ACS MIX(PG70-22) THIN LIFT D ASPHALT			
	Charles Blalock & Sons, Inc.	7,961.000 TON	\$129.7500	\$1,032,939.75
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (81			
	Charles Blalock & Sons, Inc.	18.500 L.M.	\$600.0000	\$11,100.00
411-12.04	411-12.04 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDTH)			
	Charles Blalock & Sons, Inc.	2.000 L.M.	\$600.0000	\$1,200.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Charles Blalock & Sons, Inc.	32.000 S.F.	\$95.0000	\$3,040.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN	C 000 FACU		
	Charles Blalock & Sons, Inc.	6.000 EACH	\$500.0000	\$3,000.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	C 000 FACU		
	Charles Blalock & Sons, Inc.	6.000 EACH	\$3,000.0000	\$18,000.00
712-01	TRAFFIC CONTROL	4 1 .		
	Charles Blalock & Sons, Inc.	1.000 LS	\$69,054.2100	\$69,054.21
712-06	SIGNS (CONSTRUCTION)			
	Charles Blalock & Sons, Inc.	625.000 S.F.	\$10.0000	\$6,250.00
713-16.20	SIGNS (OBJECT MARKERS)			
	Charles Blalock & Sons, Inc.	2.000 EACH	\$500.0000	\$1,000.00

23.100 L.M.

1.000 LS

\$2,500.0000

\$55,000.0000

Charles Blalock & Sons, Inc.

Charles Blalock & Sons. Inc.

MOBILIZATION

717-01

\$57,750.00

\$55,000.00

Charles Blalock & Sons, Inc.

\$1,696,669.71

TOTAL CONTRACT

Charles Blalock & Sons, Inc.

\$1,696,669.71

SHELBY COUNTY (Contract No. CNT218 Call 073)

79016-4229-04, HSIP-3(146), 79016-3229-94

THE RESURFACING ON U.S. 51 (S.R. 3) FROM BROOKS ROAD (L.M. 4.62) TO NEAR SOUTH PARKWAY EAST (L.M. 8.00).

PROJECT LENGTH - 3.240 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.50%

TOTAL CONTRACT

Standard Construction Company, Inc. \$2,970,210.00
Lehman-Roberts Company \$3,074,443.60
APAC-Tennessee, Inc. \$3,736,200.67

UNIT PRICE EXTENSION

DOADWAY CATEGORY		

ROADWAY	CATEGORY		UNIT PRICE	EXTENSION
202-03.01 R	REMOVAL OF ASPHALT PAVEMENT			
		6,000.000 S.Y.		
S	Standard Construction Company, Inc.		\$29.2000	\$175,200.00
	ehman-Roberts Company		\$27.0500	\$162,300.00
А	PAC-Tennessee, Inc.		\$18.6000	\$111,600.00
203-06 V	VATER			
		31.000 M.G.		
S	Standard Construction Company, Inc.		\$20.0000	\$620.00
L	ehman-Roberts Company		\$39.0000	\$1,209.00
А	PAC-Tennessee, Inc.		\$33.5000	\$1,038.50
208-01.05 B	ROOMING & DEGRASSING SHOULDERS			
		4.000 L.M.		
	Standard Construction Company, Inc.		\$1,200.0000	\$4,800.00
	ehman-Roberts Company		\$7,700.0000	\$30,800.00
А	PAC-Tennessee, Inc.		\$3,116.0000	\$12,464.00
303-02 N	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)			
		4,076.000 TON		
S	Standard Construction Company, Inc.		\$35.0000	\$142,660.00
L	ehman-Roberts Company		\$55.0000	\$224,180.00
А	PAC-Tennessee, Inc.		\$54.0000	\$220,104.00
307-01.01 A	SPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A	1		
		2,760.000 TON		
S	Standard Construction Company, Inc.	•	\$130.0000	\$358,800.00
	ehman-Roberts Company		\$104.1500	\$287,454.00
А	PAC-Tennessee, Inc.		\$172.4500	\$475,962.00
403-01 B	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		65.000 TON		
S	Standard Construction Company, Inc.		\$982.5000	\$63,862.50
L	ehman-Roberts Company		\$1,000.0000	\$65,000.00
А	PAC-Tennessee, Inc.		\$745.3500	\$48,447.75
411-02.10 A	CS MIX(PG70-22) GRADING D			
		9,494.000 TON		
S	Standard Construction Company, Inc.		\$100.0000	\$949,400.00
	ehman-Roberts Company		\$101.2500	\$961,267.50
А	PAC-Tennessee, Inc.		\$143.5000	\$1,362,389.00
411-12.03 S	CORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN W	IDTH)		
		5.000 L.M.		
S	Standard Construction Company, Inc.		\$780.0000	\$3,900.00
	ehman-Roberts Company		\$3,700.0000	\$18,500.00
А	PAC-Tennessee, Inc.		\$2,002.0000	\$10,010.00

				CONTRACT CN1210
			UNIT PRICE	EXTENSION
415-01.02	COLD PLANING BITUMINOUS PAVEMENT			
		136,246.000 S.Y.		
	Standard Construction Company, Inc.	,	\$2.5500	\$347,427.30
	Lehman-Roberts Company		\$2.1000	\$286,116.60
	APAC-Tennessee, Inc.		\$1.9000	\$258,867.40
701-01.01	CONCRETE SIDEWALK (4 ")			
		4,948.000 S.F.		
	Standard Construction Company, Inc.	,	\$8.4000	\$41,563.20
	Lehman-Roberts Company		\$8.5000	\$42,058.00
	APAC-Tennessee, Inc.		\$10.7000	\$52,943.60
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
		6,168.000 S.F.		
	Standard Construction Company, Inc.		\$30.4500	\$187,815.60
	Lehman-Roberts Company		\$31.0000	\$191,208.00
	APAC-Tennessee, Inc.		\$38.7000	\$238,701.60
701-02.03	CONCRETE CURB RAMP			
		1,365.000 S.F.		
	Standard Construction Company, Inc.		\$31.5000	\$42,997.50
	Lehman-Roberts Company		\$31.8000	\$43,407.00
	APAC-Tennessee, Inc.		\$40.0000	\$54,600.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		14.000 EACH		
	Standard Construction Company, Inc.		\$1,050.0000	\$14,700.00
	Lehman-Roberts Company		\$1,400.0000	\$19,600.00
	APAC-Tennessee, Inc.		\$1,700.0000	\$23,800.00
705-06.30	GR TERMINAL (ENERGY ABSORBING) MASH TL2			
		14.000 EACH		
	Standard Construction Company, Inc.		\$2,100.0000	\$29,400.00
	Lehman-Roberts Company		\$3,400.0000	\$47,600.00
	APAC-Tennessee, Inc.		\$4,267.0000	\$59,738.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Standard Construction Company, Inc.		\$200,000.0000	\$200,000.00
	Lehman-Roberts Company		\$185,500.0000	\$185,500.00
	APAC-Tennessee, Inc.		\$52,271.6000	\$52,271.60
712-06	SIGNS (CONSTRUCTION)			
	•	1,535.000 S.F.		
	Standard Construction Company, Inc.		\$6.7500	\$10,361.25
	Lehman-Roberts Company		\$6.3000	\$9,670.50
	APAC-Tennessee, Inc.		\$8.0000	\$12,280.00

			C.	SWINACI CWIZIO
			UNIT PRICE	EXTENSION
712-07.03 TE	MPORARY BARRICADES (TYPE III)			
		24.000 L.F.		
Sta	andard Construction Company, Inc.		\$16.5000	\$396.00
	hman-Roberts Company		\$16.0000	\$384.00
	AC-Tennessee, Inc.		\$20.0000	\$480.00
Ai	AO-Telliessee, ilic.		Ψ20.0000	Ψ-00.00
712-08.03 AR	ROW BOARD (TYPE C)			
		4.000 EACH		
Sta	andard Construction Company, Inc.		\$935.0000	\$3,740.00
	hman-Roberts Company		\$900.0000	\$3,600.00
	AC-Tennessee, Inc.		\$1,133.3500	\$4,533.40
713-16 20 SIC	GNS (S1-1, SCHOOL ZONE)			
710 10.20 010	5.00 (01 1, 0011002 20112)	4.000 EACH		
Sta	andard Construction Company, Inc.		\$189.0000	\$756.00
	hman-Roberts Company		\$189.0000	\$756.00
	AC-Tennessee, Inc.		\$240.0000	\$960.00
			,	•
713-16.21 SIC	GNS (W16-9P, AHEAD)			
		4.000 EACH		
Sta	andard Construction Company, Inc.		\$36.7500	\$147.00
Lel	hman-Roberts Company		\$37.0000	\$148.00
AP	AC-Tennessee, Inc.		\$46.7000	\$186.80
713-16.22 SIC	GNS (M1-4, U.S. ROUTE)			
	(,	11.000 EACH		
04-	and and One atmostice One are sounded	11.000 EACH	# 400,0000	#0.470.00
	andard Construction Company, Inc.		\$198.0000	\$2,178.00
	hman-Roberts Company		\$189.0000	\$2,079.00
AP	AC-Tennessee, Inc.		\$240.0000	\$2,640.00
713-16.23 SIG	GNS (M3-1, NORTH)			
		7.000 EACH		
Sta	andard Construction Company, Inc.		\$36.7500	\$257.25
	hman-Roberts Company		\$37.0000	\$259.00
	AC-Tennessee, Inc.		\$46.7000	\$326.90
74	7.6 Termessee, me.		φ-ιο.7 000	ψ020.00
713-16.24 SIC	GNS (R14-1, TRUCK)			
		6.000 EACH		
Sta	andard Construction Company, Inc.		\$189.0000	\$1,134.00
Lel	hman-Roberts Company		\$189.0000	\$1,134.00
AP	AC-Tennessee, Inc.		\$240.0000	\$1,440.00
713-16.25 SIC	SNS (M6-6/L)			
	(()	2 000 EACH		
0.	and and Construction Construction	2.000 EACH	#04 #000	#00.00
	andard Construction Company, Inc.		\$31.5000	\$63.00
	hman-Roberts Company		\$31.5000	\$63.00
AP	AC-Tennessee, Inc.		\$40.0000	\$80.00

			Co	ONTRACT CNT218
			UNIT PRICE	EXTENSION
713-16.26	SIGNS (M6-6(R)			
		1.000 EACH		
	Standard Construction Company, Inc.		\$31.5000	\$31.50
	Lehman-Roberts Company		\$31.5000	\$31.50
	APAC-Tennessee, Inc.		\$40.0000	\$40.00
713-16.27	SIGNS (M6-3, DIRECTIONAL ARROW)			
		3.000 EACH		
	Standard Construction Company, Inc.		\$31.5000	\$94.50
	Lehman-Roberts Company		\$31.5000	\$94.50
	APAC-Tennessee, Inc.		\$40.0000	\$120.00
713-16.28	S SIGNS (R2-1, SPEED LIMIT)			
		10.000 EACH		
	Standard Construction Company, Inc.		\$189.0000	\$1,890.00
	Lehman-Roberts Company		\$189.0000	\$1,890.00
	APAC-Tennessee, Inc.		\$240.0000	\$2,400.00
713-16.29	SIGNS (W16-7P, DIAGONAL ARROW)			
		6.000 EACH		
	Standard Construction Company, Inc.		\$36.7500	\$220.50
	Lehman-Roberts Company		\$37.0000	\$222.00
	APAC-Tennessee, Inc.		\$46.7000	\$280.20
713-16.30	SIGNS (OM3-R, RIGHT OBJECT MARKER)			
		1.000 EACH		
	Standard Construction Company, Inc.		\$189.0000	\$189.00
	Lehman-Roberts Company		\$189.0000	\$189.00
	APAC-Tennessee, Inc.		\$240.0000	\$240.00
713-16.31	SIGNS (M3-3, SOUTH)			
		4.000 EACH		
	Standard Construction Company, Inc.		\$36.7500	\$147.00
	Lehman-Roberts Company		\$37.0000	\$148.00
	APAC-Tennessee, Inc.		\$46.7000	\$186.80
713-16.32	SIGNS (W6-2, DIVIDED HIGHWAY ENDS)			
		2.000 EACH		
	Standard Construction Company, Inc.		\$225.7500	\$451.50
	Lehman-Roberts Company		\$226.0000	\$452.00
	APAC-Tennessee, Inc.		\$286.7000	\$573.40
713-16.33	S SIGNS (W13-3, RAMP SPEED)			
		1.000 EACH		

Standard Construction Company, Inc.

Lehman-Roberts Company

APAC-Tennessee, Inc.

\$210.00 \$210.00

\$266.70

\$210.0000

\$210.0000

\$266.7000

			(UNIT PRICE	CONTRACT CNT218 EXTENSION
713-16.34	SIGNS (W11-2, PEDESTRIAN CROSSING)			
		6.000 EACH		
	Standard Construction Company, Inc.		\$225.7500	\$1,354.50
	Lehman-Roberts Company APAC-Tennessee, Inc.		\$226.0000 \$286.6700	\$1,356.00 \$1,720.02
	Tu yee Tolliossoc, inc.		Ψ200.0100	ψ1,120.02
713-16.35	SIGNS (R7-1, NO PARKING ANYTIME)			
		68.000 EACH		
	Standard Construction Company, Inc.		\$183.7500	\$12,495.00
	Lehman-Roberts Company		\$184.0000	\$12,512.00
	APAC-Tennessee, Inc.		\$233.3500	\$15,867.80
713-16.36	SIGNS (W12-1, DOUBLE ARROW)			
		1.000 EACH		
	Standard Construction Company, Inc.		\$294.0000	\$294.00
	Lehman-Roberts Company		\$294.0000	\$294.00
	APAC-Tennessee, Inc.		\$373.3500	\$373.35
713-16.37	SIGNS (BROWN GUIDE SIGN, 60"X30", JESSE TUI	RNER SR MEMORIAL BRIDGE)		
	,	2.000 EACH		
	Standard Construction Company, Inc.		\$330.7500	\$661.50
	Lehman-Roberts Company		\$331.0000	\$662.00
	APAC-Tennessee, Inc.		\$420.0000	\$840.00
713-16.38	SIGNS (BROWN GUIDE SIGN, 60"X30", BETTY JEA	AN JONES BRIDGE)		
		2.000 EACH		
	Standard Construction Company, Inc.		\$330.7500	\$661.50
	Lehman-Roberts Company		\$331.0000	\$662.00
	APAC-Tennessee, Inc.		\$420.0000	\$840.00
714-05.02	PULL BOXES (TYPE A)			
		2.000 EACH		
	Standard Construction Company, Inc.		\$1,260.0000	\$2,520.00
	Lehman-Roberts Company		\$1,300.0000	\$2,600.00
	APAC-Tennessee, Inc.		\$826.7000	\$1,653.40
714-05.03	PULL BOXES (TYPE B)			
		2.000 EACH		
	Standard Construction Company, Inc.		\$1,260.0000	\$2,520.00
	Lehman-Roberts Company		\$1,300.0000	\$2,600.00
	APAC-Tennessee, Inc.		\$853.3500	\$1,706.70
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		1,376.000 L.F.		
			A	.

Standard Construction Company, Inc.

Lehman-Roberts Company

APAC-Tennessee, Inc.

\$18,782.40

\$19,264.00

\$23,873.60

\$13.6500

\$14.0000

\$17.3500

CON	JTR A	\CT	CN	T218	2
CON		101	CIA		•

			3011111131
		UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
		500.000 S.Y.	
	Standard Construction Company, Inc.	\$29.4000	\$14,700.00
	Lehman-Roberts Company	\$29.6500	\$14,825.00
	APAC-Tennessee, Inc.	\$37.3500	\$18,675.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		
	1.	,230.000 L.F.	
	Standard Construction Company, Inc.	\$15.7500	\$19,372.50
	Lehman-Roberts Company	\$15.9000	\$19,557.00
	APAC-Tennessee, Inc.	\$20.0000	\$24,600.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
		39.000 EACH	
	Standard Construction Company, Inc.	\$210.0000	\$8,190.00
	Lehman-Roberts Company	\$212.0000	\$8,268.00
	APAC-Tennessee, Inc.	\$266.7000	\$10,401.30
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
	1.	,630.000 L.F.	
	Standard Construction Company, Inc.	\$40.9500	\$66,748.50
	Lehman-Roberts Company	\$41.3000	\$67,319.00
	APAC-Tennessee, Inc.	\$52.0000	\$84,760.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)		
		24.000 EACH	
	Standard Construction Company, Inc.	\$315.0000	\$7,560.00
	Lehman-Roberts Company	\$318.0000	\$7,632.00
	APAC-Tennessee, Inc.	\$400.0000	\$9,600.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)		
		3.000 EACH	
	Standard Construction Company, Inc.	\$315.0000	\$945.00
	Lehman-Roberts Company	\$318.0000	\$954.00
	APAC-Tennessee, Inc.	\$400.0000	\$1,200.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)		
		18.000 L.M.	
	Standard Construction Company, Inc.	\$1,496.2500	\$26,932.50
	Lehman-Roberts Company	\$1,550.0000	\$27,900.00
	APAC-Tennessee, Inc.	\$1,900.0000	\$34,200.00
716-12.01	ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)		
		7.000 L.M.	
	Standard Construction Company, Inc.	\$4,410.0000	\$30,870.00
	Lehman-Roberts Company	\$4,500.0000	\$31,500.00
	APAC-Tennessee, Inc.	\$5,600.0000	\$39,200.00

			CONTRACT CNT218
		UNIT PRICE	EXTENSION
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	11.000 L.M.		
Standard Construction Company, Inc.		\$3,570.0000	\$39,270.00
Lehman-Roberts Company		\$3,600.0000	\$39,600.00
APAC-Tennessee, Inc.		\$4,533.3500	\$49,866.85
717-01 MOBILIZATION			
	1.000 LS		
Standard Construction Company, Inc.		\$100,000.0000	\$100,000.00
Lehman-Roberts Company		\$200,000.0000	\$200,000.00
APAC-Tennessee, Inc.		\$318,035.0000	\$318,035.00
730-14.02 SAW SLOT			
	4,800.000 L.F.		
Standard Construction Company, Inc.		\$5.2500	\$25,200.00
Lehman-Roberts Company		\$5.0000	\$24,000.00
APAC-Tennessee, Inc.		\$15.4700	\$74,256.00
730-14.03 LOOP WIRE			
	10,400.000 L.F.		

Standard Construction Company, Inc.

Lehman-Roberts Company

APAC-Tennessee, Inc.

\$5,720.00

\$5,408.00 \$14,560.00

\$0.5500

\$0.5200

\$1.4000

Standard Construction Company, Inc.	\$2,970,210.00
Lehman-Roberts Company	\$3,074,443.60
APAC-Tennessee, Inc.	\$3,736,200.67

TOTAL CONTRACT

Standard Construction Company, Inc.	\$2,970,210.00
Lehman-Roberts Company	\$3,074,443.60
APAC-Tennessee, Inc.	\$3,736,200.67

SHELBY COUNTY (Contract No. CNT166 Call 074)

NH/HSIP-385(32),79187-3236-94,79187-8236-14

THE RESURFACING ON S.R. 385 FROM NEAR THE BRIDGE OVER MEMPHIS-ARLINGTON ROAD (L.M. 1.65) TO NEAR BRUNSWICK ROAD (L.M. 7.47).

PROJECT LENGTH - 5.820 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.00%

TOTAL CONTRACT

Standard Construction Company, Inc.\$1,699,514.95Lehman-Roberts Company\$1,761,282.30APAC-Tennessee, Inc.\$2,527,321.05

UNIT PRICE **EXTENSION**

ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
		149.000 S.Y.		
	Standard Construction Company, Inc.		\$31.5000	\$4,693.50
	Lehman-Roberts Company		\$41.5000	\$6,183.50
	APAC-Tennessee, Inc.		\$38.7000	\$5,766.30
203-06	WATER			
200 00	WATER	13.000 M.G.		
	Standard Construction Company, Inc.		\$20.0000	\$260.00
	Lehman-Roberts Company		\$19.8000	\$257.40
	APAC-Tennessee, Inc.		\$40.2000	\$522.60
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (D)			
303-02	MINERAL AGGREGATE, TIPE B BASE, GRADING (D)	1,639.000 TON		
	Standard Construction Company, Inc.	.,	\$30.4000	\$49,825.60
	Lehman-Roberts Company		\$37.0000	\$60,643.00
	APAC-Tennessee, Inc.		\$54.4000	\$89,161.60
207.04.04	ASPUALT CONCRETE MIX (DCC4 22) (DDMD HM) CD	ADING A		
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRA	69.000 TON		
	Standard Construction Company, Inc.	00.000 10.1	\$155.0000	\$10,695.00
	Lehman-Roberts Company		\$143.5500	\$9,904.95
	APAC-Tennessee, Inc.		\$265.0500	\$18,288.45
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
403-01	BITOMINOUS MATERIAL FOR TACK COAT (TC)	55.000 TON		
	Standard Construction Company, Inc.	33.333	\$850.0000	\$46,750.00
	Lehman-Roberts Company		\$850.0000	\$46,750.00
	APAC-Tennessee, Inc.		\$745.6000	\$41,008.00
407 07 04	INTELLIGENT COMPACTION EQUIPMENT			
407-07.01	INTELLIGENT COMPACTION EQUIPMENT	1.000 LS		
	Standard Construction Company, Inc.		\$12,000.0000	\$12,000.00
	Lehman-Roberts Company		\$40,000.0000	\$40,000.00
	APAC-Tennessee, Inc.		\$185,918.2000	\$185,918.20
411-03 10	ACS MIX(PG76-22) GRADING D			
411-03.10	AGG MIN(I GTG-22) GRADING D	8,451.000 TON		
	Standard Construction Company, Inc.	,	\$94.5000	\$798,619.50
	Lehman-Roberts Company		\$98.3000	\$830,733.30
	APAC-Tennessee, Inc.		\$140.7000	\$1,189,055.70
415-01 02	COLD PLANING BITUMINOUS PAVEMENT			
713-01.02	OCLD I LAMING BITOMINGOO PAYLMENT	127,536.000 S.Y.		
	Standard Construction Company, Inc.	, 	\$1.7500	\$223,188.00
	Lehman-Roberts Company		\$1.4500	\$184,927.20
	APAC-Tennessee, Inc.		\$2.2000	\$280,579.20

			CONTRACT CNT166
		UNIT PRICE	EXTENSION
705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN			
703-02.10 GUARDRAIL TRANSITION 27IN TO 31IN	7.000 EACH		
Standard Construction Company, Inc.	7.000 EAGI1	\$105.0000	\$735.00
Lehman-Roberts Company		\$154.1000	\$1,078.70
APAC-Tennessee, Inc.		\$280.0000	\$1,960.00
705-04.09 EARTH PAD FOR TYPE 38 GR END TREATMENT			
	23.000 EACH		
Standard Construction Company, Inc.		\$1,050.0000	\$24,150.00
Lehman-Roberts Company		\$1,181.5000	\$27,174.50
APAC-Tennessee, Inc.		\$1,080.0000	\$24,840.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
	23.000 EACH		
Standard Construction Company, Inc.		\$2,205.0000	\$50,715.00
Lehman-Roberts Company		\$2,876.7500	\$66,165.25
APAC-Tennessee, Inc.		\$3,593.3000	\$82,645.90
712-01 TRAFFIC CONTROL			
	1.000 LS		
Standard Construction Company, Inc.		\$70,000.0000	\$70,000.00
Lehman-Roberts Company		\$65,000.0000	\$65,000.00
APAC-Tennessee, Inc.		\$76,800.0000	\$76,800.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)			
	792.000 EACH		
Standard Construction Company, Inc.		\$10.5000	\$8,316.00
Lehman-Roberts Company		\$10.3000	\$8,157.60
APAC-Tennessee, Inc.		\$13.3500	\$10,573.20
712-06 SIGNS (CONSTRUCTION)			
	1,499.000 S.F.		
Standard Construction Company, Inc.		\$6.3000	\$9,443.70
Lehman-Roberts Company		\$6.1500	\$9,218.85
APAC-Tennessee, Inc.		\$8.0000	\$11,992.00
712-08.03 ARROW BOARD (TYPE C)			
	4.000 EACH		
Standard Construction Company, Inc.		\$1,050.0000	\$4,200.00
Lehman-Roberts Company		\$1,027.4000	\$4,109.60
APAC-Tennessee, Inc.		\$1,333.3500	\$5,333.40
713-16.01 CHANGEABLE MESSAGE SIGN UNIT			
	4.000 EACH		
Standard Construction Company, Inc.		\$5,775.0000	\$23,100.00
Lahman Baharta Campany		¢ E 6E0 7E00	¢22 602 00

Lehman-Roberts Company

APAC-Tennessee, Inc.

\$22,603.00

\$29,333.40

\$5,650.7500

\$7,333.3500

		UNIT PRICE	EXTENSION
716-01.23 SNOWPLOWABLE RAISED PAVE	MENT MARKERS (BI-DIR)(2 COLOR)		
	770.000 EACH		
Standard Construction Company,	Inc.	\$39.9000	\$30,723.00
Lehman-Roberts Company		\$39.0000	\$30,030.00
APAC-Tennessee, Inc.		\$50.7000	\$39,039.00
716-01.30 REMOVAL OF SNOWPLOWABLE	REFLECTIVE MARKER		
	800,000 EACH		
Standard Construction Company,		\$18.0000	\$14,400.00
Lehman-Roberts Company		\$12.0500	\$9,640.00
APAC-Tennessee, Inc.		\$22.0000	\$17,600.00
740 00 04 DI 40710 DANENENT MADERNO	WANNEL TATION OFFICING		
716-02.04 PLASTIC PAVEMENT MARKING(C	HANNELIZATION STRIPING) 650.000 S.Y.		
Standard Construction Company		¢25 2000	\$46.390.00
Standard Construction Company, Lehman-Roberts Company	inc.	\$25.2000 \$24.6500	\$16,380.00 \$16,022.50
APAC-Tennessee, Inc.		\$24.6500 \$32.0000	\$20,800.00
APAC-Telliessee, Ilic.		φ32.0000	φ20,600.00
716-02.05 PLASTIC PAVEMENT MARKING (S	STOP LINE)		
	96.000 L.F.		
Standard Construction Company,	Inc.	\$16.8000	\$1,612.80
Lehman-Roberts Company		\$16.4500	\$1,579.20
APAC-Tennessee, Inc.		\$21.3500	\$2,049.60
716-04.05 PLASTIC PAVEMENT MARKING (S	STRAIGHT ARROW)		
	2.000 EACH		
Standard Construction Company,	Inc.	\$210.0000	\$420.00
Lehman-Roberts Company		\$205.5000	\$411.00
APAC-Tennessee, Inc.		\$266.7000	\$533.40
716-04.14 PLASTIC PAVEMENT MARKING (L			
Standard Construction Commun.	2.000 EACH	\$245,0000	ФС20 00
Standard Construction Company, Lehman-Roberts Company	inc.	\$315.0000 \$308.2000	\$630.00 \$616.40
APAC-Tennessee, Inc.		\$400.0000	\$800.00
A A Tollinosoo, Illo.		ψ 100.0000	φοσο.σσ
716-05.20 PAINTED PAVEMENT MARKING (6	" LINE)		
	26.190 L.M.		
Standard Construction Company,	Inc.	\$1,575.0000	\$41,249.25
Lehman-Roberts Company		\$1,541.0000	\$40,358.79
APAC-Tennessee, Inc.		\$2,000.0000	\$52,380.00
716-12.02 ENHANCED FLATLINE THERMO I	PVMT MRKNG (6IN LINE)		
	33.770 L.M.		
Standard Construction Company,		\$5,900.0000	\$199,243.00
Lehman-Roberts Company		\$5,856.2500	\$199,245.00 \$197,765.56
APAC-Tennessee, Inc.		\$7,600.0000	\$256,652.00
		, ,	. ,

				CONTRACT CNT166
			UNIT PRICE	EXTENSION
716-12.03	3 ENHANCED FLATLINE THERMO PVMT MRKNG (8IN BARRIER LINE	()		
	5,	340.000 L.F.		
	Standard Construction Company, Inc.		\$2.8400	\$15,165.60
	Lehman-Roberts Company		\$2.8000	\$14,952.00
	APAC-Tennessee, Inc.		\$3.6000	\$19,224.00
717-01	MOBILIZATION			
		1.000 LS		
	Standard Construction Company, Inc.		\$43,000.0000	\$43,000.00

Lehman-Roberts Company

APAC-Tennessee, Inc.

\$67,000.00

\$64,465.10

\$67,000.0000

\$64,465.1000

Standard Construction Company, Inc.	\$1,699,514.95
Lehman-Roberts Company	\$1,761,282.30
APAC-Tennessee, Inc.	\$2,527,321.05

TOTAL CONTRACT	
Standard Construction Company, Inc.	\$1,699,514.95
Lehman-Roberts Company	\$1,761,282.30
APAC-Tennessee, Inc.	\$2,527,321.05

SHELBY COUNTY (Contract No. CNT174 Call 075)

STP/HSIP-175(26),79040-3238-94,79040-8238-14

THE RESURFACING ON S.R. 175 FROM HOUSTON LEVEE ROAD (L.M. 21.92) TO BHAYLIA ROAD (L.M. 23.89).

PROJECT LENGTH - 1.970 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 4.00%

TOTAL CONTRACT

Standard Construction Company, Inc.\$1,295,858.08Lehman-Roberts Company\$1,528,463.55APAC-Tennessee, Inc.\$2,043,728.98

			C	ONTRACT CNT174
			UNIT PRICE	EXTENSION
ROADW	AY CATEGORY			
202-03-01	REMOVAL OF ASPHALT PAVEMENT			
202 00.01	Name vila er i i er i i er i er i er i er i er i	1,667.000 S.Y.		
	Standard Construction Company, Inc.	1,007.000 0.11	\$31.5000	\$52,510.50
	Lehman-Roberts Company		\$25.2500	\$42,091.75
	APAC-Tennessee, Inc.		\$14.4000	\$24,004.80
203-06	WATER			
		9.000 M.G.		
	Standard Construction Company, Inc.		\$20.0000	\$180.00
	Lehman-Roberts Company		\$1,350.0000	\$12,150.00
	APAC-Tennessee, Inc.		\$40.8000	\$367.20
208-01.02	SHOULDER PREPARATION			
		1.020 L.M.		
	Standard Construction Company, Inc.		\$3,600.0000	\$3,672.00
	Lehman-Roberts Company		\$38,000.0000	\$38,760.00
	APAC-Tennessee, Inc.		\$6,450.4000	\$6,579.41
200 04 05	BROOMING & DEGRASSING SHOULDERS			
200-01.03	BROOMING & DEGRASSING SHOOLDERS	1.181 L.M.		
	Standard Construction Company Inc	1.181 L.W.	¢4 950 0000	¢0.404.0E
	Standard Construction Company, Inc. Lehman-Roberts Company		\$1,850.0000 \$15,000.0000	\$2,184.85 \$17,715.00
	APAC-Tennessee, Inc.		\$5,571.0500	\$6,579.41
	, a. 7.6 7.6 m. 6.6 m.		φο,σσσσσ	φο,σ.σ
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C o	r D)		
		1,298.000 TON		
	Standard Construction Company, Inc.	•	\$42.0000	\$54,516.00
	Lehman-Roberts Company		\$81.5000	\$105,787.00
	APAC-Tennessee, Inc.		\$86.9000	\$112,796.20
307-01.08	S ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRA	DING B-M2		
		700.000 TON		
	Standard Construction Company, Inc.		\$135.0000	\$94,500.00
	Lehman-Roberts Company		\$130.0000	\$91,000.00
	APAC-Tennessee, Inc.		\$227.7000	\$159,390.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
403-01	BITOMINGOO MATERIAL FOR TACK COAT (10)	28.000 TON		
	Standard Construction Company Inc	28.000 TON	\$000,0000	¢27.440.00
	Standard Construction Company, Inc. Lehman-Roberts Company		\$980.0000 \$1,000.0000	\$27,440.00 \$28,000.00
	APAC-Tennessee, Inc.		\$7,000.0000	\$20,000.00
			÷. 55.555	+ = ·, · · · · · · · · ·
411-01.10	ACS MIX(PG64-22) GRADING D			
		5,663.000 TON		
	Standard Construction Company, Inc.		\$94.0500	\$532,605.15
	Lehman-Roberts Company		\$100.0000	\$566,300.00
	APAC-Tennessee, Inc.		\$147.3000	\$834,159.90

			UNIT PRICE	EXTENSION
/15 ₋ 01 02	COLD PLANING BITUMINOUS PAVEMENT			
415-01.02	GOED I EANING BITOMINGGOT AVENENT	82,756.000 S.Y.		
	Standard Construction Company Inc	,· · · · · · · · · · · · · · · · · · ·	¢4 0000	¢457 006 40
	Standard Construction Company, Inc.		\$1.9000	\$157,236.40
	Lehman-Roberts Company		\$2.1500	\$177,925.40
	APAC-Tennessee, Inc.		\$3.1500	\$260,681.40
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	, ,	4,051.000 S.F.		
	Standard Construction Company, Inc.		\$24.2000	\$98,034.20
	Lehman-Roberts Company		\$25.4000	\$102,895.40
			•	
	APAC-Tennessee, Inc.		\$32.0000	\$129,632.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Standard Construction Company, Inc.		\$55,000.0000	\$55,000.00
	Lehman-Roberts Company		\$100,500.0000	\$100,500.00
	APAC-Tennessee, Inc.		\$111,800.0000	\$111,800.00
	AFAC-Tellilessee, IIIC.		φ111,000.0000	\$111,000.00
712-06	SIGNS (CONSTRUCTION)			
		1,360.000 S.F.		
	Standard Construction Company, Inc.	1,0001000	\$6.9000	\$9,384.00
	Lehman-Roberts Company		\$6.3500	\$8,636.00
	· ·			
	APAC-Tennessee, Inc.		\$8.0000	\$10,880.00
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Standard Construction Company, Inc.		\$918.7500	\$3,675.00
	Lehman-Roberts Company		\$1,000.0000	\$4,000.00
	APAC-Tennessee, Inc.		\$1,166.7000	\$4,666.80
74.0 04 04	CNOWDLOWARLE DAICED DAVEMENT MARKEDS	2 (PL DID) (4 COLOD)		
710-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS	300.000 EACH		
	Ctandard Canatavetian Cananany Inc	300.000 EACH	\$20,000	¢44.070.00
	Standard Construction Company, Inc.		\$39.9000	\$11,970.00
	Lehman-Roberts Company		\$40.2000	\$12,060.00
	APAC-Tennessee, Inc.		\$50.7000	\$15,210.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS ((MONO-DIR)(1 COLOR)		
		150.000 EACH		
	Standard Construction Company, Inc.		\$39.9000	\$5,985.00
	Lehman-Roberts Company		\$40.2000	\$6,030.00
	APAC-Tennessee, Inc.		\$50.7000	\$7,605.00
	AFAC-Tellilessee, IIIC.		φ30.7000	φ7,005.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		1,850.000 L.F.		
	Standard Construction Company, Inc.		\$12.6000	\$23,310.00
	Lehman-Roberts Company		\$12.7000	\$23,495.00
	APAC-Tennessee, Inc.		\$16.0000	\$29,600.00
			4.0.000	Ţ _ 0,0 0 0.00

				EVEL NOION
			UNIT PRICE	EXTENSION
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIF			
		500.000 S.Y.		
	Standard Construction Company, Inc.		\$25.2000	\$12,600.00
	Lehman-Roberts Company		\$25.4000	\$12,700.00
	APAC-Tennessee, Inc.		\$32.0000	\$16,000.00
716-02 05	PLASTIC PAVEMENT MARKING (STOP LINE)			
7 10 02.00	TEACHOT AVENERY MARRIES (CTCT EREE)	1,150.000 L.F.		
	Standard Construction Company, Inc.	1,130.000 E.1 .	\$15.7500	\$18,112.50
	Lehman-Roberts Company		\$15.7500 \$15.9000	\$18,285.00
	APAC-Tennessee, Inc.		\$20.0000	\$23,000.00
			Ψ=0.0000	Ψ=0,000.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		32.000 EACH		
	Standard Construction Company, Inc.		\$210.0000	\$6,720.00
	Lehman-Roberts Company		\$220.0000	\$7,040.00
	APAC-Tennessee, Inc.		\$266.7000	\$8,534.40
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS			
		75.000 L.F.	# 40,000	# 0.4 # 0.00
	Standard Construction Company, Inc.		\$42.0000	\$3,150.00
	Lehman-Roberts Company APAC-Tennessee, Inc.		\$43.0000 \$53.3300	\$3,225.00 \$3,999.75
	AFAC-Tellilessee, Ilic.		φ33.3300	φ3,999.73
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
		500.000 L.F.		
	Standard Construction Company, Inc.		\$2.7000	\$1,350.00
	Lehman-Roberts Company		\$2.7500	\$1,375.00
	APAC-Tennessee, Inc.		\$3.5000	\$1,750.00
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		17.000 EACH		
	Standard Construction Company, Inc.		\$294.0000	\$4,998.00
	Lehman-Roberts Company		\$300.0000	\$5,100.00
	APAC-Tennessee, Inc.		\$373.3500	\$6,346.95
716-03.06	PLASTIC WORD PAVEMENT MARKING (SIGNAL AHEAD)			
		2.000 EACH		
	Standard Construction Company, Inc.	2.000 27.011	\$577.5000	\$1,155.00
	Lehman-Roberts Company		\$600.0000	\$1,200.00
	APAC-Tennessee, Inc.		\$733.3500	\$1,466.70
	•		·	• •
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARRO	W)		
		2.000 EACH		
	Standard Construction Company, Inc.		\$262.5000	\$525.00
	Lehman-Roberts Company		\$265.0000	\$530.00
	APAC-Tennessee, Inc.		\$333.3500	\$666.70

				CONTRACT CN1174
			UNIT PRICE	EXTENSION
716-04.04 PLASTIC PAVEMENT MA	RKING (TRANSVERSE SH	OULDER)		
		500.000 L.F.		
Standard Construction Co	ompany, Inc.		\$12.6000	\$6,300.00
Lehman-Roberts Compar			\$12.7000	\$6,350.00
APAC-Tennessee, Inc.	•		\$16.0000	\$8,000.00
716-04.05 PLASTIC PAVEMENT MA	RKING (STRAIGHT ARROV	N)		
		5.000 EACH		
Standard Construction Co	ompany, Inc.		\$210.0000	\$1,050.00
Lehman-Roberts Compar	ny		\$215.0000	\$1,075.00
APAC-Tennessee, Inc.			\$266.7000	\$1,333.50
716-04.17 PLASTIC PAVEMENT MA	RKING (YIELD SYMBOL)			
		4.000 EACH		
Standard Construction Co	ompany, Inc.		\$52.5000	\$210.00
Lehman-Roberts Compar	ny		\$53.0000	\$212.00
APAC-Tennessee, Inc.			\$66.7000	\$266.80
716-05.01 PAINTED PAVEMENT MA	RKING (4" LINE)			
		9.147 L.M.		
Standard Construction Co	ompany, Inc.		\$1,428.0000	\$13,061.92
Lehman-Roberts Compar	ny		\$1,500.0000	\$13,720.50
APAC-Tennessee, Inc.			\$1,811.9500	\$16,573.91
716-12.02 ENHANCED FLATLINE TH	HERMO PVMT MRKNG (61)	N LINE)		
		7.035 L.M.		
Standard Construction Co	ompany, Inc.		\$5,985.0000	\$42,104.48
Lehman-Roberts Compar	ny		\$6,100.0000	\$42,913.50
APAC-Tennessee, Inc.			\$7,594.6000	\$53,428.01
716-13.01 SPRAY THERMO PVMT M	IRKNG (60 mil) (4IN LINE)			
		2.112 L.M.		
Standard Construction Co	ompany, Inc.		\$3,465.0000	\$7,318.08
Lehman-Roberts Compar			\$3,500.0000	\$7,392.00
APAC-Tennessee, Inc.			\$4,395.8500	\$9,284.04
717-01 MOBILIZATION				
		1.000 LS		
Standard Construction Co	ompany, Inc.		\$45,000.0000	\$45,000.00
Lehman-Roberts Compar			\$70,000.0000	\$70,000.00
APAC-Tennessee, Inc.	-		\$157,931.5000	\$157,931.50

Standard Construction Company, Inc.	\$1,295,858.08
Lehman-Roberts Company	\$1,528,463.55
APAC-Tennessee, Inc.	\$2,043,728.98

TOTAL CONTRACT	
Standard Construction Company, Inc.	\$1,295,858.08
Lehman-Roberts Company	\$1,528,463.55
APAC-Tennessee, Inc.	\$2,043,728.98

SUMNER COUNTY (Contract No. CNT168 Call 076)

83076-4254-04,NH-386(23),83076-8254-14

THE RESURFACING ON S.R. 386 FROM THE BRIDGE OVER U.S. 31E (S.R. 6) (L.M. 7.63) TO EAST OF GREENLEA BOULEVARD (L.M. 12.07), INCLUDING BRIDGE DECK REPAIR.

PROJECT LENGTH - 4.440 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 5.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,977,208.04

Charles Deweese Construction, Inc

\$2,573,272.67

BOADWA	Y CATEGORY	UNIT PRICE	CONTRACT CNT168 EXTENSION
ROADWA	TOATEGORT		
208-01.05	BROOMING & DEGRASSING SHOULDERS		
	18.000 L.M.		
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$1,650.0000 \$1,105.4300	\$29,700.00 \$19,897.74
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D		
	441.000 TON	I	
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$32.5000 \$28.0500	\$14,332.50 \$12,370.05
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS		
	1,000.000 TON	I	
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$76.0000 \$102.0800	\$76,000.00 \$102,080.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
	86.000 TON	I	
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$800.0000 \$950.0000	\$68,800.00 \$81,700.00
407-07.01	INTELLIGENT COMPACTION EQUIPMENT		
	1.000 LS		
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$5,000.0000 \$50,000.0000	\$5,000.00 \$50,000.00
411-02.10	ACS MIX(PG70-22) GRADING D		
	12,820.000 TON	I	
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$78.0000 \$106.0300	\$999,960.00 \$1,359,304.60
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)		
	17.400 L.M.		
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$410.0000 \$470.0000	\$7,134.00 \$8,178.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT		
	12,699.000 TON		
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$15.0000 \$19.3300	\$190,485.00 \$245,471.67
501-01.13	PORTLAND CEMENT CONCRETE PAVEMENT (PLAIN) 10" FAST TRACK		
	3.000 S.Y.		
	Rogers Group, Inc. Charles Deweese Construction, Inc	\$1,033.3300 \$850.0000	\$3,099.99 \$2,550.00
712-01	TRAFFIC CONTROL		

1.000 LS

Rogers Group, Inc.

Charles Deweese Construction, Inc

\$88,000.00

\$88,000.0000

\$96,250.0000

				CONTRACT CNT168
			UNIT PRICE	EXTENSION
742.04.04	ELEVIDLE DRUMS (CHANNELIZING)			
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)	100.000 EACH		
	Rogers Group, Inc.	100.000 E/1011	\$10.3000	\$1,030.00
	Charles Deweese Construction, Inc		\$15.9800	\$1,598.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Rogers Group, Inc.		\$5.1500	\$20.60
	Charles Deweese Construction, Inc		\$15.9800	\$63.92
712-06	SIGNS (CONSTRUCTION)			
		1,583.000 S.F.		
	Rogers Group, Inc.		\$6.7000	\$10,606.10
	Charles Deweese Construction, Inc		\$7.1600	\$11,334.28
712-06.16	SIGNS (CONSTRUCTION)(REDUCED SPEED WARM	NING)		
		2.000 EACH		
	Rogers Group, Inc.		\$570.0000	\$1,140.00
	Charles Deweese Construction, Inc		\$114.6400	\$229.28
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Rogers Group, Inc.		\$950.0000	\$1,900.00
	Charles Deweese Construction, Inc		\$775.0000	\$1,550.00
712-08.10	MOBILE MESSAGE SIGN UNIT W/ATTENUATOR			
		500.000 HOUR		
	Rogers Group, Inc.		\$103.0000	\$51,500.00
	Charles Deweese Construction, Inc		\$111.3400	\$55,670.00
713-16.01	CHANGEABLE MESSAGE SIGN UNIT			
		2.000 EACH		
	Rogers Group, Inc.		\$5,700.0000	\$11,400.00
	Charles Deweese Construction, Inc		\$1,890.0000	\$3,780.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS	(BI-DIR)(2 COLOR)		
		967.000 EACH		
	Rogers Group, Inc.		\$30.6000	\$29,590.20
	Charles Deweese Construction, Inc		\$41.2400	\$39,879.08
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MA	RKER		
		967.000 EACH		
	Rogers Group, Inc.		\$10.2000	\$9,863.40
	Charles Deweese Construction, Inc		\$20.6200	\$19,939.54
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION	I STRIPING)		
		1,000.000 S.Y.		
	Rogers Group, Inc.		\$10.2000	\$10,200.00
	Charles Deweese Construction, Inc		\$20.6200	\$20,620.00

				CONTRACT CNT168
			UNIT PRICE	EXTENSION
74.0.00.07	DI ACTIC DAVEMENT MADIZING (241 DADDIED LINE)			
/16-02.0/	PLASTIC PAVEMENT MARKING (24" BARRIER LINE)			
		2,845.000 L.F.		
	Rogers Group, Inc.		\$12.2500	\$34,851.25
	Charles Deweese Construction, Inc		\$15.4600	\$43,983.70
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		20.500 L.M.		
	Rogers Group, Inc.		\$1,125.0000	\$23,062.50
	Charles Deweese Construction, Inc		\$1,134.0200	\$23,247.41
716-12 02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
710-12.02	ENTANCED LEATENE THERMS I VIII MINIMO (OIN EINE)	20.000 L.M.		
	Rogers Group, Inc.	20.000 L.M.	\$5,100.0000	\$102,000.00
	Charles Deweese Construction, Inc		\$5,463.9200	\$109,278.40
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED L	.INE)		
		2,650.000 L.F.		
	Rogers Group, Inc.		\$2.0500	\$5,432.50
	Charles Deweese Construction, Inc		\$2.0600	\$5,459.00
716-13.08	SPRAY THERMO PVMT MRKNG (40 mil) (8IN BARRIER LINE)			
	, ,,	3,800.000 L.F.		
	Rogers Group, Inc.		\$3.0500	\$11,590.00
	Charles Deweese Construction, Inc		\$3.0900	\$11,742.00
747.04	MODILIZATION			
717-01	MOBILIZATION	1.000 LS		
	Rogers Group, Inc.	1.000 L3	\$88,000.0000	\$88,000.00
	Charles Daysess Construction Inc.		φοο,υυυ.υυυυ ¢107 200 0000	φοο,000.00 \$107.200.00

Charles Deweese Construction, Inc

\$107,200.00

\$107,200.0000

CONTRACT CNT168

UNIT PRICE EXTENSION

BRIDGE CATEGORY

604-10.44 EXPANSION JOINT REPAIRS

402.000 L.F.

 Rogers Group, Inc.
 \$255.0000
 \$102,510.00

 Charles Deweese Construction, Inc
 \$348.0000
 \$139,896.00

Rogers Group, Inc.	\$1,874,698.04
Charles Deweese Construction, Inc	\$2,433,376.67

SUB-TOTAL BRIDGE

Rogers Group, Inc.	\$102,510.00
Charles Deweese Construction, Inc	\$139,896.00

TOTAL CONTRACT

Rogers Group, Inc.	\$1,977,208.04
Charles Deweese Construction, Inc	\$2,573,272.67

SUMNER COUNTY (Contract No. CNT155 Call 077)

STP/HSIP-174(28),83027-3222-94,83027-8222-14

THE RESURFACING ON S.R. 174 FROM S.R. 52 (L.M. 29.66) TO THE KENTUCKY STATE LINE (L.M. 39.68).

PROJECT LENGTH - 10.020 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$1,693,113.20

Charles Deweese Construction, Inc

\$1,913,522.90

				CONTRACT CNT155
			UNIT PRICE	EXTENSION
ROADWA	Y CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		20.100 L.M.		
	Rogers Group, Inc.		\$1,500.0000	\$30,150.00
	Charles Deweese Construction, Inc		\$1,712.8200	\$34,427.68
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		995.000 TON		
	Rogers Group, Inc.		\$23.0000	\$22,885.00
	Charles Deweese Construction, Inc		\$26.8200	\$26,685.90
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		1,000.000 TON		
	Rogers Group, Inc.	,	\$77.0000	\$77,000.00
	Charles Deweese Construction, Inc		\$87.9400	\$87,940.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	, ,	75.000 TON		
	Rogers Group, Inc.		\$800.0000	\$60,000.00
	Charles Deweese Construction, Inc		\$815.0000	\$61,125.00
411-01.10	ACS MIX(PG64-22) GRADING D			
	, ,	11,419.000 TON		
	Rogers Group, Inc.	,	\$75.0000	\$856,425.00
	Charles Deweese Construction, Inc		\$88.2700	\$1,007,955.13
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8	BIN WIDTH)		
	_ (16.100 L.M.		
	Rogers Group, Inc.	10.100 2.111.	\$415.0000	\$6,681.50
	Charles Deweese Construction, Inc		\$997.5000	\$16,059.75
<i>4</i> 15-01 01	COLD PLANING BITUMINOUS PAVEMENT			
415-01.01	COLD FLANING BITOMINOUS FAVEMENT	44 205 000 TON		
	Rogers Group, Inc.	11,305.000 TON	\$17.0000	\$192,185.00
	Charles Deweese Construction, Inc		\$19.0300	\$215,134.15
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		21.000 EACH		
	Rogers Group, Inc.		\$103.0000	\$2,163.00
	Charles Deweese Construction, Inc		\$190.7200	\$4,005.12
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		21.000 EACH		
	Rogers Group, Inc.		\$1,030.0000	\$21,630.00
	Charles Deweese Construction, Inc		\$1,443.3000	\$30,309.30
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		21.000 EACH		

Rogers Group, Inc.

Charles Deweese Construction, Inc

\$56,700.00

\$2,700.0000

\$3,453.6100

				CONTRACT CNT155
			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
		1,050.000 L.F.	•	• • • • • • •
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$1.0500 \$5.1500	\$1,102.50 \$5,407.50
712-01	TRAFFIC CONTROL	1.000 LS		
	Rogers Group, Inc.	1.000 LS	\$87,000.0000	\$87,000.00
	Charles Deweese Construction, Inc		\$40,500.0000	\$40,500.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		25.000 EACH		
	Rogers Group, Inc.		\$5.1000	\$127.50
	Charles Deweese Construction, Inc		\$16.7400	\$418.50
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$2.0500 \$16.7400	\$8.20 \$66.96
	Ghanes Deweese Gonstruction, mo		ψ10.7400	ψ00.00
712-06	SIGNS (CONSTRUCTION)			
	Pagara Craup, Inc.	1,930.000 S.F.	\$6.9500	\$13,413.50
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$7.5100	\$13,413.30 \$14,494.30
74.0 04 04	CNOWDLOWARLE DAIGED DAVEMENT MARKEDS (DLDIR) (4 CO	N OD)		
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 CC	662.000 EACH		
	Rogers Group, Inc.	002.000 27.011	\$30.5000	\$20,191.00
	Charles Deweese Construction, Inc		\$30.9300	\$20,475.66
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		300.000 EACH		
	Rogers Group, Inc.		\$10.0000	\$3,000.00
	Charles Deweese Construction, Inc		\$20.6200	\$6,186.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		400.000 S.Y.	*	
	Rogers Group, Inc. Charles Deweese Construction, Inc		\$20.0000 \$20.6200	\$8,000.00 \$8,248.00
				. ,
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	425,000 5		
	Rogers Group, Inc.	125.000 L.F.	\$15.0000	\$1,875.00
	Charles Deweese Construction, Inc		\$15.4600	\$1,932.50

1.000 EACH

716-03.06 PLASTIC WORD PAVEMENT MARKING (SIGNAL AHEAD)

Charles Deweese Construction, Inc

Rogers Group, Inc.

\$715.00

\$721.65

\$715.0000

\$721.6500

				CONTRACT	CNT155
			UNIT PRICE	EXT	ENSION
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)				
		39.400 L.M.			
	Rogers Group, Inc.		\$815.0000	\$32	,111.00
	Charles Deweese Construction, Inc		\$824.7400	\$32	,494.76
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)				
		19.300 L.M.			
	Rogers Group, Inc.		\$5,050.0000	\$97	,465.00
	Charles Deweese Construction, Inc		\$5,154.6400	\$99	,484.55
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)				
		20.100 L.M.			
	Rogers Group, Inc.		\$2,850.0000	\$57	,285.00
	Charles Deweese Construction, Inc		\$2,886.8000	\$58	,024.68
717-01	MOBILIZATION				
		1.000 LS			
	Rogers Group, Inc.		\$45,000.0000		,000.00
	Objective Devices of Organization Line		MADA AAAA	ው ለ ለ	000 00

Charles Deweese Construction, Inc

\$68,900.00

\$68,900.0000

Rogers Group, Inc.	\$1,693,113.20
Charles Deweese Construction, Inc	\$1,913,522.90

TOTAL CONTRACT

TAL CONTRACT				
Rogers Group, Inc.	\$1,693,113.20			
Charles Deweese Construction, Inc	\$1,913,522.90			

SUMNER COUNTY (Contract No. CNT194 Call 078)

STP/HSIP-25(60),83005-3251-94,83005-8251-14

THE RESURFACING ON S.R. 25 FROM S.R. 109 (L.M. 12.95) TO KRAFT STREET (L.M. 15.98).

PROJECT LENGTH - 2.830 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 8.00%

TOTAL CONTRACT

Charles Deweese Construction, Inc

\$1,012,441.01

Rogers Group, Inc.

\$1,287,930.75

				CONTRACT CNT194
ROADWA	AY CATEGORY		UNIT PRICE	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		5.600 L.M.		
	Charles Deweese Construction, Inc Rogers Group, Inc.		\$1,098.5100 \$3,900.0000	\$6,151.66 \$21,840.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		92.000 TON		
	Charles Deweese Construction, Inc Rogers Group, Inc.		\$40.6300 \$25.0000	\$3,737.96 \$2,300.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		500.000 TON		
	Charles Deweese Construction, Inc Rogers Group, Inc.		\$94.6700 \$107.0000	\$47,335.00 \$53,500.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Charles Downson Construction Inc	25.000 TON	\$005,0000	\$22 625 00
	Charles Deweese Construction, Inc Rogers Group, Inc.		\$905.0000 \$800.0000	\$22,625.00 \$20,000.00
411-02.10	ACS MIX(PG70-22) GRADING D	0 700 000 TON		
	Charles Deweese Construction, Inc	3,733.000 TON	\$100.6200	\$375,614.46
	Rogers Group, Inc.		\$108.0000	\$403,164.00
411-33.35	STAMPED ASPHALT (TRAFFIC PATTERNS XD)	4 000 000 0 5		
	Charles Deweese Construction, Inc	1,600.000 S.F.	\$20.5200	\$32,832.00
	Rogers Group, Inc.		\$19.7500	\$31,600.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	0 000 000 TON		
	Charles Deweese Construction, Inc	3,698.000 TON	\$15.4300	\$57,060.14
	Rogers Group, Inc.		\$28.5000	\$105,393.00
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN	40.000.51011		
	Charles Deweese Construction, Inc	40.000 EACH	\$1,250.0000	\$50,000.00
	Rogers Group, Inc.		\$615.0000	\$24,600.00
701-02.01	CONCRETE CURB RAMP (RETROFIT)	5 700 000 O F		
	Charles Deweese Construction, Inc	5,720.000 S.F.	\$28.9800	\$165,765.60
	Rogers Group, Inc.		\$46.0000	\$263,120.00
701-02.05	DETECTABLE WARNING SURFACE (REHABILITATION)	32.000 EACH		
		JE.UUU LAGII	#00.000	#0.000.00

Charles Deweese Construction, Inc

Rogers Group, Inc.

\$2,880.00

\$9,600.00

\$90.0000

\$300.0000

001	ITRACT	Г194
		1 1 U.Z

			CC	NTRACT CNT194
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Charles Deweese Construction, Inc Rogers Group, Inc.		\$40,500.0000 \$102,000.0000	\$40,500.00 \$102,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	Charles Deweese Construction, Inc		\$15.9800	\$1,598.00
	Rogers Group, Inc.		\$16.5000	\$1,650.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Charles Deweese Construction, Inc		\$15.9800	\$63.92
	Rogers Group, Inc.		\$16.5000	\$66.00
712-06	SIGNS (CONSTRUCTION)			
		1,608.000 S.F.		
	Charles Deweese Construction, Inc		\$7.1600	\$11,513.28
	Rogers Group, Inc.		\$7.5000	\$12,060.00
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Charles Deweese Construction, Inc		\$773.2000	\$1,546.40
	Rogers Group, Inc.		\$800.0000	\$1,600.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKET	R		
		90.000 EACH		
	Charles Deweese Construction, Inc		\$30.9300	\$2,783.70
	Rogers Group, Inc.		\$21.0000	\$1,890.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		735.000 L.F.		
	Charles Deweese Construction, Inc		\$9.0000	\$6,615.00
	Rogers Group, Inc.		\$13.5000	\$9,922.50
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STR	RIPING)		
		1,135.000 S.Y.		
	Charles Deweese Construction, Inc		\$12.3700	\$14,039.95
	Rogers Group, Inc.		\$12.5000	\$14,187.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		198.000 L.F.		
	Charles Deweese Construction, Inc		\$15.4600	\$3,061.08
	Rogers Group, Inc.		\$15.0000	\$2,970.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		28.000 EACH		
	Charles Deweese Construction, Inc		\$154.6400 \$160.0000	\$4,329.92 \$4,480.00
	Rogers Group, Inc.		\$160.0000	\$4,480.00

			UNIT PRICE	EXTENSION
716-02 00	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
710-02.03	TEASTIOT AVENERY MARKING (ESHOTIODINAL GROSS-WALK)	550.000 L.F.		
	Charles Deweese Construction, Inc	330.000 E.i .	\$36.0800	\$19,844.00
	Rogers Group, Inc.		\$36.5000	\$20,075.00
740 00 04	DI ACTIO WODD DAVEMENT MADICINO (ONLY)			
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)	3.000 EACH		
	Charles Deweese Construction, Inc	3.000 EACH	\$412.3700	\$1,237.11
	Rogers Group, Inc.		\$420.0000	\$1,260.00
716-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
		400.000 L.F.	47.700 0	# 0.000.00
	Charles Deweese Construction, Inc Rogers Group, Inc.		\$7.7300 \$8.0000	\$3,092.00 \$3,200.00
	Trogoto Cloup, Inc.		φο.σσσσ	ψ0,200.00
716-04.05	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)			
		5.000 EACH		
	Charles Deweese Construction, Inc		\$154.6400	\$773.20
	Rogers Group, Inc.		\$160.0000	\$800.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	,	12.700 L.M.		
	Charles Deweese Construction, Inc		\$1,030.9300	\$13,092.81
	Rogers Group, Inc.		\$1,050.0000	\$13,335.00
716 12 01	ENHANCED FLATLINE THERMO PVMT MRKNG (4IN LINE)			
710-12.01	ENHANCED FLATLINE THERMO PVMT MRKING (4IN LINE)	7.500 L.M.		
	Charles Deweese Construction, Inc	7.300 L.W.	\$3,608.2500	\$27,061.88
	Rogers Group, Inc.		\$3,650.0000	\$27,375.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	Charles Davises Construction Inc	5.200 L.M.	#2.404.0500	\$40.457.74
	Charles Deweese Construction, Inc Rogers Group, Inc.		\$3,164.9500 \$2,200.0000	\$16,457.74 \$11,440.00
	Trogoto Cloup, Inc.		Ψ2,200.0000	Ψ11,110.00
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		80.000 L.F.		
	Charles Deweese Construction, Inc		\$1.0300	\$82.40
	Rogers Group, Inc.		\$1.0500	\$84.00
717-01	MOBILIZATION			
		1.000 LS		
	Charles Deweese Construction, Inc		\$62,150.0500	\$62,150.05
	Rogers Group, Inc.		\$105,000.0000	\$105,000.00
720 44 00	CAWCLOT			

3,675.000 L.F.

730-14.02 SAW SLOT

Charles Deweese Construction, Inc

Rogers Group, Inc.

\$13,266.75

\$13,781.25

\$3.6100

\$3.7500

CONTRACT CNT194

UNIT PRICE EXTENSION

730-14.03 LOOP WIRE

10,250.000 L.F.

 Charles Deweese Construction, Inc
 \$0.5200
 \$5,330.00

 Rogers Group, Inc.
 \$0.5500
 \$5,637.50

Charles Deweese Construction, Inc \$1,012,441.01
Rogers Group, Inc. \$1,287,930.75

TOTAL CONTRACT

Charles Deweese Construction, Inc \$1,012,441.01
Rogers Group, Inc. \$1,287,930.75

SUMNER COUNTY (Contract No. CNT180 Call 079)

STP-NH-6(132),83077-8221-14

THE RESURFACING ON U.S. 31E (S.R. 6) FROM NORTH OF ALEXANDER LANE (L.M. 22.40) TO SOUTH OF S.R. 376 (L.M. 26.79).

PROJECT LENGTH - 4.390 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$678,966.10

Charles Deweese Construction, Inc

\$720,886.08

		CONTRACT CNT180
BOADWAY CATECORY	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
208-01.05 BROOMING & DEGRASSING SHOULDERS		
8.800 L.M.		
Rogers Group, Inc.	\$1,675.0000	\$14,740.00
Charles Deweese Construction, Inc	\$1,105.4300	\$9,727.78
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D		
436.000 TON		
Rogers Group, Inc.	\$30.0000	\$13,080.00
Charles Deweese Construction, Inc	\$26.9200	\$11,737.12
307-01.15 ASC MIX (PG64-22) (BPMLC-HM) GRADING CS		
500.000 TON		
Rogers Group, Inc.	\$78.0000	\$39,000.00
Charles Deweese Construction, Inc	\$91.2000	\$45,600.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		
29.000 TON		
Rogers Group, Inc.	\$800.0000	\$23,200.00
Charles Deweese Construction, Inc	\$645.0000	\$18,705.00
403-05.01 BITUMINOUS MATERIAL (FOG SEAL) SHOULDER		
14.000 TON		
Rogers Group, Inc.	\$900.0000	\$12,600.00
Charles Deweese Construction, Inc	\$1,056.7000	\$14,793.80
411-02.10 ACS MIX(PG70-22) GRADING D		
4,310.000 TON		
Rogers Group, Inc.	\$77.0000	\$331,870.00
Charles Deweese Construction, Inc	\$97.9100	\$421,992.10
411-12.02 SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)		
8.800 L.M.		
Rogers Group, Inc.	\$460.0000	\$4,048.00
Charles Deweese Construction, Inc	\$1,080.0000	\$9,504.00
415-01.01 COLD PLANING BITUMINOUS PAVEMENT		
4,269.000 TON		
Rogers Group, Inc.	\$16.7500	\$71,505.75
Charles Deweese Construction, Inc	\$16.1800	\$69,072.42
712-01 TRAFFIC CONTROL		
712-01 TRAFFIC CONTROL 1.000 LS		
Rogers Group, Inc.	\$24,000.0000	\$24,000.00
Charles Deweese Construction, Inc	\$19,440.0000	\$19,440.00
712-04.01 FLEXIBLE DRUMS (CHANNELIZING)		
25.000 EACH		
Rogers Group, Inc.	\$16.2500	\$406.25
Charles Deweese Construction Inc	\$16.7400	\$418.50

Charles Deweese Construction, Inc

\$16.7400

\$418.50

001	ITD A OT	ONIT4 OO
(:()r	IIRAC.I	CNT180

				MIRACI CNIIOU
			UNIT PRICE	EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Rogers Group, Inc.		\$16.2500	\$65.00
	Charles Deweese Construction, Inc		\$16.7400	\$66.96
712-06	SIGNS (CONSTRUCTION)			
		1,410.000 S.F.		
	Rogers Group, Inc.		\$7.3000	\$10,293.00
	Charles Deweese Construction, Inc		\$6.9500	\$9,799.50
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-D	IR) (1 COLOR)		
		345.000 EACH		
	Rogers Group, Inc.		\$30.7500	\$10,608.75
	Charles Deweese Construction, Inc		\$30.9300	\$10,670.85
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONG	O-DIR)(1 COLOR)		
		20.000 EACH		
	Rogers Group, Inc.		\$30.7500	\$615.00
	Charles Deweese Construction, Inc		\$41.2400	\$824.80
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	₹		
		345.000 EACH		
	Rogers Group, Inc.		\$10.2500	\$3,536.25
	Charles Deweese Construction, Inc		\$10.3100	\$3,556.95
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STR	IPING)		
		270.000 S.Y.		
	Rogers Group, Inc.		\$20.5000	\$5,535.00
	Charles Deweese Construction, Inc		\$20.6200	\$5,567.40
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		2.000 EACH		
	Rogers Group, Inc.		\$155.0000	\$310.00
	Charles Deweese Construction, Inc		\$154.6400	\$309.28
716-02.11	PLASTIC PAVEMENT MARKING (6" DOTTED LINE)			
		632.000 L.F.		
	Rogers Group, Inc.		\$2.0500	\$1,295.60
	Charles Deweese Construction, Inc		\$2.0600	\$1,301.92
716-05.20	PAINTED PAVEMENT MARKING (6" LINE)			
		13.500 L.M.		
	Rogers Group, Inc.		\$820.0000	\$11,070.00
	Charles Deweese Construction, Inc		\$824.7400	\$11,133.99
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LIN	IE)		
	·	13.500 L.M.		
	Rogers Group, Inc.		\$5,125.0000	\$69,187.50
	Charles Deweese Construction, Inc		\$515.4600	\$6,958.71

~~!	ITD			400
(())	uıĸ	ACT	CNT	TXI

UNIT PRICE EXTENSION

717-01 MOBILIZATION

1.000 LS

 Rogers Group, Inc.
 \$32,000.0000
 \$32,000.000

 Charles Deweese Construction, Inc
 \$49,705.0000
 \$49,705.000

Rogers Group, Inc.	\$678,966.10
Charles Deweese Construction, Inc	\$720,886.08

TOTAL CONTRACT

Rogers Group, Inc. \$678,966.10 Charles Deweese Construction, Inc \$720,886.08

TIPTON COUNTY (Contract No. CNT183 Call 080)

84005-4223-04, HSIP-59(28), 84005-3223-94

THE RESURFACING ON S.R. 59 FROM THE EAST BANK OF THE MISSISSIPPI RIVER (L.M. 0.00) TO NEAR INDIAN CREEK (L.M. 8.73).

PROJECT LENGTH - 8.730 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 3.00%

TOTAL CONTRACT

Lehman-Roberts Company

\$2,135,437.18

ROADWA	Y CATEGORY		UNIT PRICE	CONTRACT CNT183 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Lehman-Roberts Company	128.000 S.Y.	\$44.0000	\$5,632.00
203-06	WATER			
	Lehman-Roberts Company	18.000 M.G.	\$20.0000	\$360.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Lehman-Roberts Company	17.219 L.M.	\$1,075.0000	\$18,510.43
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)			
	Lehman-Roberts Company	2,378.000 TON	\$41.4000	\$98,449.20
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING A			
	Lehman-Roberts Company	44.000 TON	\$196.8500	\$8,661.40
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2			
	Lehman-Roberts Company	14.000 TON	\$335.0000	\$4,690.00
307-01.10	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING C-W			
	Lehman-Roberts Company	10,432.000 TON	\$103.5000	\$1,079,712.00
403-02.01	TRACKLESS TACK COAT			
	Lehman-Roberts Company	27.000 TON	\$1,295.0000	\$34,965.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTI			
	Lehman-Roberts Company	13.775 L.M.	\$795.0000	\$10,951.13
414-04.03	ASPHALT EMULSION (SCRUB SEAL)			
	Lehman-Roberts Company	159.000 TON	\$1,350.0000	\$214,650.00
414-04.04	MINERAL AGGREGATE (SCRUB SEAL)			
	Lehman-Roberts Company	1,317.000 TON	\$75.0000	\$98,775.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	4 454 000 S V		

4,454.000 S.Y.

Lehman-Roberts Company

\$36,745.50

\$8.2500

			UNIT PRICE	CONTRACT CNT183 EXTENSION
611-09.01	ADJUSTMENT OF EXISTING CATCHBASIN			
	Lehman-Roberts Company	4.000 EACH	\$4,112.0000	\$16,448.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN	0.000 54.011		
	Lehman-Roberts Company	3.000 EACH	\$205.6000	\$616.80
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
	Lehman-Roberts Company	2.000 EACH	\$1,233.5500	\$2,467.10
705-06.01	W BEAM GR (TYPE 2) MASH TL3	40.000 5		
	Lehman-Roberts Company	40.000 L.F.	\$26.7500	\$1,070.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3	40.000.54.011		
	Lehman-Roberts Company	10.000 EACH	\$3,084.0000	\$30,840.00
712-01	TRAFFIC CONTROL			
	Lehman-Roberts Company	1.000 LS	\$83,550.0000	\$83,550.00
712-06	SIGNS (CONSTRUCTION)			
	Lehman-Roberts Company	2,028.000 S.F.	\$5.5000	\$11,154.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (
	Lehman-Roberts Company	575.000 EACH	\$39.0000	\$22,425.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	272 222 54 211		
	Lehman-Roberts Company	370.000 EACH	\$15.7500	\$5,827.50
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Lehman-Roberts Company	200.000 L.F.	\$16.4500	\$3,290.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	Lehman-Roberts Company	17.287 L.M.	\$1,398.0000	\$24,167.23
716-08.05	REMOVAL OF PAVEMENT MARKING (STOP LINE)			
	Lehman-Roberts Company	200.000 L.F.	\$8.2500	\$1,650.00

				CONTRACT	CNT183
			UNIT PRICE	EXTE	ENSION
716-08.20 RE	EMOVAL OF PAVEMENT MARKING (LINE)				
Le	ehman-Roberts Company	34.747 L.M.	\$1,650.0000	\$57,	,332.55
716-12.02 EN	NHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)	17.287 L.M.			
Le	ehman-Roberts Company	17.207 L.WI.	\$5,860.0000	\$101,	,301.82
716-13.02 SF	PRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)	17.460 L.M.			
Le	ehman-Roberts Company	17.400 L.W.	\$4,112.0000	\$71,	795.52
717-01 M	OBILIZATION				
Le	ehman-Roberts Company	1.000 LS	\$89,400.0000	\$89,	,400.00

Lehman-Roberts Company \$2,135,437.18

TOTAL CONTRACT

Lehman-Roberts Company \$2,135,437.18

TROUSDALE COUNTY (Contract No. CNT169 Call 082)

85002-4209-04, HSIP-10(79), 85002-3209-94

THE RESURFACING ON S.R. 10 FROM S.R. 25 (L.M. 14.95) TO THE MACON COUNTY LINE (L.M. 19.63).

PROJECT LENGTH - 4.680 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 7.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$695,525.50

Vulcan Construction Materials, LLC

\$705,109.00

			UNIT PRICE	CONTRACT CNT169 EXTENSION
ROADWA	AY CATEGORY		ONTTRIOL	EXTENSION
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		9.400 L.M.		
	Rogers Group, Inc.		\$2,100.0000	\$19,740.00
	Vulcan Construction Materials, LLC		\$3,000.0000	\$28,200.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		310.000 TON		
	Rogers Group, Inc.		\$42.0000	\$13,020.00
	Vulcan Construction Materials, LLC		\$37.5000	\$11,625.00
307-01.15	ASC MIX (PG64-22) (BPMLC-HM) GRADING CS			
		500.000 TON		
	Rogers Group, Inc.		\$105.0000	\$52,500.00
	Vulcan Construction Materials, LLC		\$135.0000	\$67,500.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
		28.000 TON		
	Rogers Group, Inc.		\$850.0000	\$23,800.00
	Vulcan Construction Materials, LLC		\$900.0000	\$25,200.00
407-07.01	INTELLIGENT COMPACTION EQUIPMENT			
		1.000 LS		
	Rogers Group, Inc.		\$6,000.0000	\$6,000.00
	Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
411-03.12	ACS MIX(PG64-22) THIN LIFT D ASPHALT			
		3,624.000 TON		
	Rogers Group, Inc.		\$115.0000	\$416,760.00
	Vulcan Construction Materials, LLC		\$97.5000	\$353,340.00
411-12.03	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS	S) (8IN WIDTH)		
		7.500 L.M.		
	Rogers Group, Inc.		\$600.0000	\$4,500.00
	Vulcan Construction Materials, LLC		\$535.0000	\$4,012.50
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		2.000 EACH		
	Rogers Group, Inc.		\$85.0000	\$170.00
	Vulcan Construction Materials, LLC		\$75.0000	\$150.00
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT			
		2.000 EACH		
	Rogers Group, Inc.		\$1,700.0000	\$3,400.00
	Vulcan Construction Materials, LLC		\$1,510.0000	\$3,020.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		2.000 EACH		
			4	

Rogers Group, Inc.

Vulcan Construction Materials, LLC

\$6,000.00

\$3,000.0000

\$2,675.0000

				CONTRACT CNT169
			UNIT PRICE	EXTENSION
706-01	GUARDRAIL REMOVED			
		100.000 L.F.		
	Rogers Group, Inc.		\$1.5000	\$150.00
	Vulcan Construction Materials, LLC		\$1.2500	\$125.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc.		\$27,000.0000	\$27,000.00
	Vulcan Construction Materials, LLC		\$35,000.0000	\$35,000.00
712 04 04	FLEVIDLE DOUMS (CHANNELIZING)			

706-01	GUARDRAIL REMOVED			
700-01	GOARDINAL REMOVED	100.000 L.F.		
	Rogers Group, Inc.		\$1.5000	\$150.00
	Vulcan Construction Materials, LLC		\$1.2500	\$125.00
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Rogers Group, Inc. Vulcan Construction Materials, LLC		\$27,000.0000 \$35,000.0000	\$27,000.00 \$35,000.00
	vulcari construction materials, LLC		φ33,000.0000	φ33,000.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		100.000 EACH		
	Rogers Group, Inc. Vulcan Construction Materials, LLC		\$5.5000 \$20.0000	\$550.00
	vulcan Construction Materials, LLC		\$20.0000	\$2,000.00
712-05.01	WARNING LIGHTS (TYPE A)			
		4.000 EACH		
	Rogers Group, Inc.		\$2.2500	\$9.00
	Vulcan Construction Materials, LLC		\$15.0000	\$60.00
712-06	SIGNS (CONSTRUCTION)			
		1,010.000 S.F.		
	Rogers Group, Inc.		\$7.2500 \$0.2500	\$7,322.50
	Vulcan Construction Materials, LLC		\$9.2500	\$9,342.50
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DII	R) (1 COLOR)		
		310.000 EACH		
	Rogers Group, Inc.		\$34.0000	\$10,540.00
	Vulcan Construction Materials, LLC		\$30.0000	\$9,300.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		256.000 EACH		
	Rogers Group, Inc.		\$11.0000	\$2,816.00
	Vulcan Construction Materials, LLC		\$10.0000	\$2,560.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIE	PING)		
		10.000 S.Y.		
	Rogers Group, Inc.		\$22.0000	\$220.00
	Vulcan Construction Materials, LLC		\$20.0000	\$200.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		24.000 L.F.		
	Rogers Group, Inc.		\$17.0000	\$408.00
	Vulcan Construction Materials, LLC		\$15.0000	\$360.00
716-03.03	PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
		2.000 EACH		
	Rogers Group, Inc.		\$850.0000	\$1,700.00
	Vulcan Construction Materials, LLC		\$750.0000	\$1,500.00

				CONTRACT CNT169
			UNIT PRICE	EXTENSION
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		7.800 L.M.		
	Rogers Group, Inc.		\$5,500.0000	\$42,900.00
	Vulcan Construction Materials, LLC		\$5,280.0000	\$41,184.00
716-13.02	SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)			
		9.400 L.M.		
	Rogers Group, Inc.		\$3,400.0000	\$31,960.00
	Vulcan Construction Materials, LLC		\$3,200.0000	\$30,080.00
717-01	MOBILIZATION			
		1.000 LS		
		1.000 L3	* 0.4.000.0000	A 04.000.00
	Rogers Group, Inc.		\$24,060.0000	\$24,060.00
	Vulcan Construction Materials, LLC		\$50,000.0000	\$50,000.00

Rogers Group, Inc.	\$695,525.50
Vulcan Construction Materials, LLC	\$705,109.00

TOTAL CONTRACT

Rogers Group, Inc. \$695,525.50
Vulcan Construction Materials, LLC \$705,109.00

UNICOI COUNTY (Contract No. CN	NT236	Call	083)
--------------------------------	-------	------	------

STP-36(67),86001-4222-04

THE EMERGENCY SLOPE STABILIZATION ON U.S. 19W (S.R. 36, SPIVEY MOUNTAIN ROAD) NEAR L.M. 6.30.

PROJECT LENGTH - 0.027 MILES

COMPLETION TIME - ON OR BEFORE AUGUST 31, 2019

TOTAL CONTRACT

Summers-Taylor, Inc.

\$492,035.20

ROADW/	AY CATEGORY		UNIT PRICE	CONTRACT CNT236 EXTENSION
105-01	CONSTRUCTION STAKES, LINES AND GRADES			
	Summers-Taylor, Inc.	1.000 LS	\$8,530.0000	\$8,530.00
201-01	CLEARING AND GRUBBING			
	Summers-Taylor, Inc.	1.000 LS	\$12,800.0000	\$12,800.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)			
	Summers-Taylor, Inc.	207.000 C.Y.	\$72.5000	\$15,007.50
203-06	WATER			
	Summers-Taylor, Inc.	10.000 M.G.	\$6.9000	\$69.00
203-11	SCALING AND TRIMMING			
	Summers-Taylor, Inc.	580.000 S.Y.	\$57.0000	\$33,060.00
203-40.03	ROCK ANCHORS (UNTENSIONED ROCK DOWELL)			
	Summers-Taylor, Inc.	610.000 L.F.	\$195.0000	\$118,950.00
209-05	SEDIMENT REMOVAL			
	Summers-Taylor, Inc.	17.000 C.Y.	\$55.0000	\$935.00
209-08.02	TEMPORARY SILT FENCE (WITH BACKING)			
	Summers-Taylor, Inc.	150.000 L.F.	\$4.2500	\$637.50
610-12.02	HORIZONTAL DRAINS			
	Summers-Taylor, Inc.	420.000 L.F.	\$115.0000	\$48,300.00
708-02.01	MARKERS (CONCRETE R.O.W. POSTS)			
	Summers-Taylor, Inc.	4.000 EACH	\$324.0000	\$1,296.00
709-05.05	MACHINED RIP-RAP (CLASS A-3)			
	Summers-Taylor, Inc.	50.000 TON	\$73.5000	\$3,675.00
740.01	TRAFFIC CONTROL			

1.000 LS

712-01

TRAFFIC CONTROL

Summers-Taylor, Inc.

\$7,500.00

\$7,500.0000

86.000 S.Y.

230.000 L.F.

2,600.000 S.F.

\$8.1000

\$4.7000

\$51.5000

Summers-Taylor, Inc.

Summers-Taylor, Inc.

Summers-Taylor, Inc.

740-11.02 TEMPORARY SEDIMENT TUBE 12IN

805-05.03 REINFORCED SHOTCRETE FACING

Р	Δ	G	F

\$696.60

\$1,081.00

\$133,900.00

Summers-Taylor, Inc. \$492,035.20

TOTAL CONTRACT

Summers-Taylor, Inc. \$492,035.20

VAN BUREN COUNTY (Contract No. CNT142 Call 084)

STP-284(15),88028-8206-14

THE RESURFACING ON S.R. 284 FROM PARK ROAD (L.M. 1.57) TO S.R. 30 (L.M. 4.71).

PROJECT LENGTH - 3.140 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

TOTAL CONTRACT

Rogers Group, Inc.

\$340,189.32

Tinsley Asphalt, LLC

\$380,972.70

			CONTRACT ONT442
		UNIT PRICE	EXTENSION
ROADW	AY CATEGORY	UNIT FRICE	EXTENSION
307-01.10	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING C-W		
		000 TON	
	Rogers Group, Inc. Tinsley Asphalt, LLC	\$71.7300 \$82.7500	\$208,734.30 \$240,802.50
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)		
		000 TON	
	Rogers Group, Inc. Tinsley Asphalt, LLC	\$350.0000 \$600.0000	\$6,650.00 \$11,400.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDTH)		
		000 L.M.	*
	Rogers Group, Inc. Tinsley Asphalt, LLC	\$738.8300 \$795.0000	\$3,694.15 \$3,975.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	O V	
	49,277. Rogers Group, Inc.	000 S.Y. \$0.9100	\$44,842.07
	Tinsley Asphalt, LLC	\$1.0000	\$49,277.00
705-04.23	GUARDRAIL DELINEATION ENHANCEMENT (BI-DIRECTIONAL)	0001.5	
	Rogers Group, Inc.	000 L.F. \$10.7700	\$581.58
	Tinsley Asphalt, LLC	\$6.5000	\$351.00
712-01	TRAFFIC CONTROL	000 LS	
	Rogers Group, Inc.	\$9,870.7300	\$9,870.73
	Tinsley Asphalt, LLC	\$8,985.0000	\$8,985.00
712-06	SIGNS (CONSTRUCTION)	000 O F	
	Rogers Group, Inc.	000 S.F. \$7.5400	\$2,917.98
	Tinsley Asphalt, LLC	\$6.8500	\$2,650.95
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
	Rogers Group, Inc.	000 EACH \$36.9400	\$7,646.58
	Tinsley Asphalt, LLC	\$35.0000	\$7,245.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)		
	Rogers Group, Inc.	000 L.F. \$12.6700	\$1,773.80
	Tinsley Asphalt, LLC	\$12.0000	\$1,680.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)	200 L M	
	25.	200 L.M.	** 40.405.00

Rogers Group, Inc.

Tinsley Asphalt, LLC

\$13,165.99

\$522.4600

\$495.0000

		UNIT PRICE	CONTRACT CNT142 EXTENSION
716-05.05 PAINTED PAVEMENT MARKING (STOP LINE)			
	140.000 L.F.		
Rogers Group, Inc.		\$5.2800	\$739.20
Tinsley Asphalt, LLC		\$5.0000	\$700.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
	12.600 L.M.		
Rogers Group, Inc.		\$2,322.0200	\$29,257.45
Tinsley Asphalt, LLC		\$2,200.0000	\$27,720.00
716-13.04 SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
	100.000 L.F.		
Rogers Group, Inc.		\$1.0600	\$106.00
Tinsley Asphalt, LLC		\$1.0000	\$100.00
717-01 MOBILIZATION			
	1.000 LS		
Rogers Group, Inc.		\$10,209.4900	\$10,209.49
Tinsley Asphalt, LLC		\$13,612.2500	\$13,612.25

 Rogers Group, Inc.
 \$340,189.32

 Tinsley Asphalt, LLC
 \$380,972.70

TOTAL CONTRACT

 Rogers Group, Inc.
 \$340,189.32

 Tinsley Asphalt, LLC
 \$380,972.70

WASHINGTON COUNTY (Contract No. CNT222 Call 086)

NH/HSIP-34(118),90003-3224-94,90003-8224-14

THE RESURFACING ON U.S. 11E (U.S. 321, S.R. 34) FROM NEAR PERSIMMON RIDGE ROAD (L.M. 9.05) TO NEAR S.R. 381 (L.M. 15.90).

PROJECT LENGTH - 5.990 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 5.50%

TOTAL CONTRACT

Summers-Taylor, Inc.

				CONTRACT CNT222
ROADW	AY CATEGORY		UNIT PRICE	EXTENSION
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	Summers-Taylor, Inc.	111.000 TON	\$937.0000	\$104,007.00
411-01.07	ACS MIX (PG64-22) GRADING E SHOULDER			
	Summers-Taylor, Inc.	2,990.000 TON	\$96.0000	\$287,040.00
411-02.10	ACS MIX(PG70-22) GRADING D	13,852.000 TON		
	Summers-Taylor, Inc.		\$108.0000	\$1,496,016.00
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
	Summers-Taylor, Inc.	2.400 L.M.	\$895.0000	\$2,148.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
	Summers-Taylor, Inc.	7.000 L.M.	\$966.0000	\$6,762.00
415-01.01	COLD PLANING BITUMINOUS PAVEMENT			
	Summers-Taylor, Inc.	16,762.000 TON	\$18.2500	\$305,906.50
701-02.01	CONCRETE CURB RAMP (RETROFIT)			
	Summers-Taylor, Inc.	1,515.000 S.F.	\$34.0000	\$51,510.00
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
	Summers-Taylor, Inc.	1.000 EACH	\$56.5000	\$56.50
705-04.09	EARTH PAD FOR TYPE 38 GR END TREATMENT	1.000 EACH		
	Summers-Taylor, Inc.		\$1,360.0000	\$1,360.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
	Summers-Taylor, Inc.	1.000 EACH	\$3,110.0000	\$3,110.00
712-01	TRAFFIC CONTROL	1.000 LS		
	Summers-Taylor, Inc.		\$94,200.0000	\$94,200.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
	Summers-Taylor, Inc.	285.000 EACH	\$20.0000	\$5,700.00

			UNIT PRICE	CONTRACT CNT222 EXTENSION
712-05.01	WARNING LIGHTS (TYPE A)	143.000 EACH		
	Summers-Taylor, Inc.	. 101000 = 7.0.1	\$13.5000	\$1,930.50
712-06	SIGNS (CONSTRUCTION)			
	Summers-Taylor, Inc.	1,731.000 S.F.	\$8.0000	\$13,848.00
712-08.03	ARROW BOARD (TYPE C)			
	Summers-Taylor, Inc.	2.000 EACH	\$485.0000	\$970.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COL			
	Summers-Taylor, Inc.	174.000 EACH	\$25.0000	\$4,350.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-DIR)(1 C	OLOR)		
	Summers-Taylor, Inc.	220.000 EACH	\$25.0000	\$5,500.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COL			
	Summers-Taylor, Inc.	783.000 EACH	\$25.0000	\$19,575.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
	Summers-Taylor, Inc.	16.000 S.Y.	\$19.5000	\$312.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	Summers-Taylor, Inc.	,290.000 L.F.	\$9.3000	\$11,997.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
	Summers-Taylor, Inc.	97.000 EACH	\$141.0000	\$13,677.00
716-02.08	2.08 PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
	Summers-Taylor, Inc.	945.000 L.F.	\$1.4000	\$1,323.00
716-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)			
	Summers-Taylor, Inc.	670.000 L.F.	\$0.5500	\$368.50
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			

1.000 EACH

Summers-Taylor, Inc.

\$198.00

\$198.0000

		UNIT PRICE	CONTRACT CNT222 EXTENSION
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER) Summers-Taylor, Inc.	8,616.000 L.F.	\$5.9000	\$50,834.40
716-05.01 PAINTED PAVEMENT MARKING (4" LINE) Summers-Taylor, Inc.	28.000 L.M.	\$593.0000	\$16,604.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE) Summers-Taylor, Inc.	28.000 L.M.	\$4,320.0000	\$120,960.00
717-01 MOBILIZATION Summers-Taylor, Inc.	1.000 LS	\$65,800.0000	\$65,800.00
730-14.02 SAW SLOT Summers-Taylor, Inc.	6,000.000 L.F.	\$4.0000	\$24,000.00
730-14.03 LOOP WIRE			

12,000.000 L.F.

Summers-Taylor, Inc.

\$7,800.00

\$0.6500

Summers-Taylor, Inc. \$2,717,863.40

TOTAL CONTRACT

Summers-Taylor, Inc. \$2,717,863.40

WEAKLEY COUNTY (Contract No. CNT208 Call 087)

92020-4213-04,92020-4214-04,HSIP-190(10),92020-3213-94

THE RESURFACING ON S.R. 190 FROM S.R. 54 (L.M. 18.58) TO S.R. 89 (L.M. 28.91), INCLUDING BRIDGE JOINT REPAIR.

PROJECT LENGTH - 10.330 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 3.00%

TOTAL CONTRACT

Ford Construction Company

\$2,124,419.56

ROADWA	Y CATEGORY		UNIT PRICE	CONTRACT CNT208 EXTENSION
202-03.01	REMOVAL OF ASPHALT PAVEMENT			
	Ford Construction Company	225.000 S.Y.	\$42.0000	\$9,450.00
203-06	WATER			
	Ford Construction Company	22.000 M.G.	\$1.0000	\$22.00
208-01.05	BROOMING & DEGRASSING SHOULDERS			
	Ford Construction Company	19.904 L.M.	\$970.0000	\$19,306.88
303-02	MINERAL AGGREGATE, TYPE B BASE, GRADING (C OR D)			
	Ford Construction Company	2,887.000 TON	\$26.0000	\$75,062.00
307-01.01	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING			
	Ford Construction Company	78.000 TON	\$178.0000	\$13,884.00
307-01.08	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING	B-M2		
	Ford Construction Company	26.000 TON	\$198.0000	\$5,148.00
307-01.10	ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING	C-W		
	Ford Construction Company	10,728.000 TON	\$101.3000	\$1,086,746.40
403-02.01	TRACKLESS TACK COAT			
	Ford Construction Company	29.000 TON	\$995.0000	\$28,855.00
411-12.04	SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN V			
	Ford Construction Company	15.923 L.M.	\$730.0000	\$11,623.79
414-04.03	ASPHALT EMULSION (SCRUB SEAL)			
	Ford Construction Company	160.000 TON	\$1,485.0000	\$237,600.00
414-04.04	MINERAL AGGREGATE (SCRUB SEAL)			
	Ford Construction Company	1,321.000 TON	\$69.0000	\$91,149.00
415-01.02	COLD PLANING BITUMINOUS PAVEMENT	F 000 000 0 V		
	Food Operational Community	5,326.000 S.Y.	фо о г оо	** 4.4.4.70.40

Ford Construction Company

\$44,472.10

\$8.3500

		UNIT PRICE	CONTRACT CNT208 EXTENSION
607-37.02 18" CORRUGATED METAL PIPE CULVERT			
Ford Construction Company	376.000 L.F.	\$55.0000	\$20,680.00
		ψ33.0000	Ψ20,000.00
607-37.03 24" CORRUGATED METAL PIPE CULVERT	100.000 L.F.		
Ford Construction Company		\$63.0000	\$6,300.00
607-37.04 30" CORRUGATED METAL PIPE CULVERT	00 000 1 5		
Ford Construction Company	60.000 L.F.	\$69.0000	\$4,140.00
705-02.10 GUARDRAIL TRANSITION 27IN TO 31IN			
Ford Construction Company	4.000 EACH	\$110.0000	\$440.00
705-06.20 TANGENT ENERGY ABSORBING TERM MASH TL-3			
5 10 1 ° 0	4.000 EACH	#0.045.000	MAD 000 00
Ford Construction Company		\$3,015.0000	\$12,060.00
712-01 TRAFFIC CONTROL	1.000 LS		
Ford Construction Company		\$57,000.0000	\$57,000.00
712-06 SIGNS (CONSTRUCTION)			
Ford Construction Company	2,336.000 S.F.	\$8.0000	\$18,688.00
716-01.21 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR	R) (1 COLOR)		
Ford Construction Company	682.000 EACH	\$39.0000	\$26,598.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		ψου.σσσσ	\$20,000.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER	682.000 EACH		
Ford Construction Company		\$2.0000	\$1,364.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)	40.000 L.F.		
Ford Construction Company	40.000 L.F.	\$16.0000	\$640.00
716-03.03 PLASTIC WORD PAVEMENT MARKING (STOP AHEAD)			
Ford Construction Company	2.000 EACH	\$570.0000	\$1,140.00

39.461 L.M.

716-05.01 PAINTED PAVEMENT MARKING (4" LINE)

Ford Construction Company

\$56,231.93

\$1,425.0000

		UNIT PRICE	CONTRACT CNT208 EXTENSION
716-08.05 REMOVAL OF PAVEMENT MARKING (STOP LINE)	40.000 L.F.		
Ford Construction Company	40.000 E.I .	\$10.5000	\$420.00
716-08.11 REMOVAL OF WORD PAVEMENT MARKING (STOP AHEAD)	0.000 5400		
Ford Construction Company	2.000 EACH	\$210.0000	\$420.00
716-08.20 REMOVAL OF PAVEMENT MARKING (LINE)			
Ford Construction Company	39.461 L.M.	\$155.0000	\$6,116.46
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
Ford Construction Company	18.801 L.M.	\$5,800.0000	\$109,045.80
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
Ford Construction Company	20.660 L.M.	\$3,570.0000	\$73,756.20
717-01 MOBILIZATION			

Ford Construction Company

1.000 LS

\$81,000.0000

\$81,000.00

CONTRACT CNT208

UNIT PRICE EXTENSION

BRIDGE CATEGORY

604-10.44 EXPANSION JOINT REPAIRS

70.000 L.F.

Ford Construction Company \$358.0000 \$25,060.00

Ford Construction Company \$2,099,359.56

SUB-TOTAL BRIDGE

Ford Construction Company \$25,060.00

TOTAL CONTRACT

Ford Construction Company \$2,124,419.56

WHITE COUNTY (Contract No. CNT025 Call 088)

NH-1(396),93001-8265-14,NH-111(107),93035-8208-14

THE RESURFACING (MICROSURFACING) ON U.S. 70S (S.R. 1) FROM THE VANBUREN COUNTY LINE (L.M. 0.00) TO S.R. 111 (L.M. 7.69) AND ON U.S. 70S (S.R. 111) FROM SHADY OAKS ROAD (L.M. 4.20) TO FRED HILL ROAD (L.M. 7.31).

PROJECT LENGTH - 10.559 MILES

COMPLETION TIME - ON OR BEFORE SEPTEMBER 30, 2019

DBE GOAL 7.00%

TOTAL CONTRACT

Whitaker Contracting Corp.

\$1,534,227.64

Hudson Construction Company

\$1,888,082.70

CONTRACT (CNT025
------------	--------

				CONTRACT CNT025
			UNIT PRICE	EXTENSION
ROADWA	Y CATEGORY			
403-01.01	BITUMINOUS MATERIAL FOR TACK COAT (MICRO-SURFACIN	IG)		
	(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	50.000 TON		
	Whitaker Contracting Corp.	30.000 1314	\$808.3100	\$40,415.50
	Hudson Construction Company		\$437.8500	\$21,892.50
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,	, , , , , , , , , , , , , , , , , , , ,
403-01.10	High Performance Fog Seals			
		136,107.000 S.Y.		
	Whitaker Contracting Corp.		\$0.4900	\$66,692.43
	Hudson Construction Company		\$0.2500	\$34,026.75
411-12.01	SCORING SHOULDERS (CONTINUOUS) (16IN WIDTH)			
		21.100 L.M.		
	Whitaker Contracting Corp.		\$605.4400	\$12,774.78
	Hudson Construction Company		\$300.0000	\$6,330.00
411-12.02	SCORING SHOULDERS (NON-CONTINUOUS) (16IN WIDTH)			
		16.900 L.M.		
	Whitaker Contracting Corp.		\$605.4400	\$10,231.94 \$5,070.00
	Hudson Construction Company		\$300.0000	φ5,070.00
414-03 01	EMULSIFIED ASPHALT FOR MICRO-SURFACING			
414 00.01	Emotor les Adi Hati i dicimono doni Adino	484.000 TON		
	Whitaker Contracting Corp.	404.000 TON	\$833.9700	\$403,641.48
	Hudson Construction Company		\$1,304.8800	\$631,561.92
	, ,		. ,	. ,
414-03.02	AGGREGATE FOR MICRO SURFACING			
		3,769.000 TON		
	Whitaker Contracting Corp.		\$99.8900	\$376,485.41
	Hudson Construction Company		\$167.5700	\$631,571.33
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Whitaker Contracting Corp.		\$22,973.0700	\$22,973.07
	Hudson Construction Company		\$87,500.0000	\$87,500.00
712-04-01	FLEXIBLE DRUMS (CHANNELIZING)			
712-04.01	TELNIBLE DROMS (CHANNELIZMO)	336.000 EACH		
	Whitaker Contracting Corp.	330.000 EACH	\$18.6100	\$6,252.96
	Hudson Construction Company		\$15.0000	\$5,040.00
			ψ.ο.σσσσ	ψο,ο .ο.οο
712-05.03	WARNING LIGHTS (TYPE C)			
		240.000 EACH		
	Whitaker Contracting Corp.		\$6.2000	\$1,488.00
	Hudson Construction Company		\$5.0000	\$1,200.00
712-06	SIGNS (CONSTRUCTION)			
		1,318.000 S.F.		
	Whitaker Contracting Corp.		\$7.9400	\$10,464.92
	Hudson Construction Company		\$6.4000	\$8,435.20
				PAGE

	CONTRACT	CNT025
UNIT PRICE	EXT	ENSION

			UNIT PRICE	EXTENSION
712-08.03	ARROW BOARD (TYPE C)			
		2.000 EACH		
	Whitaker Contracting Corp.		\$1,147.7900	\$2,295.58
	Hudson Construction Company		\$925.0000	\$1,850.00
716-01.23	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 CC	DLOR)		
		1,422.000 EACH		
	Whitaker Contracting Corp.		\$28.5400	\$40,583.88
	Hudson Construction Company		\$23.0000	\$32,706.00
716-01.30	REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER			
		1,422.000 EACH		
	Whitaker Contracting Corp.		\$12.4100	\$17,647.02
	Hudson Construction Company		\$6.0000	\$8,532.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)			
		258.000 S.Y.		
	Whitaker Contracting Corp.		\$24.8200	\$6,403.56
	Hudson Construction Company		\$20.0000	\$5,160.00
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		576.000 L.F.		
	Whitaker Contracting Corp.		\$12.4100	\$7,148.16
	Hudson Construction Company		\$10.0000	\$5,760.00
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)			
		27.000 EACH		
	Whitaker Contracting Corp.		\$186.1300	\$5,025.51
	Hudson Construction Company		\$150.0000	\$4,050.00
716-04.12	PLASTIC PAVEMENT MARKING (YIELD LINE)			
	• •	203.000 S.F.		
	Whitaker Contracting Corp.		\$14.8900	\$3,022.67
	Hudson Construction Company		\$12.0000	\$2,436.00
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
	,	42.800 L.M.		
	Whitaker Contracting Corp.		\$651.4500	\$27,882.06
	Hudson Construction Company		\$525.0000	\$22,470.00
716-08.04	REMOVAL OF PAVEMENT MARKING (CHANNELIZATION STRIP	ING)		
	,	258.000 S.Y.		
	Whitaker Contracting Corp.		\$14.8900	\$3,841.62
	Hudson Construction Company		\$12.0000	\$3,096.00
716-08.06	REMOVAL OF PAVEMENT MARKING (TURN LANE ARROW)			
		27.000 EACH		
	Whitaker Contracting Corp.		\$93.0600	\$2,512.62
	Hudson Construction Company		\$75.0000	\$2,025.00

			CONTRACT CNT025
		UNIT PRICE	EXTENSION
746 00 00	DEMOVAL OF DAVEMENT MADI/	NO (LINE)	
/16-08.20	REMOVAL OF PAVEMENT MARK	48.500 L.M.	
	Whitaker Contracting Corp.	\$2,233.5300	\$108,326.21
	Hudson Construction Company	\$1,800.0000	\$87,300.00
716-12.02	ENHANCED FLATLINE THERMO	PVMT MRKNG (6IN LINE)	
		48.500 L.M.	
	Whitaker Contracting Corp.	\$5,583.8200	\$270,815.27
	Hudson Construction Company	\$4,500.0000	\$218,250.00
716-12.03	ENHANCED FLATLINE THERMO	PVMT MRKNG (8IN BARRIER LINE)	
		120.000 L.F.	
	Whitaker Contracting Corp.	\$2.4800	\$297.60
	Hudson Construction Company	\$2.0000	\$240.00
716-12.05	ENHANCED FLATLINE THERMO	PVMT MRKNG (6IN DOTTED LINE)	
		1,600.000 L.F.	
	Whitaker Contracting Corp.	\$2.4800	\$3,968.00
	Hudson Construction Company	\$2.0000	\$3,200.00
717-01	MOBILIZATION		
		1.000 LS	
	Whitaker Contracting Corp.	\$69,905.6100	\$69,905.61
	Hudson Construction Company	\$48,000.0000	\$48,000.00
730-03.20	INSTALL PULL BOX (TYPE A)		
		6.000 EACH	
	Whitaker Contracting Corp.	\$632.8300	\$3,796.98
	Hudson Construction Company	\$500.0000	\$3,000.00
730-12.02	CONDUIT 2" DIAMETER (PVC)		
		60.000 L.F.	
	Whitaker Contracting Corp.	\$22.7800	\$1,366.80
	Hudson Construction Company	\$18.0000	\$1,080.00
730-14.02	SAW SLOT		
		1,200.000 L.F.	^
	Whitaker Contracting Corp.	\$4.7500	\$5,700.00
	Hudson Construction Company	\$3.7500	\$4,500.00

3,600.000 L.F.

730-14.03 LOOP WIRE

Whitaker Contracting Corp.

Hudson Construction Company

\$2,268.00 \$1,800.00

\$0.6300

\$0.5000

Whitaker Contracting Corp.	\$1,534,227.64
Hudson Construction Company	\$1,888,082.70

Whitaker Contracting Corp.	\$1,534,227.64
Hudson Construction Company	\$1,888,082.70

WILLIAMSON COUNTY (Contract No. CNT158 Call 089)

STP-247(18),94031-8210-14

THE RESURFACING ON S.R. 247 FROM FERGUSON ROAD (L.M. 2.35) TO U.S. 431 (S.R. 106) (L.M. 4.32).

PROJECT LENGTH - 1.970 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 5.50%

TOTAL CONTRACT
\$333,905.15
\$346,247.00
\$449,721.00
\$458,779.80
\$480,998.92

UNIT PRICE	EXTENSION
OI WIT I TRIOL	_,,,_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

		ONTTRIOL	271.2110.011
ROADWAY CAT	EGORY		
208-01.05 BROOF	MING & DEGRASSING SHOULDERS	4 000 L M	
T		4.000 L.M.	¢4.000.00
	ssee Valley Paving Co., Inc. s Group, Inc.	\$1,000.0000 \$1,100.0000	\$4,000.00 \$4,400.00
-	Construction Materials, LLC	\$2,800.0000	\$11,200.00
	TN ii Inc. & dba Blue Water Industries	\$1,520.0000	\$6,080.00
	eer Paving, LLC	\$1,860.9700	\$7,443.88
303-01 MINER	AL AGGREGATE, TYPE A BASE, GRADING D		
		64.000 TON	
Tennes	ssee Valley Paving Co., Inc.	\$17.7000	\$4,672.80
	Group, Inc.	\$32.0000	\$8,448.00
-	Construction Materials, LLC	\$30.0000	\$7,920.00
	TN ii Inc. & dba Blue Water Industries	\$25.0000	\$6,600.00
Volunte	eer Paving, LLC	\$37.8200	\$9,984.48
307-01.08 ASPHA	ALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
	, , , , ,	00.000 TON	
Tennes	ssee Valley Paving Co., Inc.	\$76.6500	\$76,650.00
	s Group, Inc.	\$66.0000	\$66,000.00
Vulcan	Construction Materials, LLC	\$90.0000	\$90,000.00
BWI M	TN ii Inc. & dba Blue Water Industries	\$65.0000	\$65,000.00
Volunte	eer Paving, LLC	\$100.0900	\$100,090.00
403-01 BITUM	INOUS MATERIAL FOR TACK COAT (TC)		
	1	2.000 TON	
Tennes	ssee Valley Paving Co., Inc.	\$625.0000	\$7,500.00
Rogers	Group, Inc.	\$550.0000	\$6,600.00
Vulcan	Construction Materials, LLC	\$900.0000	\$10,800.00
BWI M	TN ii Inc. & dba Blue Water Industries	\$880.0000	\$10,560.00
Volunte	eer Paving, LLC	\$750.0000	\$9,000.00
411-01.10 ACS M	IX(PG64-22) GRADING D		
	1,77	73.000 TON	
	ssee Valley Paving Co., Inc.	\$81.9500	\$145,297.35
	s Group, Inc.	\$89.0000	\$157,797.00
	Construction Materials, LLC	\$103.0000	\$182,619.00
	TN ii Inc. & dba Blue Water Industries	\$92.0000	\$163,116.00
Volunte	eer Paving, LLC	\$118.0400	\$209,284.92
411-12.04 SCORI	NG FOR RUMBLE STRIPE (NON-CONTINUOUS) (4IN WIDTH)		
		3.100 L.M.	
	ssee Valley Paving Co., Inc.	\$2,000.0000	\$6,200.00
	s Group, Inc.	\$1,920.0000	\$5,952.00
	Construction Materials, LLC	\$805.0000	\$2,495.50
	TNI :: Long 10 - eller 10 long 1 Marting Long Long Long Long Long Long Long Lo	ተ ሰባር 0000	MO 40E E0

BWI MTN ii Inc. & dba Blue Water Industries

Volunteer Paving, LLC

\$2,495.50

\$2,546.43

\$805.0000

\$821.4300

				CONTRAC	I CNITS
			UNIT PRICE	EX	TENSION
445 04 04	COLD DI ANINO DITUMINOLIS DAVEMENT				
415-01.01	COLD PLANING BITUMINOUS PAVEMENT	1,756.000 TON			
	T	1,730.000 TON	# 40 F 000	•	00.400.00
	Tennessee Valley Paving Co., Inc.		\$18.5000		32,486.00
	Rogers Group, Inc.		\$16.5000		28,974.00
	Vulcan Construction Materials, LLC		\$25.0000		43,900.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$24.5000		43,022.00
	Volunteer Paving, LLC		\$31.1000	\$	54,611.60
712-01	TRAFFIC CONTROL				
		1.000 LS			
	Tennessee Valley Paving Co., Inc.		\$5,450.0000	;	\$5,450.00
	Rogers Group, Inc.		\$13,054.6000	\$	13,054.60
	Vulcan Construction Materials, LLC		\$25,500.0000	\$	25,500.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$62,000.0000	\$	62,000.00
	Volunteer Paving, LLC		\$19,562.5000	\$	19,562.50
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)				
	·	25.000 EACH			
	Tennessee Valley Paving Co., Inc.		\$10.0000		\$250.00
	Rogers Group, Inc.		\$5.5000		\$137.50
	Vulcan Construction Materials, LLC		\$5.0000		\$125.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000		\$125.00
	Volunteer Paving, LLC		\$5.1000		\$127.50
712-05.01	WARNING LIGHTS (TYPE A)				
		4.000 EACH			
	Tennessee Valley Paving Co., Inc.		\$25.0000		\$100.00
	Rogers Group, Inc.		\$2.1000		\$8.40
	Vulcan Construction Materials, LLC		\$5.0000		\$20.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$2.0000		\$8.00
	Volunteer Paving, LLC		\$2.0400		\$8.16
	Volunteer Faving, LEO		Ψ2.0400		ψ0.10
712-06	SIGNS (CONSTRUCTION)				
		658.000 S.F.			
	Tennessee Valley Paving Co., Inc.		\$8.0000	:	\$5,264.00
	Rogers Group, Inc.		\$6.7500		\$4,441.50
	Vulcan Construction Materials, LLC		\$9.2500	;	\$6,086.50
	BWI MTN ii Inc. & dba Blue Water Industries		\$6.3500	:	\$4,178.30
	Volunteer Paving, LLC		\$6.4800	;	\$4,263.84
713-16.50	REMOVE AND REPLACE SIGN (W2-7 OFFSET SIDE ROADS)				
	,	1.000 EACH			
	Tennessee Valley Paving Co., Inc.		\$375.0000		\$375.00
	Rogers Group, Inc.		\$290.0000		\$290.00
	Vulcan Construction Materials, LLC		\$195.0000		\$195.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$275.0000		\$275.00
	Volunteer Paving, LLC		\$280.6100		\$280.61

			•	
			UNIT PRICE	EXTENSION
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1	COLOR)		
		130.000 EACH		
	Tennessee Valley Paving Co., Inc.		\$30.0000	\$3,900.00
	Rogers Group, Inc.		\$20.0000	\$2,600.00
	Vulcan Construction Materials, LLC		\$30.0000	\$3,900.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$40.0000	\$5,200.00
	Volunteer Paving, LLC		\$30.0000	\$3,900.00
	voidinoon r aving, 220		φοσ.σσσσ	φο,σσσ.σσ
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
		48.000 L.F.		
	Tananasa Vallau Baying Ca. Inc	40.000 L.F.	#20.000	¢000 00
	Tennessee Valley Paving Co., Inc.		\$20.0000	\$960.00
	Rogers Group, Inc.		\$15.5000	\$744.00
	Vulcan Construction Materials, LLC		\$20.0000	\$960.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$15.0000	\$720.00
	Volunteer Paving, LLC		\$15.0000	\$720.00
740.05.04	DAINTED DAVEMENT MADIZING (ALL INE)			
/16-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		8.000 L.M.		
	Tennessee Valley Paving Co., Inc.		\$750.0000	\$6,000.00
	Rogers Group, Inc.		\$725.0000	\$5,800.00
	Vulcan Construction Materials, LLC		\$750.0000	\$6,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$975.0000	\$7,800.00
	Volunteer Paving, LLC		\$850.0000	\$6,800.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		4.000 L.M.		
	Tennessee Valley Paving Co., Inc.		\$4,800.0000	\$19,200.00
	Rogers Group, Inc.		\$4,500.0000	\$18,000.00
	Vulcan Construction Materials, LLC		\$4,800.0000	\$19,200.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5,300.0000	\$21,200.00
	Volunteer Paving, LLC		\$5,000.0000	\$20,000.00
716-13.01	SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)			
		4.000 L.M.		
	Tennessee Valley Paving Co., Inc.		\$2,200.0000	\$8,800.00
	Rogers Group, Inc.		\$2,000.0000	\$8,000.00
	Vulcan Construction Materials, LLC		\$2,200.0000	\$8,800.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$2,600.0000	\$10,400.00
	Volunteer Paving, LLC		\$2,000.0000	\$8,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Tennessee Valley Paving Co., Inc.	2	\$6,800.0000	\$6,800.00
	Rogers Group, Inc.		\$15,000.0000	\$15,000.00
	Vulcan Construction Materials, LLC		\$30,000.0000	\$30,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$50,000.0000	\$50,000.00
	Volunteer Paving, LLC		\$24,375.0000	\$24,375.00
	voidinoor raving, LEO		φ <u>ν</u> π,στο.σσσσ	Ψ24,010.00

Tennessee Valley Paving Co., Inc.	\$333,905.15
Rogers Group, Inc.	\$346,247.00
Vulcan Construction Materials, LLC	\$449,721.00
BWI MTN ii Inc. & dba Blue Water Industries	\$458,779.80
Volunteer Paving, LLC	\$480,998.92

Tennessee Valley Paving Co., Inc.	\$333,905.15
Rogers Group, Inc.	\$346,247.00
Vulcan Construction Materials, LLC	\$449,721.00
BWI MTN ii Inc. & dba Blue Water Industries	\$458,779.80
Volunteer Paving, LLC	\$480,998.92

WILLIAMSON COUNTY (Contract No. CNT156 Call 090)

STP-252(14),94028-8221-14

THE RESURFACING ON S.R. 252 FROM NORTH OF CLOVERCROFT ROAD (L.M. 5.71) TO THE CSX RAILROAD OVERHEAD BRIDGE (L.M. 7.77).

PROJECT LENGTH - 2.060 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 6.00%

	TOTAL CONTRACT
Volunteer Paving, LLC	\$680,060.64
BWI MTN ii Inc. & dba Blue Water Industries	\$680,413.50
Vulcan Construction Materials, LLC	\$738,033.50
Jones Bros. Contractors, LLC	\$740,196.30

	UNIT PRICE	EXTENSION
ROADWAY CATEGORY		
208-01.05 BROOMING & DEGRASSING SHOULDERS		
4.100 L.M.		
Volunteer Paving, LLC	\$1,596.1100	\$6,544.05
BWI MTN ii Inc. & dba Blue Water Industries	\$1,520.0000	\$6,232.00
Vulcan Construction Materials, LLC	\$3,200.0000	\$13,120.00
Jones Bros. Contractors, LLC	\$1,200.0000	\$4,920.00
303-01 MINERAL AGGREGATE, TYPE A BASE, GRADING D		
126.000 TON		
Volunteer Paving, LLC	\$61.0800	\$7,696.08
BWI MTN ii Inc. & dba Blue Water Industries	\$25.0000	\$3,150.00
Vulcan Construction Materials, LLC	\$70.0000	\$8,820.00
Jones Bros. Contractors, LLC	\$29.5000	\$3,717.00
307-01.08 ASPHALT CONCRETE MIX (PG64-22) (BPMB-HM) GRADING B-M2		
500.000 TON		
Volunteer Paving, LLC	\$94.0400	\$47,020.00
BWI MTN ii Inc. & dba Blue Water Industries	\$54.5000	\$27,250.00
Vulcan Construction Materials, LLC	\$100.0000	\$50,000.00
Jones Bros. Contractors, LLC	\$81.0000	\$40,500.00
403-01 BITUMINOUS MATERIAL FOR TACK COAT (TC)		
24.000 TON		
Volunteer Paving, LLC	\$659.3400	\$15,824.16
BWI MTN ii Inc. & dba Blue Water Industries	\$880.0000	\$21,120.00
Vulcan Construction Materials, LLC	\$900.0000	\$21,600.00
Jones Bros. Contractors, LLC	\$580.0000	\$13,920.00
411-01.10 ACS MIX(PG64-22) GRADING D		
3,626.000 TON		
Volunteer Paving, LLC	\$95.3700	\$345,811.62
BWI MTN ii Inc. & dba Blue Water Industries	\$82.5000	\$299,145.00
Vulcan Construction Materials, LLC	\$100.0000	\$362,600.00
Jones Bros. Contractors, LLC	\$105.0000	\$380,730.00
411-12.03 SCORING FOR RUMBLE STRIPE (NON-CONTINUOUS) (8IN WIDTH)		
3.300 L.M.		
Volunteer Paving, LLC	\$821.4300	\$2,710.72
BWI MTN ii Inc. & dba Blue Water Industries	\$805.0000	\$2,656.50
Vulcan Construction Materials, LLC	\$990.0000	\$3,267.00
Jones Bros. Contractors, LLC	\$805.0000	\$2,656.50
415-01.01 COLD PLANING BITUMINOUS PAVEMENT		
3,592.000 TON		
Volunteer Paving, LLC	\$23.3800	\$83,980.96
BWI MTN ii Inc. & dba Blue Water Industries	\$18.0000	\$64,656.00
Vulcan Construction Materials, LLC	\$22.5000	\$80,820.00
Jones Bros. Contractors, LLC	\$20.9000	\$75,072.80

			UNIT PRICE	EXTENSION
			0	
701-02.01 CC	DNCRETE CURB RAMP (RETROFIT)			
		380.000 S.F.		
Vo	olunteer Paving, LLC		\$25.5100	\$9,693.80
	VI MTN ii Inc. & dba Blue Water Industries		\$27.5000	\$10,450.00
	ulcan Construction Materials, LLC		\$40.0000	\$15,200.00
JO	nes Bros. Contractors, LLC		\$40.5000	\$15,390.00
712-01 TR	RAFFIC CONTROL			
		1.000 LS		
Vo	olunteer Paving, LLC		\$18,791.2100	\$18,791.21
BV	VI MTN ii Inc. & dba Blue Water Industries		\$67,750.0000	\$67,750.00
	ulcan Construction Materials, LLC		\$50,000.0000	\$50,000.00
Jo	nes Bros. Contractors, LLC		\$50,000.0000	\$50,000.00
712-04.01 FL	EXIBLE DRUMS (CHANNELIZING)			
	,	100.000 EACH		
Vo	olunteer Paving, LLC		\$5.1000	\$510.00
	VI MTN ii Inc. & dba Blue Water Industries		\$5.0000	\$500.00
Vu	ulcan Construction Materials, LLC		\$10.0000	\$1,000.00
Jo	nes Bros. Contractors, LLC		\$5.0000	\$500.00
712-05 01 W	ARNING LIGHTS (TYPE A)			
712-03.01 117	ANNO EIGITIO (TTT E A)	4.000 EACH		
Vo	olunteer Paving, LLC	4.000 EAOH	\$2.0400	\$8.16
	VI MTN ii Inc. & dba Blue Water Industries		\$2.0000	\$8.00
Vu	ulcan Construction Materials, LLC		\$5.0000	\$20.00
Jo	nes Bros. Contractors, LLC		\$2.0000	\$8.00
712-06 SI	GNS (CONSTRUCTION)			
7.12.00		898.000 S.F.		
Vo	olunteer Paving, LLC		\$6.6300	\$5,953.74
	VI MTN ii Inc. & dba Blue Water Industries		\$6.5000	\$5,837.00
Vu	ulcan Construction Materials, LLC		\$9.2500	\$8,306.50
Jo	nes Bros. Contractors, LLC		\$6.5000	\$5,837.00
712-08 03 AF	RROW BOARD (TYPE C)			
712 00:00 A	Mon Boans (The Ed)	2.000 EACH		
Vo	olunteer Paving, LLC		\$510.2000	\$1,020.40
	VI MTN ii Inc. & dba Blue Water Industries		\$500.0000	\$1,000.00
Vu	ulcan Construction Materials, LLC		\$900.0000	\$1,800.00
Jo	nes Bros. Contractors, LLC		\$500.0000	\$1,000.00
713-16 50 PF	EMOVE AND REPLACE SIGN (STOP)			
7 10-10.30 KE	LINGTE AND INEL EAST GION (GTOI)	1.000 EACH		
Vo	olunteer Paving, LLC		\$270.4100	\$270.41
	VI MTN ii Inc. & dba Blue Water Industries		\$265.0000	\$265.00
	Ilcan Construction Materials, LLC		\$185.0000	\$185.00
	nes Bros. Contractors, LLC		\$650.0000	\$650.00

	UNIT PRICE	EXTENSION
716-01.23 SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR)(2 COLOR)		
19.000 EACH		
Volunteer Paving, LLC BWI MTN ii Inc. & dba Blue Water Industries Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC	\$25.0000 \$300.0000 \$35.0000 \$35.0000	\$475.00 \$5,700.00 \$665.00 \$665.00
716-01.30 REMOVAL OF SNOWPLOWABLE REFLECTIVE MARKER		
50.000 EACH		
Volunteer Paving, LLC	\$10.0000	\$500.00
BWI MTN ii Inc. & dba Blue Water Industries	\$30.0000	\$1,500.00
Vulcan Construction Materials, LLC	\$10.0000	\$500.00
Jones Bros. Contractors, LLC	\$10.0000	\$500.00
716-02.04 PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIPING)		
1,000.000 S.Y.		
Volunteer Paving, LLC	\$20.0000	\$20,000.00
BWI MTN ii Inc. & dba Blue Water Industries	\$10.0000	\$10,000.00
Vulcan Construction Materials, LLC	\$12.0000	\$12,000.00
Jones Bros. Contractors, LLC	\$12.0000	\$12,000.00
716-02.05 PLASTIC PAVEMENT MARKING (STOP LINE)		
224.000 L.F.		
Volunteer Paving, LLC	\$15.0000	\$3,360.00
BWI MTN ii Inc. & dba Blue Water Industries	\$15.0000	\$3,360.00
Vulcan Construction Materials, LLC	\$15.0000	\$3,360.00
Jones Bros. Contractors, LLC	\$15.0000	\$3,360.00
716-02.06 PLASTIC PAVEMENT MARKING (TURN LANE ARROW)		
18.000 EACH		
Volunteer Paving, LLC	\$150.0000	\$2,700.00
BWI MTN ii Inc. & dba Blue Water Industries	\$150.0000	\$2,700.00
Vulcan Construction Materials, LLC	\$150.0000	\$2,700.00
Jones Bros. Contractors, LLC	\$150.0000	\$2,700.00
716-02.09 PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK)		
100.000 L.F.		
Volunteer Paving, LLC	\$30.0000	\$3,000.00
BWI MTN ii Inc. & dba Blue Water Industries	\$40.0000	\$4,000.00
Vulcan Construction Materials, LLC	\$35.0000	\$3,500.00
Jones Bros. Contractors, LLC	\$35.0000	\$3,500.00
716-04.04 PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)		
57.000 L.F.		
Volunteer Paving, LLC	\$10.0000	\$570.00
BWI MTN ii Inc. & dba Blue Water Industries	\$12.0000	\$684.00
Vulcan Construction Materials, LLC	\$10.0000	\$570.00
Jones Bros. Contractors, LLC	\$10.0000	\$570.00

~~	ITD A OT	CNT156
(:()	UIRAL.I	(:N115h

			C	ONTRACT CHITSO
			UNIT PRICE	EXTENSION
716-05.01	PAINTED PAVEMENT MARKING (4" LINE)			
		12.000 L.M.		
	Volunteer Paving, LLC		\$850.0000	\$10,200.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,500.0000	\$18,000.00
	Vulcan Construction Materials, LLC		\$1,000.0000	\$12,000.00
	Jones Bros. Contractors, LLC		\$1,000.0000	\$12,000.00
716-12.02	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)			
		12.000 L.M.		
	Volunteer Paving, LLC		\$5,000.0000	\$60,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5,600.0000	\$67,200.00
	Vulcan Construction Materials, LLC		\$5,000.0000	\$60,000.00
	Jones Bros. Contractors, LLC		\$5,000.0000	\$60,000.00
716-12.05	ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LIN	IE)		
		2,500.000 L.F.		
	Volunteer Paving, LLC		\$1.5000	\$3,750.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1.0000	\$2,500.00
	Vulcan Construction Materials, LLC		\$2.0000	\$5,000.00
	Jones Bros. Contractors, LLC		\$2.0000	\$5,000.00
717-01	MOBILIZATION			
		1.000 LS		
	Volunteer Paving, LLC		\$29,670.3300	\$29,670.33
	BWI MTN ii Inc. & dba Blue Water Industries		\$54,750.0000	\$54,750.00
	Vulcan Construction Materials, LLC		\$21,000.0000	\$21,000.00
	Jones Bros. Contractors, LLC		\$45,000.0000	\$45,000.00

Volunteer Paving, LLC	\$680,060.64
BWI MTN ii Inc. & dba Blue Water Industries	\$680,413.50
Vulcan Construction Materials, LLC	\$738,033.50
Jones Bros. Contractors, LLC	\$740,196.30

Volunteer Paving, LLC	\$680,060.64
BWI MTN ii Inc. & dba Blue Water Industries	\$680,413.50
Vulcan Construction Materials, LLC	\$738,033.50
Jones Bros. Contractors, LLC	\$740,196.30

WILSON COUNTY (Contract No. CNT082 Call 091)

HSIP-171(33),95063-3226-94,95063-4226-04

THE RESURFACING ON S.R. 171 FROM NORTH OF S.R. 265 (L.M. 3.90) TO THE BELINDA CITY PARKWAY (L.M. 4.56).

PROJECT LENGTH - 0.660 MILES

COMPLETION TIME - ON OR BEFORE NOVEMBER 15, 2019

DBE GOAL 8.50%

TOTAL CONTRACT

Vulcan Construction Materials, LLC\$399,918.90Jones Bros. Contractors, LLC\$412,829.50BWI MTN ii Inc. & dba Blue Water Industries\$433,662.25

	00.1111.7101	0.1.00
UNIT PRICE	EXTE	ENSION

DO A DIAV	AV CATECORY		UNIT PRICE	EXTENSION
ROADWA	AY CATEGORY			
208-01.05	BROOMING & DEGRASSING SHOULDERS			
		0.800 L.M.		
	Vulcan Construction Materials, LLC		\$3,500.0000	\$2,800.00
	Jones Bros. Contractors, LLC		\$7,910.0000	\$6,328.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1,550.0000	\$1,240.00
303-01	MINERAL AGGREGATE, TYPE A BASE, GRADING D			
		191.000 TON		
	Vulcan Construction Materials, LLC		\$31.5000	\$6,016.50
	Jones Bros. Contractors, LLC		\$38.0000	\$7,258.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$45.0000	\$8,595.00
403-01	BITUMINOUS MATERIAL FOR TACK COAT (TC)			
	,	12.000 TON		
	Vulcan Construction Materials, LLC	12.000 1014	\$900.0000	\$10,800.00
	Jones Bros. Contractors, LLC		\$540.0000	\$6,480.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$900.0000	\$10,800.00
	BWI WITH III. a aba bido Water iliadelilee		φοσο.σσσσ	Ψ10,000.00
411-02 10	ACS MIX(PG70-22) GRADING D			
411-02.10	AGG MIX(1 G10-22) GRADING D	4 724 000 TON		
	Volume Construction Metarists 11.0	1,731.000 TON	#405.0000	#404 755 00
	Vulcan Construction Materials, LLC		\$105.0000	\$181,755.00
	Jones Bros. Contractors, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$126.0000 \$90.0000	\$218,106.00 \$155,790.00
	BWI WITH II IIIC. & upa blue Water Industries		φ90.0000	\$155,790.00
415 01 01	COLD PLANING BITUMINOUS PAVEMENT			
413-01.01	COLD FLANING BITOMINOUS FAVEMENT	4 - 4 4 - 2 2 - 2 2 2 2 2 2 2 2 2 2 2 2		
		1,714.000 TON	***	
	Vulcan Construction Materials, LLC		\$18.0000	\$30,852.00
	Jones Bros. Contractors, LLC BWI MTN ii Inc. & dba Blue Water Industries		\$21.0000	\$35,994.00
	Byvi Mith II Inc. & dda Blue water industries		\$15.0000	\$25,710.00
705 00 40	OHADDDAIL TO ANOITION OTHER TO SAIN			
705-02.10	GUARDRAIL TRANSITION 27IN TO 31IN			
		5.000 EACH		
	Vulcan Construction Materials, LLC		\$100.0000	\$500.00
	Jones Bros. Contractors, LLC		\$100.0000	\$500.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$45.0000	\$225.00
705-06.20	TANGENT ENERGY ABSORBING TERM MASH TL-3			
		5.000 EACH		
	Vulcan Construction Materials, LLC		\$2,650.0000	\$13,250.00
	Jones Bros. Contractors, LLC		\$2,650.0000	\$13,250.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$2,682.2500	\$13,411.25
706-01	GUARDRAIL REMOVED			
		250.000 L.F.		
	Vulcan Construction Materials, LLC		\$1.0000	\$250.00
	Jones Bros. Contractors, LLC		\$1.0000	\$250.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$0.7500	\$187.50

				MINACI CN1002
			UNIT PRICE	EXTENSION
712-01	TRAFFIC CONTROL			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
	Jones Bros. Contractors, LLC		\$14,000.0000	\$14,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$63,250.0000	\$63,250.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING)			
		50.000 EACH		
	Vulcan Construction Materials, LLC		\$15.0000	\$750.00
	Jones Bros. Contractors, LLC		\$5.0000	\$250.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000	\$250.00
712-06	SIGNS (CONSTRUCTION)			
		517.000 S.F.		
	Vulcan Construction Materials, LLC		\$9.0000	\$4,653.00
	Jones Bros. Contractors, LLC		\$6.5000	\$3,360.50
	BWI MTN ii Inc. & dba Blue Water Industries		\$6.5000	\$3,360.50
712-08.03	ARROW BOARD (TYPE C)			
		4.000 EACH		
	Vulcan Construction Materials, LLC		\$900.0000	\$3,600.00
	Jones Bros. Contractors, LLC		\$500.0000	\$2,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$500.0000	\$2,000.00
716-01.21	SNOWPLOWABLE RAISED PAVEMENT MARKERS (BI-DIR) (1 COLOR)		
		178.000 EACH		
	Vulcan Construction Materials, LLC		\$30.0000	\$5,340.00
	Jones Bros. Contractors, LLC		\$30.0000	\$5,340.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$5,340.00
716-01.22	SNOWPLOWABLE RAISED PAVMENT MARKERS (MONO-I	DIR)(1 COLOR)		
		162.000 EACH		
	Vulcan Construction Materials, LLC		\$30.0000	\$4,860.00
	Jones Bros. Contractors, LLC		\$30.0000	\$4,860.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$30.0000	\$4,860.00
716-02.03	PLASTIC PAVEMENT MARKING (CROSS-WALK)			
		940.000 L.F.		
	Vulcan Construction Materials, LLC		\$12.0000	\$11,280.00
	Jones Bros. Contractors, LLC		\$12.0000	\$11,280.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$12.0000	\$11,280.00
716-02.04	PLASTIC PAVEMENT MARKING(CHANNELIZATION STRIP	ING)		
		800.000 S.Y.		
	Vulcan Construction Materials, LLC		\$5.0000	\$4,000.00
	Jones Bros. Contractors, LLC		\$5.0000	\$4,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5.0000	\$4,000.00

			UNIT PRICE	EXTENSION
			UNIT PRICE	LATENSION
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)			
	,	600.000 L.F.		
	Vulcan Construction Materials, LLC		\$15.0000	\$9,000.00
	Jones Bros. Contractors, LLC		\$15.0000	\$9,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$15.0000	\$9,000.00
740.00.00	DI ACTIO DAVEMENT MADIVINO (TUDNI ANE ADDOM)			
716-02.06	PLASTIC PAVEMENT MARKING (TURN LANE ARROW)	05 000 E 1 0 U		
	VI. 0	25.000 EACH	0475.0000	#4.075.00
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$175.0000 \$175.0000	\$4,375.00 \$4,375.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$175.0000 \$175.0000	\$4,375.00 \$4,375.00
	BWIWITT II III. & aba blue Water Industries		ψ170.0000	ψ4,57 0.00
716-02.08	PLASTIC PAVEMENT MARKING (8" DOTTED LINE)			
		750.000 L.F.		
	Vulcan Construction Materials, LLC		\$3.0000	\$2,250.00
	Jones Bros. Contractors, LLC		\$3.0000	\$2,250.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$3.0000	\$2,250.00
716-02 00	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WA	u K)		
710-02.09	PLASTIC PAVEMENT MARKING (LONGITUDINAL GROSS-WA	65.000 L.F.		
	Vulcan Construction Materials, LLC	03.000 L.I .	\$40.0000	\$2,600.00
	Jones Bros. Contractors, LLC		\$40.0000	\$2,600.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$40.0000	\$2,600.00
716-02.12	PLASTIC PAVEMENT MARKING (8IN LINE)	0.5001.14		
	Vulcan Canatruction Materials LLC	0.500 L.M.	\$5,500.0000	\$2,750.00
	Vulcan Construction Materials, LLC Jones Bros. Contractors, LLC		\$5,500.0000	\$2,750.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$5,500.0000	\$2,750.00
			***	4 =,
716-03.01	PLASTIC WORD PAVEMENT MARKING (ONLY)			
		8.000 EACH		
	Vulcan Construction Materials, LLC		\$380.0000	\$3,040.00
	Jones Bros. Contractors, LLC		\$380.0000	\$3,040.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$380.0000	\$3,040.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)			
	,	2.000 EACH		
	Vulcan Construction Materials, LLC		\$225.0000	\$450.00
	Jones Bros. Contractors, LLC		\$225.0000	\$450.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$225.0000	\$450.00
740 04 04	DI ACTIC DAVEMENT MADIZINO (TDANOVEDOS OLICI) DED			
110-04.04	PLASTIC PAVEMENT MARKING (TRANSVERSE SHOULDER)			
	Vulcan Construction Materials, LLC	210.000 L.F.	\$12.0000	\$2,520.00
	Jones Bros. Contractors, LLC		\$12.0000	\$2,520.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$12.0000	\$2,520.00
			•	

		CONTRACT CNT082
	UNIT PRICE	EXTENSION
716-04.05 PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)		
	3.000 EACH	
Vulcan Construction Materials, LLC	\$140.0000	\$420.00
Jones Bros. Contractors, LLC	\$140.0000	\$420.00
BWI MTN ii Inc. & dba Blue Water Industries	\$140.0000	\$420.00
716-04.13 PLASTIC PAVEMENT MARKING (BIKELANE SYMBOL & ARROW)		
	4.000 EACH	
Vulcan Construction Materials, LLC	\$400.0000	\$1,600.00
Jones Bros. Contractors, LLC	\$400.0000	\$1,600.00
BWI MTN ii Inc. & dba Blue Water Industries	\$400.0000	\$1,600.00
716-05.01 PAINTED PAVEMENT MARKING (4" LINE)		
	2.200 L.M.	
Vulcan Construction Materials, LLC	\$1,200.0000	\$2,640.00
Jones Bros. Contractors, LLC	\$1,200.0000	\$2,640.00
BWI MTN ii Inc. & dba Blue Water Industries	\$1,200.0000	\$2,640.00
716-10.30 TRUNCATED DOME DETECTABLE WARNING MAT		
9	6.000 S.F.	
Vulcan Construction Materials, LLC	\$32.0000	\$3,072.00
Jones Bros. Contractors, LLC	\$60.0000	\$5,760.00
BWI MTN ii Inc. & dba Blue Water Industries	\$50.0000	\$4,800.00
716-12.02 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN LINE)		
	2.300 L.M.	
Vulcan Construction Materials, LLC	\$5,000.0000	\$11,500.00
Jones Bros. Contractors, LLC	\$5,000.0000	\$11,500.00
BWI MTN ii Inc. & dba Blue Water Industries	\$5,000.0000	\$11,500.00
716-12.05 ENHANCED FLATLINE THERMO PVMT MRKNG (6IN DOTTED LINE)		
1,10	0.000 L.F.	
Vulcan Construction Materials, LLC	\$1.0000	\$1,100.00
Jones Bros. Contractors, LLC	\$1.0000	\$1,100.00
BWI MTN ii Inc. & dba Blue Water Industries	\$1.0000	\$1,100.00
716-13.01 SPRAY THERMO PVMT MRKNG (60 mil) (4IN LINE)		
	0.600 L.M.	
Vulcan Construction Materials, LLC	\$3,600.0000	\$2,160.00
Jones Bros. Contractors, LLC	\$3,600.0000	\$2,160.00
BWI MTN ii Inc. & dba Blue Water Industries	\$3,600.0000	\$2,160.00
716-13.02 SPRAY THERMO PVMT MRKNG (60 mil) (6IN LINE)		

1.100 L.M.

Vulcan Construction Materials, LLC

BWI MTN ii Inc. & dba Blue Water Industries

Jones Bros. Contractors, LLC

\$5,500.00

\$5,500.00

\$5,500.00

\$5,000.0000

\$5,000.0000

\$5,000.0000

				CONTRACT CNT082
			UNIT PRICE	EXTENSION
716-13.04	SPRAY THERMO PVMT MRKNG (60 mil) (4IN DOTTED LINE)			
		400.000 L.F.		
	Vulcan Construction Materials, LLC		\$1.0000	\$400.00
	Jones Bros. Contractors, LLC		\$1.0000	\$400.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$1.0000	\$400.00
717-01	MOBILIZATION			
		1.000 LS		
	Vulcan Construction Materials, LLC		\$25,000.0000	\$25,000.00
	Jones Bros. Contractors, LLC		\$8,000.0000	\$8,000.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$52,750.0000	\$52,750.00
730-14.02	SAW SLOT			
		2,924.000 L.F.		
	Vulcan Construction Materials, LLC		\$3.5000	\$10,234.00
	Jones Bros. Contractors, LLC		\$3.5000	\$10,234.00
	BWI MTN ii Inc. & dba Blue Water Industries		\$3.5000	\$10,234.00

6,548.000 L.F.

\$0.5500

\$0.5000

\$0.5000

\$3,601.40

\$3,274.00

\$3,274.00

730-14.03 LOOP WIRE

Vulcan Construction Materials, LLC

BWI MTN ii Inc. & dba Blue Water Industries

Jones Bros. Contractors, LLC

Vulcan Construction Materials, LLC	\$399,918.90
Jones Bros. Contractors, LLC	\$412,829.50
BWI MTN ii Inc. & dba Blue Water Industries	\$433,662.25

Vulcan Construction Materials, LLC	\$399,918.90
Jones Bros. Contractors, LLC	\$412,829.50
BWI MTN ii Inc. & dba Blue Water Industries	\$433,662.25